FACE MILLS

FACE MILLS

0F 49 D063-05-21-113

T=B N

Y[l 185
| ]



0P
]
—
=
LLJ
O
T

186

Face Mills 90°

PICTORIAL TOOL
REFERENCE

¥ o e - - o
F= - Cag i ‘_ i o -
(P b e @ R
y Y 5 »
S 0
HELiPLUS HEL[TANG HEL ;QUAD HEL;2000
HP F90AN-07 T490 FLN F90SP-10 HMO90 FO0AP
page 195 pages 196,201,207,212 page 198 page 200
— H" & = T :
. -
(& || Rgra? || P
E‘ - } - :
— S — j
TANGHILL HELIQUAD HeEziSMILL HELIDO
FOOLN-N11 F90SD-12 HM390 FT H690 FWN
page 203 page 204 pages 193,199,209,212 pages 193,195
N e ] L
| . i - _ - B
‘.-m-_: - r,!ﬂu; n'.l
7 . hy 4
[ —
| 8 ' ﬂ L
JELiDO HELIDO TANGHLL SUMOiiii.i
H690 FO90AX H490 F90A FOOLN-N15 T290 FLN
pages 201,214 pages 197,206,213 page 208 pages 198, 207
L; T [ ; .
L * .
& . - > @
L o i ¥ i . ‘ :
45 i» v -
HEL;2000 ISCARGfiLL MiLLSHRED HELiPLUS
HM90 F90A F90 P290 FPW/FCT HP F90AT
page 210 page 214 page 215 pages 215,216
r . ‘ - e _
S2 I
LOGIQBTANG NEODO
T890HT-R13 $890 FSZ-R08
page 202 page 194

ISCAR




Face Mills 88°, 75°, 65°, 45°

PICTORIAL TOOL
REFERENCE

ﬂ-ﬁ“:.? ,ﬁ'g\ . A,
Ypp?

| e [ - - - L [ i ' »
- oy - L=
; &> e &Cd
= X 3 &
LELIDO ISCARiwiii.i LELIDO ME! /OCTO
S890 FSN-13 F75-M $865 FSN-13 HOF/HOE...R06
page 205 page 216 page 217 page 218
g -.

Poipe
&
o

- >

ME! ;OCTO 16iii i 16 wik.i ISCAR#ii.i
HOF...R07 F45WG F45NM F45E
page 219 page 220 page 221 page 225
@ e ¢
< o A
3 L1

ISCAR#miii.i. HEL iDO
F45ST S845 F45SX
page 225 page 227
G~

??-r’ 5
47EZiDO bl
SOF45-R18 SOF45-26
page 229 page 228

Dovel(hL
1Q845
pages 219,220,226

HELIDO
800 LINE

SOF45
pages 222,223

Member IMC Group

0p)
]
—
=
LL
@)
T




CD ISCAR:= 2 SELECTION GUIDE
1
1
E Face Mills 90° Selection Guide
e
% 900
< = !
L @
) R
25 32 40 50 63 80 100 125 160 200 250 315
Tools Pages Number of Teeth (Effective) Inserts
) 193 9| B 718
0, 4,&1 HB690 FWN 195 6|55 ; o |11[10 H690 WN..04../07..
£ 10
5(6|7]|8/[10[12
$890 FSZ-R08 194 e lsl10l42]1a 118 S890 SZMU-08...
HM390 FTC-07 193 g 2 HM390 TCKT 07..
HP F90AN-07 195 6 1% HP AN..0702..
== sla|%]6 !
T490 FLN-08 196 7 10 T490 LN..08..
Ml 56,9 |
415(6|8
H490 F90AX-09 197 clalsls H490 AN..09..
HM390 FTP-10 199 g g g 1113 HM390 TP.. 10..
Sl
T290 FLN-10 198 5067 ‘@, T290 LNMT 10
g
~ SPMT/R 10...
4066 i-i QPMT/R 10..
F90SP-10 198 4 617109 '©\ )S(ggn;r: g
35|67 = Hmoo AP.10
HM90 FO0AP-10| 200 clel7lol8]® ‘9’ AP.10
=y
HB90 FI0AX-10 201 g g ? 8 H690 TN.. 10..
4|5|6|8]9]10
FOOLN-N11 203 s 1719 1112l 18 LN.. 11..
= 4056 8 i
Y T490 FLN-11 201 s lololirles T490 LN.. 11...
Ay .- _ SDMT 12...
=~/ SDMR12.
. F90SD-12 204 clal8lglglt]8 !\ 832;":11 2
3|14|5|6
H490 F90AX-12 206 4lelel o 9 H490 AN.. 12...

LN ISCAR




ISCARwiii.L. SELECTION GUIDE

—
—1
Face Mills 90° Selection Guide 2
LLI
90°
° O
i <
@ L
[ ZA)
DC 25 32 40 50 63 80 100 125 160 200 250 315
Tools EGECI APMX Number of Teeth (Effective) Inserts
4|5|6|7|8]9 V
T490 FLN-13 207 12.5 =l bl e s IIA T490 LNMT 183..
J—
T290 FLN-15 207 405 T290 LN.. 15...
L=
5|7 8]9]10 15 /
F90LN-N15 208 5l s (1o l245 0012l 50 LN.. 15..
3/4|5 )
HM390 FTD-15 209 Slals|e|®]|7]80 &C)| HM390 TDKT 1505..
4 81910 S
5(6|7
3l3|als]e (2
HMS90 F90A-15 210 elelolal® (:’a%} HMS0 AD.. 15...
rq‘ T490FLN-16 212 31612187 ]12]12 @ T490 LNMT 16
kol 4% 7810 A
HM390 FTD-19 212 5 10 HM390 TDKT 1907
3lals5|5|7]8 =]
H490 F90AX-17 213 81 415718 lol2l10]12 Q] H490 AN.. 17...

H690 FO0AX-16 214 11 HM690 TNKX 1606

F90 214 6(8|8]|10]12 Q TPK..22
4ls | A 200 acer
P290 FPW/FCT 215 4lg]gl6(8]0 EQE“ P290 AGKT
HP F90AT-19 215 4 HP AD.. 19...
HP F90AT-22 216 i HP AD.. 22..

Member IMC Group

(T [Tl 189




ISCARwiii.L. SELECTION GUIDE

Endmills and Face Mills 88°, 75°, 65° Selection Guide

0P
]
—
=
LLJ
O
T

DC 25 32 40 50 63 80 100 125 160 200 250 315
APMX

Pages Number of Teeth (Effective) Inserts
10
i 415|789
S890 FSN-13 205 o8 4 517191112 10 @ S890 SN.. 13...
9.5
F75-M 216 415|678 @ SPKN/SPKR 12...

~
(o))
~
©

10

S865 FSN-13 217 S865 SNMU 13...

Endmills and Face Mills 45° Selection Guide

DC 25 32 40 50 63 80 100 125 160 200 250 315

APMX
Tools Pages Number of Teeth (Effective) Inserts
218 3|14 |56
219 3|4 ilsl6 |7 8 |10(12(15] 18
4
219 415
3|14|5 6|7 |91
220 5|7 14117 | 20
226 415 673 o 11| 8110|1215
220 1014|1822
6|7 81|10
221 %1 g |10]12]15]"2|™
" 314176 |10 oN. 05
2  SOF45 222 41486 121416 | 20 @ A
&k A4 s | g |10[12] 16 $845 SN.. 13...

ISCAR




ISCARwiii.L. SELECTION GUIDE

—
—1
Face Mills 45° Selection Guide 2
| LL
45 @)
L
DC 25 32 40 50 63 80 100 125 160 200 250 315
APMX
Tools Pages Number of Teeth (Effective Inserts
225 3l4als|e|6|7]7 SET12..
225 4|5|6|6|6]|8 SE..12..

S845 F45SX-16 227

415 718110
4 57 9 11112 |18 12115 °S845SX..16...

SNMU 18
6|7|8|10]12]14 ONMU 07
SOF45-R18 229 4191719 l12]15 1821 _
) ssas
| —— 5168|1012 4 g'l\‘llll\\nﬂllﬁ%
VTN =
,_’/Ag SOF45-R26 228 A6 18 l10]12]14

) s845

Member IMC Group




MULTI-miAS TER ) :

INDEXABLE SOLID CARBIDE LINE APMX

MM FM S ® %
Interchangeable Solid Carbide f

Face Milling Heads with
MULTI-MASTER Threaded

Connections

0P
]
—
=
LLJ
O
T

' . Recommended
PLIEIEES Machining Data
] fz
Designation DC APMX RE NOF® THSZMS LF / 3 (mm/t)
MM FM120-36R0.2-06T05 12.00 3.60 0.20 6 T05 4.40 T-20/3* [ 0.04-0.10
MM FM160-48R0.4-06T06 16.00 4.80 0.40 6 T06 5.60 T-25/3* o 0.05-0.10
MM FM200-60R0.4-06T08 20.00 6.00 0.40 6 T08 6.80 T-40/3 L* . 0.05-0.10
MM FM250-75R0.4-06T10 25.00 7.50 0.40 6 T10 8.40 T-50/3 L* o 0.05-0.10
() Number of flutes
*  Optional, should be ordered separately
SD FM @ %
Interchangeable Solid Carbide i
Face Milling Heads DCONMS Be
_9
APMX
OAL |-
’ . Recommended
LILEIETE Machining Data
8 fz
Designation DC APMX NOF® RE D1 DCONMS OAL 3 (mm/t)
SD FM D32-8-R0.4-SP15 31.25 8.00 8 0.40 8.40 15.00 8.00 o 0.04-0.15
SD FM D40-10-R0.4SP17 39.25 10.00 10 0.40 9.80 17.00 10.00 [ 0.04-0.15
SD FM D50-12-R0.4SP19 49.25 12.00 12 0.40 9.80 19.00 14.00 o 0.04-0.15
e For shanks, see page 192 e For user guide, see pages 542-547
() Number of flutes
T-FACE
FACEMILL OAL
SD FM-S-A-SP LF
Stepped Cylindrical Shanks qER
for Interchangeable Solid i
Carbide Face Milling Heads DCONWS THSZWS - f —— . DCONMS
—— 4
DCONMS DCONWS THSZWS LB LF OAL Shank( &
SD FM-S-A-L100-C25-SP15 25.00 15.00 Mb5x0.5 10.10 104.90 104.90 C 0.37
SD FM-S-A-L120-W25-SP15 25.00 15.00 M5x0.5 10.10 92.90 124.90 W 0.44
SD FM-S-A-L125-W32-SP17 32.00 17.00 M6x0.5 12.50 95.00 131.00 W 0.75
SD FM-S-A-L140-C32 SP17 32.00 17.00 M6x0.5 12.50 146.00 146.00 C 0.85
SD FM-S-A-L140-C32-SP19 32.00 19.00 M6x0.5 10.00 148.50 148.50 C 1.41
SD FM-S-A-L130-W40-SP19 40.00 19.00 M6x0.5 14,00 98.50 138.50 W 1.21

* Apply lubricant to the clamping screw
() G-Cylindrical, W-Weldon

Spare Parts

S / 7

SD FM-S-A-L100-C25-SP15 SR M5X0.5-5P15-IP20-HG BLD IP20/S7 SW6-T-SH
SD FM-S-A-L120-W25-SP15 SR M5X0.5-SP156-1P20-HG BLD IP20/S7 SW6-T-SH
SD FM-S-A-L125-W32-SP17 SR M6X0.5-SP17-IP20-HG BLD IP20/S7 SW6-T-SH
SD FM-S-A-L140-C32 SP17 SR M6X0.5-SP17-IP20-HG BLD IP20/57 SW6-T-SH
SD FM-S-A-L140-C32-SP19 SR M6X0.5-SP17-IP20-HG BLD IP20/57 SW6-T-SH
SD FM-S-A-L130-W40-SP19 SR M6X0.5-SP17-IP20-HG BLD IP20/57 SW6-T-SH

ISCAR




T‘?.IgéI’L INE

H690 FWN-04

90° Face Mills Carrying

HB90 WNMU 0403 Double-Sided
Trigonal Inserts with 6

Helical Cutting Edges

Rd

@ %
9 F

DHUB DCONMS  OAL

[

/

& 7

H690 FWN D32-06-16-R04 <zl 6
H690 FWN D40-05-16-R04 il
H690 FWN D40-07-16-R04 RN
H690 FWN D50-07-22-R04 i)
H690 FWN D50-09-22-R04 0]
H690 FWN D63-08-27-R04 i)
H690 FWN D63-10-27-R04 N 10

™ © N N o

4.00
4.00
4.00
4.00
4.00
4.00
4.00

30.40
38.00
38.00
48.00
48.00
60.00
60.00

16.00
16.00
16.00
22.00
22.00
27.00
27.00

35.00
35.00
35.00
40.00
40.00
40.00
40.00

Arbor®  RMPX°®
A 0.8

W > > > >

B

0.6
0.6
0.5
0.5
0.2
0.2

0.16
0.20
0.21
0.37
0.38
0.39
0.39

SR M8X27-CSH50 SR M2.5X6-T7-60  T-7/51
SR MBX25DIN912 SR M2.5X6-T7-60  T-7/51
SR MBX25DIN912 SR M2.5X6-T7-60  T-7/51
SR M10X25 DIN912 SR M2.5X6-T7-60  T-7/51
SR M10X25 DIN912 SR M2.5X6-T7-60  T-7/51
SRM2.5X6-T7-60  T-7/51
SRM2.5X6-T7-60  T-7/51

® |nsert clamping screw must be lubricated every indexing.
) Number of inserts

(2 For adaptation options, see page 548

@) Maximum ramping angle

For inserts, see pages: H690 WNMU 0403 (468)

e Tightening torque 0.9 Nxm.

® For user guide, see pages 542-547

HEZ iSMILL

HM390 FTC-07

90° Face Mills Carrying HM390
TCKT 0703 Triangular Inserts
with 3 Helical Cutting Edges

HM390 FTC D032-04-16-07 [Py 4
HM390 FTC D032-05-16-07 Rz 5
HM390 FTC D040-05-16-07 [N 5
HM390 FTC D040-06-16-07 LY 6

DHUB—»
DCONMS Q % @
Rd”l =
= oA @
APMX
< bc
s & /  F
OAL DHUB DCONMS Arbord RMPX°® @
5.00 3500  30.40 16.00 A 0.8 0.11 SR M2.5X6-T7-60 T-7/51 SR M8X25DIN912
500 3500 3040  16.00 A 08 010  SRM25X6T7-60  T-7/51  SRMBX25DING12
500 3500 3800  16.00 A 06 020  SRM25X6T7-60  T-7/51 SR MBX25DING12
500 3500 3800  16.00 A 06 020  SRM25X6T7-80  T-7/51  SRMBX25DING12

* Insert clamping screw must be lubricated every indexing e Tightening torque 0.9 Nxm e For user guide, see pages 542-547

() Number of inserts

(2 For adaptation options, see page 548

(3 Maximum ramping angle

For inserts, see pages: HM390 TCKT/CT 0703 (446)

Member IMC Group
o=
L 4 11 ]

FACE MILLS

193



OoDO

S$90° LINE

S$890 FSZ-R08

Face Mills Carrying
Double-Sided Square Inserts

DHUB ——»

" ~—DcoNMmS

-

!

@))
—
—
- OAL
E with 8 Cutting Edges A ;
o 9] %ﬂ E 90 ApMX l
LL] DC »h—ﬁ
O
<E DC APMX OAL cicT® DCONMS DHUB Arbor MIID@ k]
L $890 FSZ D040-05-16-R08 40.00 5.00 35.00 5 16.00 38.00 A $890 SZMU 0804... 0.24
$890 FSZ D040-06-16-R08 40.00 5.00 35.00 6 16.00 38.00 A $890 SZMU 0804... 0.34
$890 FSZ D050-06-22-R08 50.00 5.00 40.00 6 22.00 48.00 A $890 SZMU 0804... 0.35
$890 FSZ D050-08-22-R08 50.00 5.00 40,00 8 22.00 48,00 A $890 SZMU 0804... 0.39
$890 FSZ D063-07-22-R08 63.00 5.00 40.00 7 22.00 48.00 A 5890 SZMU 0804... 0.60
$890 FSZ D063-10-22-R08 63.00 5.00 40,00 10 22.00 48,00 A $890 SZMU 0804... 0.58
$890 FSZ D080-08-27-R08 80.00 5.00 50.00 8 27.00 60.00 B $890 SZMU 0804... 0.98
$890 FSZ D080-12-27-R08 80.00 5.00 50.00 12 27.00 60.00 B $890 SZMU 0804... 0.93
$890 FSZ D100-10-32-R08 100.00 5.00 50,00 10 32.00 78.00 B $890 SZMU 0804... 1.52
$890 FSZ D100-14-32-R08 100.00 5.00 50.00 14 32.00 78.00 B $890 SZMU 0804... 1.50
S$890 FSZ D125-12-40-R08 125.00 5.00 50.00 12 40.00 92.00 B 5890 SZMU 0804... 2.29
$890 FSZ D125-18-40-R08 125.00 5.00 50.00 18 40.00 92.00 B S890 SZMU 0804... 2.32
e For user guide, see pages 542-547
() Number of inserts
(2 Master insert identification
For inserts, see pages: S890 SZMU-0804PN (503)
When stepdown milling is performed by use of passes, the depth of cut per pass should not
exceed the depth of cut as recommended in the ISCAR catalog.
0.28 -
/V +
5 15
V v o 3 10
VA5
- ‘ '
Fig. 1- Generated profile for a Fig. 2- Generated profile for a depth
depth of cut of up to 5mm of cut in stepdown milling
Starting feed per tooth F; for S890 face mills with inserts S890 SZMU 08...
Workpiece Material F., mm/Tooth for Grades*
ISO Class Typical Representstive Hardness, |ISCAR Mat.
DIN/ISO 513| Description | AISI/SAE/ASTM DIN W.-Nr. HB Group** |1C 5100 | IC810 | 1C808 | 1C845 | IC5400
Non-alloy steel 1020 1.044 130-180 1 0.1-0.25]0.1-0.25] 0.1-0.25
Aloy steel 4340 1.658 260-300 8 0.1-0.2 | 0.1-0.2 | 0.1-0.2
4340 1.658 HRC 35-42* 9 0.1-0.2 | 0.1-0.2 | 0.1-0.2
High alloy steel H13 1.234 200-220 10 0.08-0.15|0.08-0.15]0.08-0.15
Martensitic s.s 420 1.402 200 12 0.08-0.15|0.08-0.15]0.08-0.15
Austenitic s.s 304L 1.431 200 14 0.1-0.15]0.1-0.15]0.1-0.15
- 316L 1.440 140 14 0.1-0.15]0.1-0.15]0.1-0.15
Grey cast iron Class 40 0.6025 (GG25) 250 16 0.15-0.25|0.15-0.25
Nodular cast iron | Class 65-45-12 | 0.7050 (GGG50) 200 17 0.12-0.2 [ 0.12-0.2
Hard steel and H11 1.234 HRC 45-49 38.1 0.06-0.12|0.06-0.12|0.06-0.12
cast iron P20 1.2330 HRC 50-55 38.2 0.05-0.10.05-0.1 ] 0.05-0.1
* Quenched and tempered
** ISCAR material group in accordance with VDI 3323 standard
Spare Parts
Designation & / f
$890 FSZ D040-05-16-R08 SR M3X0.5-L7.4 IP9el 1P-9/151 SR M8X25DIN912
$890 FSZ D040-06-16-R08 SR M3X0.5-L7.4 IPge) IP-9/151 SR M8X25DIN912
$890 FSZ D050-06-22-R08 SR M3X0.5-L7.4 IPge) IP-9/151 SR M10X25 DIN912
$890 FSZ D050-08-22-R08 SR M3X0.5-L7.4 IPgle) IP-9/151 SR M10X25 DIN912
$890 FSZ D063-07-22-R08 SR M3X0.5-L7.4 [Pgie) IP-9/151 SR M10X25 DIN912
$890 FSZ D063-10-22-R08 SR M3X0.5-L7.4 IPge) IP-9/151 SR M10X25 DIN912
$890 FSZ D080-08-27-R08 SR M3X0.5-L7.4 IPgle) IP-9/151
$890 FSZ D080-12-27-R08 SR M3X0.5-L7.4 IPge) IP-9/151
$890 FSZ D100-10-32-R08 SR M3X0.5-L7.4 IPge) IP-9/151
$890 FSZ D100-14-32-R08 SR M3X0.5-L7.4 [Pgle) IP-9/151
$890 FSZ D125-12-40-R08 SR M3X0.5-L7.4 IPge) IP-9/151
§890 FSZ D125-18-40-R08 SR M3X0.5-L7.4 IP9e) IP-9/151

(@ Recommended tightening torque:2 N*m (17.7 Ibf*in)

ISCAR



HELPLUS Fﬁ DHUB — =

HP FO90AN-07 e B Q % @
ANl =

90° Face Mills Carrying HP

—
ANKT 0702.. Inserts OAL :I
A [RR v

r APMX 2

L LL

o oom  ww ou  ows ccows mexr mon wwe G RS

HP F90AN D32-06-16-07 32.00 6 7.70 356.00 30.40 16.00 1.4 A 26600 0.10 Ll_
HP FOOAN D40-08-22-07 40.00 8 7.70 40.00 38.00 22.00 1.0 B 23799 0.16
HP FO90AN D40-10-22-07 40.00 10 7.70 40.00 38.00 22.00 1.0 B 23799 0.17

* Insert tightening torque: 0.62 Nxm e For user guide, see pages 542-547

() Number of inserts

2 Maximum ramping angle

©) For adaptation options, see page 548

@ Maximum RPM

For inserts, see pages: HP ANCR 0702PNFR (444) » HP ANKT 0702...-FF (445) » HP ANKT/ANCT 0702..PN-R/PNTR (444) » HP ANKW 070204PNTR (444)

Spare Parts

& /S F

SR 34-533/UHG  T-6/51 SR M8X20DIN912
8 SR 34-533/UHG  T-6/51 SR M10X25 DIN912
HP F90AN D40-10-22-07 SR 34-533/UHG  T-6/51 SR M10X25 DIN912

7

HELIDO e
DCONMS
H690 FWN-07

90° Face Mills Carrying

HB90 WNMU 0705
Double-Sided Trigonal Inserts
with 6 Helical Cutting Edges

(@]
DC cICT!) APMX DHUB DCONMS OAL Arbor?  RMPX°® =)

2 @
5

@ %
s

H690 FWN D050-04-22-R07 50.00 4 7.00 48.00 22.00 40.00 A 1.2 0.33
H690 FWN D050-05-22-R07 50.00 5 7.00 48.00 22.00 40.00 A 1.2 0.33
H690 FWN D063-05-22-R07 63.00 5 7.00 48.00 22.00 40.00 A 11 0.50
H690 FWN D063-06-27-R07 63.00 6 7.00 60.00 27.00 50.00 A 11 0.72
H690 FWN D063-07-22-R07 63.00 7 7.00 48.00 22.00 40.00 A 11 0.50
H690 FWN D080-07-27-R07 80.00 7 7.00 60.00 27.00 50.00 B 1.0 1.00
H690 FWN D080-09-27-R07 80.00 ¢ 7.00 60.00 27.00 50.00 B 1.0 0.98
H690 FWN D100-08-32-R07 100.00 8 7.00 70.00 32.00 50.00 B 0.8 1.57
H690 FWN D100-11-32-R07 100.00 11 7.00 70.00 32.00 50.00 B 0.8 1.62
H690 FWN D125-10-40-R07 125.00 10 7.00 82.00 40.00 63.00 B 0.5 2.82

e For cutting speed recommendations, see pages 542-547
() Number of inserts @ For adaptation options, see page 548 @ Maximum ramping angle  For inserts, see pages: H690 WNHU/WNMU 0705 (469)

Examples of Cutting Speed for H690 FWN/EWN...07 Cutters

1SO Class| Workpiece Material Cutting Speed V¢, SFM, for Grades
DIN/ ISO ISCAR Mat Typical Materials

513 Description Group* |AISI/SAE/ ASTM| DIN W.-Nr. [Hardness HB| 1C808 | IC5100 | IC810 | IC5400 | IC830 | 1C330
Non-alloy steel 1 1020 1.044 130-180 180-250 150-220 | 150-220 | 130-200 | 120-180
Alloy steel 8 4340 1.6582 260-300 150-200 130-180| 130-180 | 120-170 | 100-140
Alloy steel 9 4340 1.6582 HRC 35-42** | 100-170 100-150 | 100-150 | 100-130 | 100-120
High alloy steel 10 H13 1.2344 200-220 100-170 100-150 | 100-150 | 100-130 | 100-120
Martensitic s.s. 12 420 1.4021 200 100-150 100-130 [ 100-120

Grey cast iron 16 Class 40 0.6025 (GG25) 250 200-250 | 220-300 | 220-300 180-230

Nodular cast iron 17 Class 65-45-12 (8(2855%) 200 160-220 | 180-250 | 180-250 150-200

* ISCAR material group in accordance with VDI 3323 standard
** Quenched and tempered
e First choice for grades

Spare Parts

& / z /

H690 FWN D050-04-22-R07 SR M4X0.7IP15 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
H690 FWN D050-05-22-R07 SR M4X0.7IP15 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
H690 FWN D063-05-22-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912
H690 FWN D063-06-27-R07 SR M4X0.7IP15 BLD IP15/57 SW6-T-SH
H690 FWN D063-07-22-R07 SR M4X0.7IP15 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
H690 FWN D080-07-27-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
H690 FWN D080-09-27-R07 SR M4X0.7IP15 BLD IP15/57 SW6-T-SH
H690 FWN D100-08-32-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
H690 FWN D100-11-32-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
H690 FWN D125-10-40-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH

Member IMC Group

(T [Tl 195



PN SELITANG U

S T490 FLN-08 pgowvs | Q % @

I B 00° Face Mills with Tangentially T

2 Clamped Inserts oL

APMX

I_L] DC

@)

<E DC cicT® APMX OAL DHUB DCONMS Arbor CSP6) %

L T490 FLN D032-03-16-08 32.00 3 8.00 35,00 30.40 16.00 A 1 0.11
T490 FLN D032-05-16-08 (1) 32.00 5 8.00 35.00 30.40 16.00 A 1 0.11
T490 FLN D040-04-16-08 40.00 4 8.00 40,00 38.40 16.00 A 1 0.23
T490 FLN D040-06-16-08 (1) 40,00 6 8.00 40.00 38.40 16.00 A 1 0.32
T490 FLN D050-05-22-08 50.00 5 8.00 40,00 48,00 22,00 A 1 0.36
T490 FLN D050-07-22-08 (1) 50.00 7 8.00 40.00 48.00 22,00 A 1 0.37
T490 FLN D050-10-22-08 (2 50.00 10 8.00 40.00 48,00 22,00 A 0 0.39
T490 FLN D063-06-27-08 63.00 6 8.00 40.00 60.00 27.00 A 1 0.60
T490 FLN D063-09-27-08 (1) 63.00 9 8.00 40.00 60.00 27.00 A 1 0.62
T490 FLN D080-10-27-08 80.00 10 8.00 50.00 60.00 27.00 B 0 0.84

* When machining slots, regular pitch cutters should be used e For user guide, see pages 542-547

() Fine pitch

@ Extra fine pitch

() Number of inserts

) For adaptation options, see page 548

(8) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 0804 (476)

Spare Parts

S / /

T490 FLN D032-03-16-08 SR 10502813-HG-M IP-7/51 SR M8X20DIN912
T490 FLN D032-05-16-08 SR 10502813-HG-M IP-7/51 SR M8X20DIN912
T490 FLN D040-04-16-08 SR 10502813-HG-M IP-7/51 SR M8X30DIN912
T490 FLN D040-06-16-08 SR 10502813-HG-M IP-7/51 SR M8X30DIN912
T490 FLN D050-05-22-08 SR 10502813-HG-M IP-7/51 SR M10X25 DIN912
T490 FLN D050-07-22-08 SR 10502813-HG-M IP-7/51 SR M10X25 DIN912
T490 FLN D050-10-22-08 SR 10502813-HG-M IP-7/51 SR M10X20DIN912
T490 FLN D063-06-27-08 SR 10502813-HG-M IP-7/51 SR DIN 912 M12X25
T490 FLN D063-09-27-08 SR 10502813-HG-M IP-7/51 SR DIN 912 M12X25
T490 FLN D080-10-27-08 SR 10502813-HG-M IP-7/51
HE2 [ TARGCAMFIX -

T490 FLN-C#-08 0 T @ % @@

90° Face Mills with CAMFIX DCONMS
Shanks Carrying Tangentially l r
Clamped Inserts l

(@]
DC  DCONMS  APMX LF CICT®  Shank coI@ & /

T490 FLN D44-06-C4-08 44.00 40.00 8.00 45.00 6 CAMFIX 1 0.23 SR 10502813-HG-M IP-7/51
T490 FLN D54-07-C5-08 54.00 50.00 8.00 52.00 7 CAMFIX 1 1.68

SR 10502813-HG-M IP-7/51
® For user guide, see pages 542-547
™) Number of inserts
(2 1 - Hole for data chip, O - Without hole for data chip
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 0804 (476)

ISCAR




HELIDO

7 DHUB
H490 FO90AX-09 r%CO—NM?W Q
Y

90° Face Mills Carrying H490 —=rJ |
ANKX 09.. Double-Sided

&
HE

N
—
—
Rectangular Inserts with 4 ‘ - 9}? 4 l 2
Helical Cutting Edges Il APvx_y
oo ! LL]
@)
Q
DC cIcT™ APMX DHUB DCONMS OAL Arbor®? k] <E
H490 F90AX D032-4-16-09 32.00 4 8.00 30.40 16.00 35.00 A 0.10 LI—
H490 FO0AX D032-5-16-09 32.00 5 8.00 30.40 16.00 35.00 A 0.10
H490 F90AX D040-5-16-09 40.00 5 8.00 38.40 16.00 40.00 A 0.22
H490 FO0AX D040-6-16-09 40.00 6 8.00 38.40 16.00 40.00 A 0.22
H490 F90AX D050-6-22-09 50.00 6 8.00 48.00 22.00 40.00 A 0.36
H490 FO0AX D050-7-22-09 50.00 7 8.00 48.00 22.00 40.00 A 0.37
H490 FO90AX D063-8-22-09 63.00 8 8.00 60.00 22.00 40.00 A 0.62
H490 FO0AX D063-9-22-09 63.00 9 8.00 60.00 22.00 40.00 A 0.64
e For user guide, see pages 542-547
() Number of inserts
(2 For adaptation options, see page 548
For inserts, see pages: H490 ANKX 0904-FF (470) e H490 ANKX/ANCX-09 (469)
Spare Parts
& / / /
H490 FOO0AX D032-4-16-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X20DIN912
H490 FO0AX D032-5-16-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X20DIN912
H490 F90AX D040-5-16-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X30DIN912
H490 FO0AX D040-6-16-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X30DIN912
H490 F90AX D050-6-22-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
H490 FO0AX D050-7-22-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
H490 FO0AX D063-8-22-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
H490 F90AX D063-9-22-09 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
TANGFIN DHUB
HTF-R-LN10 {DCONMSI= Q %
Face Mills Carrying Tangentially L T
Clamped Inserts with 4 OAL
Cutting Edges for Extra Ly l
Fine Milling Applications ‘ . ‘ 1APM><
DC APMX cIcT™ OAL DHUB DCONMS Arbor®@ CSP® &
HTF D050-05-22-R-LN10 50.00 0.25 6} 40.00 48.00 22.00 A 1 0.31
HTF D063-06-22-R-LN10 63.00 0.30 6 40.00 48.00 22.00 A 1 0.43
HTF D080-07-27-R-LN10 80.00 0.35 7 50.00 60.00 27.00 B 1 0.81
HTF D100-08-32-R-LN10 100.00 0.40 8 50.00 78.00 32.00 B 1 1.44
HTF D125-09-40-R-LN10 125.00 0.45 9 63.00 92.00 40.00 B 1 2.55
HTF D160-10-40-R-LN10 160.00 0.50 10 63.00 95.00 40.00 C 0 3.75

* For best surface finish it is highly recommended to operate the cutter at maximal depth of cut e For user guide, see pages 542-547
() Number of inserts

() For adaptation see page 548

() 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: HTP LN.. 1006 (537)

Spare Parts

& / / /

HTF D050-05-22-R-LN10 SR 34-550 BLD T10/57 SW6-SD SR M10X25 DIN912
HTF D063-06-22-R-LN10 SR 34-550 BLD T10/87 SW6-SD SR M10X25 DIN912
HTF D080-07-27-R-LN10 SR 34-550 BLD T10/S7 SW6-SD
HTF D100-08-32-R-LN10 SR 34-550 BLD T10/87 SW6-SD
HTF D125-09-40-R-LN10 SR 34-550 BLD T10/87 SW6-SD
HTF D160-10-40-R-LN10 SR 34-550 BLD T10/57 SW6-SD

Member IMC Group




SUMOniii

U) 290 LINE f«—DHUB —=
SR T200 FLN-10 DCONMS @a % &
BN 00° Face Mills Carrying T290 L T
il | NMT 1004... Tangentially OAL r
2 Clamped Inserts i
APMX l
O ——
< DC cicTt APMX OAL DHUB DCONMS Arbor® &
L T290 FLN D32-05-16-10 32.00 5 9.00 35.00 30.00 16.00 A 0.09
T290 FLN D40-06-16-10 40.00 6 9.00 35.00 34.00 16.00 A 0.16
T290 FLN D50-07-22-10 50.00 7 9.00 40.00 46.00 22.00 A 0.29

e For user guide, see pages 542-547

() Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: T290 LNMT/LNHT 1004 (474)

Spare Parts

£ / a /

T290 FLN D32-05-16-10 SR 10504970 BLD IP15/M7 SW6-T-SH SR M8X20DIN912
T290 FLN D40-06-16-10 SR 10504970 BLD IP15/M7 SW6-T-SH SR M8X20DIN912
T290 FLN D50-07-22-10 SR 10504970 BLD IP15/M7 SW6-T-SH SR M10X25 DIN912

HELIQUAD

FO0SP-10 Fﬁ@? Q % @

90° Face Mills Carrying S/X/
QPMT 1004... Inserts

i

OAL
el APMX i
APVX_y

el
Ll
DC‘J

DC cIcT® APMX OAL DHUB DCONMS Arbord &

FO0SP D 40-04-16-10 40.00 4 9.60 40.00 38.00 16.00 A 0.42
F90SP D 50-04-22-10 50.00 4 9.60 40.00 48.00 22.00 A 0.37
F90SP D 50-06-22-10 50.00 6 9.60 40.00 48.00 22.00 A 0.39
F90SP D 63-06-22-10 63.00 6 9.60 40.00 48.00 22.00 A 0.48
F90SP D 63-07-22-10 63.00 7 9.60 40.00 48.00 22.00 A 0.42
F90SP D 80-06-27-10 80.00 6 9.60 50.00 60.00 27.00 B 0.88
F90SP D 80-09-27-10 80.00 9 9.60 50.00 60.00 27.00 B 1.50

e For user guide, see pages 542-547

M D is 0.2 mm larger when QPMT inserts are used

2 Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: QPMR 1004-HQ-M (495) « QPMT 100408PDTN (495) » SPCT/SPMR PDR (496) ¢ SPMT-HQ (495) ¢ XPMT-HQ (496)

Spare Parts

& Y / /
F90SP D 40-04-16-10 SR 10514114 SW6-T-SH BLD IP15/M7 SR M8X30DIN912
F90SP D 50-04-22-10 SR 10514114 SW6-T-SH BLD IP15/M7 SR M10X25 DIN912
F90SP D 50-06-22-10 SR 105614114 SW6-T-SH BLD IP15/M7 SR M10X25 DIN912
F90SP D 63-06-22-10 SR 10514114 SW6-T-SH BLD IP15/M7 SR M10X25 DIN912
F90SP D 63-07-22-10 SR 10514114 SW6-T-SH BLD IP15/M7 SR M10X25 DIN912

F90SP D 80-06-27-10 SR 10614114 SW6-T-SH BLD IP15/M7
FO0SP D 80-09-27-10 SR 10514114 SW6-T-SH BLD IP15/M7

PS8 ISCAR




HELIGMILL rry—

DCONMS

HM390 FTP-10

90° Face Mills Carrying HM390
TPKT 1003 Triangular Inserts
with 3 Helical Cutting Edges

O
DC cIcTt) APMX OAL DHUB DCONMS  Arbor® RMPX°® kol

@@
9 F

®
&

FACE MILLS

HM390 FTP D040-3-16-10 40.00 3 8.00 40.00 38.40 16.00 A 1.6 0.50
HM390 FTP D040-5-16-10 40.00 5 8.00 40.00 38.40 16.00 A 1.6 0.23
HM390 FTP D050-4-22-10 50.00 4 8.00 40.00 48.00 22.00 A 1.2 0.33
HM390 FTP D050-6-22-10 50.00 6 8.00 40.00 48.00 22.00 A 1.2 0.34
HM390 FTP D063-6-22-10 63.00 6 8.00 45.00 59.00 22.00 A 09 0.69
HM390 FTP D063-6-27-10 63.00 6 8.00 45.00 61.00 27.00 A 09 0.63
HM390 FTP D063-7-22-10 63.00 7 8.00 45.00 61.00 22.00 A 09 0.69
HM390 FTP D063-7-27-10 63.00 7 8.00 45.00 61.00 27.00 A 0.9 0.68
HM390 FTP D080-11-27-10 80.00 1 8.00 50.00 60.00 27.00 A 0.8 0.98
HM390 FTP D100-13-27-10 100.00 13 8.00 50.00 60.00 27.00 A 0.8 1.38

* For user guide, see pages 542-547

() Number of inserts

(@) For adaptation see page 548

@) Maximum ramping angle

For inserts, see pages: HM390 TPKT/CT 1003 (447)

Spare Parts

& / /s /

HM390 FTP D040-3-16-10 SR 14-562/8 BLD T10/S7 SW6-SD SR M8X25DIN912

HM390 FTP D040-5-16-10 SR 14-562/8 BLD T10/87 SW6-SD SR M8X25DIN912

HM390 FTP D050-4-22-10 SR 14-562/8 BLD T10/S7 SW6-SD SR M10X25 DIN912
HM390 FTP D050-6-22-10 SR 14-562/S BLD T10/S7 SW6-SD SR M10X25 DIN912
HM390 FTP D063-6-22-10 SR 14-562/8 BLD T10/87 SW6-SD SR M10X25 DIN912
HM390 FTP D063-6-27-10 SR 14-562/8 BLD T10/S7 SW6-SD SR M12X35DIN912
HM390 FTP D063-7-22-10 SR 14-562/S BLD T10/S7 SW6-SD SR M10X25 DIN912
HM390 FTP D063-7-27-10 SR 14-562/8 BLD T10/87 SW6-SD SR M12X35DIN912
HM390 FTP D080-11-27-10 SR 14-562/8 BLD T10/S7 SW6-SD SR M12X35DIN912
HM390 FTP D100-13-27-10 SR 14-562/8 BLD T10/S7 SW6-SD SR M12X35DIN912

Member IMC Group

(T [Tl 199



0P
]
—
=
LLJ
O
T

HELi2000 S
HMS0 F90AP-10 ogoNs |

90° Face Mills Carrying HM90 E
APKT 1003... Inserts i

Li DC——

%
Y e

k&L

O
DC cicT® APMX OAL DHUB  DCONMS RMPX°®  RPMX®  Arbor® k)

HM90 FO9OAP D32-3-16 32.00 3 10.00 35.00 30.40 16.00 2.2 85855 A 0.10
HM90 FO90AP D32-5-16 32.00 5 10.00 35.00 30.40 16.00 2.2 35355 A 0.10
HM90 F90AP D40-5-22 40.00 ) 10.00 40.00 38.40 22.00 1.9 31623 A 0.19
HM90 F90AP D40-6-22 40.00 6 10.00 40.00 38.40 22.00 1.9 31623 A 0.18
HM90 FO90AP D50-6-22 50.00 6 10.00 40.00 48.40 22.00 14 28284 A 0.34
HM90 F90AP D50-7-22 50.00 7 10.00 40.00 48.40 22.00 14 28284 A 0.35
HM90 F90AP D63-7-22 (1) 63.00 7 10.00 40.00 59.00 22.00 1.0 25198 B 0.52
HM90 FO90AP D63-9-22 63.00 9 10.00 40.00 59.00 22.00 1.0 25198 B 0.52
HM90 F90AP D80-8-27 (1) 80.00 8 10.00 50.00 70.00 27.00 0.9 22361 B 0.94
HM90 FOOAP D100-9-32 (1) 100.00 9 10.00 50.00 78.00 32.00 0.7 20100 B 1.51

* For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)
2 Number of inserts

@) Maximum ramping angle

4 Maximum RPM

(8) For adaptation options, see page 548

For inserts, see pages: APCR 1003PDFR-P (450) ¢ APCT 1003PDR-HM (450) ® APKR 1003PDR-HM (451) » APKT 1003..R (453) ® APKT 1003..TR-RM (452)
e APKT 1003PDR-HM (451) ® APKT 1003PDR-HM-CS (451) ® APKT 1003PDTR-76 (452) ® APKT 1003PDTR/L-RM (452)  APKT 1003R8T-FF (454)
e APKW 100304 PDR (PCD) (450) ® HM90 APCR 100304PDFR-P/DP (449) ® HM90 APCT 1003 (448)  HM90 APKT 1003 (449) * HM90 APKT 1003PD-W (453)

e HM90 APKW 1003PDR (453)

Spare Parts

» /

/

/

HM90 F9OAP D32-3-16 SR 34-505/HG SW4-SD BLD T08/M7 SR M8X20DIN912
HM90 F90AP D32-5-16 SR 34-505/HG SW4-SD BLD T08/M7 SR M8X20DIN912
HM90 FO90AP D40-5-22 SR 34-505/HG SW4-SD BLD T08/M7 SR M10X25 DIN912
HM90 FO90AP D40-6-22 SR 34-505/HG SW4-SD BLD T08/M7 SR M10X25 DIN912
HM90 FO90AP D50-6-22 SR 34-505/HG SW4-SD BLD T08/M7 SR M10X25 DIN912
HM90 F90AP D50-7-22 SR 34-505/HG SW4-SD BLD T08/M7 SR M10X25 DIN912
HM90 F9OAP D63-7-22 SR 34-505/HG SW4-SD BLD T08/M7
HM90 FO90AP D63-9-22 SR 34-505/HG SW4-SD BLD T08/M7
HM90 FO90AP D80-8-27 SR 34-505/HG SW4-SD BLD T08/M7
HM90 F90AP D100-9-32 SR 34-505/HG SW4-SD BLD T08/M7

J“Eggl-’lv.!zoo o DHUB —

HM90 F90AP-10-JHP _ooonus

90° JHP Face Mills Carrying

HELI2000 and HELIMILL Inserts

DC— I &

%
Y e

©
®

F

w  com ww  ow  ows ocows

(]

RMPX°@ Arbor MIID@)
HM90 F90AP D032-05-16-JHP 32.00 5 10.00 45.00 30.40 16.00 22 A APKT 1003PDR-HM  0.17
HM90 F90AP D040-06-22-JHP 40.00 6 10.00 50.00 38.00 22.00 1.9 A APKT 1003PDR-HM  0.27
22.00 14 A APKT 1003PDR-HM  0.49

HM90 F90AP D050-07-22-JHP 50.00 7 10.00 50.00 48.00

* Use adaptation only with face coolant outlets e For user guide, see pages 542-547
() Number of inserts

(2) Maximum ramping angle

() Master insert identification

For inserts, see pages: APCR 1003PDFR-P (450) » APCT 1003PDR-HM (450) * APKR 1003PDR-HM (451) ¢ APKT 1003..R (453) » APKT 1003..TR-RM (452)
o APKT 1003PDR-HM (451) » APKT 1003PDR-HM-CS (451) » APKT 1003PDTR-76 (452)  APKT 1003PDTR/L-RM (452) » APKT 1003R8T-FF (454)
o APKW 100304 PDR (PCD) (450) » HM90 APCR 100304PDFR-P/DP (449) » HM30 APCT 1003 (448) » HM90 APKT 1003 (449)  HM90 APKT 1003PD-W (453)

o HM90 APKW 1003PDR (453)

Spare Parts

P /

/

s

HM90 F90AP D032-05-16-JHP SR 34-505/HG® SR PS 118-0416
HM90 F90AP D040-06-22-JHP SR 34-505/HG) SR PS 118-0273
HM90 F90AP D050-07-22-JHP SR 34-505/HG?) SR PS 118-0271C

BLD TO8/M7
BLD T08/M7
BLD T08/M7

SW4-SD
SW4-SD
SW4-SD

(A Recommended tightening torque for this item: 1.2 Nxm

ISCAR




690 LINE

HEL iDO F— DHUB— =
H690 F90AX-10

90° Face Mills Carrying H690
TNKX 1005.. Triangular Inserts
with 6 Helical Cutting Edges

Rd|

A

¢ : OAL

O

DC cicT APMX DHUB DCONMS OAL Arbor®? RMPX°® @
H690 FOOAX D032-4-16-10 32.00 4 8.00 30.40 16.00 35.00 A 1.6 0.10
H690 FO0AX D032-5-16-10 32.00 5 8.00 30.40 16.00 35.00 A 1.6 0.10
H690 F90AX D040-5-16-10 40.00 5 8.00 38.00 16.00 40.00 A 1.1 0.22
H690 FO0OAX D040-6-16-10 40.00 6 8.00 38.00 16.00 40.00 A 1.1 0.21
H690 F90AX D050-6-22-10 50.00 6 8.00 48.00 22.00 40.00 A 1.0 0.35
H690 FO0AX D050-7-22-10 50.00 7 8.00 48.00 22.00 40.00 A 1.0 0.36
H690 F90AX D063-8-22-10 63.00 8 8.00 48.00 22.00 40.00 A 0.7 047

() Number of inserts

(2 For adaptation options, see page 548

(3 Maximum ramping angle

For inserts, see pages: H690 TNKX/TNCX 1005 (472)

Spare Parts

& / /7 /
H690 F90AX D032-4-16-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X38-1515
H690 F90AX D032-5-16-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X38-1515
H690 F9OAX D040-5-16-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X30DIN912
H690 FOOAX D040-6-16-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M8X30DIN912
H690 F9OAX D050-6-22-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
H690 FO0AX D050-7-22-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912
H690 F90AX D063-8-22-10 SR 10508082-HG BLD T08/M7 SW4-SD SR M10X25 DIN912

7.
HELITANG ~—— DHUB —

T490 LINE

T490 FLN-11

*®

@

90° Face Mills Carrying
T490 LN#T 11... Tangentially
Clamped Inserts

F

DC cicT! APMX OAL DHUB DCONMS  Arbor® RMPX°®)

[

T490 FLN D040-04-1 1 40.00 4 9.00 40.00 38.00 16.00 A 1.4
T490 FLN D040-05-16-R-11 40.00 5 9.00 40.00 38.00 16.00 A 1.4
T490 FLN D050-05-22-R-11 50.00 5 9.00 40.00 48.00 22.00 A 11
T490 FLN D050-06-22-R-11 50.00 6 9.00 40.00 48.00 22.00 A 1.1
T490 FLN D063-06-22-R-11 63.00 6 9.00 40.00 59.20 22.00 A 0.7
T490 FLN D063-09-22-R-11 63.00 9 9.00 40.00 59.20 22.00 A 0.7
T490 FLN D080-07-27-R-11 80.00 7 9.00 50.00 70.00 27.00 A
T490 FLN D080-11-27-R-11 80.00 1 9.00 50.00 70.00 27.00 A
T490 FLN D100-08-32-R-11 100.00 8 9.00 50.00 78.00 32.00 B
T490 FLN D100-13-32-R-11 100.00 13 9.00 50.00 78.00 32.00 B

0.23
0.22
0.33
0.33
0.55
0.55
1.01
1.04
1.48
1.55

e For user guide, see pages 542-547

() Number of inserts

(@) For adaptation options, see page 548

() Maximum ramping angle - valid only with T490 LNHT 1106PNTR-RD insert
For inserts, see pages: T490 LNMT/LNHT 1106 (477)

Spare Parts

& / / /

T490 FLN D040-04-16-R-11 SR 34-535-SN BLD T15/S7@ SW6-SD SR MBX30DIN912
T490 FLN D040-05-16-R-11 SR 34-535-SN BLD T15/576@ SW6-SD SR MBX30DIN912
T490 FLN D050-05-22-R-11 SR 34-535-SN BLD T15/S7¢) SW6-SD SR M10X25 DIN912
T490 FLN D050-06-22-R-11 SR 34-535-SN BLD T15/57@ SW6-SD SR M10X25 DIN912
T490 FLN D063-06-22-R-11 SR 34-535-SN BLD T15/S7@ SW6-SD SR M10X25 DIN912
T490 FLN D063-09-22-R-11 SR 34-535-SN BLD T15/57@ SW6-SD SR M10X25 DIN912
T490 FLN D080-07-27-R-11 SR 34-535-SN BLD T15/S7@ SW6-SD

T490 FLN D080-11-27-R-11 SR 34-535-SN BLD T15/576@ SW6-SD

T490 FLN D100-08-32-R-11 SR 34-535-SN BLD T15/S7¢@) SW6-SD

T490 FLN D100-13-32-R-11 SR 34-535-SN BLD T15/576@ SW6-SD

@ Recommended key handle for limiting torque to 3.2 N*m for this item is HSD 4-3.2NM (to be used with BLD 4 T15-4.8 blade)

Member IMC Grou

=ens= )

FACE MILLS



LOGIQSTANG E——

T890HT FLN-R13

90° Face Mills Carrying
T890 LN.T 1306...
Tangentially Clamped Inserts

-~ DCOMNS [+ Q % @a
y

with 8 Cutting Edges

e com  ocows  ows w03

0P
]
—
=
LLJ
O
T

T890HT FLN D040-03-16-R13 40.00 9.50 3 16.00 38.00 40.00 A 0.22
T890HT FLN D040-04-16-R13 40.00 9.50 4 16.00 38.00 40.00 A 0.21
T890HT FLN D040-05-16-R13 40.00 9.50 5 16.00 38.00 40.00 A 0.21
T890HT FLN D050-04-22-R13 50.00 9.50 4 22.00 48.00 40.00 A 0.33
T890HT FLN D050-05-22-R13 50.00 9.50 ® 22.00 48.00 40.00 A 0.33
T890HT FLN D050-06-22-R13 50.00 9.50 6 22.00 48.00 40.00 A 0.35
T890HT FLN D063-06-22-R13 63.00 9.50 6 22.00 48.00 40.00 A 0.48
T890HT FLN D063-07-22-R13 63.00 9.50 7 22.00 48.00 40.00 A 0.48
T890HT FLN D063-08-22-R13 63.00 9.50 8 22.00 48.00 40.00 A 0.50
T890HT FLN D080-06-27-R13 80.00 9.50 6 27.00 60.00 50.00 B 0.88
T890HT FLN D080-07-27-R13 80.00 9.50 7 27.00 60.00 50.00 B 0.89
T890HT FLN D080-09-27-R13 80.00 9.50 9 27.00 60.00 50.00 B 0.91
T890HT FLN D100-08-32-R13 100.00 9.50 8 32.00 78.00 50.00 B 1.49
T890HT FLN D100-12-32-R13 100.00 9.50 12 32.00 78.00 50.00 B 1.62
T890HT FLN D125-09-40-R13 125.00 9.50 9 40.00 92.00 63.00 B 2.83
T890HT FLN D125-15-40-R13 125.00 9.50 15 40.00 92.00 63.00 B 2.93
T890HT FLN D160-12-40-R13 160.00 9.50 12 40.00 95.00 63.00 C 3.24
T890HT FLN D160-20-40-R13 160.00 9.50 20 40.00 95.00 63.00 C 3.53

® For user guide, see pages 542-547

() Number of inserts

For inserts, see pages: T890 LN.. 1306 (475)

Spare Parts

& / z /
T890HT FLN D040-03-16-R13 SR 10513105-L10.56 BLD IP20/M7 SW6-T-SH SR M8X30DIN912
T890HT FLN D040-04-16-R13 SR 10513105-L10.5@ BLD IP20/M7 SW6-T-SH SR MBX30DIN912
T890HT FLN D040-05-16-R13 SR 10513105-L10.5@ BLD IP20/M7 SW6-T-SH SR M8X30DIN912
T890HT FLN D050-04-22-R13 SR 10513105@ BLD IP20/M7 SW6-T-SH SR M10X25 DIN912
T890HT FLN D050-05-22-R13 SR 105131056 BLD IP20/M7 SW6-T-SH SR M10X25 DIN912
T890HT FLN D050-06-22-R13 SR 105131056 BLD IP20/M7 SW6-T-SH SR M10X25 DIN912
T890HT FLN D063-06-22-R13 SR 10513105@ BLD IP20/M7 SW6-T-SH SR M10X25 DIN912
T890HT FLN D063-07-22-R13 SR 105131056 BLD IP20/M7 SW6-T-SH SR M10X25 DIN912
T890HT FLN D063-08-22-R13 SR 10513105@ BLD IP20/M7 SW6-T-SH SR M10X25 DIN912

T890HT FLN D080-06-27-R13 SR 10513105 BLD IP20/M7 SW6-T-SH
T890HT FLN D080-07-27-R13 SR 105131056 BLD IP20/M7 SW6-T-SH
T890HT FLN D080-09-27-R13 SR 10513105@ BLD IP20/M7 SW6-T-SH
T890HT FLN D100-08-32-R13 SR 105131056 BLD IP20/M7 SW6-T-SH
T890HT FLN D100-12-32-R13 SR 105131056 BLD IP20/M7 SW6-T-SH
T890HT FLN D125-09-40-R13 SR 10513105@ BLD IP20/M7 SW6-T-SH
T890HT FLN D125-15-40-R13 SR 105131056 BLD IP20/M7 SW6-T-SH
T890HT FLN D160-12-40-R13 SR 105131056 BLD IP20/M7 SW6-T-SH
T890HT FLN D160-20-40-R13 SR 10513105¢ BLD IP20/M7 SW6-T-SH

@ Recommended tightening torque: 8.0 N*m (71.0 Ibf*in)

ISCAR




VN — DHUB— =

TANG!
TANGENTIAL LINE —=DCONMS|=— APMX A Q
FOOLN-N11 gy T

LT

90° Face Mills Carrying o ek

LN..1106... Tangentially ‘ OAL

Clamped Inserts KAPR DC=40, =6, KAPR=01"
@ o DC=50, a=6", KAPR=90"
DG | DC>63, a=5", KAPR=90"

o oom  aw ou  ows  ooows  aoe b9

FACE MILLS

FOOLN D040-04-16-R/L-N11 40.00 4 10.00 40,00 38.40 16.00 A 0.22
F9OLN D040-06-16-R/L-N11 (1) 40.00 6 10.00 40.00 38.40 16.00 A 0.21
FOOLN D050-05-22-R/L-N11 50.00 5 10.00 40,00 47.00 22,00 A 0.32
FOOLN D050-07-22-L-N11 (1 50.00 7 10.00 40.00 47.00 22,00 A 0.32
FOOLN D050-07-22-R-N11 (1) 50.00 7 10.00 40,00 47,00 22,00 A 0.33
FOOLN D063-06-22-R/L-N11 63.00 6 10.00 40,00 59.20 22,00 B 047
FOOLN D063-09-22-R/L-N11 (1) 63.00 9 10.00 40.00 59.20 22,00 B 0.50
FOOLN D080-08-27-R/L-N11 (2 80.00 8 10.00 50.00 70.00 27.00 B 0.98
FOOLN D080-11-27-R/L-N11 (2 80.00 1 10.00 50.00 70.00 27.00 B 1.02
FOOLN D100-09-32-L-N11 @ 100.00 9 10.00 50.00 77.00 32.00 B 1.40
FOOLN D100-09-32-R-N11 (@ 100.00 9 10.00 50.00 77.00 32,00 B 1.41
FOOLN D100-14-32-R-N11 @ 100.00 14 10.00 50.00 77.00 32,00 B 1.48
FOOLN D125-10-40-L-N11 (2 125.00 10 10.00 63.00 95.00 40.00 B 2.73
FOOLN D125-10-40-R-N11 (@ 125.00 10 10.00 63.00 95,00 40.00 B 2,67
FOOLN D125-18-40-R-N11 (@ 125.00 18 10.00 63.00 95,00 40,00 B 2.88

* For user guide, see pages 542-547

) Fine pitch

@) For internal coolant through the holder, use a matching coolant set (should be ordered separately)

(3 Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: LNAR 1106 (482)  LNAR 1106 (PCD) (483) ® LNAR 1106PN-R-S-W (PCD) (483) ® LNAT 1106-W (482) ® LNAW-11 (CBN) (484)
e LNHT 1106 PN-N HT (482) ® LNHT 1106 PN-R HT (481) ® LNKX/LNMT 1106 (481)

Spare Parts

» / / /

FOOLN D040-04-16-R/L-N11 SR 34-550 SW6-SD BLD T10/87 SR M8X30DIN912
FOOLN D040-06-16-R/L-N11 SR 34-550 SW6-SD BLD T10/57 SR M8X30DIN912
FOOLN D050-05-22-R/L-N11 SR 34-550 SW6-SD BLD T10/57 SR M10X25 DIN912
FOOLN D050-07-22-R/L-N11 SR 34-550 SW6-SD BLD T10/57 SR M10X25 DIN912
FOOLN D063-06-22-R/L-N11 SR 34-550 SW6-SD BLD T10/87

F9O0LN D063-09-22-R/L-N11 SR 34-550 SW6-SD BLD T10/57

FOOLN D080-08-27-R/L-N11 SR 34-560 SW6-SD BLD T10/57

FOOLN D080-11-27-R/L-N11 SR 34-550 SW6-SD BLD T10/57

FOOLN D100-09-32-R/L-N11 SR 34-550 SW6-SD BLD T10/57

FOOLN D100-14-32-R-N11 SR 34-560 SW6-SD BLD T10/57

FOOLN D125-10-40-R/L-N11 SR 34-550 SW6-SD BLD T10/87

FOOLN D125-18-40-R-N11 SR 34-550 SW6-SD BLD T10/57

Member IMC Grou

T Al 203



HELI/QUAD <~ DHUB

90° Face Mills Carrying
Square Inserts

F90SD-12 ey T Q % @
| y

DC cicTt) APMX OAL DHUB DCONMS Arbor® %

0P
]
—
=
LLJ
O
T

F90SD D050-05-22-12 50.00 5 11.80 40.00 48.00 22.00 A 0.28
F90SD D063-04-22-12 63.00 4 11.80 40.00 48.00 22.00 A 0.41
F90SD D063-06-22-12 63.00 6 11.80 40.00 48.00 22.00 A 0.43
F90SD D080-05-27-12 80.00 5 11.80 50.00 60.00 27.00 B 0.79
F90SD D100-06-32-12 100.00 6 11.80 50.00 78.00 32.00 B 1.44
F90SD D100-08-32-12 100.00 8 11.80 50.00 78.00 32.00 B 1.43
F90SD D125-07-40-12 125.00 7 11.80 50.00 92.00 40.00 B 213
F90SD D125-09-40-12 125.00 9 11.80 50.00 92.00 40.00 B 2.16
F90SD D160-11-40-12 160.00 1 11.80 50.00 95.00 40.00 C 2.95
F90SD D200-13-60-12 200.00 13 11.80 55.00 135.00 60.00 C 5.40

* For user guide, see pages 542-547

() Number of inserts

(@) For adaptation options, see page 548

For inserts, see pages: QDCT-PDN (497) » QDMT 1205..PDTN-M (498) » SDMR-HQ (497) * SDMT-PDR-HQ (496) * SDMT-PDR-RM (497)

Spare Parts

S / 2 /
F90SD D050-05-22-12 SR M4X0.7-L9.6 IP15 BLD IP15/57 SW6-T-SH SR M10X25 DIN912
F90SD D063-04-22-12 SR M4X0.7-L9.6 IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912
F90SD D063-06-22-12 SR M4X0.7-L9.6 IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912

F90SD D080-05-27-12 SR M4X0.7-L9.6 IP15 BLD IP15/M7 SW6-T-SH
F90SD D100-06-32-12 SR M4X0.7-L9.6 IP15 BLD IP15/M7 SW6-T-SH
F90SD D100-08-32-12 SR M4X0.7-L9.6 IP15 BLD IP15/M7 SW6-T-SH
F90SD D125-07-40-12 SR M4X0.7-L9.6 IP15 BLD IP15/M7 SW6-T-SH
F90SD D125-09-40-12 SR M4X0.7-L9.6 IP15 BLD IP15/M7 SW6-T-SH
FO0SD D160-11-40-12 SR M4X0.7-L9.6 IP15 BLD IP16/L7 SW6-T-SH
F90SD D200-13-60-12 SR M4X0.7-L9.6 IP15 BLD IP15/L7 SW6-T-SH

ISCAR




HELIDO

890 LINE DHUB

$890 FSN-13 oo SRS
Face Mills Carrying ! T

Double-Sided Square Inserts
with 8 Cutting Edges

FACE MILLS

DC —+
O

DC APMX OAL CICT®@ DCONMS DHUB Arbor® CSP) @
S$890 FSN D040-04-16-R13 40.00 9.00 40.00 4 16.00 38.00 A 1 0.19
$890 FSN D050-04-22-R13 50.00 9.00 40.00 4 22.00 48.00 A 1 0.28
$890 FSN D050-05-22-R13 (1) 50.00 9.00 40.00 5 22.00 48.00 A 1 0.29
$890 FSN D063-05-22-R13 63.00 9.00 40.00 5 22.00 48.00 A 1 0.39
$890 FSN D063-07-22-R13 (1) 63.00 9.00 40.00 7 22.00 48.00 B 1 0.39
$890 FSN D080-07-27-R13 80.00 9.00 50.00 7 27.00 60.00 B 1 0.74
S$890 FSN D080-09-27-R13 (1) 80.00 9.00 50.00 9 27.00 60.00 B 1 0.74
$890 FSN D100-08-32-R13 100.00 9.00 50.00 8 32.00 70.00 B 1 1.25
$890 FSN D100-11-32-R13 (1) 100.00 9.00 50.00 1 32.00 70.00 B 1 1.27
$890 FSN D125-09-40-R13 125.00 9.00 63.00 9 40.00 82.00 B 1 2.29
S$890 FSN D125-14-40-R13 (1) 125.00 9.00 63.00 14 40.00 82.00 B 1 2.30
$890 FSN D160-10-40-R13 160.00 9.00 63.00 10 40.00 106.00 C 0 4.28

e Use only Torx Plus keys e For user guide, see pages 542-547

) Fine pitch

) Number of inserts

@) For adaptation options, see page 548

(4) 0 - Without coolant supply, 1 - With coolant supply
For inserts, see pages: S890 SNMU 1305PN... (504)

Spare Parts

& / 2 /

$890 FSN D040-04-16-R13 SR 11800745 BLD IP15/87 SW6-T-SH SR M8X38-1515
$890 FSN D050-04-22-R13 SR 11800745 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
$890 FSN D050-05-22-R13 SR 11800745 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
$890 FSN D063-05-22-R13 SR 11800745 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
$890 FSN D063-07-22-R13 SR 11800745 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
$890 FSN D080-07-27-R13 SR 11800745 BLD IP15/57 SW6-T-SH

$890 FSN D080-09-27-R13 SR 11800745 BLD IP15/87 SW6-T-SH

$890 FSN D100-08-32-R13 SR 11800745 BLD IP15/87 SW6-T-SH

$890 FSN D100-11-32-R13 SR 11800745 BLD IP15/87 SW6-T-SH

$890 FSN D125-09-40-R13 SR 11800745 BLD IP15/87 SW6-T-SH

$890 FSN D125-14-40-R13 SR 11800745 BLD IP15/87 SW6-T-SH
$890 FSN D160-10-40-R13 SR 11800745 BLD IP15/87 SW6-T-SH

Member IMC Grou

T Al 205



HELIDO ~ DHUB—T
S

490 LINE DCONM
H490 F90AX-12 :
90° Face Mills Carrying H490
ANKX 12.. Double-Sided OAL
Rectangular Inserts with 4 7 -
Helical Cutting Edges

I_
L
4

@@
=

APMX

DC ——»

DC cICTH!) APMX OAL DHUB  DCONMS  Arbor®  RMPX®  CSP@ &

0P
]
—
=
LLJ
O
T

H490 FO0AX D040-4-16-12 40.00 4 12.00 40.00 38.00 16.00 A 1.5 1 0.20
H490 F90AX D050-3-22-12 50.00 3 12.00 40.00 48.00 22.00 A 15 1 0.33
H490 FOOAX D050-5-22-12 50.00 5 12.00 40.00 48.00 22.00 A 1.5 1 0.32
H490 F90AX D063-4-27-12 63.00 4 12.00 50.00 59.20 27.00 A 1.5 1 0.68
H490 FO0AX D063-6-27-12 63.00 6 12.00 50.00 59.20 27.00 A 1.5 1 0.65
H490 F90AX D080-5-27-12 80.00 5 12.00 50.00 63.00 27.00 B 1 0.83
H490 FO90AX D080-7-27-12 80.00 7 12.00 50.00 63.00 27.00 B 1 0.85
H490 F90AX D100-6-32-12 100.00 6 12.00 50.00 80.00 32.00 B 1 1.41
H490 FOOAX D100-9-32-12 100.00 9 12.00 50.00 80.00 32.00 B 1 1.47
H490 F90AX D160-9-40-12 160.00 9 12.00 63.00 105.00 40.00 C 0 3.87

* For user guide, see pages 542-547

() Number of inserts

(@) For adaptation options, see page 548

(@) Maximum ramping angle - valid only when the H490 ANKX1205R 15T-FF insert is used
) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: H490 ANKX 1205-FF (471) ¢ H490 ANKX/ANCX-12 (470)

Spare Parts

& / a /

H490 FOOAX D040-4-16-12 SR 14-544 BLD T15/M7 SW6-T SR M8X30DIN912
H490 F90AX D050-3-22-12 SR 14-544 BLD T156/M7 SWE-T SR M10X30 DIN912
H490 FO0AX D050-5-22-12 SR 14-544 BLD T15/M7 SW6-T SR M10X30 DIN912
H490 FO0AX D063-4-27-12 SR 14-544 BLD T15/M7 SW6-T SR M12X35DIN912
H490 FO90AX D063-6-27-12 SR 14-544 BLD T15/M7 SW6-T SR M12X35DIN912
H490 F90AX D080-5-27-12 SR 14-544 BLD T15/M7 SW6-T

H490 FOOAX D080-7-27-12 SR 14-544 BLD T15/M7 SW6-T

H490 F90AX D100-6-32-12 SR 14-544 BLD T156/M7 SW6-T

H490 FO0AX D100-9-32-12 SR 14-544 BLD T15/M7 SW6-T

H490 F90AX D160-9-40-12 SR 14-544 BLD T15/M7 SW6-T

ISCAR




y

‘E i E

O
DC cIcT APMX OAL DHUB  DCONMS  Arbor®  RMPX®  CSP® k)

T“Alz'g".:-,,“N!'_A'.'.G <~ DHUB
T490 FLN-13 DSONYP Q % @
90° Face Mills Carrying

&=

Tangentially Clamped Inserts
with 4 Helical 13 mm
Long Cutting Edges

FACE MILLS

T490 FLN D040-04-16-R-13 40.00 4 12.50 40.00 38.00 16.00 A 2.0 1 0.22
T490 FLN D040-05-16-R-13 40.00 5 12.50 40.00 38.00 16.00 A 2.0 1 0.22
T490 FLN D050-05-22-R-13 50.00 5 12.50 40.00 47.00 22.00 A 15 1 0.31
T490 FLN D050-06-22-R-13 50.00 6 12.50 40.00 47.00 22.00 A 15 1 0.31
T490 FLN D063-06-22-R-13 63.00 6 12.50 40.00 59.20 22.00 A 11 1 0.55
T490 FLN D063-08-22-R-13 63.00 8 12.50 40.00 59.20 22.00 A 1.1 1 0.56
T490 FLN D080-07-27-R-13 80.00 7 12.50 50.00 70.00 27.00 B 09 1 0.98
T490 FLN D080-10-27-R-13 80.00 10 12.50 50.00 70.00 27.00 B 0.9 1 1.00
T490 FLN D100-08-32-R-13 100.00 8 12.50 50.00 78.00 32.00 B 0.7 1 1.45
T490 FLN D100-13-32-R-13 100.00 13 12.50 50.00 78.00 32.00 B 0.7 1 1.49
T490 FLN D125-09-40-R-13 125.00 9 12.50 63.00 82.00 40.00 B 05 1 2.16
T490 FLN D125-17-40-R-13 125.00 17 12.50 63.00 82.00 40.00 B 0.5 1 2.30
T490 FLN D160-12-40-R-13 160.00 12 12.50 63.00 120.00 40.00 C 05 0 432
T490 FLN D200-15-60-R-13 200.00 15 12.50 63.00 135.00 60.00 C 0.5 0 5.84

¢ When machining slots, coarse pitch cutters should be used e For user guide, see pages 542-547

() Number of inserts

(@) For adaptation options, see page 548

(3 Maximum ramping angle - valid only when the T490 LNHT 1306 PNTR-RD insert is used. For the -FF insert, refer to -FF insert information

4) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: T490 LNAR-P (480)  T490 LNMT 1306PNR-FF (479) ® T490 LNMT 1306PNTR-FW (479)  T490 LNMT/LNHT/LNAR 1306 (478)

Spare Parts

& / a /

T490 FLN D040-04-16-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH SR M8X30DIN912
T490 FLN D040-05-16-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH SR M8X30DIN912
T490 FLN D050-05-22-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
T490 FLN D050-06-22-R-13 SR 34-535-SN BLD T15/57 SW6-T-SH SR M10X25 DIN912
T490 FLN D063-06-22-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
T490 FLN D063-08-22-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
T490 FLN D080-07-27-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

T490 FLN D080-10-27-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

T490 FLN D100-08-32-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

T490 FLN D100-13-32-R-13 SR 34-535-SN BLD T15/S7 SW6-T-SH

T490 FLN D125-09-40-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

T490 FLN D125-17-40-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

T490 FLN D160-12-40-R-13 SR 34-535-SN BLD T16/57 SW6-T-SH

T490 FLN D200-15-60-R-13 SR 34-535-SN BLD T15/87 SW6-T-SH

SUMOiniiii

290 LINE

T290 FLN-15

90° Face Mills Carrying T290
LNMT 1506... Tangentially
Clamped Inserts

DC  CICT® APMX OAL DHUB DCONMS Arbord @ & / 4 f
T290 FLN D040-04-16-15 40.00 4 14.00 40.00 36.00 16.00 A 0.20 SR 10505427 BLDIP20/S7 ~ SW6-T SR M8X25DIN912
50.00 5 14,00 40.00 48.00 22.00 A 0.33 SR 10505427 BLDIP20/S7  SW6-T SR M10X25DIN7984
e For user guide, see pages 542-547

() Number of inserts

@) For adaptation options, see page 548
For inserts, see pages: T290 LNMT 1506 (475)

Y@
r

Member IMC Grou

Tl 207



TANGRIILL DHUB @ %
TANGENTIAL LINE »‘DCONMSP- »ac Q
FOOLN-N15 LS

90° Face Mills Carrying | T AMx T KAPR

LN..1506... Tangentially \ OAL v 7

Clamped Inserts ol| Yel| Vel| flel el APnmx

DC=50, a=8', KAPR=91"
DC | DC=63, a=6", KAPR=90"
DC2100, a=4.5', KAPR=90

o com  mw  ow  ows  ocows  awee I3

0P
]
—
=
LLJ
O
T

F9OLN D050-05-22-R/L-N15 50.00 5 14.00 40.00 47.00 22.00 A 0.33
FOOLN D063-05-22-R/L-N15 63.00 5 14.00 40.00 59.20 22.00 B 0.48
FOOLN D063-08-22-R/L-N15 63.00 8 14.00 40.00 59.20 22.00 B 0.50
FOOLN D080-07-27-L-N15 () 80.00 7 14.00 50.00 70.00 27.00 B 1.01
FOOLN D080-07-27-R-N15 (1) 80.00 7 14.00 50.00 70.00 27.00 B 1.02
FOOLN D080-10-27-L-N15 (1) 80.00 10 14.00 50.00 70.00 27.00 B 1.05
FOOLN D080-10-27-R-N15 (1) 80.00 10 14.00 50.00 70.00 27.00 B 1.06
FOOLN D100-08-32-L-N15 (1) 100.00 8 14.00 50.00 78.00 32.00 B 0.50
FOOLN D100-08-32-R-N15 (1 100.00 8 14.00 50.00 78.00 32,00 B 1.52
FOOLN D100-12-32-L-N15 (1 100.00 12 14.00 50.00 78.00 32.00 B 1.59
FOOLN D100-12-32-R-N15 (1) 100.00 12 14.00 50.00 78.00 32.00 B 1.60
FOOLN D125-09-40-R/L-N15 (1) 125.00 9 14.00 63.00 95.00 40.00 B 2.95
FOOLN D125-15-40-L-N15 (1) 125.00 15 14.00 63.00 95.00 40.00 B 3.06
FOOLN D125-15-40-R-N15 (1) 125.00 15 14.00 63.00 95.00 40.00 B 3.07
FOOLN D160-10-40-L-N15 160.00 10 14.00 63.00 120.00 40.00 C 4.30
FOOLN D160-10-40-R-N15 160.00 10 14.00 63.00 120.00 40.00 C 429
FOOLN D160-20-40-L-N15 160.00 20 14.00 63.00 120.00 40.00 C 4.48
FOOLN D160-20-40-R-N15 160.00 20 14.00 63.00 120.00 40.00 C 4.50
FOOLN D200-12-60-L-N15 200.00 12 14.00 63.00 135.00 60.00 C 6.67
FOOLN D200-12-60-R-N15 200.00 12 14.00 63.00 1356.00 60.00 C 6.64
F9OLN D250-15-60-R-N15 250.00 15 14.00 63.00 150.00 60.00 C 10.39
FOOLN D250-30-60-R-N15 250.00 30 14.00 63.00 150.00 60.00 C 10.83

* Left-hand cutters are designated by a red groove e For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

2 Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: LNAR 1506 (488) ¢ LNAR 1506 PN-R-S (PCD) (489) ® LNAT 1506-W (489) e LNAT 1506..PN-N MM (489) e LNAW-15 (CBN) (485)

e LNHW 1506 PNTN (ceramic) (488) ® LNKX 1506 1.5X45 PN-N (487) ¢ LNKX 1506PN-N PL (486) ® LNKX/LNMT 1506PNTN/PN-N MM (486)

o LNMT 1506PN-R-TS (485) ® LNMT/LNHT 1506...-N HT (488) ® LNMT/LNHT 1506PN-R HT (487) « LNMW 1506 PNTN (486)

Spare Parts

& Z / /
FOOLN D050-05-22-R/L-N15 SR 34-535 SWe-T BLD T15/M7 SR M10X25 DIN912

F90LN D063-05-22-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D063-08-22-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D080-07-27-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D080-10-27-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D100-08-32-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D100-12-32-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
F90LN D125-09-40-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D125-15-40-L-N15 SR 34-535 SWe-T BLD T15/M7
F90LN D125-15-40-R-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D160-10-40-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D160-20-40-L-N15 SR 34-535 SW6-T BLD T15/M7
FOOLN D160-20-40-R-N15 SR 34-535 SW6-T-SH BLD T15/M7
F9O0LN D200-12-60-R/L-N15 SR 34-535 SW6-T-SH BLD T15/M7
FOOLN D250-15-60-R-N15 SR 34-535 SW6-T-SH BLD T15/M7
F90LN D250-30-60-R-N15 SR 34-535 SW6-T BLD T15/M7

ISCAR




HELISMILL on - )

HM390 FTD-15 el N % @ —1

90° Face Mills Carrying HM390 s 1

TDKT 1505 Triangular Inserts - L, on y @ —

with 3 Helical Cutting Edges & o l 2

e bC ' LL]

O

DC CICT®  APMX OAL DHUB  DCONMS  Arbor®  RMPX°®@  CSP® = <

HM390 FTD D040-3-16-15 40.00 & 13.00 40.00 38.40 16.00 A 2.0 1 0.20 LI_
HM390 FTD D040-4-16-15 40.00 4 13.00 40.00 38.40 16.00 A 2.0 1 0.19
HM390 FTD D050-3-22-15 50.00 3 13.00 40.00 46.00 22.00 A 1.6 1 0.25
HM390 FTD D050-4-22-15 50.00 4 13.00 40.00 46.00 22.00 A 16 1 0.28
HM390 FTD D050-5-22-15 50.00 5 13.00 40.00 46.00 22.00 A 1.6 1 0.28
HM390 FTD D063-4-27-15 63.00 4 13.00 45.00 59.00 27.00 A 1.2 1 0.53
HM390 FTD D063-5-22-15 63.00 & 13.00 45,00 59.00 22.00 A 12 1 0.58
HM390 FTD D063-5-27-15 63.00 5 1300 45,00 50.00 27.00 A 12 1 053
HM390 FTD D063-6-22-15 63.00 6 13.00 45.00 59.00 22.00 A 1.2 1 0.62
HM390 FTD D063-6-27-15 63.00 6 13.00 45,00 59.00 27.00 A 12 1 0.57
HM390 FTD D080-5-27-15 80.00 5 13.00 50.00 74.00 27.00 A 0.9 1 1.11
HM390 FTD D080-6-27-15 80.00 6 13.00 50.00 74.00 27.00 A 0.9 1 0.14
HM390 FTD D080-7-27-15 80.00 7 13.00 50.00 74.00 27.00 A 09 1 118
HM390 FTD D100-6-32-15 100.00 6 13.00 50.00 80.00 32.00 B 0.7 1 1.31
HM390 FTD D100-8-32-15 100.00 8 13.00 50.00 80.00 32.00 B 0.7 1 1.46
HM390 FTD D125-7-40-15 125.00 7 13.00 63.00 82.00 40.00 B 05 1 212
HM390 FTD D125-9-40-15 125.00 9 13.00 63.00 82.00 40.00 B 05 1 2.29
HM390 FTD D160-8-40-15 (1) 160.00 8 13.00 63.00 105.00 40.00 C 0.3 0 3.57
HM390 FTD D160-10-40-15 (1) 160.00 10 13.00 63.00 105.00 40.00 C 03 0 4.02
HM390 FTD D200-9-60-15 200.00 9 13.00 63.00 135.00 60.00 C 0.2 0 523

* When assembled the HM390 TDKT 1505PDR-FW insert, tool diameter enlarges by 1.0 mm e For user guide, see pages 542-547
() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

2 Number of inserts

®) For adaptation options, see page 548

4) Maximum ramping angle

) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: HM390 TDCR 1505 (448) ¢ HM390 TDKT/CT 1505 (447)

Spare Parts

& / a /

HM390 FTD D040-3-16-15 SR 10511869 BLD IP20/S7 SW6-T SR M8X37-1515
HM390 FTD D040-4-16-15 SR 10511869 BLD IP20/S7 SW6-T SR M8X37-1515
HM390 FTD D050-3-22-15 SR 10505427 BLD IP20/87 SW6-T SR M10X30 DIN912
HM390 FTD D050-4-22-15 SR 10505427 BLD IP20/S7 SW6-T SR M10X30 DIN912
HM390 FTD D050-5-22-15 SR 10511869 BLD IP20/57 SW6-T SR M10X30 DIN912
HM390 FTD D063-4-27-15 SR 10505427 BLD IP20/S7 SW6-T SR M12X35DIN912
HM390 FTD D063-5-22-15 SR 10511869 BLD IP20/S7 SW6-T SR M10X30 DIN912
HM390 FTD D063-5-27-15 SR 10505427 BLD IP20/57 SW6-T SR M12X35DIN912
HM390 FTD D063-6-22-15 SR 10511869 BLD IP20/87 SW6-T SR M10X30 DIN912
HM390 FTD D063-6-27-15 SR 10505427 BLD IP20/S7 SW6-T SR M12X35DIN912
HM390 FTD D080-5-27-15 SR 10505427 BLD IP20/57 SW6-T SR M12X40DIN912
HM390 FTD D080-6-27-15 SR 10505427 BLD IP20/S7 SW6-T SR M12X40DIN912
HM390 FTD D080-7-27-15 SR 10505427 BLD IP20/57 SW6-T SR M12X40DIN912
HM390 FTD D100-6-32-15 SR 10605427 BLD IP20/S7 SWG-T

HM390 FTD D100-8-32-15 SR 10505427 BLD IP20/87 SW6-T

HM390 FTD D125-7-40-15 SR 10505427 BLD IP20/S7 SW6-T

HM390 FTD D125-9-40-15 SR 10505427 BLD IP20/57 SW6-T

HM390 FTD D160-8-40-15 SR 10505427 BLD IP20/S7 SWe6-T

HM390 FTD D160-10-40-15 SR 10505427 BLD IP20/S7 SW6-T

HM390 FTD D200-9-60-15 SR 10505427 BLD IP20/S7 SW6-T

Member IMC Grou

TRl 209



@p FELi2000 —

S HM90 F90A-15 FP«%MS ® % @

B B 90° Face Mills Carrying HM90 1 T -

= ADKT 1505... Inserts on Sl A=

; o
| 9 APMX l

LL DC A

@)

<E Designation DC CICT®@ APMX OAL DHUB DCONMS RMPX°® Arbor kg

L HMO90 F90A D 40-3-16 40,00 3 14.30 40.00 38.60 16.00 40 A 0.20
HM90 F90A D 40-4-16 40.00 4 14.30 40.00 38.60 16.00 40 A 0.19
HM90 F90A D 50-3-22 50.00 3 14.30 40.00 48,00 22.00 26 A 0.32
HM90 F90A D 50-5-22 50.00 5 1430 40.00 48.00 22.00 26 A 0.30
HMO90 F90A D 63-4-22 63.00 4 14.30 40.00 59.20 22.00 2.0 A 0.55
HM90 F90A D 63-6-22 63.00 6 14.30 40.00 59.20 22.00 20 A 0.52
HM90 F90A D 80-5-27 (1) 80.00 5 14.30 50.00 70.00 27.00 08 B 0.91
HM90 F90A D 80-7-27 (1) 80.00 7 14.30 50.00 70.00 27.00 08 B 0.88
HM90 F90A D100-6-32 (1) 100.00 6 14.30 50.00 78.00 32.00 0.7 B 154
HM90 F90A D100-8-32 (1) 100.00 8 14.30 50.00 78.00 32.00 0.7 B 1.49
HM90 F90A D125-9-40 () 125,00 9 14.30 63.00 90.00 40.00 05 B 2.95

e For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

(2 Number of inserts

(3 Maximum ramping angle

) For adaptation options, see page 548

For inserts, see pages: ADCR 1505PDFR (456) ® ADCT 1505PDFR-HM (457)  ADKR 1505PDR/L-HM (456) ® ADKT 1505-FF (459) e ADKT 1505..R/L-HM (459)
o ADKT 1505PD-W (460) ® ADKT 1505PDR/L-HM (458) ¢ ADKT 1505PDTR-76 (459) ® ADKT 1505PDTR/L-RM (458) ¢ ADKW (CBN) (457) « ADKW (PCD) (457)
e ADMT 1505PDR-HS (458) ® HM90 ADCR 1505PDFR-P (456) ® HM90 ADCT 1505 (455) ® HM90 ADCT 1505PDR-CF (455) ¢ HM90 ADKT 1505 (454)

* HM90 ADKT 1505PD-W (460) ® HM90 ADKW 1505PDR (462)

Spare Parts

& / a /

HM90 F90A D 40-3-16 SR 14-544/S BLD T15/M7 SW6-T-SH SR MBX25DIN912
HM90 F90A D 40-4-16 SR 14-544/S BLD T15/M7 SW6-T-SH SR M8X25DIN912
HM90 F90A D 50-3-22 SR 14-544/S BLD T15/M7 SW6-T-SH SR M10X25 DIN912
HM90 F90A D 50-5-22 SR 14-544/S BLD T15/M7 SW6-T-SH SR M10X25 DIN912
HM90 F90A D 63-4-22 SR 14-544 BLD T15/M7 SW6-T-SH SR M10X25 DIN912
HM90 F90A D 63-6-22 SR 14-544 BLD T15/M7 SW6-T-SH SR M10X25 DIN912
HM90 F90A D 80-5-27 SR 14-544 BLD T15/M7 SW6-T-SH
HM90 F90A D 80-7-27 SR 14-544 BLD T15/M7 SW6-T-SH
HM90 F90A D100-6-32 SR 14-544 BLD T15/M7 SW6-T-SH
HM90 F90A D100-8-32 SR 14-544 BLD T15/M7 SW6-T-SH
HM90 F90A D125-9-40 SR 14-544 BLD T15/M7 SW6-T-SH

HELI2000

JET LINE DHUB
HMO90 F90A-15-JHP [ ogows | Q % @@
90° JHP Face Mills Carrying T — =
HELI2000 and HELIMILL Inserts ! @ ®
OAL /
R
APMX r
DC—>‘ [}
DC CICTO  APMX OAL DHUB  DCONMS RMPX°®  Arbor MIID® %]
HMS90 F90A D050-05-22-JHP 50.00 5 14.30 50.00 48.00 22.00 26 A ADKT 1505PDTR 0.50
HM90 F90A D063-06-22-JHP 63.00 6 14.30 50.00 48.00 22.00 20 A ADKT 1505PDTR 0.76

¢ Use adaptation only with face coolant outlets e For user guide, see pages 542-547

) Number of inserts

2) Maximum ramping angle

(@) Master insert identification

For inserts, see pages: ADCR 1505PDFR (456) ® ADCT 1505PDFR-HM (457)  ADKR 1505PDR/L-HM (456) ® ADKT 1505-FF (459) ¢ ADKT 1505..R/L-HM (459)
e ADKT 1505PD-W (460) ® ADKT 1505PDR/L-HM (458) ® ADKT 1505PDTR-76 (459) ® ADKT 1505PDTR/L-RM (458) ® ADKW (CBN) (457) ® ADKW (PCD) (457)
e ADMT 1505PDR-HS (458) ® HM90 ADCR 1505PDFR-P (456) * HM90 ADCT 1505 (455) ® HM90 ADCT 1505PDR-CF (455) ® HM90 ADKT 1505 (454)

e HM90 ADKT 1505PD-W (460) ® HM9O0 ADKW 1505PDR (462)

Spare Parts

P Vs / 7

SR 14-544/38 SR PS 118-0273 BLD T15/M7 SW6-T-SH
SR 14-5446 SR PS 118-0273 BLD T15/M7 SW6-T-SH

() Recommended tightening torque for this item: 4.8 Nxm

ISCAR




HELi2000 - P

FO0AD-SFR pEetis % Q =7

Adjustable Face Mills (used T

mainly for PCD/CBN inserts) oL r

0re) |
[ Yo S—

o oom  on  ows  coows  med  wwe I
F90AD D050-04-22-SFR 50.00 4 40.00 49,00 22.00 A 23000 0.31
F90AD D063-04-22-SFR 63.00 4 40.00 50.00 22.00 A 20600 0.43
F90AD D063-06-22-SFR 63.00 6 40.00 50.00 22,00 A 20600 0.49
F90AD D080-06-27-SFR 80.00 6 50.00 60.00 27.00 B 18200 0.89

* These tools may also be used for regular HELI2000 AD.. 1505... inserts, for applications that require precise frontal edge adjustment

e Thinner insert ADM. 15083.. mounted on TSP-15R seat e For user guide, see pages 542-547

() Number of inserts

(2 For adaptation options, see page 548

@) Maximum RPM

For inserts, see pages: ADKW (CBN) (457)  ADKW (PCD) (457)  ADCR 1505PDFR (456) ® ADCT 1505PDFR-HM (457) ¢ ADKR 1505PDR/L-HM (456)

o ADKT 1505-FF (459) e ADKT 1505..R/L-HM (459) ¢ ADKT 1505PD-W (460) ® ADKT 1505PDR/L-HM (458) ® ADKT 1505PDTR-76 (459) ® ADKT 1505PDTR/L-RM (458)
e ADMT 1505PDR-HS (458) ® HM90 ADCR 1505PDFR-P (456) ® HM90 ADCT 1505 (455) ® HM90 ADCT 1505PDR-CF (455) ® HM90 ADKT 1505 (454)

o HM90 ADKT 1505PD-W (460) ® HM90 ADKW 1505PDR (462)

Spare Parts

& @ / y, /

F90AD D050-04-22-SFR SR 14-544/8 SR 11800782 BLD T15/87 SW6-T-SH SR M10X20DIN912
F90AD D063-04-22-SFR SR 14-544/8 SR 11800782 BLD T15/87 SW6-T-SH SR M10X20DIN912
F90AD D063-06-22-SFR SR 14-544/8 SR 11800782 BLD T15/87 SW6-T-SH SR M10X20DIN912
F90AD D080-06-27-SFR SR 14-544/8 SR 11800782 BLD T15/87 SW6-T-SH

Member IMC Group

(T [Tl 211

FACE MILLS



0P
]
—
=
LLJ
O
T

FENA RIS

HELITANG

T490 LIN

T490 FLN-16

® 4@

90° Face Mills Carrying
Tangentially Clamped Inserts
with 4 Helical 16 mm

Long Cutting Edges

o com  mw  ou  ows  ooows e cpe I

T490 FLN D050-03-22-16 50.00 3 16.00 40.00 48.00 22.00 A 1 0.30
T490 FLN D050-04-22-16 (1) 50.00 4 16.00 40.00 48.00 22.00 A 1 0.32
T490 FLN D063-06-27-16 63.00 6 16.00 45.00 60.00 27.00 A 1 0.62
T490 FLN D080-05-27-16 80.00 5 16.00 50.00 63.00 27.00 B 1 0.84
T490 FLN D080-07-27-16 (1) 80.00 7 16.00 50.00 63.00 27.00 B 1 0.91
T490 FLN D100-06-32-16 100.00 6 16.00 50.00 80.00 32.00 B 1 1.44
T490 FLN D100-08-32-16 (1) 100.00 8 16.00 50.00 80.00 32.00 B 1 1.50
T490 FLN D125-07-40-16 125.00 7 16.00 63.00 82.00 40.00 B 1 242
T490 FLN D125-10-40-16 (1) 125.00 10 16.00 63.00 82.00 40.00 B 1 2.46
T490 FLN D160-12-40-16 (1) 160.00 12 16.00 63.00 105.00 40.00 C 0 4.28
T490 FLN D200-12-60-16 (1) 200.00 12 16.00 63.00 135.00 60.00 C 0 5.40
¢ When machining slots, regular pitch cutters should be used. e For user guide, see pages 542-547

() Fine pitch

2 Number of inserts

@) For adaptation options, see page 548

4) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 1607 (480)

Spare Parts

& / a /

T490 FLN D050-03-22-16 SR 14-591 BLD T20/M7 SWe-T SR M10X25DIN7984
T490 FLN D050-04-22-16 SR 14-591 BLD T20/M7 SWe-T SR M10X25DIN7984
T490 FLN D063-06-27-16 SR 14-591 BLD T20/M7 SW6-T SR M12X30DIN912
T490 FLN D080-05-27-16 SR 14-591 BLD T20/M7 SW6-T
T490 FLN D080-07-27-16 SR 14-591 BLD T20/M7 SWe-T
T490 FLN D100-06-32-16 SR 14-591 BLD T20/M7 SW6-T
T490 FLN D100-08-32-16 SR 14-591 BLD T20/M7 SW6-T
T490 FLN D125-07-40-16 SR 14-591 BLD T20/M7 SWe-T
T490 FLN D125-10-40-16 SR 14-591 BLD T20/M7 SW6-T
T490 FLN D160-12-40-16 SR 14-591 BLD T20/M7 SW6-T
T490 FLN D200-12-60-16 SR 14-591 BLD T20/M7 SW6-T

HM390 LINE

HM390 FTD-19

90° Face Mills Carrying HM390
TDKT 1907 Triangular Inserts
with 3 Helical Cutting Edges

O
DC  CICTH  APMX OAL DHUB  DCONMS  Arbor®  CSP®  RMPX°® kol

HM390 FTD D063-05-27-19 63.00 5 16.00 50.00 48.00 27.00 A 1 11 0.63
HM390 FTD D160-10-40-19 160.00 10 16.00 63.00 105.00 40.00 C 0 04 4.22

e For user guide, see pages 542-547

() Number of inserts

(2 For adaptation options, see page 548

©) 0 - Without coolant supply, 1 - With coolant supply
4 Maximum ramping angle

For inserts, see pages: HM390 TDKT 1907 (448)

Spare Parts

& / a /

HM390 FTD D063-05-27-19 SR 14-591/H BLD T20/87 SW6-T SR DIN 912 M12X25
HM390 FTD D160-10-40-19 SR 14-591/H BLD T20/M7 SW6-T

ISCAR



4‘9% éElDO DHUB U)

H490 F90AX-17 DTN Q % @ —1

90° Face Mills Carrying H490 T w 1

ANKX 17.. Double-Sided —

Rectangular Inserts with 4 A — OAL | &= 2

Helical Cutting Edges APMX

! LLI

l«e— DC—»! O

DC cicTe APMX OAL DHUB  DCONMS  Arbor®  RMPX°¥  CSP® & <E

H490 FO90AX D040-3-16-17 40.00 3 16.30 40.00 36.00 16.00 A 4.4 1 0.18 LI—
H490 F90AX D050-3-22-17 50.00 3 16.30 40.00 48,00 22,00 A 3.8 1 0.32
H490 FO90AX D050-4-22-17 50.00 4 16.30 40.00 48.00 22.00 A 3.8 1 0.30
H490 FO0AX D050-5-22-17 50.00 5] 16.30 40.00 48.00 22.00 A 3.8 1 0.48
H490 F90AX D063-4-27-17 63.00 4 16.30 50.00 59.20 27.00 A 2.0 1 0.63
H490 FO0AX D063-6-27-17 63.00 6 16.30 50.00 59.20 27.00 A 2.0 1 0.67
H490 FO90AX D080-5-27-17 80.00 5) 16.30 50.00 63.00 27.00 B 15 1 0.79
H490 F90AX D080-7-27-17 80.00 7 16.30 50.00 63.00 27.00 B 15 1 0.80
H490 FO90AX D100-5-32-17 100.00 & 16.30 50.00 80.00 32.00 B 1.0 1 1.39
H490 FO0AX D100-8-32-17 100.00 8 16.30 50.00 80.00 32.00 B 1.0 1 147
H490 F90AX D125-7-40-17 125.00 7 16.30 63.00 82.00 40.00 B 1 2.24
H490 FO0AX D125-10-40-17 125.00 10 16.30 63.00 82.00 40.00 B 1 5.41
H490 FO0AX D160-8-40-17 (1 160.00 8 16.30 63.00 105.00 40.00 C 0 3.64
H490 FO0AX D160-12-40-17 (1) 160.00 12 16.30 63.00 105.00 40.00 C 0 4.09
H490 F90AX D200-10-60-17 200.00 10 16.30 63.00 135.00 60.00 C 0 5.99
H490 F90AX D250-12-60-17 250.00 12 16.30 63.00 144.00 60.00 C 0 9.36

e Ramping angle is valid only when H490 ANKX 1706R15T-FF insert is used (tool diameter is then 1.5 mm larger) e For user guide, see pages 542-547
() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

2) Number of inserts

@) For adaptation options, see page 548

@ Maximum ramping angle

(8) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: H490 ANKX 1706-FF (472) e H490 ANKX/ANCX-17 (472)

Spare Parts

& / a /

H490 FO0AX D040-3-16-17 SR 14-591 BLD T20/M7 SWe-T SR M8X25DIN912
H490 F90AX D050-3-22-17 SR 14-591 BLD T20/M7 SWe-T SR M10X25 DIN912
H490 FOOAX D050-4-22-17 SR 14-591 BLD T20/M7 SWe-T SR M10X25 DIN912
H490 F90AX D050-5-22-17 SR 14-591 BLD T20/M7 SW6-T SR M10X25 DIN912
H490 FOOAX D063-4-27-17 SR 14-591 BLD T20/M7 SWe-T SR M12X30DIN912
H490 F90AX D063-6-27-17 SR 14-591 BLD T20/M7 SWe-T SR M12X30DIN912
H490 FO0AX D080-5-27-17 SR 14-591 BLD T20/M7 SWe-T

H490 F90AX D080-7-27-17 SR 14-591 BLD T20/M7 SWe-T

H490 FO90AX D100-5-32-17 SR 14-591 BLD T20/M7 SWe-T

H490 F90AX D100-8-32-17 SR 14-591 BLD T20/M7 SW6-T

H490 FOOAX D125-7-40-17 SR 14-591 BLD T20/M7 SWe-T

H490 FO0AX D125-10-40-17 SR 14-591 BLD T20/M7 SWe-T

H490 FO0AX D160-8-40-17 SR 14-591 BLD T20/M7 SWe-T

H490 FO0AX D160-12-40-17 SR 14-591 BLD T20/M7 SWe-T

H490 FO90AX D200-10-60-17 SR 14-591 BLD T20/M7 SWe-T

H490 F90AX D250-12-60-17 SR 14-591 BLD T20/M7 SW6-T

Member IMC Group

(T [Tl 213



0P
]
—
=
LLJ
O
T

HEL iDO DHUB ——»

H690 FO0AX-16

90° Face Mills Carrying H690
TNKX 1606.. Triangular Inserts
with 6 Helical Cutting Edges

= |
) j;\‘ﬂg OAL

LN\’

©

DC  CICT®  APMX OAL DHUB  DCONMS  Arbor®

[

RMPX°®) CSPH
H690 F90AX D050-3-22-16 50.00 3 13.50 40.00 48.00 22.00 A 3.0 1 0.31
H690 F90AX D050-4-22-16 50.00 4 13.50 40.00 48.00 22.00 A 3.0 1 0.30
H690 FOOAX D063-4-27-16 63.00 4 13.50 50.00 59.00 27.00 A 20 1 0.63
H690 F90AX D063-5-27-16 63.00 5 13.50 50.00 59.00 27.00 A 20 1 0.64
H690 FOOAX D080-5-27-16 80.00 5 13.50 50.00 76.00 27.00 A 1.0 1 1.20
H690 F90AX D080-6-27-16 80.00 6 13.50 50.00 76.00 27.00 A 1.0 1 1.21
H690 F90AX D100-6-32-16 100.00 6 13.50 50.00 80.00 32.00 B 1.0 1 1.29
H690 F90AX D100-8-32-16 100.00 8 13.50 50.00 80.00 32.00 B 1.0 1 1.4
H690 FOOAX D125-7-40-16 125.00 7 13.50 63.00 82.00 40.00 B 0.5 1 2.14
H690 F90AX D125-9-40-16 125.00 9 13.50 63.00 82.00 40.00 B 05 1 2.29
H690 FOOAX D160-8-40-16 160.00 8 13.50 63.00 105.00 40.00 C 0 3.03
H690 FO0AX D160-10-40-16 160.00 10 13.50 63.00 105.00 40.00 C 0 3.46
H690 FOOAX D200-11-60-16 200.00 11 13.50 63.00 135.00 60.00 C 0 5.09

* For cutting speed recommendations, see pages 542-547
() Number of inserts

(@) For adaptation options, see page 548

@) Maximum ramping angle

) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: H690 TNKX 1606 (474)

Spare Parts

» / 7

7

H690 FOOAX D050-3-22-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D050-4-22-16 SR 14-591 BLD T20/M7 SW6-T
H690 FOOAX D063-4-27-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D063-5-27-16 SR 14-591 BLD T20/M7 SW6-T
H690 FO0AX D080-5-27-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D080-6-27-16 SR 14-591 BLD T20/M7 SW6-T
H690 FOOAX D100-6-32-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D100-8-32-16 SR 14-591 BLD T20/M7 SW6-T
H690 FOOAX D125-7-40-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D125-9-40-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D160-8-40-16 SR 14-591 BLD T20/M7 SW6-T
H690 F90AX D160-10-40-16 SR 14-591 BLD T20/M7 SW6-T
H690 FOOAX D200-11-60-16 SR 14-591 BLD T20/M7 SW6-T

SR M10X40-1638
SR M10X40-1638
SR M12X30DIN912
SR M12X30DIN912
SR M12X35DIN912
SR M12X35DIN912

ISCAR#mii.i
~~——DHUB
F90 ‘.—.DCONMﬁ Q % @
90° Face Mills Carrying T
TPKN/R Inserts |
] OAL
| | @ I [l APMX |
DC ¢
O

DC cicT OAL APMX DHUB DCONMS Arbor@ k)

F90 D080-27 80.00 6 50.00 18.00 55.00 27.00 B 1.05

F90 D100-32 100.00 8 50.00 18.00 70.00 32.00 B 1.57

F90 D160-40 160.00 10 63.00 18.00 110.00 40.00 B 5.13
e For user guide, see pages 542-547
() Number of inserts
(@) For adaptation options, see page 548
For inserts, see pages: TPKN/TPKR (468)
Spare Parts

S e

P & ( & S (

F90 D080-27 NTP 43-R SR 35-342.3 HW 4P LW35-342T SR 35-343.4 HW 2.0

F90 D10 NTP 43-R SR 35-342.3 HW 4P LW35-342T SR 35-403 HW 2.0
NTP 43R SR 353423 HW 4P LW 35342 T SR35-343.4 HW 2.0

ISCAR




ik SHRED
P290 FPW/FCT
90° Face Mills Carrying 12 and

18 mm Long Edged Inserts

® %Y
r

DC APMX cicTe OAL DHUB DCONMS  Arbor® RMPX°() %

0p)
]
—
=
LL
@)
T

P290 FPW D032-04-16-12 32.00 12.00 4 50.00 30.40 16.00 A 1.0 0.16
P290 FPW D040-05-16-12 40.00 12.00 5 35.00 38.00 16.00 A 0.7 0.17
P290 FPW D050-06-22-12 50.00 12.00 6 40.00 48.00 22.00 A 0.5 0.31
P290 FPW D040-04-16-18 40.00 18.00 4 40.00 35.00 16.00 A 1.5 0.15
P290 FPW D050-05-22-18 50.00 18.00 5 40.00 45.00 22.00 A 1.0 0.27
P290 FCT D050-05-22-18 (1) 50.00 18.00 5 40.00 45.00 22.00 A 1.0 0.27
P290 FPW D063-06-22-18 63.00 18.00 6 40.00 48.00 22.00 A 0.8 0.47
P290 FPW D080-08-27-18 80.00 18.00 8 50.00 60.00 27.00 B 0.5 1.02
P290 FPW D100-09-32-18 100.00 18.00 9 55.00 78.00 32.00 B 0.3 1.87

* For user guide, see pages 542-547

™) To be used only with P290 ACCT 1806PDR-HL/TL straight-edged inserts
) Number of inserts

@) For adaptation options, see page 548

@) Maximum ramping angle

For inserts, see pages: P290 ACCT/KT (461)  P290 ACKT (461)

Spare Parts

& /S a /

P290 FPW D032-04-16-12 SR M3X0.5-L7.4 IP9@ IP-9/151 SR M8X40-D11.5 DIN912
P290 FPW D040-05-16-12 SR M3X0.5-L7.4 IP9@ IP-9/151 SR MBX25DIN912
P290 FPW D050-06-22-12 SR M3X0.5-L7.4 IP9@ IP-9/151 SR M10X25 DIN912
P290 FPW D040-04-16-18 SR 14-544/S BLD T15/M7 SW6-T SR MBX30DIN912
P290 FPW D050-05-22-18 SR 14-544/8 BLD T15/M7 SW6-T SR M10X25 DIN912
P290 FCT D050-05-22-18 SR 14-544/S BLD T16/M7 SWE-T SR M10X25 DIN912
P290 FPW D063-06-22-18 SR 14-544/8 BLD T15/M7 SW6-T SR M10X25 DIN912
P290 FPW D080-08-27-18 SR 14-544/8 BLD T15/M7 SW6-T SR M12X30DIN912
P290 FPW D100-09-32-18 SR 14-544/8 BLD T15/M7 SW6-T SR M16X40DIN912

@ Recommended tightening torque:2.0 N*m

HELIPLUS

HP F90AT-19
90° Face Mills Carrying HP AD..
1906... Long Edged Inserts

@
Ai"'

AL

T ®
OAL %ﬁl

DC cIcT! APMX OAL DHUB DCONMS  RMPX°® Arbord &
HP F90AT D50-4-22-19 50.00 4 18.00 50.00 46.50 22.00 5.0 A 0.33

 Insert clamping/unclamping procedure: First loosely attach the rear clamping screw, then the face screw. In the same order, tighten them both.
e For user guide, see pages 542-547

() Number of inserts

2 Maximum ramping angle

®) For adaptation options, see page 548

For inserts, see pages: HP ADCR 1906 (464) ¢ HP ADKT/ADCT 1906 (464)

Spare Parts

e, v 7

SR14-571/L  BLDT10/S7  SW6-SD SR M10X30 DIN912

Member IMC Group

(T [Tl 215



HELIPLUS

HP F90AT-22

90° Face Mills Carrying HP AD..
2207... Long Edged Inserts

Rd|

O
DC CICT!  APMX OAL DHUB  DCONMS RMPX®®  Arbord  CSP kol

0P
]
—
=
LLJ
O
T

HP FOOAT D50-3-22-22 50.00 3 21.00 50.00 48.00 22.00 5.0 A 1 0.36
HP F90AT D50-4-22-22 50.00 4 21.00 50.00 48.00 22.00 5.0 A 0 0.33

* Insert clamping/unclamping procedure: First loosely attach the rear clamping screw, then the face screw. In the same order, tighten them both.
e For user guide, see pages 542-547

() Number of inserts

2 Maximum ramping angle

@) For adaptation options, see page 548

) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: HP ADCR 2207 (465) ¢ HP ADKT/ADCT 2207 (464)

Spare Parts

s /2 7

el e SR 14-544  BLD T15/M7  SW6-T-SH SR M10X30 DIN912

ISCAR#miiiL < DHUB —

75° Face Mills with SPKN/

F75-M s T % ® F‘

SPKR 1203.. Inserts OAL
il
DC— .l [APMX
DCX——»

DC DCXM cicT@ APMX OAL DHUB DCONMS Arbor MIID® @
F75 D050-04-16-M 50.00 55.70 4 9.50 40.00 38.00 16.00 A SPKN 1203EDTR 0.50
F75 D063-05-22-M 63.00 68.70 6 9.50 40.00 48,00 22.00 A SPKN 1203EDTR 0.62
F75 D080-06-27-M 80.00 85.70 6 9.50 50.00 60.00 27.00 B SPKN 1203EDTR 1.09
F75 D100-07-32-M 100.00 105.70 7 9.50 50.00 78.00 32.00 B SPKN 1203EDTR 2.20
F75 D125-08-40-M 125.00 130.70 8 9.50 63.00 92.00 40.00 B SPKN 1203EDTR 410

e For user guide, see pages 542-547

() Cutting diameter maximum

(@ Cutting item count

() Master insert identification

For inserts, see pages: SPKN ED.. (513) ¢ SPKR ED..-76 (513) ¢ SPKR EDTR-HS (513)

Spare Parts

/ / ﬂ &

F75 D050-04-16-M SR MBX30DIN912 BLD IP20/87 SWe-T LW35-475/8M SR-118-069-CH
F75 D063-05-22-M SR M10X25 DIN912 BLD IP20/S7 SW6-T LW35-475/8M SR-118-069-CH
F75 D080-06-27-M BLD IP20/S7 SW6-T LW35-475/8M SR-118-069-CH
F75 D100-07-32-M BLD IP20/57 SW6-T LW35-475/8M SR-118-069-CH
F75 D125-08-40-M BLD IP20/S7 SW6-T LW35-475/8M SR-118-069-CH

ISCAR




HELiDO

865 LINE

S$865 FSN-13

65° Face Mills Carrying Inserts

with 8 Cutting Edges

$865 FSN D050-04-22-R13

S$865 FSN D050-06-22-R13 (1)

$865 FSN D063-06-22-R13

$865 FSN D063-08-22-R13 (1)

$865 FSN D080-07-27-R13

S$865 FSN D080-10-27-R13 (1)

$865 FSN D100-08-32-R13
S$865 FSN D100-12-32-R13 ()
$865 FSN D125-10-40-R13
S$865 FSN D125-16-40-R13 (1)

* For user guide, see pages 542-547

() Fine pitch
() Cutting diameter maximum
() Number of inserts

4 Depth of cut on steel with coarse pitch cutters and on cast iron with fine pitch cutters may be increased to 8 mm.
(8) For adaptation options, see page 548
For inserts, see pages: S865 SNMU 1305ZNTR (503)

Spare Parts

$865 FSN D050-04-22-R13
$865 FSN D050-06-22-R13
$865 FSN D063-06-22-R13
$865 FSN D063-08-22-R13

$865 FSN D080-07-27-R13
$865 FSN D080-10-27-R13
$865 FSN D100-08-32-R13
$865 FSN D100-12-32-R13
$865 FSN D125-10-40-R13
$865 FSN D125-16-40-R13

P -

[

DCX@ CICT® OAL DHUB DCONMS APMX@ Arbor®
50.00 59.70 4 40.00 48.00 22.00 6.00 A 0.36
50.00 59.70 6 40.00 48.00 22.00 6.00 A 0.36
63.00 72,70 6 40.00 48.00 22.00 6.00 A 0.51
63.00 72.70 8 40.00 48.00 22.00 6.00 A 0.50
80.00 89.70 7 50.00 60.00 27.00 6.00 B 0.92
80.00 89.70 10 50.00 60.00 27.00 6.00 B 0.93
100.00 109.70 8 50.00 70.00 32.00 6.00 B 1.37
100.00 109.70 12 50.00 70.00 32.00 6.00 B 1.37
125.00 134.70 10 63.00 82.00 40.00 6.00 B 2.58
125.00 134.70 16 63.00 82.00 40.00 6.00 B 2.59

65°
& / g /
SR 11800745 BLD IP15/87 SW6-T-SH SR M10X20DIN912
SR 11800745 BLD IP15/87 SW6-T-SH SR M10X20DIN912
SR 11800745 BLD IP15/87 SW6-T-SH SR M10X20DIN912
SR 11800745 BLD IP15/87 SW6-T-SH SR M10X20DIN912
SR 11800745 BLD IP15/87 SW6-T-SH
SR 11800745 BLD IP15/S7 SW6-T-SH
SR 11800745 BLD IP15/87 SW6-T-SH
SR 11800745 BLD IP15/87 SW6-T-SH
SR 11800745 BLD IP15/87 SW6-T-SH
SR 11800745 BLD IP15/87 SW6-T-SH

Member IMC Grou

FACE MILLS

Tl 217




0P
]
—
=
LLJ
O
T

HEZiOCTO O == g -
HOE-R06 Q @ @
Endmills Carrying Octagonal, =
Square and Round Inserts OAL @ @ F
L4 42°7
pex-20—=| t2.50
Q
Designation DC DCXM OAL RMPX’®@ DC_2 DCX2 OAL2 RMPX°2 DC_3 DCX3 OAL_3 RMPX°_3 DCONMS CICT® ks
(o] o kP ROAEP R {0l 3200 4140 95.00 5.9 2940 4410 96.2 9.0 2680 4270 96.50 7.6 32.00 3 0.54
HOE D40-04-W40-R06 [:oXo /(e R s R N EX0) 50 3740 5210 116.2 6.8 3480 5070  115.50 5.0 40.00 4 1.09
(o] O LT EERILE LM 5000 5940  115.00 42 4740 6210 116.2 5.0 4480  60.70 115.50 5.7 40.00 4 1.23

* A - with OEM. 060405... insert * B - with SECT/SEMT 1404... insert ¢ C - with REM. 1505... round insert

() Cutting diameter maximum
2 Maximum ramping angle
3 Number of inserts

For inserts, see pages: OECR (505) ¢ OEMT/OEKT 060405 (506) » OEMW-AETN (506) s REMT-76 (527) ® SECT/SEMT 1404 (512)

Spare Parts

Designation

&

/

&

HOE D32-03-W32-R06 EIRESIIE
HOE D40-04-W40-R06 JERREEZS
HOE D50-04-W40-R06 SR 14-544

BLD T15/87 SW6-T-SH
BLD T15/S7 SW6-T-SH
BLD T15/S7 SW6-T-SH

HELIOCTO

HOF-R06
Face Mills Carrying Octagonal
or Square or Round Inserts

~—DHUB
DCONM‘S u

T

g
<17

Rd] g

S

P -

HOF D040-04-22-R06 el
HOF D050-04-22-R06 o
HOF D063-05-22-R06 et}
HOF D080-06-27-R06 gt}
HOF D100-07-32-R06 [l
HOF D125-08-40-R06

() Cutting diameter maximum
) Maximum ramping angle
() Number of inserts

) For adaptation options, see page 548

Spare Parts

Designation

HOF D040-04-22-R06
HOF D050-04-22-R06
HOF D063-05-22-R06
HOF D080-06-27-R06
HOF D100-07-32-R06

O
DCX™" OAL RMPX°@ DC_2 DCX_2 OAL_2 RMPX°_2 DC_3 DCX_3 OAL_3 RMPX°_3 CICT® DHUB DCONMS Arbor kE
49.40  40.00 50 3740 5210 412 6.8 34.80 5070 4050 5.0 4 48.00 22.00 A 0.33
59.40 40.00 4.2 4740 6210 412 5.0 4480 60.70 4050 5.7 4 48.00 22.00 A 0.44
72.40 40.00 32 6040 7510 412 4.0 5780 7370 40.50 4.0 5 52.00 22.00 A 0.58
89.40 50.00 25 7740 9210 512 3.0 7480 90.70  50.50 3.0 6 60.00 27.00 B 1.18
109.40 50.00 19 9740 11210 512 2.3 9480 110.70 50.50 22 7 70.00 32.00 B 1.65
125.00 134.40 63.00 14 122.40 137.10 64.2 18 119.80 135.70  63.50 1.6 8 82.00 40.00 B 3.19
e A - with OEM. 060405...\ OECR 06.. inserts ® B - with SECT/SEMT 1404... inserts ¢ C - with REM. 1505... round insert
For inserts, see pages: OECR (505) ¢ OEMT/OEKT 060405 (506) ® OEMW-AETN (506) ® REMT-76 (527)  SECT/SEMT 1404 (512)
& / g /’
SR 14-544/S BLD T15/S7 SW6-T-SH SR M10X25DIN7984
SR 14-544 BLD T15/S7 SW6-T-SH SR M10X25 DIN912
SR 14-544 BLD T15/S7 SW6-T-SH SR M10X25 DIN912
SR 14-544 BLD T15/M7 SW6-T-SH
SR 14-544 BLD T15/M7 SW6-T-SH
SR 14-544 BLD T15/M7 SW6-T-SH

HOF D125-08-40-R06

ISCAR




HELIOCTO ~—— DHUB—~

DCONMS OF. 07.. RF..1905 Q @ %}
HOF-RO07 [
Face Mills Carrying Octagonal L{‘J =
Round and Fast Feed ‘ A> OAE @ &= @
Segmented Radius Inserts @)V 42° ¢

DC T ?
DCX ‘ 4.6 max
O
Designation DC DCX®@ OAL RMPX°® DCX_2 DC_2 OAL_2 RMPX°_2* DC_3 DCX_3 OAL_3 RMPX°_3® CICT® DHUB DCONMS Arbor? k]

0p)
]
—
=
LL
@)
T

HOF D050-03-22-R07 5000 6250 40.00 65 63.30 4356 40.50 9.0 4480 64.00 40.60 9.0 3 48.00  22.00 A 0.30
HOF D063-04-22-R07 63.00 7550 40.00 50 76.30 5656 40.50 6.0 57.80 77.00 40.60 6.0 4 4800  22.00 A 0.48
(o] T B LR -y A oy Ul 8000 9250 5000 35 93.30 7356 50.50 45 9250 94.00 50.60 45 5 60.00  27.00 B 091
(o] R [ BB Ty MUN 100.00 11250 50.00 25 11330 9356 50.50 30 9480 11400 50.60 3.0 6 7000  32.00 B 1.33
(o] Mo} PLEOER TR {0y UM 12500 137.50 63.00 25 138.30 11856 63.50 25 119.80 139.00 63.60 25 8 82.00  40.00 B 2.70
HOF D160-10-40-R07 160.00 172.50 63.00 1.9 173.30 15356 63.50 1.9 154,80 174.00 63.60 - 10 9200  40.00 C 3.83
HOF D200-12-60-R07 200.00 212.50 63.00 1.5 21330 193.56 63.50 1.5 194.80 214.00 63.60 - 12 15000 60.00 C 7.03
HOF D250-15-60-R07 250.00 262.50 63.00 1.2 263.30 243.56 63.50 1.2 24480 264.00 63.60 - 15 15000  60.00 G 1008
HOF D315-18-60-R07 315.00 327.50 80.00 0.9 328.30 308.56 80.50 0.9 309.80 329.00 80.60 - 18 21500 60.00 C  21.00

* Helical interpolation is applicable up to and including 100 mm diameter e For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

() Cutting diameter maximum

() Maximum ramping angle with OF..07.. inserts

4 Dimensions with RF.. 1905 round inserts

) Dimensions with OFMW FF inserts

6) Number of inserts

() For adaptation options, see page 548

For inserts, see pages: OFCR/OFCT-AEN/AETN (507) » OFCR/OFCT-RW/AER (wiper) (508) ® OFMT 07 (506) » OFMW-AETN (507) » OFMW-FF (508)

e RFMT 1905-76 (529)

Spare Parts

S /4 O / { /
HOF D050-03-22-R07 SR 14-591H BLD T20/S7 SW6-T THOF-07R SR M2.5X8 DIN912 TUFLOK HW 2.0 SR M10X25 DIN912
HOF D063-04-22-R07 SR 14-591/H BLD T20/S7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0 SR M10X25 DIN912
HOF D080-05-27-R07 SR 14-591H BLD T20/S7 SW6-T THOF-07R SR M2.5X8 DIN912 TUFLOK HW 2.0
HOF D100-06-32-R07 SR 14-591/H BLD T20/M7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0
HOF D125-08-40-R07 SR 14-591/H BLD T20/M7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0
HOF D160-10-40-R07 SR 14-591/H BLD T20/L7 SW6-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0
HOF D200-12-60-R07 SR 14-591/H BLD T20/L7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0
HOF D250-15-60-R07 SR 14-591/H BLD T20/L7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0
HOF D315-18-60-R07 SR 14-591/H BLD T20/L7 SWe-T THOF-07R SR M2.5X10 DIN912 TUFLOK HW 2.0

povel(mL

845 LINE OAL

10845 ESY-R05 LH— | & ® »f

50° Endmills Carrying Square T

Inserts with 8 Cutting Edges B DCONMS

DCX ‘ l
| [LAPMX
O

DC DCX(M CICT®@ APMX OAL LH DCONMS  Shank® kg & /y
10845 ESY D016-03-W20-R05 16.00 21.40 3 2.60 85.00 26.0 20.00 W 0.16 SR M2.5X6-T7-60 T-7/51
10845 ESY D020-03-W20-R05 20.00 25.50 3 2.60 90.00 26.0 20.00 W 0.19 SR M2.5X6-T7-60 T-7/51
10845 ESY D025-03-W25-R05 25.00 30.60 3 2.60 95.00 26.0 25.00 W 0.32 SR M2.5X6-T7-60 T-7/51
10845 ESY D025-04-W25-R05 25.00 30.60 4 2.60 95.00 26.0 25.00 w 0.31 SR M2.5X6-T7-60 T-7/51
10845 ESY D032-04-W32-R05 32.00 37.70 4 2.60 100.00 26.0 32.00 w 0.56 SR M2.5X6-T7-60 T-7/51
10845 ESY D032-05-W32-R05 32.00 37.70 5 2.60 100.00 26.0 32.00 w 0.56 SR M2.5X6-T7-60 T-7/51
10845 ESY D040-05-W40-R05 40.00 45.70 5 2.60 110.00 26.0 40.00 w 097 SR M2.5X6-T7-60 T-7/51
10845 ESY D040-06-W40-R05 40.00 45.70 6 2.60 110.00 26.0 40.00 W 1.05 SR M2.5X6-T7-60 T-7/51

e For user guide, see pages 542-547

() Cutting diameter maximum

(2 Number of inserts

@) W-Weldon

For inserts, see pages: 1Q845 SYHU-05 (499)

Member IMC Group
o=
L 4 11 ]




povellhmt

845 LINE

1Q845 FSY-R05

50° Face Mills Carrying Square
Inserts with 8 Cutting Edges

O
DC  DCX? CICT® APMX OAL DHUB DCONMS Arbord IS f & /

0P
]
—
=
LLJ
O
T

1Q845 FSY D040-04-16-R0O5 [NV N1 4 2.60 4000  38.00 16.00 A 0.28 SR M8X25DIN912 SR M2.5X6-T7-60  T-7/51
10845 FSY D040-07-16-R05 [V N (] 2.60 40.00  38.00 16.00 0.26 SR M8X25DIN912 SR M2.5X6-T7-60  T-7/51
1Q845 FSY D050-05-22-R0O5 RSNV VREEGH:() 2.60 4000  48.00 22,00 044 SRM10X20DIN912 SR M2.5X6-T7-60  T-7/51
1Q845 FSY D050-09-22-R05 [0 IR} 2.60 40.00  48.00 22.00 SR M10X20DIN912 SR M2.5X6-T7-60  T-7/51
10845 FSY D063-07-22-R05 [CRXUVRENGIER:) 2.60 40.00  48.00 22.00 057  SRM10X20DIN912 SR M2.5X6-T7-60  T-7/51
1Q845 FSY D063-11-22-R05 [RXVORIGIX:0) 2.60 40.00  48.00 22.00 055  SRMI10X20DIN912 SR M2.5X6-T7-60  T-7/51

~N © o~
™ > > >
o
~
=

® For user guide, see pages 542-547

() Cutting diameter maximum

) Number of inserts

©) For adaptation options, see page 548

For inserts, see pages: 1Q845 SYHU-05 (499)

1 ..ll l

FA5WG ﬁ%ﬁﬂﬂ @ Q

45° Face Mills Carrying
Octagonal ONHU/MU 08086...
Inserts with 16 Cutting Edges

DC DCX?  CICT® APMX OAL DHUB  DCONMS Arbor a]

F45WG D080-10-27-FX-R08 (1) 80.00 92.00 10 5.50 50.00 60.00 27.00 B 1.11
F45WG D100-14-32-FX-R08 (1) 100.00 112,00 14 5.50 50.00 70.00 32.00 B 1.64
F45WG D125-18-40-FX-R08 (1) 125.00 137.00 18 5.50 63.00 82.00 40.00 B 3.00
F45WG D160-22-40-FX-R08 160.00 172.00 22 5.50 63.00 92.00 40.00 C 4.58

¢ Note: Recommended wedge clamping torque: 8.5-9.0 Nxm e For user guide, see pages 542-547

) For internal coolant through the holder, use a matching coolant set (should be ordered separately)

(2) Cutting diameter maximum

@) Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: ONHQ-TN (498) ¢ ONHU 0806-N-PL (499) « ONHU 0806AN-W (499) ¢ ONHU/ONMU 080608 AN-N-HP (499) ® ONHU/ONMU-08-TN-MM (498)
o ONHU/ONMU-08-TN/HL (498)

Wiper Inserts

Wiper inserts are used on face mill cutters, providing improved surface finish
and thus eliminating the use of other finishing cutters.

ONHU 0806AN-14R-W mounted on F45WG and F45NM milling

cutters. This insert provides 4 right-hand wiper edges.

Mounting of Wiper Insert on

16RGILL Face Mills
ONHU 0806AN-14R-W

Mounting instructions have been included in each insert
package in order to avoid incorrect clamping orientation.
Only correct mounting will provide high surface finish!

Spare Parts

e v / 0 ¥

IZE SR 118069 BLD IP20/S7  SWBT LW 35-475/M

ISCAR




TV

F45NM
45° Face Mills Carrying

Octagonal ONHU/MU 08086...
Inserts with 16 Cutting Edges

P -

F45NM D063-05-22-R08

F45NM D080-06-27-R08 (1)
F45NM D080-08-27-R08 (1)
F45NM D100-07-32-R08 (1)
F45NM D100-10-32-R08 ()
F45NM D125-08-40-R08 (1)
F45NM D125-12-40-R08 (1)

F45NM D160-10-40-R08
F45NM D160-15-40-R08
F45NM D200-12-60-R08
F45NM D250-14-60-R08

DHUB
DCONM
| —

X (|
fapux

OAL

[

DCX CICT® APMX OAL DHUB DCONMS Arbort)
63.00 75.00 5 5.50 40.00 48.00 22.00 A 0.46
80.00 92.00 6 5.50 50.00 60.00 27.00 B 0.95
80.00 92.00 8 5.50 50.00 60.00 27.00 B 0.92
100.00 112.00 7 5.50 50.00 70.00 32.00 B 1.40
100.00 112.00 10 5.50 50.00 70.00 32.00 B 1.39
125.00 137.00 8 5.50 63.00 82.00 40.00 B 2.68
125.00 137.00 12 5.50 63.00 82.00 40.00 B 2.63
160.00 172.00 10 5.50 63.00 92.00 40.00 C 4.10
160.00 172.00 15 5.50 63.00 92.00 40.00 C 417
200.00 212.00 12 5.50 63.00 150.00 60.00 C 712
250.00 262.00 14 5.50 63.00 137.00 60.00 C 8.95

* Wiper inserts are used on face mill cutters, providing improved surface finish, thus eliminating the use of other finishing cutters

* For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

() Cutting diameter maximum
(3 Number of inserts

4 For adaptation options, see page 548

For inserts, see pages: ONHQ-TN (515) « ONHU 0806-N-PL (516) ® ONHU 0806AN-W (516) « ONHU/ONMU 080608 AN-N-HP (516) * ONHU/ONMU-08-TN-MM (515)

¢ ONHU/ONMU-08-TN/HL (515)

Spare Parts

F45NM D063-05-22-R08
F45NM D080-06-27-R08
F45NM D080-08-27-R08
F45NM D100-07-32-R08
F45NM D100-10-32-R08
F45NM D125-08-40-R08
F45NM D125-12-40-R08
F45NM D160-10-40-R08
F45NM D160-15-40-R08
F45NM D200-12-60-R08
F45NM D250-14-60-R08

&

/

&

7

SR 14-591/H
SR 14-591/H
SR 11800771
SR 14-501/H
SR 11800771
SR 14-591/H
SR 11800771
SR 14-591/H
SR 11800771
SR 14-501H
SR 14-591/H

BLD T20/87
BLD T20/57
BLD IP15/87
BLD T20/S7
BLD IP15/87
BLD T20/57
BLD IP15/87
BLD T20/L7
BLD IP15/M7
BLD T20/L7
BLD T20/L7

SW6-T
SW6-T
SW6-T-SH
SWE-T
SW6-T-SH
SW6-T
SW6-T-SH
SW6-T
SW6-T-SH
SWE-T
SW6-T

SR M10X25 DIN912

Member IMC Group

(T [ Tl 221

FACE MILLS



DC DCX DC2 DC3 DCX3 DC4 DCX4 BD4 DC5 APMX APMX 2 APMX 3 APMX 4 APMX5

pN /ELiDO
BN soF4s5 ["ogoe Dreeomme  © B
N \ultifunction Face Mills for o | f i
==l Octagonal, Square and @ © . oA % Lo O %51
2 Round Insert Contours with i | x| Ny
Various Entry Angles i e (3 oo 4] || f taPwxs o el
LI—] DCX DCX_4, DCX_5,
be| -
Ll

SOF45 8/16-D040-04-22R 4000 5040 3765 35640 5120 3450 4400 5050 4030 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D050-03-22R 5000 6040 4765 4540 6120 4450 5400 6050 50.30 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D050-04-22R 5000 6040 4765 4540 6120 4450 5400 6050 50.30 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D050-06-22R 5000 6040 4765 4540 6120 4450 5400 6050 50.30 3.0 6.00 7.90 1.20 2.90
SOF45 D050-04-22-R13 5235 6270 50.00 4775 6355 4695 5635 6290 5265 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D063-04-22R 63.00 7340 60.65 5840 7420 5750 67.00 7350 6330 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D063-06-22R 6300 7340 60.66 5840 7420 5750 67.00 7350 6330 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D063-08-22R 6300 7340 60.656 5840 7420 5750 67.00 7350 6330 3.0 6.00 7.90 1.20 2.90
SOF45 D063-06-22-R13 66.35 7570 63.00 6075  76.55 5995 69.35 7590 63.65  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D080-07-27R 8000 9040 7765 6640 9120 7450 8400 9050 80.30 3.0 6.00 7.90 1.20 2.90
SOF45 8/16-D080-10-27R 8000 9040 7765 6540 9120 7450 8400 9050 80.30 3.0 6.00 7.90 1.20 2.90
SOF45 D080-07-27-R13 8235 9270 80.00 7760 9340 7695 8635 9290 8265  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D100-08-32R 100.00 11040 9765 9540 11120 9450 10400 110.50 10030  3.50 6.00 7.90 1.20 290
SOF45 8/16-D100-12-32R 100.00 11040 9765 9540 11120 9450 10400 110.50 10030  3.50 6.00 7.90 1.20 2.90
SOF45 D100-08-32-R13 10235 11270 10000 9776 11355 9695 106.35 112.90 10265  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D125-10-40R 125,00 13540 12265 12040 13620 119.50 129.00 135.50 12530  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D125-16-40R 125600 13540 12265 12040 13620 119.50 129.00 135.50 12630  3.50 6.00 7.90 1.20 2.90
SOF45 D125-10-40-R13 127.35 137.70 126.00 122756 13855 121.95 13135 137.90 12765  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D160-12-40R 160.00 17040 157.65 155.40 17120 15450 164.00 171.50 160.30  3.50 6.00 7.90 1.20 290
SOF45 8/16-D200-14-60R 20000 21040 197.65 19540 21120 19450 20400 21150 200.50  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D250-16-60R 25000 26040 247.65 24540 26120 24450 25400 26150 250.30  3.50 6.00 7.90 1.20 2.90
SOF45 8/16-D315-20-60R 31500 382940 312.65 31040 32620 309.50 319.00 326.50 3156.30  3.50 6.00 7.90 1.20 2.90

O
OAL OAL2 OAL3 OAL4 OAL5 CICT® DHUB DCONMS RMPX°.3® Arbor® cspel  AZ!
SOF45 8/16-D040-04-22R 40.00 4.2 41.60 41.30 41.20 4 45,00 22.00 3.7 A 1 0.29
SOF45 8/16-D050-03-22R 40.00 412 41.60 41.30 41.20 3 48,00 22.00 56 A 1 0.38
SOF45 8/16-D050-04-22R 40.00 41.2 41.60 41.30 41.20 4 48,00 22.00 5.6 A 1 0.39
SOF45 8/16-D050-06-22R 40.00 41.2 41.60 41.30 41.20 6 48.00 22.00 5.6 A 1 0.38
SOF45 D050-04-22-R13 38.80 40.0 40.40 40.10 40.20 4 48.00 22.00 54 A 1 0.38
SOF45 8/16-D063-04-22R 40.00 41.2 41.60 41.30 41.20 4 48,00 22.00 6.3 A 1 0.54
SOF45 8/16-D063-06-22R 40.00 4.2 41.60 41.30 41.20 6 48.00 22.00 6.3 B 0 0.47
SOF45 8/16-D063-08-22R 40.00 412 41.60 41.30 41.20 8 48,00 22.00 6.3 B 0 0.46
SOF45 D063-06-22-R13 38.80 40.0 40.40 40.10 40.20 6 48,00 22.00 5.7 B 1 0.50
SOF45 8/16-D080-07-27R 50.00 51.2 51.60 51.30 51.20 7 60.00 27.00 6.2 B 0 1.01
SOF45 8/16-D080-10-27R 50.00 51.2 51.60 51.30 51.20 10 60.00 27.00 6.2 B 0 0.96
SOF45 D080-07-27-R13 48.80 50.0 50.40 50.10 50.20 7 60.00 27.00 6.0 B 1 1.00
SOF45 8/16-D100-08-32R 50.00 51.2 51.60 51.30 51.20 8 70.00 32.00 47 B 0 1.39
SOF45 8/16-D100-12-32R 50.00 51.2 51.60 51.30 51.20 12 70.00 32.00 4.7 B 0 1,35
SOF45 D100-08-32-R13 48.80 50.0 50.40 50.10 50.00 8 70.00 32.00 4.6 B 1 1.47
SOF45 8/16-D125-10-40R 63.00 64.2 64.60 64.30 64.20 10 82.00 40.00 3.6 B 0 2.63
SOF45 8/16-D125-16-40R 63.00 64.2 64.60 64.30 64.20 16 82.00 40.00 3.6 B 0 2.53
SOF45 D125-10-40-R13 61.80 63.0 63.40 63.10 63.20 10 82.00 40.00 315 B 1 2.63
SOF45 8/16-D160-12-40R 63.00 64.2 64.60 64.30 64.20 12 92.00 40.00 2.6 C 0 3.35
SOF45 8/16-D200-14-60R 63.00 64.2 64.60 64.30 64.20 14 135.00 60.00 2.0 C 0 577
SOF45 8/16-D250-16-60R 63.00 64.2 64.60 64.30 64.20 16 137.00 60.00 15 C 0 7.98
SOF45 8/16-D315-20-60R 80.00 81.2 81.60 81.30 81.20 20 222.00 60.00 1.0 C 0 18.97

e 1- with ONMU 0505... insert e 2- with S845 SNMU 1305... insert e 3- with RXMT 1607N insert e 4- with OXMT 0507R08-FF insert
® 5- with OXMT 050705-R-HP insert e Use only Torx Plus keys e For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

@) Valid only with RXMT 1607N insert

(@) For adaptation options, see page 548

(8) 0 - Without coolant supply, 1 - With coolant supply

(6) Master insert identification

(M) Master insert identification 2

(8) Master insert identification 3

9) Master insert identification 4

(10) Master insert identification 5

For inserts, see pages: ONHU 0505-W (505) « ONHU/ONMU-05 (504) » OXMT 0507 (505) » RXMT 1607 (527) » S845 SNHU 1305-W (501)
* S845 SNMU/SNHU-13 (500)

ISCAR




HEZiDO

SOF45

Multifunction Face Mills for
Octagonal, Square and
Round Insert Contours with
Various Entry Angles

MIIDE! MIID_2) MIID_3€ MIID_4©) MIID_5(10
SOF45 8/16-D040-04-22R ONHU 060600-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D050-03-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D050-04-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D050-06-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 D050-04-22-R13 ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D063-04-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D063-06-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D063-08-22R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 D063-06-22-R13 ONHU 050600-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D080-07-27R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D080-10-27R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 D080-07-27-R13 ONHU 050600-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D100-08-32R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D100-12-32R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 D100-08-32-R13 ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D125-10-40R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D125-16-40R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 D125-10-40-R13 ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D160-12-40R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D200-14-60R ONHU 050500-PL S845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050705-R-HP
SOF45 8/16-D250-16-60R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP
SOF45 8/16-D315-20-60R ONHU 050500-PL 5845 SNHU 1305ANR-M RXMT 1607N OXMT 0507R08-FF OXMT 050706-R-HP

e 1- with ONMU 0505... insert e 2- with S845 SNMU 1305... insert e 3- with RXMT 1607N insert
e 5- with OXMT 050705-R-HP insert e Use only Torx Plus keys e For user guide, see pages 542-547

() Cutting diameter maximum
2 Number of inserts

@) Valid only with RXMT 1607N insert
) For adaptation options, see page 548

(5) 0 - Without coolant supply, 1 - With coolant supply

(6) Master insert identification

() Master insert identification 2
(8 Master insert identification 3
) Master insert identification 4
(10) Master insert identification 5

* 4- with OXMT 0507R08-FF insert

For inserts, see pages: ONHU 0505-W (505) ¢ ONHU/ONMU-05 (504) » OXMT 0507 (505) ® RXMT 1607 (527) » S845 SNHU 1305-W (501)

* S845 SNMU/SNHU-13 (500)

Spare Parts
S / 2 /
SOF45 8/16-D040-04-22R SR 11800745 BLD IP15/S7@ SWB-T-SH SR M10X25 DIN912
SOF45 8/16-D050-03-22R SR 11800745 BLD IP15/576) SWB-T-SH SR M10X20DIN912
SOF45 8/16-D050-04-22R SR 11800745 BLD IP15/S7@ SW6-T-SH SR M10X20DIN912
SOF45 8/16-D050-06-22R SR 11800745 BLD IP15/576) SW6-T-SH SR M10X20DIN912
SOF45 D050-04-22-R13 SR 11800745 BLD IP15/S7@ SW6-T-SH SR M10X20DIN912
SOF45 8/16-D063-04-22R SR 11800745 BLD IP15/576) SW6-T-SH SR M10X25 DIN912
SOF45 8/16-D063-06-22R SR 11800745 BLD IP15/S76@ SW6-T-SH
SOF45 8/16-D063-08-22R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 D063-06-22-R13 SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 8/16-D080-07-27R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 8/16-D080-10-27R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 D080-07-27-R13 SR 11800745 BLD IP15/576) SW6-T-SH
SOF45 8/16-D100-08-32R SR 11800745 BLD IP15/S76@) SW6-T-SH
SOF45 8/16-D100-12-32R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 D100-08-32-R13 SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 8/16-D125-10-40R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 8/16-D125-16-40R SR 11800745 BLD IP15/S7@ SW6-T-SH
SOF45 D125-10-40-R13 SR 11800745 BLD IP15/576) SW6-T-SH
SOF45 8/16-D160-12-40R SR 11800745 BLD IP15/M7t) SW6-T-SH
SOF45 8/16-D200-14-60R SR 11800745 BLD IP15/M7t SW6-T-SH
SOF45 8/16-D250-16-60R SR 11800745 BLD IP15/M7@ SW6-T-SH
SOF45 8/16-D315-20-60R SR 11800745 BLD IP15/M7@) SW6-T-SH

FACE MILLS

Member IMC Group

(T [ Tall 223



SELIDO USER GUIDE

Wiper Inserts

Wiper inserts are used on face mill cutters, providing improved surface finish
and thus eliminating the use of other finishing cutters.
e ONHU 0505AN-R-W mounted on standard SOF45 milling cutters. This insert provides
8 right-hand wiper edges.
e ONHU 0505AN-N-W mounted on SOF45 milling cutters. This insert provides 4 right-hand wiper edges to be
used on standard tools and 4 left-hand wiper edges to be used on special left-hand SOF45 cutters.

0P
]
—
=
LLJ
O
T

Mounting of Wiper Insert on
7+[¢)Face Mills

SR
g (G

e 5845 SNHU 1305AN-N-W mounted on SOF45 milling cutters when the square S845 SNMU/HU 1305AN...
inserts are used. This insert provides 2 right-hand and 2 left-hand wiper edges.

Mounting of Wiper Insert on
HE2 DO Face Mills

800 LINE
$845 SNHU 1305AN-N-W
Mount on SOF45 8/16...Cutters

St

228 ISCAR




ISCARmiii.L
F45ST

45° Screw Clamped Face Mills

Carrying SEK/MT 12.

Designation

F45ST D040-22
F45ST D050-22

F45ST D063-22

F45ST D080-27 (1
F45ST D100-32 ("
F45ST D125-40 ()
F45ST D160-40 (1)

.. Inserts

Q

DC DCX®@ CICT® APMX OAL DHUB DCONMS Arbort ko)
40.00 50.00 3 6.50 40.00 44,00 22.00 A 0.30
50.00 62.70 4 6.50 40.00 41.80 22.00 A 0.35
63.00 75.00 5 6.50 40.00 50.00 22.00 A 0.57
80.00 90.90 6 6.50 50.00 63.00 27.00 B 1.08
100.00 110.00 6 6.50 50.00 72.00 32.00 B 1.61
125.00 135.00 7 6.50 62.50 75.00 40.00 B 2.70
160.00 170.70 7 6.50 63.00 92.00 40.00 C 4.06

e SE..1204 inserts are mounted directly on the cutter e SE..12T3 optional thinner inserts are mounted on a seat - TSE 12T3-N

e For user guide, see pages 542-547
() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

(2 Cutting diameter maximum

) Number of inserts

(4 For adaptation options, see page 548
For inserts, see pages: SEHT-AFN (511) ¢ SEHW-AFTN (510) ® SEKT-AF-R (510) ® SEKT-AFTN (510) ® SEMT 12..AFTN-76 (511) ® SEMT 1204AF-R-HS (510)

Spare Parts

el s

&

s

4

&

&

/

F45ST D040-22 SR 14-536/S BLD T20/M7 SWe-T SR M10X25DIN7984 HW 7.0
F45ST D050-22 SR 34-523 BLD T15/M7 SW6-T SR M10X25DIN7984 HW 7.0 SR 14-601* TSE 12T3-Nta) SR TC-606¢ HW 3.50*
F45ST D063-22 SR 34-523 BLD T15/M7 SWe-T SR M10X25DIN7984 HW 7.0 SR 14-601* TSE 12T3-Nta)* SR TC-606¢) HW 3,500
F45ST D080-27 SR 34-523 BLD T15/M7 SWe-T SR 14-601* TSE 12T3-Nt@)* SR TC-606(@)* HW 3,50
F45ST D100-32 SR 34-523 BLD T15/M7 SW6-T SR 14-601* TSE 12T3-Nta)* SR TC-606¢
F45ST D125-40 SR 34-523 BLD T15/M7 SWe-T SR 14-601* TSE 12T3-Nta)* SR TC-606¢@ HW 3.50@)
F45ST D160-40 SR 34-523 BLD T15/M7 SW6-T SR 14-601* TSE 12T3-Nta)* SR TC-606() HW 3.5

* Optional, should be ordered separately

@ Optional for insert SE..12T3

ISCARviii.i.

F45E @ ® Q

45° Face Mills Carrying 4

SEKN/R 12... Inserts 0¢AL

O

DC BD APMX CICT® OAL DHUB DCONMS Arbor® kol
F45E D 50-22 50.00 67.30 6.50 4 43.00 42.00 22.00 A 0.59
F45E D 63-22 63.00 81.20 6.50 5 40.00 42.50 22.00 A 0.81
F45E D 80-27 (1 80.00 98.20 6.50 6 50.00 63.00 27.00 B 1.43
F45E D100-32 (1) 100.00 118.00 6.50 6 50.00 72.00 32.00 B 2.31
F45E D125-40 (1) 125.00 143.00 6.50 6 63.00 75.00 40.00 B 3.40
F45E D160-40 160.00 178.00 6.50 8 63.00 92.00 40.00 C 5.28

e For user guide, see pages 542-547

() For internal coolant through the holder, use a matching coolant set (should be ordered separately)

) Number of inserts

©) For adaptation options, see page 548

For inserts, see pages: SEKN-AF.. (511)  SEKR-AF-N-42 (512) ¢ SEKR-AF..-76 (512) ® SEKR-AFTR-HS (512)

Spare Parts

Designation

F45E D 50-22
F45E D 63-22

F45E D 80-27
F45E D100-32
F45E D125-40
F45E D160-40

® & [/ g </ ’ 4
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P SR M10X25DIN7984 HW 7.0
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P SR M10X25DIN7984 HW 7.0
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P
NSE 42-R SR 35-343.4 HW 2.0 LW 35-2620-S SR 35-2011 HW 3P

Member IMC Group

(T [Tl 225

FACE MILLS



1Q845 FSY-R07
50° Face Mills Carrying Square
Inserts with 8 Cutting Edges

povellhmt STy
WCONMS ‘

O
DC DCX"  CICT®  APMX OAL DHUB  DCONMS  Arbor®  CSP® kol

0P
]
—
=
LLJ
O
T

10845 FSY D050-04-22-R07 50.00 59.40 4 4.60 40.00 48.00 22.00 A 1 0.39
1Q845 FSY D050-05-22-R07 50.00 59.40 5 4.60 40.00 48.00 22.00 A 1 0.38
10845 FSY D063-05-22-R07 63.00 72.40 5 4.60 40.00 48.00 22.00 A 1 0.51
10845 FSY D063-07-22-R07 63.00 72.40 7 460 40.00 48.00 22.00 A 1 0.47
1Q845 FSY D080-06-27-R07 80.00 89.40 6 4.60 50.00 60.00 27.00 B 1 1.00
10845 FSY D080-08-27-R07 80.00 89.40 8 4.60 50.00 60.00 27.00 B 1 0.95
10845 FSY D100-07-32-R07 100.00 109.40 7 4.60 50.00 70.00 32.00 B 1 1.36
10845 FSY D100-10-32-R07 100.00 109.40 10 4.60 50.00 70.00 32.00 B 1 1.34
10845 FSY D125-09-40-R07 125.00 134.40 9 4.60 63.00 82.00 40.00 B 1 2.52
10845 FSY D125-12-40-R07 125.00 134.40 12 460 63.00 82.00 40.00 B 1 2.49
10845 FSY D160-11-40-R07 160.00 169.40 1 4.60 63.00 92.00 40.00 C 0 331
10845 FSY D160-15-40-R07 160.00 169.40 15 4.60 63.00 92.00 40.00 C 0 3.28
10845 FSY D200-14-60-R07 200.00 209.40 14 4.60 63.00 135.00 60.00 C 0 5.80
10845 FSY D250-17-60-R07 250.00 269.40 17 4.60 63.00 136.00 60.00 C 0 8.18
1Q845 FSY D315-20-60-R07 315.00 324.40 20 4.60 80.00 220.00 60.00 D 0 16.87

* For user guide, see pages 542-547

() Cutting diameter maximum

) Number of inserts

@) For adaptation options, see page 548

4) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: 10845 SYHU-07 (499)

Spare Parts

S / Y /
10845 FSY D050-04-22-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH SR M10X20DIN912
10845 FSY D050-05-22-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH SR M10X20DIN912
10845 FSY D063-05-22-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912
10845 FSY D063-07-22-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912
10845 FSY D080-06-27-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
1Q845 FSY D080-08-27-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D100-07-32-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D100-10-32-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D125-09-40-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D125-12-40-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D160-11-40-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D160-15-40-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D200-14-60-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D250-17-60-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH
10845 FSY D315-20-60-R07 SR M4X0.7IP15 BLD IP15/S7 SW6-T-SH

povel(hL i

845 LINE

CAMFIX 0 T VG

1Q845 FSY-C#-R07 pox °C o DOONMS

50° Face Mills Carrying Square L l

Inserts with 8 Cutting Edges 2 M

APMX | 1S J
~a| 50°
DC DCX™M cicT@ APMX LF SS CDI® é & / ﬂ
63.00 72.40 5 460 55.00 63 1 153 SRM4X0.7IP15_BLD IP15/S7  SW6-T-SH

e For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

@) 1 - Hole for data chip, 0 - Without hole for data chip
For inserts, see pages: 1Q845 SYHU-07 (499)

ISCAR




HELIDO

S845 F45SX-16

45° Face Mills Carrying
Economical Inserts with 8 Helical
Right-Hand Cutting Edges

$845 F45SX D040-04-16-R16 (1)
$845 F45SX D050-04-22-R16
S$845 F45SX D050-05-22-R16 (1)
$845 F45SX D063-05-22-R16
$845 F45SX D063-07-22-R16 (1
$845 F45SX D080-09-27-R16 (1)
$845 F45SX D100-11-32-R16 (!
$845 F45SX D100-07-32-R16
$845 F45SX D125-08-40-R16
$845 F45SX D125-14-40-R16 (1)
$845 F45SX D160-10-40-R16
$845 F45SX D160-18-40-R16 (1
$845 F45SX D200-12-60-R16
$845 F45SX D250-15-60-R16

P -

[

DCX CICT® APMX OAL DHUB DCONMS Arbort®) CSP®)
40.00 54.80 4 715 45.00 48.00 16.00 A 1 0.39
50.00 64.80 4 7.15 45.00 48.00 22.00 A 1 0.46
50.00 64.80 5 7.15 45.00 48.00 22.00 A 1 0.44
63.00 77.80 5 7.15 45.00 60.00 22.00 B 1 0.72
63.00 77.90 7 7.15 45.00 60.00 22.00 A 1 0.72
80.00 93.10 9 7.15 50.00 63.00 27.00 B 1 1.01
100.00 114.60 11 715 50.00 80.00 32.00 B 1 1.65
100.00 114.80 7 7.15 50.00 80.00 32.00 B 1 1.62
125.00 139.80 8 7.15 63.00 82.00 40.00 B 1 2.68
125.00 139.80 14 7.15 63.00 82.00 40.00 B 1 2.72
160.00 174.80 10 715 63.00 105.00 40.00 C 0 4.16
160.00 174.80 18 7.15 63.00 105.00 40.00 C 0 4.30
200.00 214.80 12 7.15 63.00 135.00 60.00 C 0 5.82
250.00 264.80 15 715 63.00 144.00 60.00 C 0 8.58

* Wiper inserts are used on face mill cutters, providing improved surface finish, thus eliminating the use of other finishing cutters.

* For user guide, see pages 542-547

() Fine pitch cutters, recommended for machining cast iron and for machining steel - up to 4 mm D.O.C.

() Cutting diameter maximum
(3 Number of inserts
4 For adaptation options, see page 548

(8) 0 - Without coolant supply, 1 - With coolant supply
For inserts, see pages: S845 SXHU 1606-W (501) ¢ S845 SXMU/SXCU-16 (501)

Spare Parts

$845 F45SX D040-04-16-R16
$845 F45SX D050-04-22-R16
$845 F45SX D050-05-22-R16
$845 F45SX D063-05-22-R16
S$845 F45SX D063-07-22-R16
$845 F45SX D080-09-27-R16
$845 F45SX D100-11-32-R16
$845 F45SX D100-07-32-R16
$845 F45SX D125-08-40-R16
$845 F45SX D125-14-40-R16
$845 F45SX D160-10-40-R16
$845 F45SX D160-18-40-R16
$845 F45SX D200-12-60-R16
$845 F45SX D250-15-60-R16

&

/

Y

/

SR 14-591
SR 14-591
SR 14-591-M
SR 14-591
SR 14-591-M
SR 14-591-M
SR 14-591-M
SR 14-591
SR 14-591
SR 14-591-M
SR 14-591
SR 14-591-M
SR 14-591
SR 14-591

BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7
BLD T20/M7

SW6-T
SW6-T
SW6-T
SWe6-T
SWe-T
SW6-T
SW6-T
SW6-T
SW6-T
SWe6-T
SW6-T
SW6-T
SW6-T
SW6-T

SR M8X25DIN912
SR M10X25DIN7984
SR M10X25DIN7984
SR M10X25DIN7984
SR M10X25DIN7984

Member IMC Grou

FACE MILLS

==n= Iy




T —
HELIDO ONMU 1008... e 845 SNMU..
SOF45-26 @&

Heavy Duty 45° Face Mills

Carrying Square or Octagonal ) OAL
Double-Sided Inserts with > /v&4 4
8/16 Cutting Edges T

APMX

DC DCX("  APMX OAL DC2 APMX2 OAL2 CICT® DHUB DCONMS Arbor®  CSP¥ %

0P
]
—
=
LLJ
O
T

SOF45 D080-04-32-R26 84.10 104.50 7.00 60.80 80.00 11.00 63.0 4 70.00 32.00 A 1 1.68
SOF45 D100-05-32-R26 104.10 124.50 7.00 60.80 100.00 11.00 63.0 5 70.00 32.00 B 1 225
SOF45 D125-06-40-R26 129.10 149.50 7.00 60.80 125.00 11.00 63.0 6 82.00 40.00 B 1 3.08
SOF45 D160-08-40-R26 164.10 184.50 7.00 60.80 160.00 11.00 63.0 8 92.00 40.00 C 0 4.05
SOF45 D200-10-60-R26 204.10 224.50 7.00 60.80 200.00 11.00 63.0 10 135.00 60.00 C 0 6.52
SOF45 D250-12-60-R26 25410 274.50 7.00 60.80 250.00 11.00 63.0 12 135.00 60.00 C 0 9.48
SOF45 D315-14-60-R26 319.10 339.50 7.00 77.80 315.00 11.00 80.0 14 220.00 60.00 C 0 19.73

* For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

@) For adaptation options, see page 548

) 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: ONMU 1008 (509) ¢ S845 SNMU 2608 (502)

Spare Parts

S I ) / 7 /
SOF45 D080-04-32-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/S7 SWe6-T SR M16-40C
SOF45 D100-05-32-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/57 SWe6-T SR M16-40C
SOF45 D125-06-40-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD 1P25/57 SWe6-T
SOF45 D160-08-40-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/M7 SWe6-T
SOF45 D200-10-60-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/M7 SW6-T
SOF45 D250-12-60-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/L7 SWe-T
SOF45 D315-14-60-R26 SR 1/4-28XIP25 TSOF 26-N SR M3.5X0.6-6.5 T10 BLD IP25/L7 SW6-T

a‘ao'"H%'-'L;NE’Do ONMU 1008... ~——DHUB —»y 5845 SNMU 2608...

SOF45WG-R26 sedl — SAEKN

Heavy Duty 45° Face Mills
Carrying Wedge Clamped Square
or Octagonal Double-Sided
Inserts with 8/16 Cutting Edges

OAL_2

=il ]
[Tapmx_2

(@]
DC  BD DCXY APMX OAL DC2 DCX2 APMX2 OAL2 DCONMS DHUB Arbor I

SOF45WG D100-05-32-R26 [ (07N VRN PR VRN RE-KE) 7.00 60.80 100.00 12350  11.00 63.00 32.00 78.00 B 2.46
SOF45WG D100-06-32-R26 [leZ5 [0 R i2cKs 0. RE-X: ) 7.00 60.80 100.00 12350  11.00 63.00 32.00 78.00 B 2.33
Slo] (e R PLFOIE LR P 12910 14850  143.80 7.00 60.80 126,00 14850  11.00 63.00 40.00 92.00 B 3.67
SOF45WG D125-08-40-R26 [P RIVERER VK-V R EicKE) 7.00 60.80 126,00 14850  11.00 63.00 40.00 92.00 B 3.41

SOF45WG D160-08-40-R26 JRTZATUREEN TN RN V{K: ) 7.00 60.80 160.00 18380  11.00 63.00 40.00 95.00 C 484
SOF45WG D160-10-40-R26 {7 (VIR I <Xe 0N, V/:XE0) 7.00 60.80 160.00  183.80  11.00 63.00 40.00 95.00 C 4.58
SOF45WG D200-10-60-R26 [0/ VR 7/cH: VR A TR ) 7.00 60.80 20000 22350  11.00 63.00 60.00 180.00 C 9.47
SOF45WG D200-12-60-R26 [N o Ry cXs VA K] 7.00 60.80 20000 22350  11.00 63.00 60.00 180.00 C 9.20
Slol e PLL B PRCOE P 25410 27330  268.80 7.00 60.80 26000 27330  11.00 63.00 60.00 180.00 C 12.68
SOF45WG D250-14-60-R26 [Pkl R [VERPT/R: VR RE) 7.00 60.80 256000 27330  11.00 63.00 60.00 180.00 C 12.44
SOF45WG D315-14-60-R26 JIIATUREEN: N R RN ) 7.00 77.80 316,00 33850  11.00 80.00 60.00 230.00 C 2243
SOF45WG D315-16-60-R26 | RIVIEEi KR kRel) 7.00 77.80 315,00 33850  11.00 80.00 60.00 230.00 C 22.22

e For user guide, see pages 542-547
() Cutting diameter maximum
For inserts, see pages: ONMU 1008 (509) ¢ S845 SNMU 2608 (502)

Spare Parts

e = ¥ Vg J

SOF45WG-R26 TSOF 26-N SR M3.5X0.6-6.5 T10 LW CL-13 INJ SR UNC 5/16-18X1 L/R BLD IP25/87 SWe-T

ISCAR




HELiDO

800 LINE

SOF45-R18

45° Face Mills Carrying Square

or Octagonal Double-Sided

Inserts with 8/16 Cutting Edges

P -

[

DCX" APMX  OAL DC 2 DCX2 APMX 2 OAL2 CICT® DHUB DCONMS Arbor  CSP®
SOF45 D050-04-22-R18 50.00 67.00 8.00 50.00 52.80 67.00 5.00 485 4 48.00 22.00 A 1 0.55
SOF45 D063-05-22-R18 63.00 80.00 8.00 50.00 65.80 80.00 5.00 485 5 52.00 22.00 A 1 0.80
SOF45 D063-05-27-R18 63.00 80.00 8.00 50.00 65.80 80.00 5.00 485 5 60.00 27.00 A 1 0.83
SOF45 D080-06-27-R18 80.00 97.00 8.00 55.00 82.80 97.00 5.00 53.5 6 60.00 27.00 A 1 1.29
SOF45 D080-07-27-R18 80.00 97.00 8.00 55.00 82.80 97.00 5.00 535 7 60.00 27.00 A 1 1.29
SOF45 D100-07-32-R18 RIoX R VA1) 8.00 5500 10280 117.00  5.00 53.5 7 78.00 32.00 B 1 1.95
SOF45 D100-09-32-R18 [ERIV/UREREVAI) 8.00 5600 10280 117.00  5.00 535 9 78.00 32.00 B 1 1.94
SOF45 D125-08-40-R18 [PV 8.00 63.00 127.80 14200  5.00 61.5 8 92.00 40.00 B 1 3.38
SOF45 D125-12-40-R18 [ERPLXVURERFPI] 8.00 6300 127.80 14200  5.00 61.5 12 92.00 40.00 B 1 3.35
SOF45 D160-10-40-R18 |ERICeXvVRR VAV 8.00 6300 16280 177.00  5.00 61.5 10 95.00 40.00 C 0 4.20
SOF45 D160-15-40-R18 ER[OXVRER VAV 8.00 63.00 16280 177.00  5.00 61.5 15 95.00 40.00 C 0 4.30
SOF45 D200-12-60-R18 o X A Va1 8.00 6300 20280 217.00  5.00 61.5 12 135.00 60.00 C 0 6.88
SOF45 D200-18-60-R18 [ RPAVAI) 8.00 6300 20280 21700  5.00 61.5 18 135.00 60.00 C 0 6.99
SOF45 D250-14-60-R18 |PLVVRLTA 8.00 63.00 25280 267.00  5.00 61.5 14 135.00 60.00 C 0 10.50
SOF45 D250-21-60-R18 [ile{t/ NIy A0] 8.00 6300 25280 267.00  5.00 61.5 21 135.00 60.00 C 0 11.35
SOF45 D315-18-60-R18 |EEIIXVREX00] 8.00 80.00  317.80 33200  5.00 78.5 18 230.00 60.00 C 0 22.36
SOF45 D315-24-60-R18 ] lN O] 8.00 8000 31780 33200  5.00 78.5 24 230.00 60.00 C 0 22.22

e For user guide, see pages 542-547

() Cutting diameter maximum
2 Number of inserts

@) 0 - Without coolant supply, 1 - With coolant supply
For inserts, see pages: ONHU 0706AN-R-W (509) ¢ ONMU/ONHU 0706 (509) ¢ S845 SNHU 1806AN-N-W (502) ¢ S845 SNMU/SNHU 1806 (502)

Spare Parts

&

/

&

7/

Designation

SOF45 D050-04-22-R18 SR M5X0.8 16 IP20 BLD IP20/S7 SW6-T SR M10X25 DIN912
SOF45 D063-05-22-R18 SR M5X0.8 16 IP20@ BLD IP20/S7 SWB-T SR M10X25 DIN912
SOF45 D063-05-27-R18 SR M5X0.8 16 P20k BLD IP20/S7 SWe6-T SR DIN 912 M12X25
SOF45 D080-06-27-R18 SR M5X0.8 16 IP20@ BLD IP20/S7 SWeB-T SR DIN 912 M12X25
SOF45 D080-07-27-R18 SR M5X0.8 16 P20 BLD IP20/S7 SWe6-T SR DIN 912 M12X25
SOF45 D100-07-32-R18 SR M5X0.8 16 IP20@ BLD IP20/S7 SWe-T

SOF45 D100-09-32-R18 SR M5X0.8 16 IP20@ BLD IP20/S7 SWe6-T

SOF45 D125-08-40-R18 SR M5X0.8 16 IP20@ BLD IP20/S7 SWeB-T

SOF45 D125-12-40-R18 SR M5X0.8 16 P20k BLD IP20/S7 SWe6-T

SOF45 D160-10-40-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SW6-T

SOF45 D160-15-40-R18 SR M5X0.8 16 P20 BLD IP20/M7 SWe-T

SOF45 D200-12-60-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SWe-T

SOF45 D200-18-60-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SWeB-T

SOF45 D250-14-60-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SWe-T

SOF45 D250-21-60-R18 SR M5X0.8 16 P20 BLD IP20/M7 SWe6-T

SOF45 D315-18-60-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SWe-T

SOF45 D315-24-60-R18 SR M5X0.8 16 IP20@ BLD IP20/M7 SWe6-T

FACE MILLS

@ Recommended tightening torque: 9 N*m

Member IMC Group

(T [ Tall 229



0P
]
—
=
LLJ
O
T

230

Accessories

COOLANT SET

Clamping Screws with
Adjustable Protrusion Nozzles
for Shell-Type Face Mills

o)
57
CXT @\ T @
= 1 N .
. I THoD BD }} Key 1 Key Key2
] B}

L mn 5B2+
BD THOD CXT LB LB_2 L min L max Key( Key1®  DRVS®
COOLANT SET SR M10X1.5-22 28.00 M10 M4 25.00 18.00 2.0 17.0 7.00 6.00 21.00
COOLANT SET SRM12X1.75-27 35.00 M12 M4 31.00 22.00 2.0 17.0 7.00 6.00 27.00
COOLANT SET SR M16X2-32 42.00 M16 M8 37.00 26.00 3.0 25.0 13.00 10.00 30.00
COOLANT SET SR M20X2.5-40 52.00 M20 M8 45,00 30.00 3.0 25.0 13.00 10.00 36.00

() For the nut
@ For the nozzle
@) For the screw

Clamping Screws with

Adjustable Protrusion Nozzles for Shell-Type Face Mills

The protrusion of the nozzle screw can be easily
adjusted according to countersink depth, insert size
or any other application requirement. The nozzle
screw position can be secured by a locking nut.

Tests show that cutting fluid supplied through
the axis of a tool and directed radially at the .
bottom of the tool dramatically improves both
the cooling effect and chip evacuation.

The screws are offered as sets, comprising a nozzle
screw, locking screw, a locking nut and washers.

Assembly with a Lock Nut

88 & uss &

Assembly without a Lock Nut
5 :

O]

Spare Parts

& &

The locking nut can be tightened by a standard
open-ended wrench, or preferably by an offset ring
wrench (ISO 10104, DIN 838 or DIN 897 standards).

If desired, the following ring wrenches
can also be ordered from ISCAR:

7000783 Ring Wrench 10X13 mm for coolant set
SR M20X2.5-40 and Coolant set SR M16X2-32
7000788 Ring Wrench 6X7 mm for
coolant set SRM12X1.75-27 and
coolant set SR M10X1.5-22.

& & @

Designation

COOLANT SET SR M10X1.5-22 WASHER FLAT M4 DIN 433 SPRING PLUNGER

COOLANT SET SRM12X1.75-27 WASHER FLAT M4 DIN 433 SPRING PLUNGER

COOLANT SET SR M16X2-32 WASHER M8 DIN 433 A4 NOZZLE M8 NUT M8 DIN 934 A2
COOLANT SET SR M20X2.5-40 WASHER M8 DIN 433 A4 NOZZLE M8 NUT M8 DIN 934 A2

ISCAR




EXTENDED FLUTE CUTTERS

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

—
(Y[l 231
wwufla



@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

Extended Flute Mills

PICTORIAL TOOL
REFERENCE

. -l
' g - -
1 4 * oy
ﬂ " ! =3 "
4
HELiPLUS HE2 DO L= [ OVILL HE! [TANG
T490 LINE
HP ANK H490 ANK HM390 TPK/SM T490 LNK/LNM
page 235 page 235 pages 235-236 pages 236-238, 246-247
b —— d | B
7 % p. ) WM
o :
":? r ) i el |
. =
W b’
HEL[SLOT HEL i i HE! ;QUAD AiLLSHRED
XNK-XN13 APK-FE SPK P290 ACK/SM
page 239 page 239 page 239 pages 240-242
i | =
'L. A 'l, ¥ '-
7 g e
a/ g
[=3
HELITANG HELiDO HELISLOT Xauap
T490 SM H490 SM SM-XN13 SDK-C/HP
pages 243-244, 248 pages 243,249 page 246 pages 249-250

%ll.i:l ._:{

HEL ik i

SM
page 250

ISCAR




SELECTION GUIDE

ISCARmiiii h)
LLI
90° Extended Flute Mills Selection Guide I:
L
—1
APMX / Flut L
utes
DC N
Tools Pages 32 40 50 63 80 Inserts %
| pd
E HP ANK-07 235 28/2 @ HP AN.. 07... E
LLI
iy
H490 ANK-09 235 35/2 | 42/3 ,@ H490 AN..09..
=
HM390 TPK-10 235 28/2 | 42/2 | 49/4 /’ll"“ HM390 TP.. 10
HM390 SM-10 236 49/4 | 49/5 /’I'I"‘\ HM390 TP.. 10

30/2
T490 LNM-08 236 15/2 30/3 36/3 | 44/4 T490 LN.T 08...

T490 LNK-11 237 34/2 | 51/3 | 51/4 T490 LN..T1106
47/3
36/2
59/4 | 81/4 | 82/4
T490 LNK-13 237 igg 803 | 117/4 | 108/4 T490 LN.. 13...
105/3
XNK-XN13 239 46/3 XNMU 13...

Member IMC Group




SELECTION GUIDE

dp) ISCARGiiiL
m - - -
I: 90° Extended Flute Mills Selection Guide
"
1
L
APMX / Flutes
O DC
g Tools Pages 32 40 50 63 80 Inserts
E E z APK-FE 239 20/1 | 37/2 | 46/2 | 553 o
LL]
T—7A SsPMT10...
SPK 239 43/3 I: XPMT 10..
77—\ QPMT10..
24/3 | 53/3 e
36/3 | 71/3 | 53/4
P290 ACK 241 243 | 4era | s7/3 | 1084 | 875 @ P290 AC...T
36/3 \S
60/3 | 90/3 | 160/3
84/3 | 125/3 .
24/4 | 36/4 _
P290 SM 242 24/3 | 36/4 | 53/4 ??fg 71/6 g?ﬁ @ P290 AC...T
48/4 | 71/4
36/2
24/2 | 36/3 i%
243 36/3 | 44/5 58/5
T490 SM " 36/ | waia | 47 | 594 | S | 596 T490 LN..
59/5
51/8 | 513 | 2o
59/4
o3 46/3 =
H490 SM 249 35/3 | 47/4 | 46/4 O H490 AN..
58/3 <
69/3
SM-XN13 246 co/a | 695 XNMU 13
55/5
64/5 = sD. 10
) 249 48/3 | 56/4 76/6
SDK-C/HP 249 o | oo | 8055 [ 20 7©7 SD.12
109/5 T T QD..12
98/4
(]
AN
250 25/3 | 38/4 @ B AR 15
v o




HELIPLUS

HP ANK-07 oo i @B %

Extended Flute Endmills F NGt ————- —it  DCONMS
Carrying HP ANK-07... Inserts i

« APMIX =

e LH —>|

OAL

O
DC  APMX  NOF"  CICT® LH OAL  DCONMS  Shank® & /

HP ANK D20-28-02-W20-7 20.00 28.60 2 8 40.0 90.00 20.00 W 0.18 SR 34-533//HG T-6/51

() Number of flutes

2 Number of inserts

(@) W-Weldon

For inserts, see pages: HP ANCR 0702PNFR (444) e HP ANKT/ANCT 0702..PN-R/PNTR (444) e HP ANKW 070204PNTR (444)

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

4ELiDO
H490 ANK-09 Mo ! % @ »%_i
Extended Flute Endmills Carrying oc . DCONMS
H490 ANKX 09... Double-Sided i
Rectangular Inserts with 4 |
Helical Cutting Edges e
OAL
O

DC  APMX NOF" CICT® LH  OAL DCONMS Shank® A5 & / v

H490 ANK D25 IR 2500 800 2 10 380 10000 2500 w 030  SR10508082-HG  BLDTOBM7  SWA-SD

32.00 42.00 3 18 50.0 115.00 32.00 W 0.52 SR 10508082-HG BLD T08/M7 SW4-SD

e AE(max)=0.25xDC

() Number of flutes

2 Number of inserts

@) W-Weldon

For inserts, see pages: H490 ANKX/ANCX-09 (469)

HELiSMILL
HM390 TPK-10
Extended Flute Endmills
Carrying HM390 TPKT 1003 DC
Triangular Inserts with 3
Helical Cutting Edges

O
DC  APMX NOF" CICT®  LH OAL DCONMS Shank® A=) & / f
25.00 28.00 2 8 36,0 9500  25.00 W 030 SR 14-562/S@ BLDT10/S7 SW6-SD
HM390 TPK D32-42-2-W32-10 KX\ oIy 2 12 500 11000  82.00 w 053  SR14-562/34 BLDTI0/S7 SW6-SD
4000 49.00 4 28 590 12500 32.00 w 0.75 SR 14-562/Sk BLDT10/S7  SWE-SD
M Number of flutes
(2 Number of inserts
@ W-Weldon

() Recommended tightening torque:3.2 Nxm
For inserts, see pages: HM390 TPKT/CT 1003 (447)

@ F

DCONMS

AP/AE Application Range for Extended Flute
HELI-3-MILL HM390-10 Cutters with HM390 TPKT 10083... Inserts

Depth of Cut
( AP mm)

49
Dia. 40 and 50 mm I HM390 TPK D025...10

42
[ HM390 TPK D032...10

2 [ HM390 TPK / SM D040...10

HM390 SM D050...10

Dia. 25 mm

r r T >  Width of Cut
( AE mm) Member IMC Group

(T [Tl 235




@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

HELRIMILL
HM390 SM-10

%

Extended Flute Shell Mills
Carrying HM390 TPKT 1003
Triangular Inserts with 3
Helical Cutting Edges

DCONMS  pHUB
I}

e I Y

HM390 SM D040-49-4-16-10 [IORREN] 4 28 6500 3880 16.00 A 0.30 SR 14-562/3@ SR M8X55DIN912 BLD T10/87
HM390 SM D050-49-5-22-10 KRN0 5 35  66.00 48.80 22.00 A 0.58 SR 14-562/S® SR M10X60DIN912  BLD T10/S7

SW6-SD
SW6-SD

() Number of flutes

2 Number of inserts

@) For adaptation options, see page 548

@ Recommended tightening torque:3.2 Nxm

For inserts, see pages: HM390 TPKT/CT 1003 (447)

AP/AE Application Range for Extended Flute
HELI 3 MILL HM390-10 Cutters with HM390 TPKT 1003... Inserts
Depth of Cut

(AP mm)
49
Dia. 40 and 50 mm [ HM390 TPK D025...10
42
HM390 TPK D032...10
Dia. 32 mm -
28 I HM390 TPK/ SM D040...10
HM390 SM D050...10
Dia. 25 mm
5
| r T . > Width of Cut
10 ( AE mm)
HEL [TANG
T490 LINE
T490 LNM-08 ﬁ T } % r
Extended Flute Endmills be 18 ‘ DCOJW'S
Carrying T490 LNMT/HT 08... i%\&
Tangentially Clamped Inserts le—LH —! oL

oo e wom oo on ocows swe B &

7

T490 LNM D20-15-2-C20-08C 20.00 15.00 2 4 30.0 80.00 20.00 C 0.16 SR 10502813-HG-M IP-7/51
T490 LNM D20-15-2-W20-08C 20.00 15.00 2 4 30.0 80.00 20.00 W 0.16 SR 10502813-HG-M IP-7/51
T490 LNM D25-30-2-C25-08C 25.00 30.00 2 8 40.0 100.00 25.00 C 0.31 SR 10502813-HG-M IP-7/51
T490 LNM D25-30-2-W25-08C 25.00 30.00 2 8 40.0 100.00 25.00 W 0.30 SR 10502813-HG-M IP-7/51
T490 LNM D32-36-3-C32-08C 32.00 36.00 3 15 45.0 110.00 32.00 C 0.55 SR 10502813-HG-M IP-7/51
T490 LNM D32-36-3-W32-08C 32.00 36.00 3 15 45.0 110.00 32.00 W 0.55 SR 10502813-HG-M IP-7/51
T490 LNM D40-44-4-W32-08C 40.00 44.00 4 24 53.0 120.00 32.00 W 0.73 SR 10502813-HG-M IP-7/51
) Number of flutes
2 Number of inserts
) W-Weldon, C-Cylindrical
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 0804 (476)
AP/AE Application Range with AP/AE Application Range with
T490 LNMT 0804PNR Insert T490 LNMTO080404-CS Chip Splitting Insert
AP Depth of Cut " Depth of Cut
mm mm
43 43
35 35
27 27
15 15
5 ) 5
I ' y | e Width of Gut T T T T +— AE Width of Cut

1
5 65 8 9 mm 5 7 9 10 12 mm
B 290 nwvipzo-152..  [0) Tao0inmb2s-0-2.. [ T490 INMD32-36-3..  [II) T490 LNM D40-44-4...

ISCAR




HE [T ANGFLEXFIT

T490 LNM-M-08
Extended Flute Endmills

— |

with a FLEXFIT Threaded THSZMS DCONMS
Adaptation Carrying ¥
Tangentially Clamped Inserts l

O
DC APMX NOF® CICT® LF  OAL DHUB THSZMS DRVS® TQ 3¢ & /

2500  30.00 2 8 5200  74.00 21.00 M12 17.0 33 0.12 SR 10502813-HG-M  IP-7/51
T490 LNM D32-36-3-M16-08 KPR 3 15 57.00  82.00 30.00 M16 25.0 40 0.26 SR 10502813-HG-M  IP-7/51

* For adaptation options, see page 311 e For user guide see pages 542-547

() Number of flutes

(2 Number of inserts

@) Clamping wrench size

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: T490 LNAR-P (480) e T490 LNMT/LNHT 0804 (476)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ¢ ER-ODP (315)
® HSK A-ODP (FLEXFIT) (316) ® SM (312) « S M-C-H (312) ¢ S M-CF (313)

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

HELiTARG
T490 LNK-11 i % ’r
Extended Flute Endmills DC - DCONMS

Carrying T490 LN#T 11...
Tangentially Clamped Inserts

0
o sew w0 oo w on ocows swwa B & S

T490 LNK-D32-34-2-W32-11 A 34.00 2 8 45.0 105.00 32.00 W 049  SR34-535/L10.5-SN  BLD T15/S7@  SW6-SD

T490 LNK-D40-51-3-C32-11 40.00 51.00 3 18 60.0 120.00 32.00 C 066 SR 34-5351L10.5-SN  BLD T15/S7@  SW6-SD

T490 LNK-D40-51-3-W32-11 LI 51.00 3 18 60.0 120.00 32.00 W 0.66 SR 34-535/L10.5-SN  BLD T15/S7@  SW6-SD

T490 LNK-D50-51-4-C40-11 50.00 51.00 4 24 60.0 130.00 40.00 C 1.18 SR 34-535-SN BLD T15/57@  SW6-SD
4 W

T490 LNK-D50-51-4-W40-11 ol 51.00 1.18 SR 34-535-SN BLD T15/57@  SW6-SD

® |mportant: Maximum clamping torque 3.2 Nxm

) Number of flutes

2 Number of inserts

() C-Cylindrical, W-Weldon

() Recommended key handle for limiting torque to 3.2 Nxm for this item is HSD 4-3.2NM (to be used with BLD 4 T15-4.8 blade)
For inserts, see pages: T490 LNMT/LNHT 1106 (461)

24 60.0 130.00 40.00

HELITANG

T490 LNK-13 i % fff
-

Extended Flute Endmills | DCONMS
Carrying T490 LNMT/HT 13... '
Tangentially Clamped Inserts

(@]
DC  APMX NOF® CICT® LH  OAL DCONMS Shank® § /S @

T490 LNK-D40-36-2-W32-13 RElN0] 36.00 2 6 50.0 115.00 32.00 w 0.68 SR 34-535-SN  BLD T15/S7  SW6-T-SH
T490 LNK-D40-48-3-C32-13 Iy 48.00 3 12 65.0 140.00 32.00 C 0.80 SR 34-535-SN  BLD T15/S7  SW6-T-SH
T490 LNK-D40-48-3-W32-13 [l] 48.00 3 12 65.0 125.00 32.00 w 0.70 SR 34-535-SN  BLD T15/S7  SW6-T-SH
T490 LNK-D50-47-3-W40-13 [l 47.00 3 12 65.0 135.00 40.00 W 1.24 SR 34-535-SN  BLD T15/S7 ~ SW6-T-SH
T490 LNK-D50-59-4-W40-13 ] 59.00 4 20 65.0 135.00 40.00 W 1.21 SR 34-635-SN BLD T15/S7  SW6-T-SH

() Number of flutes

(2 Number of inserts

() C-Cylindrical, W-Weldon

For inserts, see pages: T490 LNAR-P (464) ¢ T490 LNMT 1306PNTR-FW (463)  T490 LNMT/LNHT/LNAR 1306 (462)

Member IMC Group
o=
L 4 11 ]




HEL [ TANGFLEXFIT
T490 LNK-M-13

Endmills with a FLEXFIT
Threaded Adaptation Carrying
Tangentially Clamped Inserts

. : @

i
THSZMS DCONMS
]

O
DC  APMX NOF® CICT® LF  OAL DCONMS THSZMS DRVS® & / &

4000 3600 3 9 6300 8300 3000  MiB 250 037 SR34-535-SN BLDTI5/57 SWBT-SH
* For adaptation options, see page 311 e For user guide, see pages 542-547

) Number of flutes

@) Number of inserts

() Clamping wrench size

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

For holders, see pages: BT-ODP (FLEXFIT) (314)  C#-ODP (FLEXFIT) (314) » CAB M-M (FLEXFIT) (312) » DIN69871-ODP (315)  ER-ODP (315)

o HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) ¢ S M-CF (313)

@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

HELiTANG
T490 LNK-13-CF . el T | S i DCOTNMS % ‘r
Extended Flute Endmills with = hank
CLICKFIT Shanks Carrying L ¢
T490 LNMT/HT 13086... l«APMX>!
Tangentially Clamped Inserts ==
OAL
)
DC APMX NOF" CICT® LH LF OAL DCONMS  Shank & / 4
T4 50-59-4-CF4-13 [y} 59.00 4 20 - 73.00 115.00 44.00 CF4 082 SR34-535-SN BLDT15/S7  SW6-T-SH

) Number of flutes
(2) Number of inserts
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

FENA RIS

HE! [TANG

T490 LNK-13-BT
Extended Flute Endmills with
BT MAS-403 Tapered Shanks
Carrying T490 LNMT/HT 13...
Tangentially Clamped Inserts

@

0
oo wowx wor oo w wn sk o oon B &/ F

T490LNK-D50-059-4-BT50-13 |00/ RsteN0lo} 4 20 80.5  120.00 BT MAS-403  100.00 1 434 SR34-535-SN  BLDT15/S7 SW6-T-SH
T490LNK-D50-082-3-BT50-13 [cle{o/ 700} 3 21 1070 14500 BTMAS-403 100.00 1 457  SR34-535-SN BLDT15/S7  SW6-T-SH
T490LNK-D50-105-3-BT50-13  JsIo{0/o I (01100} 3 27 1300 168.00 BT MAS-403 100.00 0 499 SR34-535-SN  BLDT15/S7  SW6-T-SH
T490LNK-D63-117-4-BT50-13 RGEICCREERRTAI] 4 40 1500 188.00 BT MAS-403 100.00 1 6.07 SR34-535-SN  BLD T15/S7  SW6-T-SH
T490LNK-D80-082-4-BT50-13 |00/ 700} 4 28 1356.0 173.00 BT MAS-403 100.00 1 765 SR34-535-SN  BLD T15/S7  SW6-T-SH
T490LNK-D80-128-4-BT50-13 |0 XoouPeXo] 4 44 1620 200.00 BTMAS-403 100.00 1 825 SR34-535-SN  BLDT15/S7  SW6-T-SH

) Number of flutes

@ Number of inserts

() 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

FENA BESS
HELITANG N
T490 LNK-13-INT ——— % '&—i

Extended Flute Endmills with
DIN69871 Tapered Shanks
Carrying T490 LNMT/HT 13...
Tangentially Clamped Inserts

o o o oo w5 se o B & S F

T490LNKD50-082-3-INT50-13 [cleXol] 82.00 21 126.0 145.00  DIN 69871 97.50 385  SR34-535-SN BLDT15/S7 SW6-T-SH
T490LNKD63-081-4-INT50-13 |GRX0] 81.00 28 107.0 126.10  DIN 69871 97.50 434  SR34-535-SN BLDT15/S7 SW6-T-SH
T490LNKD63-117-4-INT50-13 [RCEH0ORN VA0 40 169.0 188.00  DIN 69871 97.50 546  SR34-535-SN BLD T15/S7 SW6-T-SH
T490LNKD80-082-4-INT50-13 [g:itlol] 82.00 28 1564.0 173.00  DIN 69871 97.50 7.61 SR 34-535-SN  BLD T15/87 SW6-T-SH
T490LNKD80-128-4-INT50-13 [P0 44 180.9 200.00 DIN 69871 97.50 7.92  SR34-535-SN BLDT15/87 SW6-T-SH

FNO N SO NN

) Number of flutes
(2 Number of inserts
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

ISCAR




HELISLOT

XNK-XN13 C i % ’71'Fl
Extended Flute Endmills { \ DoolNMS

Carrying XNMU 1306... Inserts L
l=— APMX —=
LF OAL
DC APMX  LF NOF®  CICT®@ OAL DCONMS Shank(3) . § / ﬂ
XNK D050-46-3-W40 XN13 50.00 46.00 85.00 3 12 125.00 40.00 1.09 SRM4-L15-D45 BLDIP15/S7  SW6-T-SH

* Radial W.0.C. < 0.3xDC

() Number of flutes

2 Number of inserts

3 W-Weldon

For inserts, see pages: XNMU 13 (514)

rmmEs 5

HEL i

APK-FE I t @ @ %

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

Extended Flute Endmills Df = DCQNMS
Carrying APKT/R-10... Inserts gy .|
~LH ——J
OAL:
O
DC APMX  NOF  cIcT® LH OAL DCONMS Shank® RMPxew [ & /’
APK D20-28-W20-FE 20.00 29.00 1 4 360 8700  20.00 w 40 017  SR34505HG  T-8/53
APK D25-36-W25-FE 25,00 37.00 2 8 470 10500 2500 w 40 031  SR34-505MHG  T-8/53
APK D32-45-W32-FE 32.00 46.00 2 12 55.0 115.00 32.00 W 1.4 0.57 SR 34-505/LHG T-8/53
APK D40-50-W32-FE 40.00 55.00 3 18 65.0 130.00 32.00 W 1.3 0.80 SR 34-505/LHG T-8/53

* Inserts with large corner radii can only be mounted in the face position of the cutter

() Number of flutes

2 Number of inserts

3 W-Weldon

@ Maximum ramping angle

For inserts, see pages: APCR 1003PDFR-P (450) ¢ APCT 1003PDR-HM (450) ® APKR 1003PDR-HM (451) ¢ APKT 1003..R (453) ¢ APKT 1003..TR-RM (452)
e APKT 1003PDR-HM (451) e APKT 1003PDR-HM-CS (451)  APKT 1003PDTR-76 (452) * APKT 1003PDTR/L-RM (452) ¢ HM90 APKW 1003PDR (453)

HELiQUAD
e ¥ 9%

Extended Flute Endmills
Carrying Square Inserts

OAL-
O
DC  APMX NOF® CICT® LH  OAL DCONMS Shank® RMPX°® & / Va
SPK D40-42-W32-10 40.00 43.00 3 15 55.0 125.00 32.00 W 15 0.70 SR 14-544/S  BLD T15/M7 SW6-SD

() Number of flutes

(2 Number of inserts

@) W-Weldon

4 Maximum ramping angle

For inserts, see pages: QPMR 1004-HQ-M (495) ¢ QPMT 100408PDTN (495) e SPCT/SPMR PDR (496) ® SPMT-HQ (495) ¢ XPMT-HQ (496)

HELiTANG ‘ LF
FIN LNK-INT i — ek N f&i

Extended Flute Endmills with
Tangentially Clamped Inserts oC &
and DIN69871 Shanks for Semi- L

Finishing Long Shoulders

Il
1
Li APMX ——»| H/
0
DC  APMX NOF" CICT® LM LF DF  Shank & /S 7

FIN LNK D050-100-4-INT50 50.00 102.00 4 28 123.2 142.30 97.50 DIN 69871 3i73 SR 34-535 BLD T16/M7  SW6-T
FIN LNK D063-130-4-INT50 63.00 130.00 4 36 157.0 176.10 97.50 DIN 69871 5.21 SR 34-535 BLD T15/M7  SWB-T
) Number of flutes

@ Number of inserts
For inserts, see pages: FIN LNAT 1607PN-R (491)

Member IMC Group
o=
L 4 11 ]




@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

FEum BESA

HELjTANG

FIN LNK-BT

Extended Flute Endmills with
Tangentially Clamped Inserts
and BT MAS-4083 Shanks for
Semi-Finishing Long Shoulders

Q
o e Nom oo im0 & / 7

FIN LNK D050-100-4-BT50 50.00  102.00 4 28 1232 161.20 100.00 BT MAS-403 472 SR 34-535 BLDT15/M7 ~ SW6-T

() Number of flutes
) Number of inserts
For inserts, see pages: FIN LNAT 1607PN-R (491)

MiLLSHREDFLEXFiT bRV =
P290 ACK-M o @F — % f
Extended Flute Endmills with DC D THSZMS DCONMS

FLEXFIT Threaded Adaptation . ¥

Carrying 12 mm
Long Edged Inserts

OAL

DC APMX NOF" CICT® LF DCONMS THSZMS OAL DRVS® RMPX¥ TQ 36 i) & A

P290 ACK D32-3-24-M16-12 JErAVZN 3 6 4000  29.00 M16 6500 250 1.0 40 0.17 SR MBX0.5-L7.4 IP9@  IP-9/151

¢ Note: recommended ae up to 0.2xDC e For adaptation options, see page 311 e For user guide, see pages 542-547 e When mounting items with FLEXFIT threaded
adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating
faces. Estimated torque values are specified in the TQ_3 parameter

() Number of flutes

2 Number of inserts

@) Clamping wrench size

4 Maximum ramping angle

) Tool tightening torque Nxm (Ibfxin)

@ Recommended tightening torque:2.0 N*m (20.0Ibf*in)

For inserts, see pages: P290 ACCT/KT (461) e P290 ACKT (461)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ® ER-ODP (315)

¢ HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) « S M-CF (313)

ISCAR



ik SHRED
P290 ACK

Extended Flute Endmills
Carrying 12 and 18 mm
Long Edged Inserts

- (@]

DCONMS

l

O
DC APMX NOF®  CICT® LH OAL  DCONMS RMPX®  Shank® [

)
o
-
D)
O
LLI
|_
D)
—1
LL
A
LLI
A
Z
o
<
LLI

P290 ACK D25-3-24-W20-12 25.00 24.00 3 6 40.0 95.00 20.00 14 w 0.20
P290 ACK D25-3-36-W25-12 25.00 36.00 3 9 50.0 110.00 25.00 14 W 0.29
P290 ACK D32-3-36-W32-12 32.00 36.00 3 9 50.0 110.00 32.00 1.0 W 0.50
P290 ACK D32-3-48-W32-12 32.00 48.00 3 12 65.0 125.00 32.00 1.0 w 0.55
P290 ACK D32-3-60-W32-12 32.00 60.00 3 15 80.0 140.00 32.00 1.0 w 0.59
P290 ACK D32-3-84-W32-12 32.00 84.00 3 21 100.0 160.00 32.00 1.0 w 0.66
P290 ACK D32-3-36-W25-18 (1) 32.00 36.00 3 6 55.0 115.00 25.00 2.0 w 0.36
P290 ACK D40-3-53-W32-18 40.00 53.00 3 9 80.0 140.00 32.00 1.5 w 0.77
P290 ACK D40-3-71-W40-18 40.00 71.00 3 12 95.0 165.00 40.00 15 W 114
P290 ACK D40-3-90-W40-18 40.00 90.00 3 15 115.0 185.00 40.00 15 w 1.28
P290 ACK D40-3-125-W40-18 40.00 125.00 3 21 150.0 220.00 40.00 15 w 1.39
P290 ACK D50-4-53-W40-18 50.00 53.00 4 12 80.0 150.00 40.00 1.0 w 1.33
P290 ACK D50-4-105-W50-18 50.00 105.00 4 24 130.0 210.00 50.00 1.0 w 2.23
P290 ACK D50-3-160-W50-18 50.00 160.00 3 27 185.0 265.00 50.00 1.0 W 2.82

() Do not use with P290 ACKT...-FWR insert

2 Number of flutes

(3 Number of inserts

@) Maximum ramping angle

) W-Weldon

For inserts, see pages: P290 ACCT/KT (461) ® P290 ACKT (461)

Maximum Width of Cut AE Max (AEMX)* for P290 ACK...
Extended Flute Cutters
APMX
DC Upto 1.5 Over 1.5 up to 2.5 Over 2.5
AEMX 0.2xDC 0.15xDC 0.1xDC
\ * Designation in accordance with standard ISO 13399 are given in parentheses

APMX

AEMX _¢

DC—»

Spare Parts

& / / a

P290 ACK D25-3-24-W20-12 SR M3X0.5-L7.4 [P IP-9/151
P290 ACK D25-3-36-W25-12 SR M3X0.5-L7.4 IP9@ IP-9/151
P290 ACK D32-3-36-W32-12 SR M3X0.5-L7.4 IP9@) IP-9/151
P290 ACK D32-3-48-W32-12 SR M3X0.5-L7.4 IP9@ IP-9/151
P290 ACK D32-3-60-W32-12 SR M3X0.5-L7.4 IP9@ IP-9/151
P290 ACK D32-3-84-W32-12 SR M3X0.5-L7.4 IP9e) IP-9/151
P290 ACK D32-3-36-W25-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D40-3-53-W32-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D40-3-71-W40-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D40-3-90-W40-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D40-3-125-W40-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D50-4-53-W40-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D50-4-105-W50-18 SR 14-544/8 BLD T15/M7 SW6-T
P290 ACK D50-3-160-W50-18 SR 14-544/8 BLD T15/M7 SW6-T

(@ Recommended tightening torque:2.0 N*m

Member IMC Group

(T [ Tl 241



@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

mikL.SHREDCAMFIX

P290 ACK-C#-18

Extended Flute Endmills with
CAMFIX Shanks Carrying 18 mm
Long Edged Inserts

Shank

DCONMS

=

@Y

CDI(5) . & / ﬂ

P290 ACK D32-3-36-C5-18 (1) Jeridl]
P290 ACK D40-3-87-C6-18 40.00

P290 ACK D63-5-87-C8-18

NOF@ CICT® LF  RMPX°® DCONMS Shank
3600 3 9 90.00 20 6000 CAMFIX 079 SR14-544/S BLDTISM7  SWET
8700 3 15 134.60 15 6300  CAMFIX 1 166 SR14-544/S BLDTISEM7  SW6T
6300 8700 5 % 140.00 0.8 8000 CAMFX 1 400 SR14-544/S BLDTI5M7  SWe6T

¢ Note: recommended ae up to 0.2xDC

™ Do not use with P290 ACKT...-FWR insert
2 Number of flutes

(3 Number of inserts

@) Maximum ramping angle

) 1 - Hole for data chip, O - Without hole for data chip

For inserts, see pages: P290 ACCT/KT (461) e

P290 ACKT (461)

miLLSHRED

P290 LINE

P290 SM

Extended Flute Shell Mills
Carrying 12 and 18 mm
Long Edged Inserts

N

P -

[

APMX NOF( cicT®@ OAL DHUB DCONMS RMPX°® Arbor

P290 SM D032-03-24-16-12 32.00 24.00 3 6 65.00 38.00 16.00 1.0 A 0.27
P290 SM D040-04-24-16-12 40.00 24.00 4 8 45.00 38.00 16.00 0.7 A 0.23
P290 SM D040-04-36-16-12 40.00 36.00 4 12 60.00 38.00 16.00 0.7 A 0.30
P290 SM D040-04-48-22-12 40.00 48,00 4 16 85.00 48.00 22.00 0.7 A 0.47
P290 SM D050-04-36-22-18 50.00 36.00 4 8 65.00 46.40 22.00 1.0 A 047
P290 SM D050-04-53-22-18 50.00 53.00 4 12 80.00 46.40 22.00 1.0 A 0.57
P290 SM D050-04-71-27-18 50.00 71.00 4 16 105.00 48.00 27.00 1.0 A 073
P290 SM D063-05-53-27-18 63.00 53.00 5 15 80.00 55.00 27.00 0.8 A 1.00
P290 SM D063-05-71-27-18 63.00 71.00 5 20 100.00 55.00 27.00 0.8 A 1.30
P290 SM D080-06-71-32-18 80.00 71.00 6 24 100.00 74.00 32.00 05 A 2.21
P290 SM D100-06-36-32-18 100.00 36.00 6 12 70.00 78.00 32.00 0.3 A 2.48
P290 SM D100-07-71-40-18 100.00 71.00 7 28 100.00 85.00 40.00 0.3 A 3.50

* Note: recommended ae up to 0.2xDC

() Number of flutes

2 Number of inserts

() Maximum ramping angle

) For adaptation options, see page 548

For inserts, see pages: P290 ACCT/KT (461) e P290 ACKT (461)

Spare Parts

Designation

&

7

/

/

P290 SM D032-03-24-16-12
P290 SM D040-04-24-16-12
P290 SM D040-04-36-16-12
P290 SM D040-04-48-22-12
P290 SM D050-04-36-22-18
P290 SM D050-04-53-22-18
P290 SM D050-04-71-27-18
P290 SM D063-05-53-27-18
P290 SM D063-05-71-27-18
P290 SM D080-06-71-32-18
P290 SM D100-06-36-32-18
P290 SM D100-07-71-40-18

SR M3X0.5-L7.4 IPgel
SR M3X0.5-L7.4 IP9@
SR M3X0.5-L7.4 IP9@)
SR M3X0.5-L7.4 IP9@

SR 14-544/S

SR 14-544/8

SR 14-544/8

SR 14-544/S

SR 14-544/8

SR 14-544/8

SR 14-544/S

SR 14-544/S

IP-9/151
IP-9/151
IP-9/151
IP-9/151

BLD T156/M7
BLD T15/M7
BLD T15/M7
BLD T15/M7
BLD T15/M7
BLD T15/M7
BLD T16/M7
BLD T15/M7

SW6-T
SW6-T
SW6-T
SWE-T
SW6-T
SW6-T
SW6-T
SW6-T

SR M8X55-D11.5 DIN912

SR M8X35 DIN912

SR M8X45DIN912

SR M10X70DIN912
SR M10X50 DIN 912
SR M10X60DIN912
SR M12X70DIN912
SR M12X70DIN912
SR M12X70DIN912
SR M16X80 DIN 912
SR M16X50 DIN912
SR M20X80DIN912

@ Recommended tightening torque:2.0 N*m

ISCAR




HELIDO

490 LINE

H490 SM-12

Extended Flute Shell Mills
Carrying H490 ANKX 12..
Double-Sided Rectangular Inserts
with 4 Helical Cutting Edges

O
DC CICT®) NOF®@ APMX OAL DHUB DCONMS Arbord & / 4 f
9

22-12 0] 3 35600 60.00 4800 22.00 A 0.45 SR14-544 BLD T15/M7 SW6-T SR M10X40DIN912
H490 SM D063-48-4-27-12 [Ei0) 16 4 4700 70.00 60.00 27.00 A 0.89 SR14-544 BLDT15/M7 SW6-T SR M12X50DIN912

! @/ F

}
DCONMS DHUB

—

() Number of inserts

2 Number of flutes

@) For adaptation see page 548

For inserts, see pages: H490 ANKX/ANCX-12 (470)

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

HELITANG

T490 SM-08

Extended Flute Shell Mills
Carrying T490 LNMT/HT 0804...
Tangentially Clamped Inserts

O
DC APMX NOF CICT® OAL DHUB DCONMS Arbor® I & /‘? f
3200  36.00 3 15 5800 3800  16.00 A 023  SR10502813-HG-M  IP-7/51  SRM8X45DIN912
T490 SM D040-44-4-16-08 [Ny 4 24 6500 3800  16.00 A 038  SR10502813-HG-M  IP-7/51  SRMBX55DING12
5000 44.00 5 30 6500  47.00 2200 A 061 SR10502813-HGM  IP-7/51 SRMI0X50 DIN 912
) Number of flutes
@ Number of inserts

@) For adaptation options, see page 548
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 0804 (476)

@ F

1
- DOOL\IMS DHUB

HEL iTANG
T490 LINE -
T490 SM-11 )i % r
Extended Flute Shell Mills f U

DCONMS DHUB

Carrying T490 LN#T 11...
Tangentially Clamped Inserts l

DC APMX NOF( CICT® OAL DHUB DCONMS Arbor® @ & / V4 f

T490 SM-D40-51-3-22-11 EOXREAKI] 18 72,00 38.00 22,00 A 0.31 SR34-535/L10.5-SN BLD T15/S7@ SW6-SD SR M10XBODIN912
T490 SM-D50-51-3-22-11 [EOREANKI0] 18 71.00 48.00 22.00 A 0.59 SR34-535-SN  BLDT15/S7@ SW6-SD SR M10XBODIN912
T490 SM-D50-59-4-22-11 [J0/oieNo] 80.00 48.00 22,00 A 0.66 SR34-535-SN  BLDT15/S7@ SW6-SD SR M10X70DIN912
T490 SM-D63-59-4-27-11 RN UR:eN0] 28 81.00  60.00 27.00 A 1.16 SR34-535-SN  BLDT15/S7@ SW6-SD SR M12X70DIN912
T490 SM-D63-68-5-27-11 [LRIORRCEN) A

40 90.00  60.00 27.00 1.30 SR 34-535-SN BLD T15/S7@ SW6-SD SR M12X80DIN912
e Important: Maximum clamping torque 3.2 Nxm

) Number of flutes

@ Number of inserts

() For adaptation see page 548

(a) Recommended key handle for limiting torque to 3.2 Nxm for this item is HSD 4-3.2NM (to be used with BLD 4 T15-4.8 blade)
For inserts, see pages: T490 LNMT/LNHT 1106 (477)

o B~ B W W
no
[e5)

Member IMC Group
o=
L 4 11 ]




FENA RIS

HELITANG

T490 LIN

T490 SM-13

Extended Flute Shell Mills
Carrying T490 LNMT/HT 13086... 5o
Tangentially Clamped Inserts l

DCONMS DHUB

O
DC APMX NOF() cicTe OAL DHUB DCONMS  Arbor® kol

@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

T490 SM-D40-24-2-22-13 40.00 24.00 2 4 50.00 38.00 22.00 A 0.24
T490 SM-D40-36-3-22-13 40.00 36.00 3 9 62.00 38.00 22.00 A 0.29
T490 SM-D50-36-2-27-13 50.00 36.00 2 6 56.00 48.00 27.00 A 0.38
T490 SM-D50-36-3-22-13 50.00 36.00 3 9 56.00 48.00 22.00 A 043
T490 SM-D50-36-3-27-13 50.00 36.00 3 9 56.00 48.00 27.00 A 0.39
T490 SM-D50-47-4-22-13 50.00 47.00 4 16 68.00 48.00 22.00 A 054
T490 SM-D50-47-4-27-13 50.00 47.00 4 16 68.00 48.00 27.00 A 0.49
T490 SM-D63-36-4-27-13 63.00 36.00 4 12 60.00 58.00 27.00 A 0.79
T490 SM-D63-59-5-27-13 63.00 59.00 5 25 80.00 58.00 27.00 A 1.09
T490 SM-D80-58-5-32-13 80.00 58.00 5 25 75.00 74.00 32.00 A 1.73
T490 SM-D80-70-5-32-13 80.00 70.00 5 30 111.00 74.00 32.00 A 2.65
T490 SM-D100-59-6-40-13 100.00 59.00 6 30 86.00 88.00 40.00 A 311

2 Number of flutes

() Number of inserts

) For adaptation options, see page 548

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

Spare Parts

& / z /
T490 SM-D40-24-2-22-13 SR 34-535/L10.5-SN BLD T15/S7 SW6-T-SH SR M10X40DIN912
T490 SM-D40-36-3-22-13 SR 34-535/L.10.5-SN BLD T15/S7 SW6-T-SH SR M10X50 DIN 912
T490 SM-D50-36-2-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X45DIN912
T490 SM-D50-36-3-22-13 SR 34-535-SN BLD T15/S7 SWB-T-SH SR M10X40DIN912
T490 SM-D50-36-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X45DIN912
T490 SM-D50-47-4-22-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M10X50 DIN 912
T490 SM-D50-47-4-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X50DIN912
T490 SM-D63-36-4-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X50DIN912
T490 SM-D63-59-5-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X70DIN912
T490 SM-D80-58-5-32-13 SR 34-535-SN BLD T15/S7 SWB-T-SH SR M16X55DIN912
T490 SM-D80-70-5-32-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X90DIN912
T490 SM-D100-59-6-40-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M20X60DIN912

HELITANG

T490 LINE

T490 SM-13FT

— ] il

Basic Units for Modular

DCONMS DHUB
Extended Flute Shell Mills ¥

DC APMX NOF( cicT® OAL DHUB DCONMS  Arbor® ﬁ

T490 SM-D50-47-2-27-13FT 50.00 47.00 2 8 66.50 58.00 27.00 A 0.59
T490 SM-D63-59-3-27-13FT 63.00 59.00 3 15 80.00 58.00 27.00 A 1.10
T490 SM-D80-70-4-32-13FT 80.00 70.00 4 24 95.00 74.00 32.00 A 2.23

() Number of flutes

2 Number of inserts

@) For adaptation options, see page 548

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

Spare Parts

P s v s v/

T490 SM-D50-47-2-27-13FT SR 34-535-SN BLD T15/87 SW6-T-SH SR M12X50DIN912
T490 SM-D63-59-3-27-13FT SR 34-535-SN BLD T15/87 SW6-T-SH SR M3X0.5X10DIN7991 10.9 PG D63 SR M12X60DIN912
T490 SM-D80-70-4-32-13FT SR 34-535-SN BLD T15/87 SW6-T-SH SR M3X0.56X10DIN7991 10.9 PG D63 SR M16X70DIN912

ISCAR




= 7==aass

HEL [TANG

T490 CAP-13FT
Extension Units for Modular
Extended Flute Shell Mills

P -

] &

&

APMX NOF(® CICcT® SS
T490 CAP-D50-24-2-20-13FT 50.00 24.00 2 4 20 0.21 SR 34-535-SN
T490 CAP-D50-36-2-20-13FT 50.00 36.00 2 6 20 0.32 SR 34-535-SN
T490 CAP-D63-24-3-20-13FT 63.00 24.00 3 6 20 0.33 SR 34-535-SN
T490 CAP-D63-24-4-2W0-13FT 63.00 24.00 4 8 20 0.34 SR 34-535-SN SR M6X6 DIN916
T490 CAP-D63-36-3-20-13FT 63.00 36.00 3 9 20 0.51 SR 34-535-SN
T490 CAP-D63-36-4-20-13FT 63.00 36.00 4 12 20 0.50 SR 34-535-SN SR M6X6 DIN916
T490 CAP-D80-24-4-25-13FT 80.00 24.00 4 8 25 0.59 SR 34-535-SN SR M6X8 DIN916
T490 CAP-D80-36-4-25-13FT 80.00 36.00 4 12 25 0.88 SR 34-535-SN SR M6X8 DIN916

() Number of flutes
2 Number of inserts
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)

Modular Extended Flute
Assembly

Assembly screw

%

y

Shell Base Unit

T490 SM-D50-47-2-27-13FT

T490 SM-D63-59-3-27-13FT

Extension 1 Extension 2 DC APMX OAL NOF CICT Assembly Screw

47 66.5 8 SR M12x50 DIN912

T490 CAP-D50-24-2-20-13FT 50 7 90 12 SR M12x70 DIN912
T490 CAP-D50-36-2-20-13FT 50 83 102 2 14 SR M12x80 DIN912
T490 CAP-D50-24-2-20-13FT T490 CAP-D50-24-2-20-13FT 50 94 113 16 SR M12x100 DIN912
T490 CAP-D50-24-2-20-13FT T490 CAP-D50-36-2-20-13FT 50 106 125 18 SR M12x110 DIN912
59 80 15 SR M12x60 DIN912

T490 CAP-D63-24-3-20-13FT 63 82 103 21 SR M12x80 DIN912
T490 CAP-D63-36-3-20-13FT 63 94 116 3 24 SR M12x100 DIN912
T490 CAP-D63-24-3-20-13FT T490 CAP-D63-24-3-20-13FT 63 106 127 27 SR M12x110 DIN912
T490 CAP-D63-24-3-20-13FT T490 CAP-D63-36-3-20-13FT 63 117 138 30 SR M12x120 DIN912

AP/AE Application Range for 50 mm
Modular Extended Flute Cutters

Depth of Cut mm [ T490 SM-D50-47-3-27-13FT

T490 CAP-D50-36-2-20-13FT
T490 CAP-D50-24-2-20-13FT

] T490 SM-D50-47-3-27-13FT
T490 CAP-D50-36-2-20-13FT

83 I 7490 SM-D50-47-2-27-13FT
T490 CAP-D50-24-2-20-13FT

Bl 7490 SM-D50-47-2-27-13FT
70
47
35

+ +—-AE
25 S0 width of Cut mm

AP/AE Application Range for 80 mm
Modular Extended Flute Cutters

Depth of Cut mm

[ 7490 SM-D80-70-4-32-13FT
T490 CAP-D80-36-4-25-13FT
T490 CAP-D80-24-4-25-13FT

2] T490 SM-D80-70-4-32-13FT
T490 CAP-D80-36-4-25-13FT

8 1490 SM-D80-70-4-32-13FT
T490 CAP-D80-24-4-25-13FT

I 7490 SM-D80-70-4-32-13FT

AP
125

106

93

70

40

T T T T T —AE

12 15 20 25 50 Width of Cut mm

AP/AE Application Range for 63 mm
Modular Extended Flute Cutters

Depth of Cut mm [ T490 SM-D63-59-3-27-13FT

T490 CAP-D63-36-3-20-13FT
T490 CAP-D63-24-3-20-13FT

[ T490 SM-D63-59-3-27-13FT
T490 CAP-D63-36-3-20-13FT

BB 7490 SM-D63-59-3-27-13FT
T490 CAP-D63-24-3-20-13FT

B 7490 SM-D63-59-3-27-13FT

- AE

10 14 15 20 25 63

Width of Cut mm

Member IMC

Group
v |
[ ]

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI




HELISLOT 5

SM-XN13 \ - % ?T{E

Extended Flute Shell Mills DCI - N\ R ——EDCONMS DHUB
Carrying XNMU 1306... Inserts I

f«—— APMX ——J

OAL

O
DC APMX NOF" DCONMS CICT® LF DHUB Arbor I @ / 4 f

SM D063-69-3-27R XN13 [RGRIURENGR] 3 27.00 18 80.00 6130 A 1.05 SRM4-L15-D4.5 BLDIP15/S7  SW6-T-SH SRM12X70DIN912
SM D063-69-4-27R XN13 |RGEKUCRCN) 4 27.00 24 80.00  61.30 A 095 SRM4-L15-D45 BLDIP15/S7  SW6-T-SH SR M12X70DIN912

SM D080-69-5-32R XN13 [RE:Io{CeleeNi 5 32.00 30 86.00 7830 A 250 SRM4-L15-D45 BLDIP15/M7  SW6-T-SH SR M16X70DIN912

¢ Radial W.0.C. < 0.3xDC

() Number of flutes

) Number of inserts

For inserts, see pages: XNMU 13 (514)

HELITANG

T490 LINE

T490 CAP-FT

T490 LNK-INT50-FT

Basic Units of Modular Extended
Flute Endmills with DIN 69871
Tapered Shanks Carrying

T490 LNMT/HT 1306 Inserts

@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

o)
Designation DC APMX LBX LF DF NOF( cicT@ Shank kg
T490LNKD63-082-4-INT50-FT 63.00 82.00 1259 145.00 97.50 4 28 DIN69871 5.15
T490LNK-D80-82-5-INT50-FT 80.00 82.00 1256.5 144.60 97.50 5 35 DING9871 6.08
T490LNKD80-105-4-INT50-FT 80.00 1056.00 1541 173.20 97.50 4 36 DING9871 7.04
* Remove coolant plug screws (SR M6X..DIN916) prior to attaching extension units
() Number of flutes
2 Number of inserts
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478)
Shell Base Unit Extension DC APMX  OAL NOF CICT Assembly Screw
82 126 28
T490 LNK-D63-082-4-INT50-FT T490 CAP-24-4-20-13FT 63 106 150 4 36 SR M12x30 DIN912
T490 CAP-36-4-20-13FT 118 162 40 SR M12X45DIN912 12.9
82 125 45
T490 LNK-D80-082-5-INT50-FT T490 CAP-D80-24-25-13FT 80 106 149 5 68} SR M16x40 DIN912
105 135 36
T490 CAP-D80-24-4-25-13FT 129 159 44 SR M16x40 DIN912
RO L L et b bl T490 CAP-D80-36-4-25-13FT & 141 mo Y g SR M16x40 DIN912
Shell locking screw
screw SR M6x...
Cover screw
SR M3x10DIN7991
Cover
SR 34-535-SN
Spare Parts
R
e /S o ¢ S 7 &
T490LNKD63-082-4-INT50-FT JESiREEEIES BLD T15/S7 SW6-T-SH SR M6X6 DIN916 SR M12X12 DIN912
T490LNK-D80-82-5-INT50-FT SRR BLD T15/S7 SW6-T-SH PG D63 SR M3X0.5X10DIN7991 10.9
T490LNKD80-105-4-INT50-FT SRR BLD T15/S7 SW6-T-SH SR M6X8 DIN916 PG D63 SR M3X0.56X10DIN7991 10.9

ISCAR




HELITANG @p)
T490 LNK-BT-FT Kl % fdg_i oC
Basic Units of Modular Extended o LU
Flute Endmills with BT MAS-403
Tapered Shanks Carrying T490 I:
LNMT/HT 1306 Inserts D
- @)
D nation DC APMX LBX LF DF NOF( cicT@ Shank @ LIJ
63.00 82.00 107.0 145.00 100.00 4 28 BT MAS-403 532 I_
T490LNK-D80-105-4-BT50-FT 80.00 105.00 135.2 173.20 100.00 4 36 BT MAS-403 7.35
* Remove coolant plug screws (SR M6X..DIN916) prior to attaching extension units D
() Number of flutes _I
@ Number of inserts |_|_
For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT 1306PNTR-FW (479) e T490 LNMT/LNHT/LNAR 1306 (478) D
Extension DC APMX OAL NOF CICT NOFAssembly Screw L1
82 107 28 D
T490 LNK-D63-082-4-BT50-FT T490 CAP-D63-24-4-20-13FT 63 106 131 4 36 SR M12x30 DIN912
T490 CAP-D63-36-4-20-13FT 118 143 40 SR M12X45DIN912 12.9 Z
106 135 % L]
T490 LNK-D80-105-4-BT50-FT T490 CAP-D80-24-4-25-13FT 80 129 159 4 44 SR M16x40 DIN912 |_
T490 CAP-D80-36-4-25-13FT 141 171 48 SR M16x40 DIN912 ><
Spare Parts L]
& i d s v &
Bl SR 34-535-SN BLD T15/S7 SW6-T-SH SR M6X6 DIN916 SR M12X12 DIN912
T490LNK-D80-105-4-BT50-FT SRREERIES BLD T15/S7 SW6-T-SH SR M6X8 DIN916 PG D63 SR M3X0.5X10DIN7991 10.9
HELiTANG
T4..-SM Conical Shell Mills @ @ ‘F
Conical Extended Flute Shell Mills
Carrying T490 LNMT/LNHT 13...
Tangentially Clamped Inserts
(@]
DC KAPR®@ APMX DCX® NOF® ZNP®) OAL DHUB  DCONMS  Arbor® kg
T422 SM-D050-12-3-32-13 (1) 50.00 225 12.20 110.10 3 9 60.00 78.00 32.00 A 1.92
T425 SM-D050-13-3-32-13 50.00 25.0 13.55 109.20 3 9 60.00 78.00 32.00 A 1.85
T430 SM-D050-16-3-32-13 50.00 30.0 16.00 107.20 3 9 60.00 78.00 32.00 A 1.81
T440 SM-D050-28-3-27-13 50.00 40.0 28.88 118.80 3 12 65.00 60.00 27.00 A 1.99
T445 SM-D050-23-3-27-13 50.00 45.0 23.50 98.20 3 9 55.00 60.00 27.00 A 1.17
T445 SM-D050-47-3-32-13 50.00 45.0 47.50 145.60 3 18 76.00 80.00 32.00 A 3.41
T450 SM-D050-25-3-27-13 50.00 50.0 26.12 94.30 3 9 55.00 60.00 27.00 A 0.13
T460 SM-D050-30-3-27-13 50.00 60.0 30.00 85.20 3 9 55.00 60.00 27.00 A 0.96
T470 SM-D050-33-3-27-13 50.00 70.0 33.20 74.30 3 9 60.00 58.00 27.00 A 0.86
T475 SM-D050-34-3-27-13 50.00 75.0 34.50 68.60 3 9 55.00 60.00 27.00 A 0.73
T475 SM-D050-56-3-32-13 50.00 75.0 57.70 81.00 3 15 83.50 78.00 32.00 A 1.52
¢ Note: RPM should be considered according to the recommended speed applied on the outer diameter obtained by the specific D.O.C.
e For user guide, see pages 542-547
™) On request
@ Tool cutting edge angle
() Cutting diameter maximum
@) Number of flutes
8) Number of peripheral inserts
(6) For adaptation options, see page 548
For inserts, see pages: T490 LNAR-P (464) ® T490 LNMT 1306PNTR-FW (463) e T490 LNMT/LNHT/LNAR 1306 (462)
Spare Parts
Designation & / ﬁ f
T422 SM-D050-12-3-32-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X40DIN912
T425 SM-D050-13-3-32-13 SR 34-535-SN BLD T15/S7 SWe-T-SH SR M16X40DIN912
T430 SM-D050-16-3-32-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X40DIN912
T440 SM-D050-28-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X45DIN912
T445 SM-D050-23-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X35DIN912
T445 SM-D050-47-3-32-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X50 DIN912
T450 SM-D050-25-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X35DIN912
T460 SM-D050-30-3-27-13 SR 34-535-SN BLD T15/S7 SWe-T-SH SR M12X35DIN912
T470 SM-D050-33-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X50DIN912
T475 SM-D050-34-3-27-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M12X35DIN912
T475 SM-D050-56-3-32-13 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X60DIN912

WEmDEr T Groth

(T [Tl 247




@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

Recommended Applications

The table and figures below show the applicability of the conical extended
flute cutters carrying inserts with different corner radii.

O

Application Fig. for RE

Description 0.8 1.2 1.6 2.4 3.1 4.0 5.0 6.0 6.4

T422 SM-D050-12-3-32-13 . Fig. 182 Fig.2 Fig. 2 Fig. 162 | Fig.162 Fig. 2 Fig. 2 Fig. 2 Fig. 2

T425 SM-D050-13-3-32-13 Fig. 1&2 Fig. 2 Fig. 2 Fig. 1&2 Fig. 1&2 Fig. 2 Fig. 1&2 Fig. 1&2 Fig. 1&2

T430 SM-D050-16-3-32-13 Fig. 1&2 Fig. 2 Fig. 2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2

T440 SM-D050-28-3-27-13 Fig. 2 Fig. 2 Fig. 2 Fig. 2 Fig. 2 Fig. 2 Fig. 2 Fig. 2 Fig. 2

T445 SM-D050-23-3-27-13 Fig. 1&2 Fig. 2 Fig. 2 Fig. 1&2 Fig. 1&2 Fig. 2 Fig. 2 Fig. 2 Fig. 2

T450 SM-D050-25-3-27-13 Fig. 1&2 Fig. 2 Fig. 2 Fig. 1&2 Fig. 1&2 Fig. 2 Fig. 2 Fig. 2 Fig. 2

T460 SM-D050-30-3-27-13 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2

T470 SM-D050-33-3-27-13 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 142 Fig. 1 &2 Fig. 1 &2

T475 SM-D050-34-3-27-13 Fig. 1&2 Fig. 1&2 Fig. 182 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2 Fig. 1&2

KAPR - Tool cutting edge angle
Required to make a modification in the tool body

RE
; KAPR KAPR

- Machined
surface

Fig. 1 Fig. 2

For indexable inserts T490 LNHT 1306... with a corner
radius of 4 mm and more, the tool body mast be modified
according to Fig. 3.

HELTANG
T490 SM-16 y T @ 'r
Extended Flute Shell Mills f 4

Carrying T490 LNMT/HT 1607...

Tangentially Clamped Inserts

O
DC  APMX OAL  NOF"  CICT® DHUB DCONMS Arbor® & / Vi

T490 SM D63-47-3-27-16 63.00 47.00 68.00 3 9 58.00 27.00 A 0.93 SR 14-591 BLDT20/M7 ~ SWG-T

() Number of flutes

) Number of inserts

©) For adaptation options, see page 548

For inserts, see pages: T490 LNAR-P (480) ® T490 LNMT/LNHT 1607 (480)

ISCAR



H490 SM-17 T S T % ’ﬂﬁ
Extended Flute Shell Mills DC —FS Ao Deconms DHUB
Carrying H490 ANKX 17.. v

Double-Sided Rectangular Inserts l l
with 4 Helical Cutting Edges | APMX
OAL

O
DC APMX NOF" CICT® OAL DHUB DCONMS Arbor® & / ﬂ f
6300 4650 3 9 7000 59.40 27.00 A 193 SR14-591 BLDT20M7 SWET SR M12X50DIN912
H490 SM D063-60-3-27-17C TG 3 12 8500 59.40 27.00 A 113 SR14-591 BLDT20/M7 SWET  SRM12X60DIN912
80.00 4650 4 12 7000 7640 3200 A 156 SR14-591 BLDT2OM7 SWET  SRMI6X40DING12
) Number of flutes
(2 Number of inserts

@) For adaptation options, see page 548
For inserts, see pages: H490 ANKX/ANCX-17 (472)

UAD

SDK-10-C/HP
Extended Flute Shell Mills Carrying
SDHW/T 100408... Inserts

@)%~

DHUB

)
s
LLI
=
D)
@)
LLI
|_
D)
—1
LL
A
LLI
A
Z
LLI
<
LLI

OAL

DC APMX NOF® DCONMS CICT® OAL DHUB Arboﬁ”% & / V4 f

SDK D050-48-03-22-10-C 50.00 48.00 22.00 18  75.00 48.00 A 054 SRM35X06-L85IP10  BLDIP10/S7  SW6-SD SR M10X60DIN912
SDK D050-48-03-27-10-C 50.00 48.00 27.00 18 80.00 49.00 057 SRM35X0.6-L851P10  BLDIP10/S7  SW6-SD SR M12X65 DIN912
SDK D050-48-04-27-10-C 50.00 48.00 27.00 24 80.00 49.00 056 SRM35X0.6-L85I1P10  BLDIP10/S7  SW6-SD SR M12X65 DIN912
SDK D050-48-04-27-10-HP (1) EeXOmetXes! 27.00 24 80.00 49.00 057 SRM35X0.6-L8.51P10  BLDIP10/S7  SW6B-SD SR M12X65 DIN912
SDK D063-56-04-27-10-C 63.00 56.00 27.00 28 80.00 60.00 090 SRM35X0.6-L85I1P10  BLDIP10/S7  SW6-SD SR M12X65 DIN912
SDK D080-64-05-32-10-C 80.00 64.00 32.00 40 85.00 78.00 1.61 SRM35X0.6-L85IP10  BLDIP10/S7  SW6-SD SR M16X65 DIN912
() Designed with coolant nozzles for high pressure coolant

(2 Number of flutes

@) Number of inserts

) For adaptation see page 548

For inserts, see pages: SDHT/W 100408 (498)

[ I OO O R}
> > > >

Member IMC Group
o=
L 4 11 ]




@p)
s
LLI
=
D)
@)
LLI
|_
D)
—
LL
A
LLJ
A
Z
LL]
<
LL]

Xauap

EXTENDED FLUTE

SDK-12-C/HP
Extended Flute Shell Mills
Carrying SDHT 1205... Inserts

NMS DHUB

(@)

DC APMX NOF@ DCONMS CICT® OAL DHUB Arbor kE
SDK D63-55-05-27-12-C 63.00 55.00 5 27.00 25 80.00 60.00 A 0.94
SDK D63-55-05-27-12-HP (1) 63.00 55.00 5 27.00 25 80.00 60.00 A 0.94
SDK D63-66-04-27-12-C 63.00 66.00 4 27.00 24 93.00 60.00 A 1.07
SDK D63-98-04-27-12-C 63.00 98.00 4 27.00 36 125.00 60.00 A 1.38
SDK D80-66-05-32-12-C 80.00 66.00 5 32.00 30 95.00 77.60 A 2.06
SDK D80-109-05-32-12-C 80.00 109.00 5 32.00 50 143.00 77.60 A 3.06
SDK D100-76-06-40-12-C 100.00 76.00 6 40.00 42 110.00 92.00 A 397
SDK D100-130-06-40-12-C 100.00 130.00 6 40.00 72 165.00 92.00 A 5.87

() With coolant nozzles for high pressure coolant

2 Number of flutes

3 Number of inserts

4 For adaptation see page 548

For inserts, see pages: QDCT-PDN (497) ¢ QDMT 1205..PDTN-M (498) ¢ SDHT/X 120508 (498)

Spare Parts

S / 7 /
SDK D63-55-05-27-12-C SR M4X0.7-19.5 IP15-4623 BLD IP15/M7 SWe6-T SR M12X65 DIN912
SDK D63-55-05-27-12-HP SR M4X0.7-19.5 IP15-4623 BLD IP15/M7 SWe-T SR M12X65 DIN912
SDK D63-66-04-27-12-C SR M4X0.7-L9.5 IP15-4623 BLD IP15/M7 SWe6-T SR M12X80DIN912
SDK D63-98-04-27-12-C SR M4X0.7-L9.5 IP15-4623 BLD IP15/M7 SW6-T SR M12X110DIN912
SDK D80-66-05-32-12-C SR M4X0.7-L9.5 IP15-4623 BLD IP15/M7 SWe6-T SR M16X70DIN912
SDK D80-109-05-32-12-C SR M4X0.7-19.5 IP15-4623 BLD IP15/M7 SWe6-T SR M16X120 DIN912
SDK D100-76-06-40-12-C SR M4X0.7-L9.5 IP15-4623 BLD IP15/M7 SW6-T SR M20X85 DIN912
SDK D100-130-06-40-12-C SR M4X0.7-L9.5 IP15-4623 BLD IP15/M7 SW6-T SR M20X140 DIN912

HEL fiviii
SM

Extended Flute Shell
Mills Carrying HM90
ADKT 1505... Inserts

T

4
DCONMS  DHUB

— |

=

@

[

DC APMX NOF( cicT® OAL DHUB DCONMS Arbor® RMPX°#)
7-M 50.00 25.00 3 6 56.00 27.00 A 0.9 043
SM D63-38-27-M 63.00 38.00 4 12 60.00 27.00 A 0.7 067

() Number of flutes

2 Number of inserts

@) For adaptation options, see page 548
@ Maximum ramping angle

For inserts, see pages: ADCR 1505PDFR (456) » ADCT 1505PDFR-HM (457) ® ADKR 1505PDR/L-HM (456) » ADKT 1505..R/L-HM (459)
e ADKT 1505PDR/L-HM (458) ® ADKT 1505PDTR-76 (459) ® ADKT 1505PDTR/L-RM (458) ¢ ADMT 1505PDR-HS (458) ¢ HM90 ADCT 1505 (455)
¢ HM90 ADCT 1505PDR-CF (455) ® HM90 ADKT 1505 (454) ¢ HM90 ADKW 1505PDR (462)

Spare Parts

&

/

g

7

SM D50-25-27-
SM D63-38-27-M

SR 14-544/S
SR 14-544/8

BLD T15/M7
BLD T15/M7

SW6-T
SW6-T

SR M12X50DIN912

ISCAR




PLUNGING CUTTERS

o
s
=
-
O
©)
=
©)
Z
D
—
o

—
(Y[l 251
wwufla



1AanaPLUNGE

PLUNGING LINE

HTP-LNO6 @ % ’ilﬁ
Side Plungers Carrying | | & | =

Tangentially Clamped Inserts I-* ._,,-'"—. ”””” T POONMS

with 4 Cutting Edges g | e i

0
oo a e oom  w o ocows swe B &/

HTP D016-2-L120-C16-LNO6 R[] 4.5 2.50 2 320 120.00 16.00 C 0.17 SR 14-560-HG T-8/53
HTP D020-3-L150-C20-LNO6 [pioe] 5.0 2.50 3 40.0 150.00 20.00 C 0.33 SR 14-560-HG T-8/53
HTP D025-3-L150-C25-LNO6 X} 5.0 2.50 3 50.0 150.00 25.00 C 0.51 SR 14-560-HG T-8/53
HTP D025-4-L130-C25-LN06 iyl 5.0 2.50 4 50.0 130.00 25.00 C 0.44 SR 14-560-HG T-8/53

* 5 mm side plunging capacity and 2.5 mm maximum face milling DOC e For user guide, see pages 255-257
() Number of inserts

(@ C-Cylindrical

For inserts, see pages: HTP LN.. 0604 (536))

%)
0
-
-
O
O
=
©)
Z
D
—
ol

Side Step as a Function of the Width of the Plunge f
}
N e
N\
1 Cutter Diameter (mm)
16 | 20 | 25
f dth of plunge L1 max - Step (effective diameter]

7.75 8.72 9.80

10.58 12.00 13.56

12.49 1428 16.25

13.86 16.00 1833 = |

14.83 17.32 20.00 ]
The relationship between the maximal step L1 max and the width of plunge AE is given by the following formula: % 1
L1 max = 2x yDC x AE-AE?
DC: cutter diameter =
A AEsa
YANGPLUNGE APV ppys
FLEXFiT £ } @ % r
HTP-M-LNO06 ‘*"‘f.., i bo THezMS DOONMS
Side Plungers with FLEXFIT L '—ﬁ '
Threaded Connection Carrying . AAE
Tangentially Clamped Inserts B a—— s
with 4 Cutting Edges

DC AE APMX NOF LF  OAL DCONMS THSZMS DRVS® TQ 39 = & /’

HTP D16/.62-2-M08-LN06 16.95 45 2.50 2 30.00 47.50 13.00 M08 10.0 20 0.03 SR 14-560-HG  T-8/53
HTP D20-3-M10-LN06 20.00 5.0 2.50 3 30.00 50.00 18.00 M10 15.0 29 0.06  SR14-560-HG ~ T-8/53
HTP D25/1.00-3-M12-LN06 2620 50 2.50 3 35.00 57.00 21.00 M12 17.0 33 0.10 SR 14-560-HG  T-8/53

* 5 mm side plunging capacity and 2.5 mm maximum face milling DOC e When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and
threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the
TQ_3 parameter

e For user guide, see pages 255-257

) Number of flutes

@ Clamping wrench size

©) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: HTP LN.. 0604 (536)

For holders, see pages: BT-ODP (FLEXFIT) (314) » C#-ODP (FLEXFIT) (314) « CAB M-M (FLEXFIT) (312) ® DIN69871-ODP (315) ® ER-ODP (315)

o HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) ® S M-CF (313)

ISCAR




TANGPLUNGE = )
PLUNGING LINE APMX
HTP-LN10 *%1 ¥ S % ’r s
Side Plu.ngers Carrying e 1 BEORE LU
Tangentially Clamped Inserts h D:Et-u;gi |
with 4 Cutting Edges H L I:
OAL-
D)
@)
O
DC AE APMX cicT® LH OAL DCONMS  Shank®@ ) & / f @
HTP D025-2-L200-C25-LN10 [l 7.0 3.00 2 120.0 200.00 25.00 C 0.64 SR 34-550 BLDT10/S7  SW6-SD
HTP D032-3-L190-C25-LN10 [y 8.0 3.00 3 50.0 190.00 25.00 C 0.68 SR 34-550 BLD T10/S7  SW6-SD Z
HTP D032-3-L210-C32-LN10 [} 8.0 3.00 3 120.0 210.00 32.00 C 1.09 SR 34-550 BLD T10/S7 ~ SW6-SD s
HTP D032-3-L210-W32-LN10 [z 8.0 3.00 3 120.0 210.00 32.00 w 1.09 SR 34-550 BLDT10/S7  SW6-SD @
HTP D040-4-L250-C32-LN10 [y 8.0 3.00 4 50.0 250.00 32.00 C 1.49 SR 34-550 BLD T10/S7  SW6-SD Z
* 8 mm side plunging capacity and 3 mm maximum face milling DOC e For user guide, see pages 255-257 D
() Number of inserts
(2 C-Cylindrical, W-Weldon —I
For inserts, see pages: HTP LN.. 1006 (537) D_
TAnGPLUNGE
PLUNGING LINE o <APMX /M @ % Q
FLEXFiT :

Threaded Connection Carrying i
Tangentially Clamped Inserts : ~LF—=

with 4 Cutting Edges oA

O
DC AE APMX CICTW LF  OAL DCONMS THSZMS DRVS® TQ 3o AS1 & / Va

2500 70 300 2 3500 5700  21.00 M2 17.0 33 009 SR34-550 BLDTI0/S7 SW6-SD
HTP D032-3-M16-LN10 32.00 8.0 3.00 3 35.00  60.00 29.00 M16 25.0 40 0.16 SR 34-550 BLDT10/S7  SW6-SD
HTP D035-3-M16-LN10 35.00 8.0 3.00 3 4300  68.00 29.00 M16 25.0 40 022 SR34-550 BLDT10/S7  SW6-SD
HTP D042-4-M16-LN10 42.00 8.0 3.00 4 4300  68.00 29.00 M16 25.0 40 026 SR34-550 BLDT10/S7  SW6-SD

* 8 mm side plunging capacity and 3 mm maximum face miling DOC e When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and

threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the

TQ_3 parameter

* For user guide, see pages 255-257

() Number of inserts

) Clamping wrench size

@) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: HTP LN.. 1006 (537)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)

* HSK A-ODP (FLEXFIT) (316) ® SM (312) « S M-C-H (312) ¢ S M-CF (313)

L = f
HTP-M-LN10 'c o o DC THSAZMS DCONMS f
Side Plungers with FLEXFIT E.—- l Lﬁ i | I

Member IMC Group
o=
L 4 11 ]




TAanaGPLUNGE DHUB—»

HTP-R-LN10 o 859 ®

Shell Mill Plungers Carrying

Tangentially Clamped Inserts AV OAL
with 4 Cutting Edges I J
ﬂ AE
47DC—>’¢
O S

DC  APMX AE  CICT" OAL DHUB DCONMS Arbord ! & / Va f

HTP D040-4-16-R-LN10 ol 3.00 8.0 4 40.00 38.00 16.00 A 020 SR34-550  BLD T10/S7 SW6-SD SR MBX30DIN912

HTP D050-5-22-R-LN10 [sefel] 3.00 8.0 5 40.00 48.00 22.00 A 0.31  SR34-550  BLD T10/S7 SW6-SD SR M10X25C

HTP D052-5-22-R-LN10 [E7X00 3.00 8.0 5 4000  48.00 22.00 A 0.34 SR34-550 BLDT10/87  SWB-SD SR M10X25C

* 8 mm side plunging capacity and 3 mm maximum face milling DOC e For user guide, see pages 255-257
() Number of inserts

@) For adaptation see page 548

For inserts, see pages: HTP LN.. 1006 (537)

%)
0
-
-
O
O
=
©)
Z
D
—
ol

Slot/Bore Face Milling Spot Facing L *

r'_-:?‘

A RAES

YANGPLUNGE

HTP-R-LN16 @ % Q

Shell Mill Plungers Carrying A aE

Tangentially Clamped Inserts gy 'KE

with 4 Cutting Edges '

APMX
1

DC AE APMX CICT® OAL DHUB DCONMS  Arbor® & & / ﬂ @
HTP D050-04-22-R-LN16 5000 130 3.0 4 50.00  48.00 22.00 A 0.37 SR34-535 BLDT15/S7 SW6-T-SH SRPS 118-0271C
HTP D052-04-22-R-LN16 5200 130  3.00 4 5000  48.00 22.00 A 0.39 SR34-535 BLDT15/S7 SW6-T-SH SRPS 118-0271C
HTP D063-05-27-R-LN16 63.00 140 3.0 5 50.00  59.00 27.00 A 053 SR34-535 BLDT15/57 SWB-T-SH SR M12X30C
HTP D066-05-27-R-LN16 66.00 140  3.00 5 50.00  62.00 27.00 A 060 SR34-535 BLDT15/S7 SW6B-T-SH SR M12X30C
HTP D080-06-27-R-LN16 80.00 140  3.00 6 50.00  65.00 27.00 A 081 SR34-535 BLDT15/S7 SW6-T-SH SR M12X30C
HTP D080-06-31.75-R-LN16 [0 X0/ R. X0 R X0l0) 6 63.00  76.00 31.75 A 120 SR34-535 BLDT15/S7 SW6T-SH SR M16X40C
HTP D080-06-32-R-LN16 80.00 140  3.00 6 50.00  72.00 32.00 A 090 SR34-535 BLDT15/S7 SW6B-T-SH SR M16X40C
HTP D100-07-31.75-R-LN16 [{o0o/on X0 R o] 7 63.00  96.00 31.75 B 223 SR34-535 BLDT15/S7 SW6-T-SH SR M16X40C
HTP D100-07-32-R-LN16 10000 140  3.00 7 50.00  78.00 32.00 B 128 SR34-535 BLDT15/S7  SW6-T-SH

e 14 mm side plunging capacity and 3 mm maximum face milling DOC e For user guide, see pages 255-257
() Number of inserts

(@) For adaptation see page 548

For inserts, see pages: HTP LN.. 1606 (537)

Slot / Bore Face Milling Shoulder Spot Face Rear Cutting Edge
Reverse .,
Unique ISCAR A .'L-.
Feature q

A

DN 0’3 mmvtooth

ISCAR




TANGPLUNGE
Recommended Cutting Conditions for Side Plunging
Plunging Cycle:
Step 1 Step 2 Step 3
Plunge in (axially-Z direction) Back stroke (rapid) at an angle b>2° Move to the next cycle

----- Control movement
—— Rapid movement
B - Exit angle from the material

%)
0
=
-
O
©)
=
©)
Z
D
—
ol

TANGPLUNGE - SIDE PLUNGING

Workpiece Material
ISO .
class E Typical Representative @ Carbide
DIN/ o % 2 Insert | grade | Cutting
ISO g 3| AISI/SAE/ DIN g . HTP LN... for |speedV.| FeedF,,
513 |Description Q5 ASTM W-Nr. | T T type inserts | m/min mm/t Coolant
Non-alloy steel and cast 4 1060 | 1.1221 |180-200 80-130 | 0.12-0.15
steel, free cutting steel
Low alloy and cast steel (less
than 5% of alloying elements) ¢ 420 G2 ASU 0 IE%C;%/ 80-120 | 0.1-0.15 Air blow
Low alloy and cast steel (less HRC
than 5% of alloying elements) 9 818 1971 a5 4o | -ER 80-120 1 0.08-015
High alloy steel 10 H13 1.2344 [200-220 80-100 | 0.08-0.12
IC830/
Martensitic s.s. 12 420 1.4021 200 IC330/ | 80-100 |0.08-0.12 [ Air blow/wet
IC328
IC830/
M |Austenitic s.s. 14 304L 1.4306 200 ..ER IC330/ | 60-80 | 0.08-0.1 | Wet (emulsion)
IC328
Grey cast iron 16 Class 40 U0 250 150-200 | 0.12-0.2
(GG25) IC810/ )
. Class | 0.7050 R 1 icato Alr blow
Nodular cast iron 17 65-45-12 | (GGG50) 200 100-180 | 0.1-0.17
Ni-based HTSA 34 | Inconel 718 | 2.4668 350 C308/ 20-25 | 0.07-0.1
Tialloys 37 (2;'2/3';‘%) 37164 | -ER 1 icas0 | as40 | 0070 | et (Emuison)
Hardened steel 38 4340 1.6582 Rl 49 ..ETR Iojel 70-100 | 0.08-0.1 Air blow
max IC908
The table data refers to a cutter overhang of up to 4D (D-the diameter of a cutter)
* ISCAR material group in accordance with VDI 3323 standard
** Quenched and tempered
Table 1: Ly as a Function of the Width of Cut and Cutter Diameter
Qe - Cutter Diameter (mm)
Width of 50 | 52 | 63 | 66 | 80 [ 100
Limax = 2x Dxae-ae2 Limax - Step (effective diameter)
14.0 14.3 15.75 16.1 17.8 19.9
23.8 24.3 26.8 27.5 30.4 34.1
30.0 30.6 34.0 34.9 38.7 43.6
32.5 33.2 37.0 37.9 42.1 47.5
34.7 BB 39.6 40.6 452 51.0
o 36.6 37.5 419 43.0 48.0 54.3
ae | VNV VTV 38.5 39.3 43.10 45.3 50.5 57.2
[ ‘ ‘ 40.0 41.0 46.0 47.3 52.9 60.0
] - 41.4 425 47.8 49.2 55.1 62.6
L1 42.7 438 495 50.9 57.1 65.0
L1- Side step over 43.8 45.0 51.0 52.5 59.0 67.3
ae- Width of plunge - - 52.4 53.9 60.8 69.4

Member IMC Group




1AnaPLUNGE

PLUNGING LINE

Recommended Cutting Conditions for Slot Plunging

%)
0’
=
-
O
©)
=
©)
Z
»
—
o

L- Width of Cut

TANGPLUNGE - SLOT PLUNGING

Workpiece Material

ISO
class Typical Representative
DIN/ ISCAR Insert | Carbide | Cutting
ISO mat. | AISI/SAE/ Hardness | HTP LN... | grade for| speed V¢, | Feed F,
513 |Description group* | ASTM DIN W.-Nr. HB type inserts m/min mm/t Coolant
Non-alloy steel and cast 4 1060 1.1221 180-200 80-120 | 0.1-0.15
steel, free cutting steel
Low alloy and cast
steel (less than 5% of 8 4340 1.6582 260-300 10830/ 80-120 0.1-0.12
alloying elements) 10928 Air blow
Low alloy and cast HRC ER
steel (less than 5% of 9 3135 1.571 35-40** 80-120 | 0.08-0.12
alloying elements)
High alloy steel 10 H13 1.2344 200-220 80-100 | 0.08-0.1
JoEety Air blow/
Martensitic s.s. 12 420 1.4021 200 IC330/ 80-100 | 0.08-0.1
wet
IC328
1C830/ Wet
Austenitic s.s. 14 304L 1.4306 200 ..ER IC330/ 60-80 0.08-0.1 .
(emulsion)
IC328
Grey cast iron 16 Class 40 | 0.6025 (GG25) 250 150-200 | 0.12-0.18
Class 0.7050 ER eS107 Air blow
Nodular cast iron 17 65-45-12 (GGG50) 200 IC910 100-180 | 0.1-0.15
) Inconel
Ni-based HTSA 34 718 2.4668 350 - 1328/ 20-25 | 0.07-0.09 Wet
Ti alloys a7 | TWOARV 32464 | HRC 34-36 G330 | 3540 | 0.07-009 | EMUSION
(Grade 5)
Hardened steel 38 4340 1.6582 FRGAR ..ETR ey 70-100 | 0.08-0.09 | Air blow
max IC908

The table data refers to a cutter overhang of up to 4D (D-the diameter of a cutter)
* ISCAR material group in accordance with VDI 3323 standard
** Quenched and tempered

ISCAR




1AanaPLUNGE

PLUNGING LINE

Recommended Cutting Conditions for Face Milling

%)
0
=
-
O
©)
=
©)
Z
D
—
ol

TANGPLUNGE - FACE MILLING

Workpiece Material
ISO
class Typical Representative
DIN/ ISCAR Carbide | Cutting
I1ISO mat. | AISI/SAE/ Hardness | Insert HTP| grade for| speed V., | Feed F,
513 | Description group* | ASTM DIN W.-Nr. HB LN... type | inserts m/min mm/t Coolant
Non-alloy steel and cast 4 | 1060 11221 | 180-200 80-120 | 0.1-0.2
steel, free cutting steel
Low alloy and cast
steel (less than 5% of 8 4340 1.6582 260-300 80-120 |0.1-0.18
alloying elements) |C830/ Air blow
Low alloy and cast HRG 1C928
steel (less than 5% of 9 3135 1.571 35-40% ..ER 80-120 [0.1-0.15
alloying elements)
High alloy steel 10 H13 1.2344 200-220 80-100 %385
1C830/ .
Martensitic s.s. 12 420 1.4021 200 Ic330/ | so-f00 | 008 | Arblow/
0.15 wet
IC328
|C830/ Wet
M | Austenitic s.s. 14 304L 1.4306 200 ..ER IC330/ 60-80 |0.08-0.1 .
(emulsion)
IC328
Grey cast iron 16 Class 40 |0.6025 (GG25) 250 150-200 [0.12-0.2
Class 0.7050 ER G107 Air blow
Nodular cast iron 17 65-45-12 (GGG50) 200 IC910 100-180 [0.1-0.18
: Inconel 0.08-
Ni-based HTSA 34 718 2.4668 350 o 10328/ 20-25 012 Wet
) Ti6AI4V IC330 0.08- | (emulsion)
Ti alloys 37 (Grade 5) 3.7164 HRC 34-36 35-40 012
Hardened steel 38 4340 1.6582 FRO6S ..ETR 10E0ey 70-100 |0.08-0.1| Air blow
max 1C908

The table data refers to a cutter overhang of up to 4xD and the maximal width of cut Ae=0.7xD (D-the diameter of a cutter)
The maximal depth of cut Ap is 2.5 mm for hardened steel and 3 mm for other material groups

* ISCAR material group in accordance with VDI 3323 standard

** Quenched and tempered

Member IMC Group




PROFILING TOOLS

@p)
]
3
|_
©)
<
_
L
O
A
Al

Zssl8 ISCAR



SELECTION GUIDE

@p)]

—

3

|_

©)

Z

TABLE OF CONTENTS =

L

O

. oC

Ball NOSE ENAMIIIS ..cevviiieee e 262 2l
TORMILL - Toroidal Endmills and Face MillS........o.veeeeieiee e 269
TORBMILL - MURIFUNCHION CUEIS ... 272
RoUNd COorNEred CUIEIS ..ovie e 277
MILLSHRED ..o e 279
HELIDO ROUND HAO0 LNB... et 282
FLEXFIT Adaptation SyStemS.......cooviiiiiiiii e, 312

Ball Nose Selection Guide

22

DCX
Tools 047 8 9 10 16 20 25 30 32 40 50 Inserts
EB...
Solid Carbide 17603 (] (] . . . . . .
Multi-Master
HCM D.. 262
HCM-M 264 . . ° . °
HCM-MM 265
...-QT
BCM 267 ° ° ° ° ° . ° ° TS
...-QT
BLP 265
° ° ° ° ° ° ° ...-MFW
BLP -M 266 " acs

Member IMC Group
=™
L 4 11 ]




N
—
S
I_
©)
<
=
LL
O
T
Al

ISCAR#miii.L

SELECTION GUIDE

Face Mills 90° Selection Guide

Pages

269

271

272

275

277

FRMT 278

H400 ER-10 ggg

H400 FR-10| -
ER-10

H400 ER-12| 282

H400 FR-12| 284

ERW-12 279

FRW-12 281

H606 ER-M | 285

H606 FR-12| 286

H400 FR-16| 285

FRW-16 281

&) ER-16 277

281

ISCAR

v
DCX 10 12 15 16 20 25 32 35 40 42 50 52 63 66 80 100 125 160
Toroidal Inserts
e
o o |0 . . . o | e (.} CNHT
ENHT
TR6 TNCU
5-7 oo o o |0 0|0 0|0 0 0|0 Igﬁg%m-;
D
TR45 TXMT
58  EKRENERENE K N N NN NN
10-12 L] oo RPHX/RPMX
12 ° ° ° RNGN
H400 RNHU 10...
10 oo 0|0 |0 o Eig\g:g
RXMT 10...
RCMT 12...
RCCW 12...
12 oo ° oo o o o0 RCCT 12...
ROOMT 12...
H400 RNHU 12...
12 . ] L) (] j H606 RXCU 1206
2\ H400 RNHU 16...
16 ° o|o |0 |0 |00 | e | RCMW 16...
7 RCCW 16...
- RCCW 20...
20 O B IR g RCMW 20..




MULTI-MASTER and FLEXFIT Connection Options

| MILLING HEADS | |  ADAPTERS | | SHANKS |

FLEXFIT (M)

L
|
Il

,| i
R\ i
I

el
RN

%)
—
.
I_
©)
<
=
LL
O
T
Al

\\\\\l\
]

7

/i

\\\\\W
il

i

PR

i

MULTI-MASTER (MM)

i @dm
|

2 o
Q-

Features
Modular system reduces stock cost by using the same head with different shank options, enables machining
with larger overhang, and the same head can be mounted on metric and inch combinations.

Member IMC Group




BALLFLGS OAL

| H—|
HCM D10 @ v |5 ' !'ﬂ
Ball Nose Multifunction @ DCX
y

e DCONMS
Endmills D=10 mm —

@ i
® » &1

O
DCX" RE  LH? OAL® DCONMS Shank® BHTA BD Type A5 & / 4

Eel

HCM D10-A-L090-C10 10.00 5.00 25.0 90.00 10.00 C ° 9.20 005  SR10504694  BLDT15/S7  SW6-T-SH
HCM D10-B-L125-C16 10.00 5.00 40.0 125.00  16.00 C 6.0 =

016~ SR10504694  BLDT15/S7  SW6-T-SH
HCM D10-D-L150-C12 10.00 5.00 50.0 150.00  12.00 C 1.8

O W >

012  SR10504694  BLDT15/S7  SW6-T-SH
* The dimensions are for HBR inserts e For user guide, see pages 542-547
() Cutting diameter maximum
(2 Refers to HBR inserts
() Refers to HBR inserts
(4) C-Cylindrical
For inserts, see pages: HBR-QF (533) ¢ HCR (533)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

BALLFLGS L OAL

HCM D12 { P ' Qﬂ @ @

Ball Nose Multifunction @ DCX B — DCONMS

Endmills D=12 mm — ; (N

RE
( I
O @ | |
BHTA
(@]

DCX™ RE LH®@ OAL® DCONMS Shank®  BHTA BD Type @ / ﬂ
HCM D12-A-L120-C12 12.00 6.00 30.0 120.00 12.00 C = 10.60 A 010 SR34-540  BLDT15/S7 SW6-T
HCM D12-B-L160-C20 12.00 6.00 50.0 160.00 20.00 C 5.0 B 032 SR34-540  BLDT15/S7 SW6-T
HCM D12-D-L160-C16 12.00 6.00 60.0 160.00 16.00 C 1.0 = D 021 SR34-540  BLDT15/S7 SW6-T

* The dimensions are for HBR inserts e For user guide, see pages 542-547

(1) Cutting diameter maximum

(2 Refers to HBR inserts

(@) Refers to HBR inserts

(4) C-Cylindrical

For inserts, see pages: HBF-QF (533) ¢ HBR-QF (533) « HCC-QF (534)  HCD-QF (534) ® HCR (533)

BALLFLUS OAL—

g 9™

HCM D16 @ q o0 ; Qﬂ

Ball Npse I\_/Iultlfunctlon @ DCX €=H=} DCONMS

Endmills D=16 mm [ '

fe
|
& @ |
BHTA
(@]

o0 1h o pcoms st mm o we B &/ O
HCM D16-A-L130-C16 16.00 36.0 130.00 16.00 o] - 14.40 A 0.18 SR 10503579 BLDT20/S7  SW6-T
HCM D16-B-L160-C25 16.00 60.0 160.00 25.00 C 5.0 - B 0.49 SR 10503579 BLDT20/S7  SWB-T
HCM D16-D-L160-C20 16.00 65.0 160.00 20.00 C 1.0 D 0.32 SR 10503579  BLD T20/S7 SW6-T

e The dimensions are for HBR inserts e For user guide, see pages 542-547

() Cutting diameter maximum

(2 Refers to HBR inserts

@) Refers to HBR inserts

(4) C-Cylindrical

For inserts, see pages: HBF-QF (533) ¢ HBR-QF (533) ® HCC-QF (534) ¢ HCD-QF (534) ® HCR (533)

ISCAR




BALLFLGS
HCM D20
Ball Nose Multifunction @

Endmills D=20 mm
Q
DCXM LH®@ OAL®  DCONMS Shank  BHTA BD Type kg ﬁ / ﬂ

HCM D20-A-L150-C20 20.00 60.0 150.00 20.00 C ° 18.00 A 032  SR1052964 BLDT25/S7 ~ SW6-T
HCM D20-D-L200-C25 20.00 90.0 200.00 25.00 C 1.0 > D 0.61  SR1052964 BLDT25/S7 ~ SW6-T

* The dimensions are for HBR inserts e For user guide, see pages 542-547

) Cutting diameter maximum

(2 Refers to HBR inserts

() Refers to HBR inserts

(@) C-Cylindrical

For inserts, see pages: HBF-QF (533) « HBR-QF (533) ® HCC-QF (534) ® HCD-QF (534) * HCR (533)

& 9™
%

BALLFPLGS LOAL
HCM D25 @ = . Qﬂ |
Ball Nose Multifunction @ DCX . —  _lpconwms
Endmills D=25 mm 1 @
Y e
|
® o e
BHTA
)
DCX®  LH®  OAL® DCONMS Shank® BHTA  BD  Type & /S @
HCM D25-A-L170-C25 25.00 70.0 170.00 25.00 C - 22,00 A 0.55 SR 1051666 BLD T25/S7 SWB-T
HCM D25-D-L250-C32 25.00 125.0 250.00 32.00 C 1.8 - D 1.20 SR 1051666 BLD T25/S7 SWe-T

e The dimensions are for HBR inserts e For user guide, see pages 542-547

() Cutting diameter maximum

@) Refers to HBR inserts

@) Refers to HBR inserts

(@) G-Cylindrical

For inserts, see pages: HBF-QF (533)  HBR-QF (533) ¢ HCC-QF (534) ¢ HCD-QF (534) ¢ HCR (533)

Member IMC Group
o=
L 4 11 ]

N
—
.
|_
©)
<
=
LL
Q
0
ol




BALLFLUSFLEXFIT ,

(& ®
HCM-M \((g,!}v GEE [l @ @
ffuncti AN =2
Ball Nose Multifunction S
Endmills with FLEXFIT —— T riszvs @
1

Threaded Adaptation @

oo i ows  ocows  omsr  mews  mw M

HCM D12/.50-M08 12.00 26.00 43.50 14.40 11.0 M08 20 0.03
HCM D16/.62-M08 16.00 30.00 47.50 14.40 11.0 M08 20 0.03
HCM D16/.62-M10 16.00 35.00 55.00 18.00 15.0 M10 29 0.05
HCM D20/.75-M10 20.00 37.00 57.00 18.00 156.0 M10 29 0.06
HCM D20/.75-M12 20.00 37.00 59.00 22.50 17.0 M12 33 0.07
HCM D25/1.0-M12 25.00 46.00 68.00 21.00 19.0 M12 33 0.1
HCM D25/1.0-M16 25.00 46.00 71.00 29.00 25.0 M16 40 0.16

%)
—
.
|_
©)
<
=
LL
Q
0
ol

* The dimensions are for HBR inserts e For user guide, see pages 542-547¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces
and threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the
TQ_3 parameter

(1) Cutting diameter maximum

(2) Refers to HBR inserts

@) Refers to HBR inserts

(4) Clamping wrench size

(8) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: HBF-QF (533) * HBR-QF (533) ¢ HCC-QF (534) ¢ HCD-QF (534) ¢ HCR (533)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)

e HSK A-ODP (FLEXFIT) (316) ® SM (312) ¢ S M-C-H (312) « S M-CF (313)

Parts for Assembly
Adapter Shank Assembly Dimensions
o =1 —
DCX LH OAL BHTA DCONMS Shank Inserts
S M08-L73-C16 12 51 9 4 16 C
HCM D12/.50-M8 = S M08-L128-C16 12 106 154 4 16 C
S M08-L170-C20 12 93 196 4 20 C
S M10-L80-C20 12 96 146 4 20 C
HCM D12/.50-M8 CAB M08M10 S M10-L130-C20 12 146 196 4 20 C
S M10-L200-C25 12 123 266 4 25 C
S M8-L73-C16 16 55 103 — 16 C
HCM D16/.62-M8 = S M8-L128-C16 16 110 158 — 16 C
S M8-L170-C20 16 97 200 0.96 20 C
S M10-L80-C20 16 100 150 1.24 20 C
HCM D16/.62-M8 CAB M08M10 S M10-L130-C20 16 150 200 0.8 20 C
S M10-L200-C25 16 127 270 2.16 25 C
S M10-L80-C20 16 60 110 2.5 20 C HBR HBF
HCM D16/.62-M10 S M10-L130-C20 16 110 160 2.5 20 C HCR
S M10-L200-C25 16 87 230 3.26 25 C HCD
S M12-L86-C25 16 105 161 2,65 2 c Hee
HCM P16/.62-M10 CABM10M12 S M12-C32-L.200 16 153 275 3.167 32 C
S M10-L80-C20 20 67 117 - 20 C
HCM D20/.75-M10 — S M10-L130-C20 20 117 167 - 20 C
S M10-L200-C25 20 9 237 1.7 25 C
S M12-L86-C25 20 112 168 14 25 C
HCM D20/.75-M10 CABM10M12 S M12-1.200-C32 20 160 282 2.3 32 C
S M12-186-C25 20 67 123 3.0 25 C
L et Rl o S M12-1200-C32 20 1156 237 33 32 C
S M16-L95 C32 25 131 191 1.8 32 C
HCM D25/1.0-M12 CAB MI216 S M16-1230 C32 25 146 326 15 32 C
S M16-195 C32 25 81 141 &l 32 C
e B S M16-1230 C32 25 96 276 35 32 C

ISCAR




BALLFLUS

MULTI-MASTER e N — ®9Yy
HCM-MM ‘ ) THSAZMS DCONMS @
Ball Nose Multifunction = {

Endmills with MULTI-MASTER
Threaded Adaptation

O
DCX"  OAL®  LF9 DCONMS THSZMS DRVSY T  Tq39 Ad) & Va4

HCM D12/.50-MMTO08 12.00 28.00 20.00 11.50 T08 10.0 15.0 20 0.01 SR34-540  BLDT15/S7  SW6-T
HCM D16/.62-MMT10 16.00 36.75 25.00 15.20 T10 13.0 28.0 33 0.03 SR 10503579 BLDT20/S7  SW6-T
HCM D20/.75-MMT12 20.00 48.80 35.00 18.50 T12 15.0 28.0 20 0.06 SR 1052964 BLDT25/S7  SW6-T
HCM D25/1.0-MMT15 25.00 63.00 46.00 24.00 T15 20.0 40.0 33 0.13 SR 1051666 BLDT25/S7 ~ SW6-T

¢ The dimensions are for HBR inserts e Do not apply lubricant to the MULTI-MASTER threaded connection e For adaptation options, see page 261

e For user guide, see pages 542-547

() Cutting diameter maximum

@) Refers to HBR inserts

@) Refers to HBR inserts

(@) Width across flats (wrench should be ordered separately)

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: HBF-QF (533) ¢ HBR-QF (533) ® HCC-QF (534) ® HCD-QF (534) * HCR (533)

For holders, see pages: MM CAB (667) ® MM GRT (shanks) (86) ® MM S-A (stepped shanks) (84) ¢ MM S-A (straight shanks) (87)

o MM S-A-C# (86) ® MM S-A-HSK (609) ® MM S-A-N (85) ® MM S-A-SK (90) * MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88)

¢ MM S-ER (89) ® MM S-ER-H (89) * MM TS-A (86)

N
—
.
|_
©)
<
=
LL
Q
0
ol

DROPimiii.i. —

3 FLUTE BALL NOSE OAL %

BLP Endmills AP H Qﬂ ® @

Three Flute 240° Ball = T — —

Nose Endmills Carrying ') @ . F

Double-Sided Inserts DCX 240° DCONMS

RE

DCX™ RE APMX NOF®@ OAL LH DCONMS  Shank® MIID® %
BLP D16-40-100-C16 16.00 8.00 12.00 3 100.00 40.0 16.00 C BLR D160-MFW 0.12
BLP D20-70-130-C20 20.00 10.00 15.00 3 130.00 70.0 20.00 © BLR D200-MFW 0.24
BLP D25-90-170-W25 25.00 12.50 18.75 3 170.00 90.0 25.00 w BLR D250-MFW 0.49
BLP D30-90-150-W32 30.00 15.00 22,50 3 150.00 90.0 32.00 w BLR D320-QCS 0.60
BLP D32-80-160-W32 32.00 16.00 24.00 3 160.00 80.0 32.00 W BLR D320-QCS 0.74
BLP D40-100-180-W40 40.00 20.00 30.00 3 180.00 100.0 40.00 w BLR D400-QCS 1.25
BLP D50-140-210-W40 50.00 25.00 3750 3 210.00 140.0 40,00 w BLR D400-QCS 2.00
BLP D50-320-400-W50 50.00 25,00 37.50 3 400.00 320.0 50,00 W BLR D500-QCS 4,62

e For user guide, see pages 542-547
() Cutting diameter maximum

(2) Number of flutes

() G-Cylindrical, W-Weldon

(4 Master insert identification

For inserts, see pages: BLR (535)

Spare Parts

» / / /

BLP D16-40-100-C16 SR M2.5X0.45-L6 IP7 IP-7/51

BLP D20-70-130-C20 SR M3X0.5-L7.4 IP9 IP-9/151

BLP D25-90-170-W25 SR M3.5X0.6-L8.5 IP10 BLD IP10/87 SW6-SD
BLP D30-90-150-W32 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T
BLP D32-80-160-W32 SR M4X0.7-L9.6 IP15 BLD IP15/87 SW6-T
BLP D40-100-180-W40 SR M5-14 P20 BLD IP20/S7 SW6-T
BLP D50-140-210-W40 SR M6X1-L18 IP25 BLD IP25/87 SW6-T
BLP D50-320-400-W50 SR M6X1-L18 IP25 BLD IP25/87 SW6-T

Member IMC Group
o=
L 4 11 ]




%)
—
.
|_
©)
<
=
LL
Q
0
ol

DROPriiii FLEXFiT OAL
3 FLUTE BALL NOSE %
BLP-M e =] Qﬂ ® Y
Three Flute Fully Effective -
240° Ball Nose Endmills with T \ 1 @ 5 Afi
FLEXFIT Threaded Adaptation DX THSZMS DCONMS
]
RE \M
O
DCX)  RE  NOF? APMX LF OAL  THSZMS DCONMS DRVS®  MID® Tq30 A3l
BLP D16-M08 16.00 8.00 3 12.00 23.00 40.50 M08 13.00 10.0 BLR D160-MFW 20 0.02
BLP D20-M08 20.00 10.00 3 15.00 28.00 45.50 M08 12.80 11.0 BLR D200-MFW 20 0.03
BLP D25-M12 25.00 12.50 3 18.75 35.00 57.00 M12 21.00 17.0 BLR D250-MFW &) 0.07
BLP D30-M12 30.00 15.00 3 22.50 40.00 62.00 M12 21.00 17.0 BLR D300-QCS 33 0.10
BLP D32-M12 32.00 16.00 3 24.00 40.00 62.00 M12 23.00 19.0 BLR D320-MFW 33 0.11
BLP D32-M16 32.00 16.00 3 24.00 40.00 65.00 M16 29.00 24,0 BLR D320-MFW 40 0.14
BLP D40-M16 40.00 20.00 3 30.00 53.00 78.00 M16 30.00 24.0 BLR D320-QCS 40 0.25

e For user guide, see pages 542-547¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly

cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 pa
() Cutting diameter maximum

) Number of flutes

®) Clamping wrench size

@) Master insert identification

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: BLR (535)

rameter

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314) « CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)

o HSK A-ODP (FLEXFIT) (316) * S M (312)  SM-C-H (312) S M-CF (313)

Spare Parts

&  f /S 2

Designation

2R R R R DY SR M2.5X0.45-L6 IP7 IP-7/51

IR PLE (0] SRMBX0.5-L7.4 IP9 IP-9/151

BLP D25-M12 JESRVEROXERESY 4[] BLD IP10/S7  SW6-SD

IR EDE R SR M4X0.7-L11.5 P15 BLD IP15/S7 SW6-T

SRR PR PY SR M4X0.7-19.6 IP16 BLD IP16/S7 SWe-T

R EPE R SR M4X0.7-L9.6 IP15 BLD IP15/87  SW6-T

BLP D40-M16 SR M5-14 IP20 BLD IP20/87 SW6-T
3 FLUTE BA?ME’LL %
BLP Shell Mill @ ® @
Three Flute Fully Effective -
240° Ball Nose Cutters with @ y F
Shell Hole Adaptation DCOJ“MS DHUB

Designation DCX® RE NOF®@ APMX LH OAL DHUB DCONMS MIID® ]
50.00 25.00 3 37.50 50.0 83.00 47.00 22.00 BLR D500-MFW 0.61

* Use on face mill adapters with the supplied retention screw e
() Cutting diameter maximum

2 Number of flutes

() Master insert identification

For inserts, see pages: BLR (535)

Spare Parts

For user guide, see pages 542-547

&

/

4

SR M6X1-L18 IP25

BLP D50-22

BLD IP25/87

SW6-T SR M10X1X14-10700@ SR M10X20-10600%!

HW 5.0

@ Recommended tightening torque:22 Nxm
) Retaining knob for adapters

ISCAR




DROPiwiiii

=]
BCM s f @ ® @
Ball Nose Endmills with Dcé ****** B e — " DCONMS o
Tangent Straight Edge RE /] v %#
Inserts for Finish Profiling -~ AF’“LAS ERIER

OAL @

DCX? RE APMX CICT® OAL LH DCONMS & BHTA Shank® Type CSP®  MID® &

N
—
S
|_
©)
<
=
LL
Q
0
ol

BCM D12-A-C12 12.00 6.00 11.40 2 120.00  30.0 12.00 C A 0 BCRD120-QT  0.10
BCM D12-B-C16 12.00 6.00 11.40 2 160.00  60.0 16.00 20 2.0 C B 0 BCRD120-QT  0.22
BCM D16-A-C16-C 16.00 8.00 13.00 2 130.00  36.0 16.00 - = C A 1 BCRD160-QT  0.54
BCM D16-B-C20-C 16.00 8.00 13.00 2 160.00  60.0 20.00 22 2.2 C B 1 BCRD160-QT  0.30
BCM D20-A-C20-C 2000 1000  17.00 2 160.00  65.0 20.00 C A 1 BCRD200-QT ~ 0.29
BCM D20-A-C20-CC (1 2000 1000  17.00 2 160.00  65.0 20.00 = C A 1 BCRD200-QT ~ 0.31
BCM D20-B-C25-C 2000 1000  17.00 2 20000  90.0 25.00 1.5 1.5 C B 1 BCRD200-QT  0.55
BCM D20-B-C25-CC () 2000 1000  17.00 2 20000 900 25.00 1.5 1.5 C B 1 BCR D200-QT  0.60
BCM D25-A-W25-C 2600 1250  20.00 2 170.00  70.0 25.00 - = w A 1 BCRD250-QT  0.51
BCM D25-B-C32-C 2600 1250  20.00 2 22000 950 32.00 24 2.4 C B 1 BCRD250-QT ~ 1.05
BCM D30-A-W32-C 3000 1500  26.00 2 160.00  67.0 32.00 w A 1 BCRD300-QT ~ 0.73
BCM D32-A-W32-C 3200 1600  27.00 2 160.00  65.0 32.00 - = w A 1 BCRD320-CS ~ 0.76
BCM D32-B-W40-C 3200 1600  27.00 2 25000 1250 40.00 241 2.1 w B 1 BCRD320-CS  1.75
BCM D40-A-W32-C 4000 2000  36.00 2 160.00  88.0 32.00 W A 1 BCR D400-CS ~ 0.92
BCM D40-B-W40-C 4000 2000  36.00 2 25000 1250 40.00 w B 1 BCRD400-CS ~ 1.95
BCM D50-A-W50-C 5000 2500  43.00 2 21200 1320 50.00 W A 1 BCRD500-CS ~ 2.42

* For user guide, see pages 542-547

() Center Cutting

() Cutting diameter maximum

() Number of inserts

4) C-Cylindrical, W-Weldon

(8) 0 - Without coolant supply, 1 - With coolant supply
(6) Master insert identification

For inserts, see pages: BCR (535)

Spare Parts

& / a /

BCM D12-A-C12 SR 10503457 T-6/51
BCM D12-B-C16 SR 10503457 T-6/51
BCM D16-A-C16-C SR 34-505/1 MHG 2.5X7.2 T-8/53
BCM D16-B-C20-C SR 34-505/1 MHG 2.5X7.2 T-8/53
BCM D20-A-C20-C SR 34-506/L T-9/51
BCM D20-A-C20-CC SR 34-506/L T-9/51
BCM D20-B-C25-C SR 34-506/L T-9/51
BCM D20-B-C25-CC SR 34-506/L T-9/51
BCM D25-A-W25-C SR 14-601 BLD T15/87 SW6-T
BCM D25-B-C32-C SR 14-601 BLD T15/S7 SW6-T
BCM D30-A-W32-C SR 14-544 BLD T15/57 SW6-T
BCM D32-A-W32-C SR 14-544 BLD T15/87 SW6-T
BCM D32-B-W40-C SR 14-544 BLD T15/87 SW6-T
BCM D40-A-W32-C SR 14-591/L BLD T20/S7 SW6-T
BCM D40-B-W40-C SR 14-591/L BLD T20/87 SWe-T
BCM D50-A-W50-C SR 10503750 BLD T25/S7 SW6-T

Member IMC Group
o=
L 4 11 ]




DROPiwiiiiFLEXFiT

.
®
a4

S

BCM-M

Ball Nose Endmills with
FLEXFIT Threaded Adaptation
Carrying Tangent Straight Edge

— THSZMS DCONMS Ry
1 | !

Inserts for Finish Profiling

O
DCX"  RE  CICT@ APMX  LF OAL  THSZMS DCONMS DRVS® MDA Tq30 A3l

BCM D25-M12 25,00 12.50 2 20.00 46.00 68.00 M12 23.00 19.0 BCR D250-QT 33 0.12
BCM D25-M16 25.00 12.50 2 20.00 46.00 71.00 M16 29.00 25,0 BCR D250-QT 40 0.16

BCM D32-M16 32.00 16.00 2 26.00 53.00 78.00 M16 29.00 25.0 BCR D320-CS 40 0.22

e For user guide, see pages 542-547 ¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly
cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

() Cutting diameter maximum

2 Number of inserts

@) Clamping wrench size

4 Master insert identification

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: BCR (535)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ¢ ER-ODP (315)

* HSK A-ODP (FLEXFIT) (316) * SM (312) ® S M-C-H (312) » S M-CF (313)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

Spare Parts

Pl » - v

BCM D25-M12 SR 14-601 BLD T15/S7 SW6-T
BCM D25-M16 SR 14-601 BLD T15/S7 SWe-T
BCM D32-M16 SR 14-544 BLD T15/S7 SW6-T

DROP i =
MULTI-MASTER : TVS —t T Qﬂ ® Y

DCX THSZMS DCONMS ra
BCM-MM p I i

Ball Nose Endmills with MULTI- l.‘ RE 7 o | —4 '
MASTER Threaded Adaptation ‘E\%H

Carrying Tangent Straight Edge &

Inserts for Finish Profiling

(@]
DCX®  RE  APMX CICT®  LF OAL  DRVS® DCONMS THSZMS CSPS  MID® ko

BCM D12-MMT08 12.00 6.00 9.60 2 20.00 28.00 10.0 11.50 T08 0 BCR D120-QT 0.01
BCM D16-MMT10 16.00 8.00 12.70 2 25.00 36.80 13.0 16.20 T10 0 BCR D160-QT 0.03
BCM D20-MMT12 20.00 10.00 17.00 2 35.00 48.80 15.0 18.50 T12 0 BCR D200.. 0.06
BCM D20-MMT12-CC (1) 20.00 10.00 17.00 2 35.00 48.80 15.0 18.50 T12 0 BCR D200.. 0.10
BCM D25-MMT15-C 25,00 12.50 20.00 2 40.00 57.00 19.0 24.00 T15 1 BCR D250-QT 0.11

¢ Do not apply lubricant to the MULTI-MASTER threaded connection e For adaptation options, see page 261 e For user guide, see pages 542-547

() Center Cutting

(2 Cutting diameter maximum

@) Number of inserts

() Clamping wrench size

8) 0 - Without coolant supply, 1 - With coolant supply

(6) Master insert identification

For inserts, see pages: BCR (535)

For holders, see pages: MM CAB (667) ® MM S-A (stepped shanks) (84) ® MM S-A (straight shanks) (87) ® MM S-A-C# (86) ® MM S-A-HSK (609) ® MM S-A-N (85)
¢ MM S-A-SK (90) * MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88) ® MM S-ER (89) ® MM S-ER-H (89) ®« MM TS-A (86)

Spare Parts

5 / / a

BCM D12-MMT08 SR 10503457 T-6/51
BCM D16-MMT10 SR 34-505/1 MHG 2.5X7.2 T-8/53
BCM D20-MMT12 SR 34-506/L T-9/51
BCM D20-MMT12-CC SR 34-506/L T-9/51
BCM D25-MMT15-C SR 14-601 BLD T15/87 SW6-T

ISCAR




TORmiiii

E93CN-07 /s @ Qﬂ @
Toroidal Bull Nose Endmills Bt ﬁl/** DCONMS —
with CNHT...Inserts O L CANIN
BT | ‘
LH
OAL
(@]
DCt APMX CICT® LH OAL RMPX°*®  DCONMS  Shank® MIID®) )
E93CN D16-2-L100-C15-07 16.00 5.00 2 20.0 100.00 4.0 15.00 C CNHT 070315 0.13
E93CN D16-2-L110-C16-07 16.00 5.00 2 50.0 110.00 40 16.00 C CNHT 070315 0.15
E93CN D20-3-L140-C19-07 20.00 5.00 3 20.0 140.00 3.0 19.00 C CNHT 070315 0.29
E93CN D20-3-L160-C20-07 20.00 5.00 3 75.0 160.00 3.0 20.00 C CNHT 070315 0.34
E93CN D25-4-L160-C24-07 25.00 5.00 4 20.0 160.00 2.0 24.00 C CNHT 070315 0.54
E93CN D25-4-L180-C25-07 25.00 5.00 4 100.0 180.00 2.0 25.00 C CNHT 070315 0.60
) The specified diameter is for inserts with a 1.0 mm radius.
2 Number of inserts
@) Maximum ramping angle
(@) C-Cylindrical
8) Master insert identification
For inserts, see pages: CNHT/MT 07 (538)
TORwiii..i.
E93CN-10 / f & Qﬂ &
Toroidal Bull Nose Endmills RIS -—#}——{ pconwms =
with ENHT... Inserts | 5 j 1 % 7 ®
| [ APMX ‘
LH
OAL
O
DC APMX  CICT® LH OAL  RMPX°@ DCONMS  Shank MIID® @ /
E93CN D25-2-L180-C25-10 [0 8.00 2 1000 18000 7.0 25.00 C  ENHT100430 057  SR34-508L  T-9/51
35.00 8.00 3 500  200.00 40 32.00 C  ENHT100430 148  SR34-506/L  T-0/51

() Number of inserts

2 Maximum ramping angle

() Master insert identification

For inserts, see pages: ENHT (538)

TORmuii FLEXFiT

E93CN-M-07

Bull Nose Endmills with
FLEXFIT Threaded Adaptation
Carrying Toroidal Inserts

=%
@Y @

(@]
DC  APMX  CICT®  LF OAL THSZMS RMPX® DCONMS DRvS®  mip®  7o30 1

E93CN D16-2-M08-07 16.00 5.00 2 30.00 47.50 M08 4.0 13.00 10.0 CNHT 070315 20 0.03
E93CN D20-3-M10-07 20.00 5.00 3 30.00 50.00 M10 3.0 18.00 16.0 CNHT 070315 29 0.05
E93CN D25-4-M12-07 25.00 5.00 4 35.00 57.00 M12 20 21.00 17.0 CNHT 070315 33 0.09

¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

() The specified diameter is for inserts with a 1.0 mm radius.

2 Number of inserts

@) Maximum ramping angle

@) Clamping wrench size

(8) Master insert identification

(8) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: CNHT/MT 07 (538)

For holders, see pages: BT-ODP (FLEXFIT) (314) ¢ C#-ODP (FLEXFIT) (314) ® CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ¢ ER-ODP (315)
* HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) * S M-CF (313)

Member IMC Group
o=
L 4 11 ]

N
—
.
|_
©)
<
=
LL
Q
0
ol




%)
—
.
|_
©)
<
=
LL
Q
0
ol

TORwmiiii FLEXFiT

E93CN-M-10

Bull Nose Endmills with
FLEXFIT Threaded Adaptation
Carrying Toroidal Inserts remx | 4%

&% S
s

DC APMX CICTH LF  OAL THSZMS RMPX’® DCONMS DRVS®  MIID¥ TQ 3(5) %3 & /

E93CN D25-2-M12-10 2500  7.00 2 3600 5700 M12 7.0 21.00 17.0  ENHT 100430 0.09 SR34-506/L T-9/51
E93CN D35-3-M16-10 35600 850 3 4300 6800  Mi6 4.0 29.00 250  ENHT 100430 40 021 SR34-506/L T-9/51

E93CN D42-5-M16-10 [EPXORN:ES) 5 4300 6800 Mi6 3.0 29.00 25.0  ENHT 100430 40 0.24 SR34-506/L T-9/51

¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

) Number of inserts

(2 Maximum ramping angle

@) Torque key size

4 Master insert identification

) Tool tightening torque Nxm (lbfxin)

For inserts, see pages: ENHT (538)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314) ¢ CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)

* HSK A-ODP (FLEXFIT) (316) ® SM (312) « S M-C-H (312) « S M-CF (313)

TORwiii.i

MULTI-MASTER o = @ @ @
9%

E93CN-MM-07 3 DCONMS 5
Bull Nose Endmills with MULTI- &

MASTER Threaded Adaptation
Carrying Toroidal Inserts

DC APMX CICT® LF OAL RMPX®® THSZMS DCONMS DRVS®  MIID® @ & /

MMT10-07 16.00 5.00 2 27.00 3864 4.0 T10 15.00 180  CNHT 070315  0.03 ~ SR34-505/LHG ~ T-8/53
E93CN D20-3-MMT12-07 [pAaXi] 5.00 3 27.00 41.00 3.0 T12 19.00 160  CNHT 070315  0.05  SR34-505/LHG  T-8/53

e Do not apply lubricant to the MULTI-MASTER threaded connection e For adaptation options, see page 261 e For user guide, see pages 542-547

() The specified diameter is for inserts with a 1.0 mm radius. For other radii options, see diameter change in the table below

2 Number of inserts

@) Maximum ramping angle

) Clamping wrench size

) Master insert identification

For inserts, see pages: CNHT/MT 07 (538)

For holders, see pages: MM S-A (stepped shanks) (84) ¢ MM S-A (straight shanks) (87) ¢ MM S-A-C# (86) ® MM S-A-HSK (609) ¢ MM S-A-N (85) « MM S-A-SK (90)
* MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88) ® MM S-ER (89) ® MM S-ER-H (89) ® MM TS-A (86)

Diameter Change According to Insert Radius

R 0.8 1.5 2.0 2.5 3.0
AD +0.03 -0.07 -0.14 -0.21 -0.28

ISCAR



TORMwiii.i

() The specified diameter is for inserts with a 1.0 mm radius. For other radii options, see diameter change in the table below
2 Number of inserts

() Maximum ramping angle

) For adaptation options, see page 548

For inserts, see pages: ENHT (538)

DCONMS U)
FO3CN-10 i (=, % N/ —
93° Face Mills with Toroidal Inserts —— T @)

| & &

OAL
95| ‘ ] ( )
o Ml
{ @)\ APmix —
—— O
O

DC  CICT®  APMX  OAL  DHUB DCONMS RMPX*® Arord ) & / Va Z
F93CN D52-6-22-R-10 52.00 6 8.00 40.00 47.00 22.00 2.5 A 0.28 SR 34-506/L BLD TO9/M7  SW6-SD _I
F93CN D66-7-22-R-10 66.00 7 8.00 40.00 52.00 22.00 18 A 0.51 SR 34-506/L BLD T0O9/M7 ~ SW6-SD E

F93CN D80-8-27-R-10 80.00 8 8.00 50.00 60.00 27.00 15 B 0.81 SR 34-506/L BLD T09/M7 ~ SW6-SD

AP“('X mm Recommended Feed Data
10

8
\ —— AE——
6
\\ f2=0.1 mm/t
4

2=0.15 mm/t

}
APMX

fz=0.2 mm/t

0 T T T T

>
>
0 0250 05D 0750 D ae (mm)

D-Cutting diameter

Diameter Change According to Insert Radius

R 0.8 1.5 2.0 2.5 3.0
AD +0.03 -0.07 -0.14 -0.21 -0.28

Member IMC Group
o=
L 4 11 ]




TORGMILL

TR6 ER (1) TReTNCU @4 - o W chNMS @ &= @
Multifunction Endrmills That ORI N [
Can Carry Four Different Apr | Q % r
Insert Geometries (3) TROO TXMT & APMXU \*BHTA

fe— LU —»|

le— LH—»

@ TR45 TXMT &4
OAL Tool shown with TR6 TNCU inserts

DCX® DCX_2 DCX_3 DCX 4 DC DC_2 DC_4APMXAPMX_2APMX_3 APMX_4 APMXU® BHTA® CICT¢ LU

%)
—
.
|_
©)
<
=
LL
Q
0
ol

LU 2 LU3 LU 4
GG PRI RA 1600 1600 16.00 1400 12.10 100 060 250 200 210 2 4650 4670 4680 -
TR6 ER D20-60-4-C20-07 X IPX X ] 1800 16.10 100 060 250 200 210 4 5650 5670 56.80
TR6 ER D25-70-5-C25-07 [N NP o B0 2300 21.10 100 060 250 200 210 5 6550 6670 6580 -
LGN G EPEE DGR PR 3200 3200 3200 - 3000 28.10 100 060 250 - 200 210 6 7550 7570 75.80
VGO GIDPES AR IR 2500 2460 2500 2680 2000 19.00 2060 250 080 400 3.0 420 205 3 6500 6615 6491 6512
G IR PRTN 3200 31.60 8200 3380 27.00 2600 27.60 250 080 400 300 420 205 4 7500 7515 7491 7512
LH LH 2LH 3 LH4 OAL OAL 2 OAL 30AL 4 DCONMS  MID® MIID_26 MIID_30 MIID_4® &
LG L I PRI A 500 502 503 - 10000 100.20 10030 - 16.00  TR6 TNCU 070210 TRFF TXMT 0702  TR90 TXMT 070204 0.12
GG S PO e p A 600 60.2 603 - 12000 12020 120.30 2000 TR6 TNCU 070210 TRFF TXMT 0702  TR90 TXMT 070204 022
VGNP VRS RGA 700 702 703 - 14000 14020 140.30 2500 TR6 TNCU 070210 TRFF TXMT 0702  TR9O TXMT 070204 042
LGN IR R ek PR YA 80.0 802 80.3 - 160.00 160.20 160.30 32,00 TR6 TNCU 070210 TRFF TXMT 0702  TR90 TXMT 070204 082
GNP ORI RTIN 700 702 699 7041 14000 14015 13991 14012 2500 TR6 TNCU 100425 TRFF TXMT 1004  TR9O TXMT 100408  TR45 TXMT 1004 0.41
GG S ek ek PR 0 800 80.2 799 801 160.00 16015 15991 16012 3200 TRG TNCU 100425 TRFF TXMT 1004  TR9O TXMT 100408  TR45 TXMT 1004 0.81
¢ Note: The data refers to master inserts , for other insert radii and geometries refer to the table below
() Cutting diameter maximum
(@) For undercutting with TR6 TNCU/TNMU inserts only
© For undercutting with TR6 TNCU/TNMU inserts only
(4 Number of inserts
(8) Master insert identification
(6) Master insert identification 2
(M) Master insert identification 3
(8 Master insert identification 4
For inserts, see pages: TR45 TXMT (540) » TR6 TNCU/MU (539) » TRI0 TXMT (539) » TRFF TXMT (539) -
For undercutting
Insert DCX DC APMX LU LH OAL RMPX"  APMX_2 BHTA
TR6 TNCU 070205 15.00 050 46.40 49.90 99.90 1.60 17.0
TR6 TNMU 070215 13.00 1.50 45,60 50.10 100.10 2.40 21.0
TR6 ER D16-50-2-C16-07 TRFF TXMT 0702 1600 12.10 0.60 46.70 50.20 100.20 11 - -
TROO TXMT 070204 - 2.50 46.80 50.30 100.30 16 . :
TR6 TNCU 070205 19.00 050 56.40 59.90 119.90 1.60 17.0
TR6 TNMU 070215 17.00 1.50 56.60 60.10 120.10 - 2.40 21.0
TR6 ER D20-60-4-C20-07 TRFF TXMT 0702 2000 16.10 0.60 56.70 60.20 120.20 08 - -
TR0 TXMT 070204 - 2.50 56.80 60.30 120.30 12 - -
TR6 TNCU 070205 24.00 050 65.40 69.90 139.90 1.60 170
TR6 TNMU 070215 22.00 1.50 65.60 70.10 140.10 - 2.40 21.0
TRG ER D25-70-5-C25-07 TRFF TXMT 0702 2500 21.10 0.60 65.70 70.20 140.20 06 - :
TR0 TXMT 070204 - 2.50 65.80 70.30 140,30 09 5 :
TR6 TNCU 070205 31.00 050 75.40 79.90 159.90 1.60 170
TR6 TNMU 070215 29.00 1.50 75.60 80.10 160.10 - 240 21.0
[ERIERIPE G St g0l TRFF TXMT 0702 8200 28.10 0.60 75.70 80.20 160.20 04 5 :
TR0 TXMT 070204 - 2.50 75.80 80.30 160.30 07 5 :
TR6 TNCU 100405 24.00 050 64.52 69.52 139.52 1.80 175
TR6 TNCU 100410 23.00 1.00 64.64 69.64 139.65 2.30 205
TR6 TNCU/MU 100415 22.00 1.50 64.76 69.76 139.76 2.70 205
TR6 TNCU 100420 25,00 21.00 2.00 64.88 69.88 139.88 350 205
Ul il e e R P O TR6 TNCU 100430 19.00 3.00 65.12 70.12 140.12 - 450 205
TRFF TXMT 1004 19.00 0.80 65.15 70.15 140,15 17
TR0 TXMT 100408 - 4,00 64.91 69.91 139.91 16 -
TR45 TXMT 1004 26.80 20.60 3.00 65.12 70.12 140.12 14 - -
TR6 TNCU 100405 31.00 050 75.62 79.52 159.52 1.80 175
TR6 TNCU 100410 30.00 1.00 74.64 79.65 159.64 2.30 205
TR6 TNCU/MU 100415 29.00 1.50 76.76 79.76 159.76 2.70 205
TR6 TNCU 100420 32.00 28.00 2.00 74.88 79.88 159.88 350 205
TR ER D32-80-4-C32-10 TR6 TNCU 100430 26.00 3.00 75.12 80.12 160.12 a 450 205
TRFF TXMT 1004 26.00 0.80 75.15 80.15 160.15 12 - -
TR0 TXMT 100408 - 4,00 74.91 79.91 159.91 12 5 2
TR45 TXMT 1004 33.80 27.60 3.00 75.12 80.12 160.12 1.0

() Maximum ramp down angle

Spare Parts

&

7

Designatiol

TR6 ER D16-50-2-C16-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D20-60-4-C20-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D25-70-5-C25-07 SR M2.5X0.45-L6 IP7 |P-7/51
TR6 ER D32-80-6-C32-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D25-70-3-C25-10 SR 10508600 T-9/51
TR6 ER D32-80-4-C32-10 SR 10508600 T-9/51

ISCAR



TORGMILLFLEXF:T

PROFILING

TR6 ER-M TR6 TNCU &

®
Multifunction Endrmills with (2) TRFF TXMT &
®

FLEXFIT Threaded Adaptation
TR90 TXMT &

=7
That Can Carry Four Different ! ﬂﬁ

Insert Geometries
@ TR45 TXMT &
Tool shown with TR6 TNCU inserts

Dcxm DCX_2 DCX 3 DCX_4 DC DC 2 DC_4 APMX APMX_2 APMX_3 APMX_4 APMXU®BHTA® CICT® LF LF 2 LF 3 LF 4 OAL

%

1 '

—— A
THSZMS DCONMS

LRG0 R CTORCRE-Z 2 g 16.00 16.00 16.00 - 14001210 1.00  0.60 2.50 2.00 21.0 2 24642490 2500 - 4220
LRGP RS TR R Y 20.00 20.00 20.00 - 18001610 - 1.00  0.60 2.50 ° 2.00 21.0 24642490 25.00 - 4470
TR6 ER D25/0.98-5-M12-07 [P X QR iN} - 23002110 - 1.00  0.60 2.50 - 2.00 21.0 29.6429.90 3000 - 5170
TR6 ER D32/1.26-6-M16-07 [P URECrA)] - 30002810 - 1.00  0.60 2.50 ° 2.00 21.0 34.6434.90 35.00 - 59.70
TR6 ER D35/1.38-6-M16-07 RN URERIN0] - 33.0031.10 1.00  0.60 2.50 - 2.00 21.0 34643490 3500 - 59.70

G N R PAT LR EECR T EPIR ) 25,00 2460 25.00 26.80 20.0020.60 20.60 2.50  0.80 4.00 3.00 420 20.5
QLRGP 7A WL B RS (0] 32.00 31.60 3200 3380 27.0027.60 27.60 2.50  0.80 4,00 3.00 420 20.5
LN SR A PR R ) 35.00 3460 35.00 36.80 30.0030.60 30.60 2.50  0.80 4.00 3.00 420 20.5

2497 2515 25612 25.12 47.00
34,97 35,15 36,12 35.12 60.00
34.97 35.15 356,12 35.12 60.00

O~ wWw o o o

OAL_2 OAL_3 OAL_4 DCONMS THSZMS  MIID® MIID_26 MIID_3 MIID_4®  DRVS® TQ_300 =

TR6 ER D16/0.63-2-M08-07 [ZXIE7A) - 13.00 M08  TR6 TNCU 070210 TRFF TXMT 0702 TR0 TXMT 070204 11.0 20 003
TR6 ER D20/0.79-4-M10-07 [RZEe VR X ° 18.00 M10  TR6 TNCU 070210 TRFF TXMT 0702 TR0 TXMT 070204 ° 15.0 29 005
TR6 ER D25/0.98-5-M12-07 [RyRR:VXi] - 21.00 M12  TR6 TNCU 070210 TRFF TXMT 0702 TR90 TXMT 070204 - 17.0 33  0.08
TR6 ER D32/1.26-6-M16-07 K m:Xi] ® 29.00 M16  TR6 TNCU 070210 TRFF TXMT 0702 TR90 TXMT 070204 ® 25.0 40 018
TR6 ER D35/1.38-6-M16-07 [RsekURcIeXil] o 29.00 M16  TR6 TNCU 070210 TRFF TXMT 0702 TR0 TXMT 070204 25.0 40 019
TR6 ER D25/0.98-3-M12-10 YA Kl TAV] 21.00 M12  TR6 TNCU 100425 TRFF TXMT 1004 TR90 TXMT 100408 TR45 TXMT 1004  19.0 33  0.06
TR6 ER D32/1.26-4-M16-10 ORI KeI RGN P) 29.00 M16  TR6 TNCU 100425 TRFF TXMT 1004 TR0 TXMT 100408 TR45 TXMT 1004  25.0 40 017
TR6 ER D35/1.38-5-M16-10 ALKl Y] 29.00 M16  TR6 TNCU 100425 TRFF TXMT 1004 TR90 TXMT 100408 TR45 TXMT 1004  25.0 40 018

¢ Note: The data refers to master inserts, for other insert radii and geometries refer to the table below ¢ When mounting items with FLEXFIT threaded adaptation to their
holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated
torque values are specified in the TQ_3 parameter

() Cutting diameter maximum

(19) Tool tightening torque Nxm (Ibfxin)

(@) For undercutting with TR6 TNCU/TNMU inserts only

@) For undercutting with TR6 TNCU/TNMU inserts only

@) Number of inserts

5) Master insert identification

(6) Master insert identification 2

() Master insert identification 3

8 Master insert identification 4

©) Torque key size

For inserts, see pages: TR45 TXMT (540) ¢ TR6 TNCU/MU (539) ® TRI0 TXMT (539) ® TRFF TXMT (539)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314) ® CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ® ER-ODP (315)

e HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) ¢ S M-CF (313)

Member IMC Group
o=
L 4 11 ]

N
—
.
|_
©)
<
=
LL
Q
0
ol




Spare Parts

For undercutting

) [Tool ] Insert DCX DC___ APMX LF OAL ___RMPX___APMX_2 BHTA
] TR6 TNCU 070205 15.00 050 246 421 - 1.60 17.0
TR6 TNMU 070215 13.00 1.50 248 423 2.40 21.0
O TR6 ER D16/0.63-2-M08-07 TREF TXMT 0702 B0 oo 00 249 424 1.1 .
TRI0 TXMT 070204 - 2.50 25.0 425 16 - -
O TR6 TNCU 070205 19.00 0.50 246 446 - 1.60 17.0
TR6 TNMU 070215 17.00 1,50 248 448 - 2.40 21.0
|— [ Re ER D20/0.79-4-M10-07 TREF TXMT 0702 A0 1640 060 249 49 08 . .
(D TR0 TXMT 070204 - 2.50 25.0 450 12 - -
TR6 TNCU 070205 24.00 0.50 29.6 51.6 - 1.60 17.0
TR6 TNMU 070215 22.00 1.50 29.8 51.8 - 2.40 21.0
z TR6 ER D25/0.98-5-M12-07 TRFF TXMT 0702 20 21.10 0.60 299 519 06 - -
1 TR0 TXMT 070204 - 2.50 30.0 52.0 09 - -
E TR6 TNCU 070205 31.00 050 346 59.6 - 1.60 17.0
TR6 TNMU 070215 29.00 1.50 348 59.8 - 2.40 210
O TR6 ER D32/1.26-6-M16-07 TRFF TXMT 0702 ALY 28.10 0.60 349 599 04 - -
TR0 TXMT 070204 - 2.50 35.0 60.0 07 - -
m TR6 TNCU 070205 34,00 050 346 50.6 - 1.60 17.0
TR6 TNMU 070215 32.00 1.50 348 59.8 - 2.40 21.0
(0 [TR6 ER D35/1.38-6-M16-07 TREF TXMT 0702 B0 50 060 349 509 04 . .
TR0 TXMT 070204 - 2.50 36 60 0.4 - -
TR6 TNCU 100405 24.00 0.50 24,52 46.52 1.80 175
TR6 TNCU 100410 23.00 1.00 24.64 46.64 2.30 205
TR6 TNCU/MU 100415 22.00 1.50 24.76 46.76 2.70 205
TR6 TNCU 100420 25.00 21.00 2.00 24,88 46.88 350 205
TR6 ER D25/0.98-3-M12-10 TR6 TNCU 100430 19.00 3.00 2512 4712 - 450 205
TRFF TXMT 1004 20.60 0.80 25.15 4715 1.7 - -
TR0 TXMT 100408 - 4.00 24.91 46.91 1.6
TR45 TXMT 1004 26.80 20.60 3.00 25.12 4712 1.4 - :
TR6 TNCU 100405 31.00 050 3452 59.52 1.80 175
TR6 TNCU 100410 30.00 1.00 3464 59.64 2.30 205
TR6 TNCU/MU 100415 29.00 1.50 34.76 59.76 2.70 205
TR6 TNCU 100420 32.00 28.00 2.00 34.88 59.88 350 205
TR6 ER D32/1.26-4-M16-10 TR6 TNCU 100430 26.00 3.00 35.12 60.12 - 450 205
TRFF TXMT 1004 27.60 0.80 36.15 60.15 12 - -
TR0 TXMT 100408 - 400 34.91 59.91 1.4
TR45 TXMT 1004 33.80 27.60 3.00 35.12 60.12 09 - -
TR6 TNCU 100405 34.00 0.50 34,52 59.52 1.80 175
TR6 TNCU 100410 33.00 1.00 34.64 59.64 2.30 205
TR6 TNCU/MU 100415 32.00 1.50 34.76 59.76 2.70 205
TR6 TNCU 100420 35.00 31.00 2.00 34,88 59.88 350 205
TR6 ER D35/1.38-5-M16-10 TR6 TNCU 100430 29.00 3.00 35.12 60.12 - 450 205
TRFF TXMT 1004 30.60 0.80 35.15 60.15 12 - -
TRI0 TXMT 100408 - 400 34.91 59.91 1.4
TR45 TXMT 1004 36.80 30.60 3.00 36.12 60.12 09

7

S

TR6 ER D16/0.63-2-M08-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D20/0.79-4-M10-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D25/0.98-5-M12-07 SR M2.65X0.46-L6 IP7 IP-7/51
TR6 ER D32/1.26-6-M16-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D35/1.38-6-M16-07 SR M2.5X0.45-L6 IP7 IP-7/51
TR6 ER D25/0.98-3-M12-10 SR 10508600 T-9/51
TR6 ER D32/1.26-4-M16-10 SR 10508600 T-9/51
TR6 ER D35/1.38-5-M16-10 SR 10508600 T-9/51

ISCAR




TORGMILL o

DCONM:
|

TR6 FR
Multifunction Face Mills That

TR6 TNCU TRFF TXMT TR90 TXMT TR45 TXMT

&=y
@
2 A& 4 A

Tool shown with TR6 TNCU inserts

DCX DCX2 DCX3 DCX4 DC  DC2 DC4 APMX APMX 2 APMX_.3 APMX 4 APMXU® BHTA® CICTA

TR6 FR D40-06-16-10 ) 39.60 40.00 41.80 356.00 34.00 35.60 2.50 0.80 4.00 3.00 420 205 6
TR6 FR D42-06-16-10 JvX] 41.60 42.00 43.80 37.00 36.00 37.60 2.50 0.80 4.00 3.00 420 205 6
TR6 FR D50-07-22-10 i) 49.60 50.00 51.80 45.00 44.00 45.60 2.50 0.80 4.00 3.00 4.20 205 7
TR6 FR D52-07-22-10 i) 51.60 52.00 53.80 47.00 46.00 53.60 2.50 0.80 4.00 3.00 420 205 7
8
8

©> © 0 o ¥
®

Can Carry Four Different
Insert Geometries

TR6 FR D63-08-22-10 GRI) 62.60 63.00 64.80 58.00 57.00 56.60 2.50 0.80 4.00 3.00 420 205
TR6 FR D66-08-22-10 K] 65.60 66.00 67.80 61.00 60.00 61.60 2.50 0.80 4.00 3.00 420 205
TR6 FR D80-10-27-10 ] 79.60 80.00 81.80 75.00 74.00 75.60 2.50 0.80 4.00 3.00 4.20 205 10

(@]
OAL OAL 2 OAL 3 OAL 4 DCONMS DHUB Arbor MIID® MIID_26) MIID_30) MIID_4®) kol

AR LR CER [ [0 37.00 3715 3691 37.12 16.00 32.00 A TR6 TNCU 100425  TRFF TXMT 1004  TRI0 TXMT 100408  TR45 TXMT 1004  0.14
TR6 FR D42-06-16-10 EIACCRECTATIR X IR TA P2 16.00 32.00 TR6 TNCU 100425 ~ TRFF TXMT 1004 TR0 TXMT 100408 ~ TR45 TXMT 1004  0.15
TR6 FR D50-07-22-10 EIoXooRmloR R Kol R0} P2 22.00 47.00 TR6 TNCU 100425 ~ TRFF TXMT 1004  TRI0 TXMT 100408  TR45 TXMT 1004  0.29
TR6 FR D52-07-22-10 EIoommrioR R Xt IR Pl 22.00 47.00 TR6 TNCU 100425 ~ TRFF TXMT 1004 ~ TR90 TXMT 100408 ~ TR45 TXMT 1004  0.33
TR6 FR D63-08-22-10 E{0oRoR IRl R V2 22.00 48.00 TR6 TNCU 100425  TRFF TXMT 1004  TRI0 TXMT 100408  TR45 TXMT 1004  0.42
RGN R RO R 0N 40.00 4015 39.91 4012 22.00 48.00 TR6 TNCU 100425 ~ TRFF TXMT 1004 ~ TRI0 TXMT 100408  TR45 TXMT 1004  0.46
LGEN DR DAY AL [ B50.00 5015 4991 5012 27.00 60.00 A TR6 TNCU 100425 ~ TRFF TXMT 1004  TR90 TXMT 100408  TR45 TXMT 1004  0.91

* Note: The data refers to master inserts, for other insert radii and geometries refer to the table below

() Cutting diameter maximum

(@) For undercutting with TR6 TNCU/TNMU inserts only

©) For undercutting with TR6 TNCU/TNMU inserts only

4 Number of inserts

5) Master insert identification

(6) Master insert identification 2

() Master insert identification 3

8 Master insert identification 4

For inserts, see pages: TR45 TXMT (540)  TR6 TNCU/MU (539)  TRO0 TXMT (539)  TRFF TXMT (539)

N
—
.
|_
©)
<
=
LL
Q
0
ol

> > > > >

Spare Parts

 vesraior [N A AA

TR6 FR D40-06-16-10 ERSGRIVGEEN T-9/51 SR M8X25DIN912
TR6 FR D42-06-16-10 SRR T-9/51 SR M8X25DIN912
TR6 FR D50-07-22-10 EECGRICS0EE] T-9/51 SR M10X25 DIN912
TR6 FR D52-07-22-10 GRS T-9/51 SR M10X25 DIN912
TR6 FR D63-08-22-10 EES:ERI00:E00 T-9/51 SR M10X25 DIN912
TR6 FR D66-08-22-10 EECGRICCEE T-9/51 SR M10X25 DIN912
TR6 FR D80-10-27-10 RIS T1-9/51 SR M12X30DIN912

Member IMC Group
o=
L 4 11 ]




[ For undercutting

U) Insert DCX DC APMX OAL RMPX APMX_2 BHTA
TR6 TNCU 100405 39.00 0.50 36.52 - 1.80 175
1 TR6 TNCU 100410 38.00 1.00 36.64 - 2.30 205
O TR6 TNCL(J:/MU 100415 37.00 1.50 36.76 - 270 205
TR6 TNCU 100420 40.00 36.00 2.00 36.88 - 350 205
O TR6 FR D40-06-16-10 TR6 TNCU 100430 34,00 300 3712 . 450 205
TRFF TXMT 1004 34.00 0.80 37.15 09 - -
|— TRY0 TXMT 100408 - 4.00 36.91 09 - -
TR45 TXMT 1004 41.80 35.60 3.00 37.12 0.7 = -
(_Ij TR6 TNCU 100405 41.00 0.50 36.52 - 1.80 175
TR6 TNCU 100410 40.00 1.00 36.64 - 2.30 205
Z TR6 TNCU/MU 100415 39.00 1.50 36.76 - 2.70 205
— TR6 TNCU 100420 42,00 38.00 2.00 36.88 - 3.50 205
1 TR6 FR D42-06-16-10 TR6 TNCU 100430 36.00 3.00 37.12 - 450 205
p— TRFF TXMT 1004 36.00 0.80 37.15 0.90 - -
LL TRY0 TXMT 100408 - 4.00 36.91 0.90 - -
TR45 TXMT 1004 43.80 37.60 3.00 37.12 0.70 - -
O TR6 TNCU 100405 49.00 0.50 39.52 - 1.80 175
m TR6 TNCU 100410 48.00 1.00 39.64 - 2.30 205
TR6 TNCU/MU 100415 47.00 1.50 39.76 - 2.70 205
TR6 TNCU 100420 50.00 46.00 2.00 39.88 - 3.50 205
O Qrre FR pso-07-22-10 TR6 TNCU 100430 44,00 300 4012 . 450 205
TRFF TXMT 1004 44.00 0.80 40.15 0.70 - -
TRY0 TXMT 100408 - 4.00 39.91 0.70 - -
TR45 TXMT 1004 51.80 45.60 3.00 40.12 0.60 - -
TR6 TNCU 100405 51.00 050 39.52 - 1.80 175
TR6 TNCU 100410 50.00 1.00 39.64 - 2.30 205
TR6 TNCU/MU 100415 49.00 1.50 39.76 - 2.70 205
TR6 TNCU 100420 52.00 48,00 2.00 39.88 - 3.50 205
TR6 FR D52-07-22-10 TR6 TNCU 100430 46,00 3.00 40.12 - 450 205
TRFF TXMT 1004 46,00 0.80 40.15 0.70 - -
TRY0 TXMT 100408 - 4.00 39.91 0.70 - -
TR45 TXMT 1004 53.80 53.80 3.00 40.12 0.60 = -
TR6 TNCU 100405 62.00 0.50 39.52 - 1.80 175
TR6 TNCU 100410 61.00 1.00 39.64 - 2.30 205
TR6 TNCU/MU 100415 60.00 1.50 39.76 - 2.70 205
TR6 TNCU 100420 63.00 59.00 2.00 39.88 - 3.50 205
TR6 FR D63-08-22-10 TR6 TNCU 100430 57.00 300 4012 . 450 205
TRFF TXMT 1004 57.00 0.80 40.15 0.50 - -
TRY0 TXMT 100408 - 4.00 39.91 0.50 - -
TR45 TXMT 1004 64.80 58.60 3.00 40.12 0.40 - -
TR6 TNCU 100405 65.00 050 39.52 - 1.80 175
TR6 TNCU 100410 64.00 1.00 39.64 - 2.30 205
TR6 TNCU/MU 100415 63.00 1.50 39.76 - 2.70 205
TR6 TNCU 100420 66.00 62.00 2.00 39.88 - 3.50 205
TR6 FR D66-08-22-10 TR6 TNCU 100430 60.00 3.00 40.12 - 450 205
TRFF TXMT 1004 60.00 0.80 40.15 0.50 - -
TRY0 TXMT 100408 - 4.00 39.91 0.50 - -
TR45 TXMT 1004 67.80 61.60 3.00 4012 0.40 - -
TR6 TNCU 100405 79.00 0.50 49,52 - 1.80 175
TR6 TNCU 100410 78.00 1.00 49.64 - 2.30 205
TR6 TNCU/MU 100415 77.00 1.50 49.76 - 2.70 205
TR6 TNCU 100420 80.00 76.00 2.00 49.88 - 3.50 205
TR6 FR D80-10-27-10 TR6 TNCU 100430 74.00 3.00 50.12 - 450 205
TRFF TXMT 1004 74.00 0.80 50.15 0.40 - -
TRY0 TXMT 100408 - 4.00 4991 0.40 - -
TR45 TXMT 1004 81.80 75.60 3.00 50.12 0.30 - -

ISCAR




ROUND i i ® = dp)
ER Bp BHTA Qﬂ ® S —
Endmills with Round =" T a1 =zl O
Inserts for Profiling and DX D (-)= ******* e 7, g &
Miling Round Corners — Lic o O
‘k LH J LU — |_
OAL LH—
E
Designation DX DG IC BD OCICT® LH DCONMS Shank® RMPX“ BHTA OAL LU Type MiDs [0 R
ER D07A12-3-C12-05 12.00 7.00 500 11.70 8 40.0 12.00 C 6.0 100.00 - A RXCR 05T1 0.08 _I
ER D08A15-2-C20-07 15.00 800 700 1350 2 40.0 20.00 C 15.0 5.0 140.00  40.0 B RXCR 0702 0.26 e
ER D08A16-2-C16-08 16.00 8.00 8.00 1350 2 40.0 16.00 C 27.0 - 120.00 - A RXCR 0802 0.16 LI_
ER D17A25-3-C32-08 2500 1700 800 2250 3 60.0 32.00 C 54 - 160.00 - A RXCR 0802 0.80 O
ER D10A20-2-C20-10 20.00 1000 10.00 17.90 2 60.0 20.00 C 13.0 = 160.00 - A RXCR10T3  0.34 m
ER D15A25-2-C25-10 2500 1500 10.00 22.80 2 60.0 25.00 C 6.0 - 160.00 - A RXCR 10T3 0.55
ER D22A32-4-C25-10 32.00 2200 1000 29.90 4 40.0 25.00 C 40 - 160.00 - A RXCR10T3  0.62 D—
ER D24A40-3-C32-16 4000 2400 16.00 30.00 3 50.0 32.00 C 20.0 - 160.00 - A RCCW 1605  0.90

() Cutting diameter maximum

2 Number of inserts

() C-Cylindrical

4 Maximum ramping angle

68) Master insert identification

For inserts, see pages: RXCR (526) ¢ RXCW (526) ® RXMT 10 (526)

Spare Parts

P s - v

ER D07A12-3-C12-05 RESRIERE T-6/51
ER DO8A15-2-C20-07 SREEVSIENECTX]
ER DO8A16-2-C16-08 IRV VSINE:Ik]
ER D17A25-3-C32-08 T-8/53
ER D10A20-2-C20-10 [ERREEY SRRV
(R B VIR e LB [Vl SR 14-562/S  T-10/51
ER D22A32-4-C25-10 EESEREETZANNNRI(VEY
ER D24A40-3-C32-16 ESRLEERN BLD T20/M7 SW6-T

ROUNDiwiii.i.FLEXFiT

ER-M C J f Qﬂ ®

Endmills with FLEXFIT Dcx DC \T‘ -THSZMS DCONMS ~
IC

Threaded Adaptation Carrying
Round Inserts for Profiling
and Milling Round Corners

i
494

-~ LF —»

I
Designation DCX( DC IC BD CICT® DCONMS LF THSZMS RMPX*® TQ_3" ko]

ER D10A15-4-M08-05 15.00 10.00 5.00 13.00 4 13.00 23.00 M08 13.0 20 0.03 SR 34-533 T-6/51
ER D15A20-5-M10-05 20.00 15.00 5.00 18.00 5 18.00 30.00 M10 4.3 29 0.06 SR 34-533 T-6/51
ER D08A15-3-M08-07 15.00 8.00 7.00 13.50 3 13.50 23.00 M08 15.0 20 0.03 SR 14-560/8 T-8/53
ER D13A20-4-M10-07 20.00 13.00 7.00 18.00 4 18.00 30.00 M10 5.0 29 0.06 SR 14-560/S T-8/53
ER D08A16-2-M08-08 16.00 8.00 8.00 13.50 2 13.00 25.00 M08 27.0 20 0.02 SR 14-560/S T-8/53
ER D12A20-2-M10-08 20.00 12.00 8.00 17.20 2 18.00 32.00 M10 6.5 29 0.05 SR 14-560/8 T-8/53
ER D10A20-2-M10-10 20.00 10.00 10.00 18.00 2 18.00 30.00 M10 28.0 29 0.05 SR 14-562/S  T-10/51
ER D15A25-2-M12-10 25.00 15.00 10.00 21.00 2 21.00 35.00 M12 12.0 33 0.09 SR 14-562/S  T-10/51
ER D15A25-3-M12-10 25.00 16.00 10.00 29.00 3 21.00 35.00 M12 12.0 33 0.09 SR 14-562/S  T-10/51
ER D22A32-4-M16-10 32.00 22.00 10.00 29.00 4 29.00 43.00 M16 7.3 40 0.20 SR 14-562 T-10/51
ER D25A35-4-M16-10 35.00 25.00 10.00 29.00 4 29.00 43.00 M16 5.5 40 0.22 SR 14-562 T-10/51
ER D32A42-5-M16-10 42.00 32.00 10.00 29.00 5 29.00 43.00 M16 4.5 40 0.25 SR 14-562 T-10/51

¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

) Cutting diameter maximum

2 Number of inserts

@) Maximum ramping angle

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: RO0CW (527) ¢ RXCR (526) ® RXCW (526) ¢ RXMT 10 (526)

For holders, see pages: BT-ODP (FLEXFIT) (314)  C#-ODP (FLEXFIT) (314) ® CAB M-M (FLEXFIT) (312) ® DIN69871-ODP (315) ® ER-ODP (315)

o HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) ® S M-CF (313)

Member IMC Group
o=
L 4 11 ]




ROUNDi iviii.i. F—DHUB
D!

FRN CONMS %X %

@,

Face Mill for Wedge-Clamped
Double-Sided Round Insert OAL SR
I
oc_ |
DbeX |

{ APMX

O
DCX"  DC  APMX  OAL DCONMS DHUB STDLET CICT®  MDN®  MDX® Rumpxs A5

FRN D038A050-05-22-12 50.00 37.30 3.00 40.00 22.00 45.00 A 5 87.30 99.00 0.4 0.46
FRN D051A063-06-22-12 63.00 50.30 3.00 40.00 22.00 47.00 A 6 113.30 125.00 0.3 0.63

FRN D068A080-07-27-12 80.00 67.30 3.00 50.00 27.00 58.00 A 7 147.30 1569.00 0.3 0.85

¢ Radius for programing: 6.35

() Cutting diameter maximum

@ Number of inserts

@) For interpolation

@) For interpolation

8) Maximum ramping angle

For inserts, see pages: RNGN-Ceramic (531)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

Spare Parts

e v e

WEDGE SCREW®@ LW 1207C T-W3
(A Recommended tightening torque:4.8 Nm

ROUNDwiii.i <~ DHUB

DCONMS
FRMT

Face Mills for Productive
Machining of 3D Surfaces of

OAL ®

Blades in Turbomachinery ¥
APMX l
DG 5
DCX—»

DCX"  DC RE APMX  CICT®  OAL DCONMS RMPX°®  Arbor¥  DHUB MIIDE) ﬁ
FRMT D030A040-05-16-10 40.00 30.00 5.00 3.10 5 40.00 16.00 1.0 A 38.00 RP..X1003MO ... 0.20
FRMT D028A040-04-16-12 |REIICVR::X0 RN 3.80 4 40.00 16.00 1.0 A 3800 RP.X1204M0..  0.20
FRMT D038A050-05-22-12 50.00 38.00 6.00 3.80 5 40.00 22.00 2.5 A 48.00  RP..X1204MO ... 0.29
FRMT DO38A050-06-22-12 [RCvIVV R X0 RVl 3.80 6 40.00 22.00 1.0 A 4800 RP.X1204M0..  0.29
FRMT D040A052-05-22-12 52.00 40.00 6.00 3.80 5 40.00 22.00 2.5 A 4800 RP..X1204MO ... 0.31
FRMT D040A052-06-22-12 [PV o R0 3.80 6 40.00 22.00 1.0 A 4800 RP.X1204M0..  0.30

() Cutting diameter maximum

2 Number of inserts

8 Maximum ramping angle

(4 For adaptation see page 548

) Insert identification

For inserts, see pages: RPHX/RPMX (530)

Spare Parts

P s o

U 020 Z DEGEER R [V SR 10504970 SWe-SD  BLDIP15/87
FRMT D028A040-04-16-12 SR 76-2067 SWe-T BLD T15/S7
FRMT D038A050-05-22-12 SR 76-2067 SW6-T BLD T15/87
FRMT D038A050-06-22-12 SR 76-2067 SWe-T BLD T15/S7
FRMT D040A052-05-22-12 SR 76-2067 SWe-T BLD T15/87
FRMT D040A052-06-22-12 SR 76-2067 SWe-T BLD T15/S7

ISCAR




BfiLL SHRED * = %)
ERW ® e —— — — — S Qﬂ Q|| -
Rough Profiling Endmills with @ L O
Serrated or Regular Round Inserts DC % @ ®
chx B SR J[ DCONMS O
Lic — £ f
ﬂ LA OAL: ‘ (I_D
DCX"  DC IC cicT@ LH OAL  DCONMS _ Shank® BD RMPX®  Type =
ERW D015A025-B-3-C25-10 25.00 15.00 10.00 3 50.0 150.00 25.00 C - 3.0 B —
ERW D022A032-A-4-C25-10 32.00 22.00 10.00 4 = 170.00 25.00 C 40 A _I
ERW D030A040-A-5-C32-10 40.00 30.00 10.00 5 = 200.00 32.00 C 3.0 A e
ERW D013A025-B-2-C25-12 25.00 13.00 12.00 2 50.0 180.00 25.00 C - 2.0 B LI—
ERW D020A032-A-3-C25-12 32.00 20.00 12.00 3 40.0 200.00 25.00 C 24.00 7.0 A O
ERW D020A032-B-3-C32-12 32.00 20.00 12.00 38 140.0 300.00 32.00 C - 7.0 B m
ERW D028A040-A-4-C32-12 40.00 28.00 12.00 4 50.0 250.00 32.00 C 31.00 5.0 A D_

® For user guide, see pages 287-289

() Cutting diameter maximum

) Number of inserts

@) C-Cylindrical

@) Maximum ramping angle

For inserts, see pages: RCMT/RCCT-MO (528) ¢ RCMT/RCMW/RCCW-FW (529) ¢ RCMW/RCCW-MO (528)

Spare Parts

P % / z

ERW D015A025-B-3-C25-10 SR 34-506/L T-9/51
ERW D022A032-A-4-C25-10 SR 34-506/L T-9/51
ERW D030A040-A-5-C32-10 SR 34-506/L T-9/51
ERW D013A025-B-2-C25-12 SR 14-601 BLD T15/87 SW6-T
ERW D020A032-A-3-C25-12 SR 14-601 BLD T15/87 SW6-T
ERW D020A032-B-3-C32-12 SR 14-601 BLD T15/57 SW6-T
ERW D028A040-A-4-C32-12 SR 14-601 BLD T15/87 SWe-T

Member IMC Group

(T [Tl 279



OpN i SHREDFLEXFiT DRVS =
S ERW-M S } @ Qﬂ Q
O Rough Profiling Tools with DCXDi a E THSZMS DCONMS
a FLEXFIT Adaptation @ — } CARIISS
O g
— ——LF—! ) f
le——OAL——
©)
z DCX"  DC IC  APMX CICT® DCONMS OAL  LF  DRVS® THSZMS RMPX°“¥ TQ 30 %
_| ERW D015A025-3-M12-10 X0l 15.00 10.00 5.00 3 21.00 52.00 30.00 17.0 M12 3.0 33 0.06
E ERW D022A032-4-M16-10 JrA] 22.00 10.00 5.00 4 29.00 55.00 30.00 25.0 M16 4.0 40 0.12
ERW D013A025-2-M12-12 Y] 13.00 12.00 6.00 2 21.00 57.00 35.00 17.0 M12 2.0 33 0.08
O ERW D020A032-3-M16-12 [y 20.00 12.00 6.00 3 29.00 65.00 40.00 25.0 M16 7.0 40 0.15
m ERW D028A040-4-M16-12 [l 28.00 12.00 6.00 4 29.00 65.00 40.00 25.0 M16 510) 40 0.19
D_ e For user guide, see pages 287-289 e When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly
cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

() Cutting diameter maximum

2 Number of inserts

@) Clamping wrench size

@ Maximum ramping angle

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: RCMT/RCCT-MO (528) « RCMT/RCMW/RCCW-FW (529) ¢ RCMW/RCCW-MO (528)

For holders, see pages: BT-ODP (FLEXFIT) (314) ® C#-ODP (FLEXFIT) (314) » CAB M-M (FLEXFIT) (312) » DIN69871-ODP (315) » ER-ODP (315)
o HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) « S M-CF (313)

ERW-M
Assembly of Button and T
Shredding Insert Endmills D *aL ’’’’’’’ I - ¢
with FLEXFIT Connection .. !
ar
L ‘
Milling Head Adapter Shank  Assembly Dimensions
[ — ]
D1 H L a° d Rd° Inserts
S M12-L086-C25 25 60 116 = 25 3
ERW D015A025-3-M12-10 S V121200082 o e 230 19 3 3 ROMT 1004...
S M16-0L95-C32 32 65 125 = 32 4 RCCT 1004...
ERW D022A032-4-M16-10 S VI16.1930-030 = % 260 . 2 4
S M12-L086-C25 25 70 126 - 25 2
ERW D013A025-2-M12-12 S MIZ-1200-C32 o5 118 240 18 2 9 SO 1206
SM16-L95-C32 32 75 85 - 32 7
=R BO20A0SZ:3-I16-12 S M16-1280-G32 32 % 220 - ® 7 F;?C:V 112282
S M16-095-032 40 75 85 - 32 5
ERW D028A040-4-M16-12 A 20 % 290 i % 5

Spare Parts

S 7 / 7

ERW D015A025-3-M12-10 SR 34-506/L T-9/51
ERW D022A032-4-M16-10 SR 34-506/L T-9/51
ERW D013A025-2-M12-12 SR 14-601 BLD T15/87 SW6-T
ERW D020A032-3-M16-12 SR 14-601 BLD T15/57 SW6-T
ERW D028A040-4-M16-12 SR 14-601 BLD T15/57 SW6-T

ISCAR




ik SHRED
FRW
Rough Profiling Face Mills with

Serrated or Regular Round Inserts

99

O
DCX"  DC IC  APMX CICT® OAL DHUB DCONMS RMPX®® CSPY Arbor®  MIID® k)

N
—
.
|_
©)
<
=
LL
Q
0
ol

FRW D030A040-05-16-10 [l 30.00 10.00 5.00 5 35.00 35.00 16.00 3.0 1 A RCCT 1004MO 0.16
FRW D028A040-04-16-12 i) 28.00 12.00 6.00 4 40.00 35.00 16.00 6.5 1 A RCCT 1206MO 0.15
FRW D038A050-05-22-12 [l 38.00 12.00 6.00 5 45.00 45.00 22.00 5.0 1 A RCCT 1206MO 0.29
FRW D040A052-05-22-12 70l 40.00 12.00 6.00 5 45.00 45.00 22.00 5.0 1 A RCCT 1206MO 0.31
FRW D051A063-06-22-12 [GEI) 51.00 12.00 6.00 6 45.00 48.00 22.00 4.0 1 A RCCT 1206MO 0.46
FRW D054A066-06-27-12 ] 54.00 12.00 6.00 6 50.00 50.00 27.00 4.0 1 A RCCT 1206MO 0.54
FRW D068A080-07-27-12 [0} 68.00 12.00 6.00 7 50.00 58.50 27.00 3.0 0 B RCCT 1206MO 0.71
FRW D034A050-04-22-16 [g:elid) 34.00 16.00 8.00 4 54.00 42.00 22.00 11.0 1 A RCMT 1607MO 0.26
FRW D036A052-04-22-16 [l 36.00 16.00 8.00 4 50.00 42.00 22.00 10.0 1 A RCMT 1607MO 0.26
FRW D047A063-05-22-16 JEI) 47.00 16.00 8.00 5 45.00 48.00 22.00 7.0 1 A RCMT 1607MO 0.40
FRW D050A066-05-22-16 [EAil) 50.00 16.00 8.00 5 45.00 48.00 22.00 6.0 1 A RCMT 1607MO 0.42
FRW D050A066-05-27-16 N 50.00 16.00 8.00 5 50.00 50.00 27.00 6.0 1 A RCMT 1607MO 0.46
FRW D064A080-06-27-16 [0} 64.00 16.00 8.00 6 50.00 58.50 27.00 5.0 0 B RCMT 1607MO 0.65
FRW D084A100-07-32-16 [Emleles] 84.00 16.00 8.00 7 50.00 70.00 32.00 4.0 0 B RCMT 1607MO 1.11
FRW D109A125-07-40-16 [RPX0 R (0eN0) 16.00 8.00 7 63.00 90.00 40.00 3.0 0 B RCMT 1607MO 2.33
FRW D060A080-05-27-20 J:II(l) 60.00 20.00 10.00 5 50.00 58.50 27.00 7.0 0 B RCMT 2009MO 0.61
FRW D080A100-06-32-20 FRaloXe] 80.00 20.00 10.00 6 50.00 70.00 32.00 5.0 0 B RCMT 2009MO 0.98
FRW D105A125-07-40-20 RV X0oRmR{iX00] 20.00 10.00 7 63.00 82.00 40.00 4.0 0 B RCMT 2009MO 1.98
FRW D140A160-08-40-20 [RIcoXo o E1eXe) 20.00 10.00 8 63.00 116.00  40.00 3.0 0 C RCMT 2009MO 3.55

e For user guide, see pages 287-289

() Cutting diameter maximum

2) Number of inserts

@) Maximum ramping angle

4) 0 - Without coolant supply, 1 - With coolant supply

(8) For adaptation options, see page 548

(6) Master insert identification

For inserts, see pages: RCMT/RCCT-MO (528) ¢ RCMT/RCMW/RCCW-FW (529) « RCMW/RCCW-MO (528)

Spare Parts

» / g/ /

FRW D030A040-05-16-10 SR 34-506/L T-9/51 SR M8X25DIN912

FRW D028A040-04-16-12 SR 14-601 BLD T15/S7 SW6-T SR M8X25DIN912

FRW D038A050-05-22-12 SR 14-601 BLD T15/S7 SWe-T SR M10X25 DIN912
FRW D040A052-05-22-12 SR 14-601 BLD T15/M7 SWe-T SR M10X25 DIN912
FRW D051A063-06-22-12 SR 14-601 BLD T15/M7 SW6-T SR M10X25 DIN912
FRW D054A066-06-27-12 SR 14-601 BLD T15/M7 Swe-T

FRW D068A080-07-27-12 SR 14-601 BLD T15/M7 SWe-T

FRW D034A050-04-22-16 SR 14-536/M BLD T20/M7 SW6-T SR M10X30 DIN912
FRW D036A052-04-22-16 SR 14-536/M BLD T20/M7 SWe-T SR M10X30 DIN912
FRW D047A063-05-22-16 SR 14-536/M BLD T20/M7 SWe-T SR M10X25 DIN912
FRW D050A066-05-22-16 SR 14-536/M BLD T20/M7 SW6-T SR M10X25 DIN912
FRW D050A066-05-27-16 SR 14-536/M BLD T20/M7 SWe-T SR M12X30DIN912
FRW D064A080-06-27-16 SR 14-536/M BLD T20/M7 SW6-T

FRW D084A100-07-32-16 SR 14-536/M BLD T20/M7 SW6-T

FRW D109A125-07-40-16 SR 14-536/M BLD T20/L7 SWe-T

FRW D060A080-05-27-20 SR 14-2120@ BLD IP25/M7®) SW6-T

FRW D080A100-06-32-20 SR 14-2120@ BLD IP25/M7) SW6-T

FRW D105A125-07-40-20 SR 14-2120@ BLD IP25/L70) SWe-T

FRW D140A160-08-40-20 SR 14-2120@ BLD IP25/L70) SWe-T

@ Recommended tightening torque:9 N*m
®) Torx Plus

Member IMC Group
o=
L 4 11 ]




%)
—
.
|_
©)
<
=
LL
Q
0
ol

»

BEZIDO
H400 ER-10 oo @S } Qﬂ
Endmills Carrying Double-Sided DCONMS

@
24,

DCX L —
Inserts with Four 5 mm l @ ¢ y
Radius Cutting Edges o l<APMX 1BD

LH

OAL

O
DCX DC  BD CICT® APMX LH  OAL DCONMS Shank® RMPX“ MIID®) kol

H400 ER D20-2-060-C20-10 [rioXo/ R (oXo/o R v #:(0} 2 7.50 60.0 160.00 20.00 C - H400 RNHU 1004-ML  0.33
H400 ER D25-3-060-C25-10 [RiXo R X0 VP Ke) 3 7.50 60.0 120.00 25.00 C 5.8 H400 RNHU 1004-ML ~ 0.35

H400 ER D32-5-060-C32-10 [P Rr» X0/ RieNsl) 5 7.50 60.0 120.00 32.00 C 3.8 H400 RNHU 1004-ML ~ 0.59

() Cutting diameter maximum

2 Number of inserts

@) C-Cylindrical

4 Maximum ramping angle

) Master insert identification

For inserts, see pages: H400 RNHU (532)

Insert Clamping Orientation

Spare Parts

S 7

H400 ER-10 SR 10508600 T-9/51

Rd|

ROUND HA!D LINE
H400 ER-12 oc @ f
Endmills Carrying Double-Sided DCONMS

DCX L
Inserts with Four 6 mm

i

L

4
4,

Radius Cutting Edges o [.APMX 1BD
LH

OAL

O
DCX" DC  BD CICT® APMX LH  OAL DCONMS Shank® RMPX° MIID6! kol

H400 ER D25-2-060-C25-12 Jr X RN kX0 21.60 2 8.70 60.0 12000  25.00 C 5.6 HA400 RNHU 1205-AX  0.34
H400 ER D32-4-060-C32-12 KXV RPIXI0] 28.40 4 8.70 60.0 120.00  32.00 C 5.6 H400 RNHU 1205-AX  0.58
H400 ER D40-5-060-C32-12 VPNV 31.50 5 8.70 60.0 150.00  32.00 C 3.7 H400 RNHU 1205-AX  0.80

() Cutting diameter maximum

2 Number of inserts

() C-Cylindrical

@ Maximum ramping angle

8) Master insert identification

For inserts, see pages: H400 RNHU (532)

Spare Parts

& 7

H400 ER-12 SR 14-571 T-10/51

ISCAR



LELiDOFLEXFiT Sy
H400 ER-M % — Qﬂ
Endmills with FLEXFIT o

Threaded Connection Carrying
Double-Sided Inserts with
Four Radius Cutting Edges

Rd|

@
24,

i
TH?ZMS DCONMS

i f

OAL-

DCX"  DC DCONMS CICT® APMX LF  OAL DRVS® RMPX®® THSZMS MIID6) 7Q_30 &
H400 ER D20-2-M10-10 20.00 10.00 16.60 2 7.50 25.00 45,00 15.0 - M10 H400 RNHU 1004-ML 29 0.04
H400 ER D25-3-M12-10 25.00 15.00 21.00 3 7.50 28.00 50.00 19.0 58 M12 H400 RNHU 1004-ML 33 0.07
H400 ER D32-5-M16-10 32.00 22.00 29.60 5 7.50 35.00 60.00 25.0 3.8 M16 H400 RNHU 1004-ML 40 0.17
H400 ER D25-2-M12-12 25.00 13.00 21.60 2 8.70 28.00 50.00 19.0 5.6 M12 H400 RNHU 1205-AX 33 0.07
H400 ER D32-4-M16-12 32.00 20.00 28.40 4 8.70 35.00 60.00 25.0 56 M16 H400 RNHU 1205-AX 40 0.15
H400 ER D40-5-M16-12 40.00 28.00 29.00 5 8.70 35.00 60.00 25.0 3.7 M16 H400 RNHU 1205-AX 40 0.19

%
—
S
|_
©)
<
=
LL
Q
0
ol

¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

() Cutting diameter maximum

2 Number of inserts

@) Clamping wrench size

4 Maximum ramping angle

) Master insert identification

(6) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: H400 RNHU (532)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)e CAB M-M (FLEXFIT) (312) ® DIN69871-ODP (315) ¢ ER-ODP (315)
* HSK A-ODP (FLEXFIT) (316) ® SM (312) « S M-C-H (312) ¢ S M-CF (313)

Spare Parts

P o

H400 ER D20-2-M10-10 SR 10508600 T-9/51
H400 ER D25-3-M12-10 SR 10508600 T-9/51
H400 ER D32-5-M16-10 SR 10508600 T-9/51
H400 ER D25-2-M12-12 SR 14-571 T-10/51
H400 ER D32-4-M16-12 SR 14-571 T-10/51
H400 ER D40-5-M16-12 SR 14-571 T-10/51

Member IMC Group
o=
L 4 11 ]




»

HEL § =—DHUB
ROUND H400 LINE DCONMS‘“
H400 FR-10 — Qﬂ

®*e
X . . L
Face Mills Carrying Double-Sided ]
Inserts with Four 5 mm OAL / r
Radius Cutting Edges v
oc, || taPmx
DCX
DCX"  DC  CICT®  APMX  OAL  DHUB DCONMS RMPX°®l  Arbor MIID® &
H400 FR D040-06-16-10 40.00 30.00 6 7.50 35.00 37.60 16.00 26 A H400 RNHU 1004-ML 0.18

H400 FR D050-07-22-10 50.00 40.00 7 7.50 40.00 47.00 22.00 1.9 A H400 RNHU 1004-ML 0.33

() Cutting diameter maximum

2 Number of inserts

() Maximum ramping angle

) For adaptation options, see page 548

) Master insert identification

For inserts, see pages: H400 RNHU (532)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

Spare Parts

e 7 7
EDTN S W nE DRGSR R 0 SR 10508600  T-9/51 SR M8X25DIN912
H400 FR D050-07-22-10 SRR e SR M10X25 DIN912

HEL DO DHUB——

ROUND H400 LINE DCONMS 3%
H400 FR-12 L. Qﬂ Q @
Face Mills Carrying Double-Sided T o
Inserts with Four 6 mm } ,r
Radius Cutting Edges

(@]
DCX?  DC  CICT®  APMX  OAL  DHUB DCONMS RMPX°®  Arbor MIID® ko

H400 FR D040-05-16-12 40.00 28.00 5 8.70 40.00 38.00 16.00 3.7 A H400 RNHU 1205-AX 0.20
H400 FR D050-06-22-12 50.00 38.00 6 8.70 50.00 45.00 22.00 2.6 A H400 RNHU 1205-AX 0.39
H400 FR D052-06-22-12 52.00 40.00 6 8.70 50.00 45.00 22.00 2.5 A H400 RNHU 1205-AX 0.42
H400 FR D063-07-22-12 63.00 51.00 7 8.70 50.00 60.00 22.00 1.9 A H400 RNHU 1205-AX 0.79
H400 FR D066-07-27-12 66.00 54.00 7 8.70 50.00 61.00 27.00 1.8 A H400 RNHU 1205-AX 0.78
H400 FR D080-08-27-12 80.00 68.00 8 8.70 50.00 62.00 27.00 1.5 A H400 RNHU 1205-AX 1.03

() Cutting diameter maximum

) Number of inserts

) Maximum ramping angle

) For adaptation options, see page 548

5) Master insert identification

For inserts, see pages: H400 RNHU (532)

Insert Clamping Orientation

Spare Parts

 vesuair A

LIS DENEV IR R P SR 14-671  T-10/51 SR M8X25DIN912

H400 FR D050-06-22-12 R REETa IRV SR M10X25 DIN912
H400 FR D052-06-22-12 [ :REETARENR (V6] SR M10X25 DIN912
H400 FR D063-07-22-12 EsREE TR alVay SR M10X25 DIN912
H400 FR D066-07-27-12 ERESTA R RIVE SR M12X30DIN912
H400 FR D080-08-27-12 LY NRRVEY SR M12X30DIN912

ISCAR




»

2=l «——DHUB — =
ROUND H400 LINE DCONMS %
H400 FR-16 =5 Qﬂ @ @
Face Mills Carrying Double-Sided T -
Inserts with Four 8 mm OAL y r
Radius Cutting Edges @ L]
DCXM Lapux
Q
DCX( DC CICT® APMX  OAL  DHUB DCONMS RMPX® Arpor A5 MIID®)
H400 FR D050-05-22-16 50.00 34.00 5] 12.00 50.00 47.00 22.00 33 A 0.41 H400 RNHU 1606-AX
H400 FR D063-06-22-16 63.00 47.00 6 12.00 50.00 48.00 22.00 2.5 A 0.74 H400 RNHU 1606-AX
H400 FR D066-06-27-16 66.00 50.00 6 12.00 50.00 60.60 27.00 2.3 A 0.79 H400 RNHU 1606-AX
H400 FR D080-07-27-16 80.00 64.00 7 12.00 50.00 63.60 27.00 1.8 A 1.09 H400 RNHU 1606-AX
H400 FR D100-09-32-16 100.00 84.00 9 12.00 49.60 84.00 32.00 1.3 A 0.00 H400 RNHU 1606-AX
H400 FR D125-11-40-16 125.00 109.00 11 12.00 55.00 84.00 40.00 1.0 A 3.02 H400 RNHU 1606-AX

() Cutting diameter maximum

2 Number of inserts

) Maximum ramping angle

) For adaptation options, see page 548

) Master insert identification

For inserts, see pages: H400 RNHU (532)

Insert Clamping Orientation

Spare Parts

& / a /

H400 FR D050-05-22-16 SR 14-591/H BLD T20/M7 SW6-T SR M10X25 DIN912
H400 FR D063-06-22-16 SR 14-591/H BLD T20/M7 SW6-T SR M10X25 DIN912
H400 FR D066-06-27-16 SR 14-591/H BLD T20/M7 SW6-T SR M12X30DIN912
H400 FR D080-07-27-16 SR 14-501H BLD T20/M7 SW6-T SR M12X30DIN912
H400 FR D100-09-32-16 SR 14-591/H BLD T20/M7 SW6-T
H400 FR D125-11-40-16 SR 14-501/H BLD T20/M7 SW6-T

ML iDOFLEXFiT ‘

AN He06 LINE = OAL- Q
H606 ER-M

Endmills with FLEXFIT Threaded @—) ﬂ I T

Connection Carrying THSZMS DCONMS
Double-Sided Inserts with Six ) l

6 mm Radius Cutting Edges
Q
DCXM  DC DCONMS CICT® APMX LF  OAL DRVS® RMPX°® THSZMS TQ_3® & /

H606 ER D032-03-M16-12 [RcrAVURPII) 29.00 3 6.00 35600 60.00 250 25 M16 40 015 SR 14-571 T-10/51@

¢ When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

) Cutting diameter maximum

@ Number of inserts

() Clamping wrench size

@) Maximum ramping angle

) Tool tightening torque Nxm (Ibfxin)

(@ For limiting torque, use optional 7007383 BLD 4 T10-3.2NM blade & 7007321 HSD 4-3.2NM handle

For inserts, see pages: H606 RXCU 1206 (532)

For holders, see pages: BT-ODP (FLEXFIT) (314)  C#-ODP (FLEXFIT) (314) ¢ CAB M-M (FLEXFIT) (312) ® DIN69871-ODP (315) ¢ ER-ODP (315)
o HSK A-ODP (FLEXFIT) (316) ® SM (312) ® S M-C-H (312) ¢ S M-CF (313)

e,

Member IMC Group
o=
L 4 11 ]

N
—
.
|_
©)
<
=
LL
Q
0
ol




»

yr—
ROUND H606 LINE

H606 FR-12

=

Face Mills Carrying Double-
Sided Inserts with Six 6 mm
Radius Cutting Edges

@, 9

y

DCX(" DC cicT® APMX OAL DHUB  DCONMS  RMPX°®  Arbor &

H606 FR D040-04-16-12 40.00 28.00 4 6.00 45.00 38.00 16.00 20 A 022
H606 FR D050-06-22-12 50.00 38.00 6 6.00 50.00 47.00 22.00 1.3 A 0.38
H606 FR D052-06-22-12 52.00 40.00 6 6.00 50.00 47.00 22.00 1.3 A 0.39
H606 FR D063-07-22-12 63.00 51.00 7 6.00 50.00 48.00 22.00 1.0 A 0.52
H606 FR D080-08-27-12 80.00 68.00 8 6.00 50.00 58.00 27.00 0.7 A 0.83

() Cutting diameter maximum

2 Number of inserts

() Maximum ramping angle

4 For adaptation options, see page 548

For inserts, see pages: H606 RXCU 1206 (532)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

Spare Parts

P s s

H606 FR D040-04-16-12 SRR T-10/51@ SR PS 118-0416
H606 FR D050-06-22-12 gsiptsyal T-10/51@ SR M10X25 DIN912
G COLN G DEP R PR P SR14-571  T-10/51@ SR M10X25 DIN912
GELIN R DERE S PR P SR14-571  T-10/61@ SR M10X25 DIN912
H606 FR D080-08-27-12 SRSl T-10/51@ SR M12X30DIN912
@ For limiting torque, use optional 7007383 BLD 4 T10-3.2NM blade & 7007321 HSD 4-3.2NM handle

ISCAR




i SHRED USER GUIDE

ROUND LINE

Machining Recommendations

N
—
.
|_
©)
<
=
LL
Q
0
ol

e Excellent tool stability
e Chips split into small pieces
e Optimal chip flow with easy evacuation, even from deep cavities
e High tooth load capability, up to 8 mm depth-of-cut, which will significantly reduce machining time
e Small cutting forces, therefore the required machining power is low
7 &
RCMT 1607-FW %
Material Group Hardness (HB) Typical Materials Depth Ap (mm) | V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 C15, ST37, 1.0401 4 150 0.3 a4
Low alloy steel 170-220 CK45,1.1231,16MnCr5 4 150 0.3 /v
High alloy steel 200-260 X20Cr13,1.4923 4 150 0.3 v/
Tool & die steel 280-370 1.2379,1.2311 3 150 0.3 V4
Stainless steel 150-270 1.4404,316,321 - = = -
Grey cast iron 200-250 GG25,GRADE220 8 150-180 0.3 v/
S.G. iron 180-250 GGGE0,SNG600/3 5 110-150 0.3 v/
Titanium 450-500 TiAI4Mo4Sn4Si0.5 4 50 0.2 v/
Aluminum 75-130 G-AlSi12 = = -
Hardened die steel 38-42 HRc 1.2344,1.2379 8 120 v/
Hardened die steel VLRGP 1.2762,1.1545 - = s

0.2
7 @
RCMT 1607-FW-F20 %

Material Group Hardness (HB) | Typical Materials | Depth Ap (mm) | V¢ (m/min) | F. (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 3 150 0.3 4
Low alloy steel 170-220 CK45,1.1231,16MnCr5 - - - -
High alloy steel 200-260 X20Cr13,1.4923 - - - -
Tool & die steel 280-370 1.2379,1.2311 - - - -
Stainless steel 150-270 1.4306,304, 1.4404,316 6 100 0.1 4
Grey cast iron 200-250 GG25,GRADE220 - - - -
S.G. iron 180-250 GGGB0,SNG600/3 - - - -
Titanium 450-500 TiAl4Mo4Sn4Si0.5 - - - -
Aluminum 75-130 G-AISi12 6 850 0.4 4
Hardened die steel 38-42 HRc 1.2344,1.2379 - - - v/
Hardened die steel 48-52 HRc 1.2762,1.1545 - - - -

RCMT 1607 FW-T20
Material Group Hardness (HB)| Typical Materials Depth Ap (mm) | V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 3 150 0.3 4
Low alloy steel 170-220 CK45,1.1231,16MnCr5 3 150 0.3 4
High alloy steel 200-260 X20Cr13,1.4923 - - - -
Tool & die steel 280-370 1.2379,1.2311 - - - -
Stainless steel 150-270 1.4031, 420 6 120 0.2 4
Grey cast iron 200-250 GG25,GRADE220 - - - -
S.G. iron 180-250 GGGB0,SNG600/3 - - - -
Titanium 450-500 TiAl4M04Sn4Si0.5 - - - -
Aluminum 75-130 G-AlSi12 - - - -
RETGENET G ICES 1M 38-42 HRc 1.2344,1.2379 - - - -
RETGENET GRS I 48-52 HRc 1.2762,1.1545 - - - -

vV Most Recommended
v Second option

Member IMC Group




n
—
S
I_
©)
<
=
LL
Q
o
ol

USER GUIDE

RCCW 1607-FW

7

4

Material Group Hardness (HB) Typical Materials Depth Ap (mm) | V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 4 150 0.3 4
Low alloy steel 170-220 CK45,1.1231,16MnCr5 4 150 0.3 4
High alloy steel 200-260 X20Cr13,1.4923 4 150 0.3 4
Tool & die steel 280-370 1.2379,1.2311 4 150 0.3 4
Stainless steel 150-270 1.4404,316,321 - - - -
Grey cast iron 200-250 GG25,GRADE220 - - - -
S.G. iron 180-250 GGG60,SNG600/3 - - - -
Titanium 450-500 TiAl4Mo4Sn4Si0.5 - - - -
Aluminum 75-130 G-AlSi12 - - - -
Hardened die steel 38-42 HRc 1.2344,1.2379 4 120 0.2 v
Hardened die steel 48-52 HRc 1.2762,1.1545 - - - -
0.15
7 @
RCMW 1607-T-FW '
Material Group Hardness (HB)| Typical Materials | Depth Ap (mm)| V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 - - - -
Low alloy steel 170-220 CK45,1.1231,16MnCr5 4 150 0.3 v
High alloy steel 200-260 X20Cr13,1.4923 4 150 0.3 4
Tool & die steel 280-370 1.2379,1.2311 3 150 0.3 4

Stainless steel 150-270 1.4404,316,321 - - - -

Grey cast iron 200-250 GG25,GRADE220 5 150-180 0.3 v/
S.G. iron 180-250 GGG60,SNG600/3 & 110-150 0.3 4
Titanium 450-500 TiAl4AMo4Sn4Si0.5 - - - -
Alumnum 75-130 G-AISi12 - - - -

Hardened die steel 38-42 HRc 1.2344,1.2379 - - - -
Hardened die steel 48-52 HRc 1.2762,1.1545 - - - -
041
7z @
RCMW 1607-T-FPW
Material Group Hardness (HB)| Typical Materials Depth Ap (mm) | V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 4 150 0.3 v

Low alloy steel 170-220 CK45,1.1231,16MnCr5 4 150 0.3 4

High alloy steel 200-260 X20Cr13,1.4923 4 150 0.3 4

Tool & die steel 280-370 1.2379,1.2311 4 150 0.3 4

Stainless steel 150-270 1.4404,316,321 - - - -

Grey cast iron 200-250 GG25,GRADE220 - - - -

S.G. iron 180-250 GGGB0,SNG600/3 - - - -

Titanium 450-500 TiAl4Mo4Sn4Si0.5 - - - -

Aluminum 75-130 G-AlSi12 - - - -
Hardened die steel 38-42 HRc 1.2344,1.2379 4 120 0.25 4
Hardened die steel 48-52 HRc 1.2762,1.1545 4 80 0.1 4

vV Most Recommended
v Second option

ISCAR




Mii.SHRED

ROUND LINE

Machining Recommendations

USER GUIDE

RCMT 1607MO =
Material Group Hardness (HB)| Typical Materials | Depth Ap (mm) | V¢ (m/min) | F, (mm/tooth) | Recommended
Low carbon steel 125-180 C15,ST37,1.0401 4 180 0.3 4
Low alloy steel 170-220 CK45,1.1231,16MnCr5 4 180 0.3 4
High alloy steel 200-260 X20Cr13,1.4923 4 180 0.3 4
Tool & die steel 280-370 1.2379,1.2311 - - - -
Stainless steel 150-270 1.4031, 420 6 120 0.3 4
Grey cast iron 200-250 (GG25,GRADE220 - - - -
S.G. iron 180-250 GGG60,SNG600/3 - - - -
Titanium 450-500 TiAl4Mo4Sn4Si0.5 - - - -
Aluminum 75-130 G-AlSi12 - - - -
Hardened die steel 38-42 HRc 1.2344,1.2379 - - - -
Hardened die steel 48-52 HRc 1.2762,1.1545 - - - -
03
L.
7 -
RCMW 1607MO
Material Group Hardness (HB) Typical Materials | Depth Ap (mm)| V¢ (m/min) | F; (mm/tooth) | Recommended
Low carbon steel 125-180 (C15,ST37,1.0401 - - - -
Low alloy steel 170-220 CK45,1.1231,16MnCr5 2 180 0.7 4
High alloy steel 200-260 X20Cr13,1.4923 2 180 0.7 4
Tool & die steel 280-370 1.2379,1.2311 2 150 0.5 4
Stainless steel 150-270 1.4404,316,321 - - - -
Grey cast iron 200-250 GG25,GRADE220 2 300 0.7 4
S.G. iron 180-250 GGG60,SNGB00/3 2 220 0.5 4
Titanium 450-500 TiAl4Mo4Sn4Si0.5 - - - -
Aluminum 75-130 G-AlISi12 - - - -
Hardened die steel 38-42 HRc 1.2344,1.2379 150 0.4 v
Hardened die steel 48-52 HRc 1.2762,1.1545 - - - -

vV Most Recommended
v Second option

Member IMC Group

N
—
.
|_
©)
<
=
LL
Q
0
ol




i SHRED USER GUIDE

ROUND LINE

Feed Limit Recommendations as a Function of Overhang and Depth of Cut
Carbon and Alloy Steel Stainless Steel

L L
Overhang (mm) Overhang (mm)

%)
—
.
|_
©)
<
=
LL
Q
0
ol

4 6 8 10 ap (mm) 6 8 10 ap (mm)
2=0.30-0.40 1z=0.25-0.30 fz=0.20-0.25 fz=0.15 mm/tooth fz=0.12-0.20 fz=0.10-0.15 fz=0.07-0.12 mm/tooth

Insert Selection Guide
Insert Designation RCMT...FW RCMT...FW-T20 RCMT...FW-F20 RCCT...MO RCCW...MO

R -
RC...1206
0.15
120 Wi 20° 100
Workpiece

Positive rake face | Positive rake face Flat top face
Geometry Positive rake face with T-Land sharp edge Positive rake face with a T-Land
Alloy steel VW V V V VW
Mold steel VW V V V VW
Stainless steel VW) VW@ VW
Grey cast iron W VW
Aluminum VW W
High temp. alloys V W VW
Hardened mold steel N y

(45 HRc max)

Helical Contour Ramping Pocket
Applications Interpolation | Shouldering Milling Down Plunging Profiling Milling

() Recommended for martensitic stainless steel

2 Recommended for austenitic stainless steel

\ Least recommended

VW  Second option

VWV  Most recommended

ISCAR




S100L OI'TIIN d344 1SV

(YTl 291
| ]

FAST FEED MILLING TOOLS



P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

NANSYTEED onL
FFT3 EFM-02 LH &= Qﬂ %
Small Diameter Endmills Ly > ' vl o=
Garrying Single-Sided Triangular -~ D& SEENE @ 5 @
Inserts for Fast Feed Milling ) ¢
_ I\ APMmX Q
9\

O
Dcxm DC APMX AE? CICT® LU LH OAL DCONMS Shank RMPX“6 MDN® MDX( MIID® T L=

A= M DR R e (B2 800 220 060 29 2 17.00 200 60.00  10.00 C 10.8 1020  15.00 FFT3 TXMT 0201205T 0.5 0.03
FFT3 EFM D08-2-080-C12-02 [: X /o o Mo/ R i) 2 2600 30.0 80.00  12.00 C 10.8 1020 156,00 FFT3TXMT0201205T 0.5 0.05
el = Wk BBy (o Blek [E 2 1000 420 060 29 3 1950 200 70.00  10.00 C 47 1420 19.00 FFT3TXMT 0201205T 0.5 0.04
R =M R DB RS PR 1000 420 060 29 3 3000 330 90.00 1200 C 47 1420 19.00 FFT3 TXMT 0201205T 0.5 0.06

¢ Radius for programming 1.1 mm e To generate a straight surface without cusps, the width of cut must not exceed DC

() Cutting diameter maximum

2 Maximum plunging width

() Number of inserts

(@) C-Cylindrical

(6) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

(M) Machinable diameter maximum for interpolation

(8 Master insert identification

©) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFT3 TXMT 02 (445)

Spare Parts

S >

FFT3 EFM-02 SR M2X0.4-2.9 T6-HG® T-6/5 MAGNET 3X3

@ Recommended tightening torque:0.5 N*m

NANJFEED oA
NANO FEED MiLL

MULTI-ASTER 0o BT — T &=y
FFT3 EFM-MM 02 DCX RN O I THSZMS DCONMS N
™ =~

Small Diameter Endmills with l
a MULTI-MASTER Threaded

Adaptation Carrying Triangular
Inserts for Fast Feed Milling

O
Dcxﬂ) DC APMX AE@ CICT® LF DCONMS THSZMS OAL DRVS® RMPX°®) MDNE® MDX® MIID® Q0 A=l
800 220 060 29 2 1000 7.60 705 1675 55 108 1020 1500 FFT3TXMT0201205T 0.5 0.01
FFT3 EFMD10/.39-3MMT06-02 g [eXo R R oX: RrAe] 3 1000 970 T06 1630 8.0 47 1420 19.00 FFT3 TXMT 0201205T 0.5 0.01
e For adaptation, see pages 261 e For user guide, see pages 542-547 e Radius for programing 1.1 mm e To generate a straight surface without cusps, the width of cut
must not exceed DC

) Cutting diameter maximum
(2) Maximum plunging width

92
49,

(3 Number of inserts

@ Torque key size

(8) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

(M) Machinable diameter maximum for interpolation

(8) Master insert identification

(9) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFT3 TXMT 02 (445)

For holders, see pages: MM CAB (667) ® MM CAB-T-T (91) ¢ MM GRT (shanks) (86) ® MM S-A (stepped shanks) (84) ® MM S-A (straight shanks) (87) ¢ MM S-A-C# (86)
e MM S-A-HSK (609) ® MM S-A-N (85) ® MM S-A-SK (90) ® MM S-B (85° conical shanks) (87) ¢ MM S-D (89° conical shanks) (88) ® MM S-ER (89) ¢ MM S-ER-H (89)
o MM TS-A (86)

Spare Parts

& »

FFT3 EFM-MM 02 SR M2X0.4-2.9 T6-HG T-6/5 MAGNET 3X3

ISCAR



MICROSFEED

FFT3 EFM-03

Endmills Carrying Single-Sided
Small Trigon Inserts for

Fast Feed Milling

OAL |

=7
DCi)NMS @ Rd} @?

¥

O
DCX" DC APMX AE® CICT® LH OAL DCONMS Shank RMPX°® MDN® MDX® MIID® kol

FFT3 EFM D08-1-080-C12-03 [0/ R0 RN 0X: ) 2.2 1 200 80.00 12.00 C 1.1 11.60 1600 FFT3 WXMT 030206T 0.00

FFT3 EFM D10-2-080-C10-03 [RRIoXooR-X: /RG] 2.2 2 20.0  80.00 10.00 C 6.9 1660  19.00 FFT3 WXMT 030206T 0.11
FFT3 EFM D12-3-120-C12-03 [P0/ R4/ R XCl) 2.2 3 25.0 120.00 12.00 C 47 1960  23.00 FFT3 WXMT 030206T 0.14
FFT3 EFM D16-4-140-C16-03 [RRIcXo /R NCR0X:) 2.2 4 35.0 140.00 16.00 C 29 2760  31.00 FFT3 WXMT 030206T 0.18
FFT3 EFM D20-5-160-C20-03 [0 o XC R oX:0; 2.2 5 43.0 160.00 20.00 C 2.0 3660  39.00 FFT3 WXMT 030206T 0.37
FFT3 EFM D25-6-180-C25-03 [P oXs o) 2.2 6 53.0 180.00 25.00 C 15 4560  49.00 FFT3 WXMT 030206T 0.62

* Radius for programming 1.1 mm e To generate a straight surface without cusps, the width of cut must not exceed DC
() Cutting diameter maximum

) Maximum plunging width

(3 Number of inserts

(4) G-Cylindrical

8) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

() Machinable diameter maximum for interpolation

8 Master insert identification

For inserts, see pages: FFT3 WXMT 03 (521)

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

Spare Parts

$ 7

| FFT3 EFM-03 | TS 18041/HG® T-6IP/51

@ Recommended tightening torque:0.5 Nxm

MICROIFEED

MF 300 ENDM{LL

MULTI-MASTER

FFT3 EFM-MM 03

Endmills with a MULTI-MASTER
Threaded Adaptation Carrying
Single-Sided Small Trigon
Inserts for Fast Feed Milling

(@)
DCX DC APMX AE? CICT® LF DCONMS THSZMS OAL DRVS® RMPX°® MDN® MDX?) MIID® ko

S el S R TR U TR E k] 10.00 560 060 22 2 1000 970 TO6 1630 80 6.9 1560 19.00  FFT3 WXMT 030206T 0.02
A RS DEPTRYE]IROERRY 1200 760 060 22 3 1500 1170 T08 2250 10.0 47 19.60 23.00 FFT3 WXMT 030206T 0.03
RN DA g [ Fk] 1600 1160 060 22 4 2000 15.30 710 3130 13.0 29 2760 31.00 FFT3 WXMT 030206T  0.05
A KR DRI R VAR PERY 2000 1560 060 22 5 2500 19.00 T2 3830 16.0 2.0 3560 39.00 FFT3WXMT 030206T 0.07
e = P LTRCE R TR ERDRY 2600 2060 060 2.2 6 3000 24.00 T15  47.00 20.0 15 4560 49.00 FFT3 WXMT 030206T  0.00

e Radius for programming 1.1 mm e To generate a straight surface without cusps, the width of cut must not exceed DC

() Cutting diameter maximum

2 Maximum plunging width

3 Number of inserts

) Torque key size

6) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

() Machinable diameter maximum for interpolation

8 Master insert identification

For inserts, see pages: FFT3 WXMT 03 (521)

For holders, see pages: MM CAB (667) ® MM CAB-T-T (91) ® MM GRT (shanks) (86) ® MM S-A (stepped shanks) (84) ¢ MM S-A (straight shanks) (87)

o MM S-A-C# (86) ® MM S-A-HSK (609) ® MM S-A-N (85) ® MM S-A-SK (90) * MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88)

e MM S-ER (89) ® MM S-ER-H (89) ® MM TS-A (86)

T

| &z
:SIZMS DCOiNMS @ . Q

Spare Parts

$ %

FFT3 EFM-MM 03 TS 18041/HGE T-6IP/51

@ Recommended tightening torque: 0.5 Nxm

Member IMC Group
o=
L 4 11 ]




LOGIQLFEED

HIGH FEED MILLING

FFX4 ED | LH o | &= Qﬂ ®
Endmills Carrying Small DCX s (M5 — ! s
Double-Sided "Bone Shaped” l { | 1 DCONMS @ y @
Inserts with 4 Cutting Edges b A— M_I I}

for Fast Feed Milling LILAPMX Q /r
7w

O
Dcxm DC APMX AE? CICT® LH KAPRY OAL DCONMS RMPX°® MDN® MDX" Shank® Rg®  Mupto  Tquy ksl

39 CH-DR PR BB PROEY 1200 460 080 37 1 300 17.0  90.00 12.00 3.6 16.60  23.00 C 1.80 FFX4 XNMU 040310T 0.9 0.07
1. C N =) [EROR s [CE ] 1600 860 080 37 2 300 170 12000 16.00 43 2460 31.00 C 1.80 FFX4 XNMU 040310T 0.9 0.16
39 C ¥k CEPRO LR TPLEEY 1600 860 080 37 2 500 170 11000  20.00 43 2460 31.00 W 1.80 FFX4 XNMU 040310T 0.9 0.20
13D CR D PIE R B[ EUZ R 20.00 1260 080 37 3 500 170 14000  20.00 2.7 32.60 39.00 C 1.80 FFX4 XNMU 040310T 0.9 0.29
39, CH = PLECRO R PIEEY 2000 1260 080 3.7 3 600 170 120.00  20.00 2.7 32.60 39.00 W 1.80 FFX4 XNMU 040310T 0.9 0.24
FFX4 ED25-4-060-C25-04 JP:YutlR A R0F: R 4 600 170 15000  25.00 1.8 42.60 49.00 C 1.80 FFX4 XNMU 040310T 0.9 0.50
39, CH - PLEE BT RPLEEY 2500 17.60 080 37 4 800 170 14000  25.00 1.8 42,60 49.00 w 1.80 FFX4 XNMU 040310T 0.9 045
. CY P RELEDRIEPEEY 32.00 2460 080 37 5 8.0 170 150.00  32.00 1.2 56.60 63.00 W 1.80 FFX4 XNMU 040310T 0.9 0.80
12 CR o kPR PLRexPRLEY 3200 2460 080 37 5 1200 170 20500  32.00 1.2 56.60 63.00 C 1.80 FFX4 XNMU 040310T 0.9 1.02

¢ To generate a straight surface without cusps, the width of cut must not exceed DC
() Cutting diameter maximum

) Maximum plunging width

(3 Number of inserts

@) Tool cutting edge angle

8) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

() Machinable diameter maximum for interpolation

(8) G-Cylindrical, W-Weldon

(9) Radius for programming

(19) Master insert identification

(11) Recommended tightening torque (N*m) for insert screw
For inserts, see pages: FFX4 XNMU-04 (523)

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Spare Parts

& 7

| FFX4ED | SR M2.5X6-T7-60 T-7/51

LOGIOLFEED ‘

HIGH FEED MILLING ‘ @ ® Q
FLEXFiT ‘ f

FFX4 ED-M } THEZMS DCONMS &y Qﬂ g
Endmills with FLEXFIT Adaptation —

!

Carrying Small "Bone Shaped”
Inserts with 4 Cutting Edges

9
for Fast Feed Milling
DCX(‘) DC CICT® APMX AE® THSZMS LF OAL DCONMS RMPX°“ MDN® MDX® DRVS( Rgl® MIID®) TQ(“’)TQ_S(")%
29

FFX4 ED20/.78-3-M10-04  [PIXo0 R P B} 080 37 M10 25.00 45.00 18.00 2.7 32.60 39.00 15.0 1.80 FFX4 XNMU 040310T 0.9 0.04
42 CH-DPLYRL I B R PR 2500 1760 4 080 37 Mi2 30.00 5200 21.00 18 4260 49.00 19.0 1.80 FFX4 XNMU 040310T 0.9 33 008
FFX4 ED32/1.26-5-M16-04 [RZARPZY: RN 080 37 Mi6 35.0060.00 29.00 12 56.60 63.00 27.0 1.80 FFX4 XNMU 040310T 0.9 40 018
|39 CH=DRETA R FE R CE Y 3500 2760 5 080 37 Mi6 35.00 60.00 29.00 1.1 62.60 69.00 25.0 1.80 FFX4 XNMU 040310T 0.9 40 020
FFX4 ED42/1.65-6-M16-04 X RN R 080 37 Mi6 40.00 65.00 29.00 0.8 76.60 83.00 250 1.80 FFX4 XNMU 040310T 0.9 40 030
* To generate a straight surface without cusps, the width of cut must not exceed DC e When mounting items with FLEXFIT threaded adaptation to their holders, the mating
surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are

specified in the TQ_3 parameter

() Cutting diameter maximum

2 Number of inserts

@) Maximum plunging width

4 Maximum ramping angle

(8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

(™ Torque key size

(8) Radius for programming

) Master insert identification

(1) Recommended tightening torque (N*m) for insert screw

(1) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: FFX4 XNMU-04 (523)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)

* HSK A-ODP (FLEXFIT) (316) ® SM (312) « S M-C-H (312) * S M-CF (313)

Spare Parts

S 7

Frxa e VIR T

ISCAR




LOGIQLFEED

HIGH FEED MILLING

ryYyv.y " 1 - @
MULTI-MASTER | THSZMS DCONMS ® Q
FFX4 ED-MM ¥ i @ @ R7
Endmills with MULTI-MASTER

Adaptation Carrying Small "Bone
Shaped” Inserts with 4 Cutting
Edges for Fast Feed Milling

DCX“) DC CICT®@ APMX AE® THSZMS LF OAL DCONMS RMPX°® MDN® MDX® DRVS() MIID® TQ® Rg0 %

1600 860 2 080 37 TI0 20003175 1520 43 2460 31.00 130 FFX4XNMUO040310T 09 1.80 002
FFX4 ED20/.78-3-MMT12-04 [ROlutinPi ol 080 37 Ti2 25003830 1880 2.7 3260 39.00 150 FFX4XNMU040310T 09 1.80 0.04
FFX4 ED25/.98-4-MMT15-04 X uuisco R 080 37 T15 30.00 47.00 24.00 1.8 4260 49.00 190 FFX4XNMU040310T 09 1.80 0.14

* To generate a straight surface without cusps,the width of cut must not exceed DC

() Cutting diameter maximum

@ Number of inserts

) Maximum plunging width

@ Maximum ramping angle

(8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

™ Torque key size

(8) Master insert identification

9 Recommended tightening torque (N*m) for insert screw

(19) Radius for programming

For inserts, see pages: FFX4 XNMU-04 (523)

For holders, see pages: MM CAB-T-T (91) ® MM S-A (stepped shanks) (84) ® MM S-A (straight shanks) (87) ¢ MM S-A-C# (86) ® MM S-A-HSK (609) ¢ MM S-A-N (85)

o MM S-A-SK (90) ® MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88) ® MM S-ER (89) ® MM S-ER-H (89) ¢ MM TS-A (86)

Spare Parts

& s

[Frxa ED-MM IR 7

LOGIQLFEED

DHUB —»
HIGH FEED MILLING TDCQNMS ‘
FFX4 FD-04 =
Face Mills Carrying
"Bone Shaped” Inserts OAL
with 4 Cutting Edges for
Fast Feed Milling

®®

K

Rd]
g - 5 8

0o o il

(@]
DCX DC CICT® APMX AE® OAL DCONMS DHUB RMPX®® MDN® MDX® Arbor Rg? MIID® ko

FFX4 FD032-5-16-04 [0 (Rr2¥:l) 5 0.80 37 40.00 16.00 38.00 12 56.60  63.00 A 1.80  FFX4 XNMU 040310T  0.12
FFX4 FD040-6-16-04 [IoXs/sJAs0] 6 0.80 37 40.00 16.00 38.00 0.9 7260 79.00 1.80  FFX4 XNMU 040310T  0.23
A CRHLEPER R R 4200 34.60 6 0.80 37  40.00 16.00 38.00 08 76.60  83.00 1.80  FFX4 XNMU 040310T  0.50
49 CRH DL Sy SR B 5000 4260 7 0.80 3.7  40.00 22.00 48.00 0.7 92.60  99.00 1.80  FFX4 XNMU 040310T  0.39
FFX4 FD052-7-22-04 [0V YY) 7 0.80 37  40.00 22.00 48.00 0.7 96.60  103.00 180  FFX4 XNMU 040310T  0.44

e To generate a straight surface without cusps, the width of cut must not exceed DC

() Cutting diameter maximum

2 Number of inserts

@) Maximum plunging width

4 Maximum ramping angle

(8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

(7 Radius for programming

(8) Master insert identification

For inserts, see pages: FFX4 XNMU-04 (523)

> > > >

Spare Parts

. s / /

AR, CH D DRPRER Y SRM2.5X6-T7-60  T-7/51 SR M8X25-D11.5
ARG DEN RS [FOEN  SRM25X6-T7-60  T-7/51 SR M8X25DIN912
3 CHIEPRCES FOLY  SRM25X6-T7-60  T-7/51 SR M8X25DIN912
D CNDLEDEY VPR LN SRM2.5X6-T7-60  T-7/51 SR M10X25 DIN912
FFX4 FD052-7-22-04 ISRV RGN E/Y! SR M10X25 DIN912

Member IMC Group
o=
L 4 11 ]

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T




P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

LOGIQEFEED

HIGH FEED MILLING

FFX4 FD-08

Face Mills Carrying
"Bone Shaped” Inserts
with 4 Cutting Edges for
Fast Feed Milling

@

|
8§ &S
9

(©)]
MIID® )

FFX4 FD050-4-22-08 50.00  34.40
FFX4 FD063-5-22-08 63.00  47.40
FFX4 FD080-7-27-08 80.00  64.40
FFX4 FD100-8-32-08 100.00  84.40
FFX4 FD125-10-40-08 RPN RN

AE OAL DCONMS DHUB Rd° MDN® MDX® Arbor Rg®
4 2.00 7.8  50.00 22,00 4800 33 8440 99.00 A 4.00 FFX4 XNMU 080620  0.58
5 2.00 78 4500 22.00 4800 23 11040 125.00 A 4.00 FFX4 XNMU 080620T  0.48
7 2.00 7.8  50.00 27.00 6000 1.6 14440  159.00 B 4.00 FFX4 XNMU 080620T  0.95
8 2.00 7.8  50.00 32.00 7800 1.2 18440  199.00 B 4.00 FFX4 XNMU 080620T  1.24
10 2.00 7.8 63.00 40.00 9200 0.9 23440  249.00 B 4.00 FFX4 XNMU 080620T  2.40

e To generate a straight surface without cusps, the width of cut must not exceed DC

() Cutting diameter maximum

(2 Number of inserts

@) For interpolation

@) For interpolation

) Radius for programming

(6) Master insert identification

For inserts, see pages: FFX4 XNMU-08 (524)

Spare Parts

&

4

/

vd

FFX4 FD050-4-22-08
FFX4 FD063-5-22-08

FFX4 FD080-7-27-08
FFX4 FD100-8-32-08
FFX4 FD125-10-40-08

SR M5-14 IP20
SR M5-14 IP20
SR M5-14 IP20
SR M5-14 IP20
SR M5-14 IP20

SW6-T
SW6-T
SW6-T
SWE-T
SW6-T

BLD IP20/S7
BLD IP20/S7
BLD IP20/S7
BLD IP20/S7
BLD IP20/S7

SR PS 118-0273
SR M10X25 DIN912
SR M12X30DIN912

ISCAR




HELIOFEED

UPFEED LINE
FF EWX Fig. 1
Fast Feed Endmills Carrying
Double-Sided Inserts i
with 6 Cutting Edges Fig. 2 D%X ¥ DCO*NMS

e\ Q &
599
F

O
DCX(“ DC APMXCICT® BD LU LH OAL DCONMS Shank® RMPX*“ MDN® MDX® Fig. mipn oo ASl

0 ) Q) (R Rk Beg [ELZ R 1600 860 080 2 1490 300 - 11300 16.00 5.0 2460 31.00 2 HG00WXCU040310T 09  0.15
FF EWX D16-2-030-W16-04 [RlcX0/om:XcOmoX: ) 1490 300 - 81.00 16.00 5.0 2460  31.00 HBOO WXCU 040310T 0.9  0.10
FF EWX D16-2-050-W20-04 [R[Xe/eRR:Ncl0RoXl] 1490 50.0 - 109.00 20.00 5.0 2460  31.00 HB00 WXCU 040310T 0.9  0.19
FF EWX D16-2-070-C20-04 [RIcX0/o:X: 0 moX:1) 1490 700 - 159.00 20.00 5.0 2460  31.00 HBOO WXCU 040310T 0.9  0.28
A2 QA CEPRO LR PLELEY 16.00 860 0.80 1490 80.0 - 139.00 20.00 5.0 2460  31.00 HE00 WXCU 040310T 0.9  0.22
L3l A2 Qe PR ELE R PLEG Y 20.00 12.60 0.80 18.90 400 - 9300 20.00 4.8 32.60  39.00 HBOO WXCU 040310T 0.9  0.19
FF EWX D20-3-050-C20-04 [P0/ RePACVRN0X:() 1890 500 - 133.00 20.00 48 32.60  39.00 HBOO WXCU 040310T 09  0.28
L2 Q 2L B RO R P LB Y 20.00 12.60 0.80 1890 60.0 - 11300 20.00 4.8 32.60  39.00 HBOO WXCU 040310T 0.9  0.28
FF EWX D20-3-100-C20-04 [PIXo/oRnPACVRN0X:() 18.90 1000 - 18300 20.00 438 32.60  39.00 HB00 WXCU 040310T 0.9  0.38
L3 A1) @ PLRRER DB PLEG Y 20.00 12.60 0.80 18.90 100.0 163.00  20.00 4.8 3260  39.00 HBOO WXCU 040310T 0.9  0.31

2360 50.0 53.0 110.00 25.00
2360 60.0 63.0 145.00 25.00
23.60 80.0 83.0 140.00 25.00
23.60 120.0 123.0 206.00  25.00
23,60 120.0 123.0 180.00  25.00

A1) Qe PR LR PLELEY 2500 15.00 1.00
FF EWX D25-3-060-C25-05 [RRXuoR X0 RRE}
FF EWX D25-3-080-W25-05 [PiX0oRs R0 K0l
FF EWX D25-3-120-C25-05 [RXuimXvURmE
3 A1) @ PLEEE PLRNPLELEY 2500 15.00 1.00

5.0 40.00  49.00
5.0 40.00  49.00
5.0 40.00  49.00
5.0 40.00  49.00
5.0 40.00  49.00

HE00 WXCU 05T312T 2.0  0.34
HBOO WXCU 05T312T 2.0  0.47
HB00 WXCU 05T312T 2.0 044
HB00 WXCU 05T312T 2.0  0.66
HB00 WXCU 05T312T 2.0  0.56

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

FF EWX D32-4-040-C25-05 [rA0URvrXusRmRl) 2700 - 400 180.00 25.00 4.0 5400  63.00 HBOO WXCU 05T312T 2.0  0.63
A1) Q kP2 BN LR PLELEY 32.00 22.00 1.00 27.00 60.0 63.0 12000 25.00 4.0 5400  63.00 HB00 WXCU 05T312T 2.0 043
3 ) QP2 EL IR E RS 32.00 22.00 1.00 2700 - 630 12500 32.00 4.0 5400  63.00 HBOO WXCU 05T312T 2.0  0.64
FF EWX D32-4-070-C32-05 [RPAVORZA VRN K1) 30.60 70.0 73.0 15500 32.00 4.0 5400 63.00 HB00 WXCU 05T312T 2.0  0.81
A2 x PR S DR PLEEY 32.00 22.00 1.00 27.00 - 100.0 160.00  25.00 4.0 5400  63.00 HBOO WXCU 05T312T 2.0  0.60

3 A1) Qo kP2 B [WOREPELEY 32.00 22,00 1.00
FF EWX D32-4-120-C32-05 [RZ AR ZX0 VRNVl
A QO kPR B ELRNEPELEY 32.00 22,00 1.00

30.60 100.0 103.0 165.00  32.00
30.60 120.0 123.0 205.00  32.00
30.60 150.0 153.0 215,00  32.00

4.0 5400  63.00
4.0 5400 63.00
4.0 5400  63.00

HB00 WXCU 05T312T 2.0  0.84
HE00 WXCU 05T312T 2.0  1.06
HB00 WXCU 05T312T 2.0  1.08

FF EWX D40-5-L50-C32-05 [EOXVURXudmRI} 3400 - 50.0 250.00 32.00 2.8 70.00  79.00 HBOO WXCU 05T312T 2.0  1.40
3 A1) @ L LECECT Blex P20 I8 40.00 30.00 1.00 3400 - 500 15000 32.00 2.8 70.00  79.00 HB00 WXCU 05T312T 2.0  0.85
FF EWX D40-5-060-W32-05 JEIXVUR<IXUORRRI0 3400 - 60.0 125.00 32.00 2.8 70.00  79.00 HBOO WXCU 05T312T 20  0.72

3 A ) @ 2L ECE- L RN Z T B EY 40.00 30.00 1.00
LA QR PAEL I B E P28 32.00 19.00 1.50
FF EWX D32-3-070-C32-07 200N X0oRN )
FF EWX D32-3-100-W32-07 e imlXiimuR}
33 3D Qo kIS PLRex Ry @ 32.00 19.00 1.50 30.70 120.0 123.0 205.00  32.00 6.3 51.00  63.00 H600 WXCU 070515T 4.8  0.99
FF EWX D40-4-S50-C32-07 [l dgpigesmie 50.0 522 150.00 32.00 42 77.00  79.00 H600 WXCU 070515T 48  0.84

e For machining recommendations and radius for programming, see table on page 522 e To generate a straight surface without cusps, the width of cut must not exceed DC

* For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

() G-Cylindrical, W-Weldon

@ Maximum ramping angle

(8) For interpolation

() For interpolation

(8) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: H600 WXCU (522)

38.60 200.0 203.0 275.00  40.00
30.70 60.0 63.0 125.00 32.00
30.70 70.0 73.0 15600 32.00
30.70 100.0 103.0 165.00  32.00

2.8 70.00  79.00
6.3 51.00  63.00
6.3 51.00  63.00
6.3 51.00  63.00

HB00 WXCU 05T312T 2.0  2.08
H600 WXCU 070515T 4.8 0.60
HB00 WXCU 070515T 4.8  0.76
HBOO WXCU 070515T 4.8  0.78

W WwWw oo s AR DS DD DD OWODWMWWWW LN NN
OO0O=ZTO=T=ZT=Z0OO0O=ZTO0O=T=ZTO0O=T=ZTO0O=ZT0O=TO0O=T=ZT0=T0=T=Z0==0
N I N R N T N N N N I R O O R R O R OO SR RN

~

Spare Parts

P % / 7

FF EWX D...-04 SR M2.5X6-T7-60 T-7/51
FF EWX D...-05 SR 10508600 T-9/51
FF EWX D...-07 SR 34-535-SN BLD T15/87 SW6-T-SH

Member IMC Group
o=
L 4 11 ]




HEr JOFEEDFLEX T

UPFEED LINE

FF EWX-M

Fast Feed Endmills with
FLEXFIT Threaded Connection
Carrying Double-Sided Inserts
with 6 Cutting Edges

&=
OE

@4

O
DCX" DC APMX CICT® LF OAL THSZMS RMPX°® MDN® MDX® DRVS® MIID® Q9 TQ 39
0.9 29

A2 PLER R OEDEY 20.00 1260  0.80 3 2500 45.00 M10 4.8 3260  39.00 16.0  HB00 WXCU 040310HP 0.05
A LR TR PROEY 2500 1760 080 4 3000 52.00 M12 3.3 4260  49.00 19.0  H600 WXCU 040310HP 0.9 33 0.09
Ll D@ PIERR I EPRIY 2500 1500  1.00 3 3000 52.00 M12 5.0 4000  49.00 19.0 HB0O WXCU 05T312T 2.0 33 0.09
) QPR R EROLY 3200 2200 1.00 4 35600 60.00 M16 4.0 5400 6300  25.0 HBOO WXCU 05T312T 2.0 40 0.17
AN REEER REIY 3500 2500 1.00 4 3500 60.00 M16 35 60.00 69.00 250 HB00 WXCU 05T312T 2.0 40 0.19
AL IR TR ROLY  40.00 3000 1.00 5  40.00 65.00 M16 2.8 7000 7900  25.0 HBOO WXCU 05T312T 2.0 40 0.26
A D QR PER R g 3200 19.00  1.50 3 3500 60.00 M16 6.3 51.00 6300 250 H600WXCUO070515HP 4.8 40 0.16
A Q LR TRyl 4000 2700 1.50 4 4000 65.00 M16 4.2 67.00 7900 250  H600WXCUOQ70515HP 4.8 40 0.24

* For machining recommendations and radius for programming, see table on page 522 ¢ To generate a straight surface without cusps, the width of cut must not exceed DC
* For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

() Maximum ramping angle

4 Machinable diameter minimum for interpolation

(8) Machinable diameter maximum for interpolation

(6) Clamping wrench size

) Master insert identification

8 Recommended tightening torque (N*m) for insert screw

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: H600 WXCU (522)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ¢ ER-ODP (315)
e HSK A-ODP (FLEXFIT) (316) ® SM (312) ¢ S M-C-H (312) « S M-CF (313)

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Spare Parts

& Y / y,

FF EWX D20-3-M10-04 SR M2.5X6-T7-60 T-7/51
FF EWX D25-4-M12-04 SR M2.5X6-T7-60 T-7/51
FF EWX D25-3-M12-05 SR 10508600 T-9/51
FF EWX D32-4-M16-05 SR 10508600 T-9/51
FF EWX D35-4-M16-05 SR 10608600 T-9/51
FF EWX D40-5-M16-05 SR 10508600 T-9/51
FF EWX D32-3-M16-07 SR 34-535-SN BLD T15/87 SW6-T-SH
FF EWX D40-4-M16-07 SR 34-535-SN BLD T15/87 SW6-T-SH

ISCAR




y z
U‘f::?.fm! EED DRVS THSZMS ®
MULTI-MASTER g mwfm |

FF EWX-MM e & &) @‘?
Fast Feed Endmills with i

MULTI-MASTER Threaded aewx |\

Connection Carrying Double-Sided | LF — Q
Inserts with 6 Cutting Edges OAL

O
DCX" DC APMX CICT® THSZMS LF OAL DCONMS DRVS® TQ® RMPX“6 MDN® MDX? MIID® kol

A2 QR R e R 2y 16,00 860  0.80 2 T10 19.560 31.25 15.20 12.0 0.9 5.0 2460 31.00 HB00 WXCU 040310HP 0.02
1D QP LBE e PR Y 2000 1260 0.80 T2 25.00 38.80 18.80 15.0 09 48 32.60 39.00 HG00WXCU 040310HP 0.05
1S ) QPSR R Y 2500 17.60 0.80 T15 30.00 47.00 23.90 19.0 0.9 3.3 42.60 49.00 HB00 WXCU 040310HP 0.10
LD PAERE TR B 2500 1500 1.00 T15 30.00 47.00 23.90 19.0 2.0 5.0 40.00 49.00 HB00 WXCU 05T312T  0.09

® For machining recommendations and radius for programming, see table on page 522 e Do not apply lubricant to the MULTI-MASTER threaded connection.

e To generate a straight surface without cusps, the width of cut must not exceed DC e For adaptation options, see page 261

* For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

@) Width across flats (wrench should be ordered separately)

4 Recommended tightening torque (N*m) for insert screw

6) Maximum ramping angle

) For interpolation

() For interpolation

8 Master insert identification

For inserts, see pages: H600 WXCU (522)

For holders, see pages: MM S-A (stepped shanks) (84) ¢ MM S-A (straight shanks) (87) ¢ MM S-A-C# (86) ® MM S-A-HSK (609) ¢ MM S-A-N (85) ® MM S-A-SK (90)

* MM S-B (85° conical shanks) (87) ® MM S-D (89° conical shanks) (88) ¢ MM S-ER (89) ¢ MM S-ER-H (89) « MM TS-A (86)

w &~

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

Spare Parts

P o

FF EWX D16-2-MMT10-04 SR M2.5X6-T7-60 T-7/51
FF EWX D20-3-MMT12-04 SR M2.5X6-T7-60 T-7/51
FF EWX D25-4-MMT15-04 SR M2.5X6-T7-60 T-7/51
FF EWX D25-3-MMT15-05 SR 10508600 T-9/51

HELIOFEED

UPFEED LINE
MF EWX Fig. 1 —
Moderate Feed Endmills 30° P g
Carrying Double-Sided Inserts P

&=
SIS
with 6 Cutting Edges Fig. 2 D?X Dﬁ Dco:NMS
APMX_|l. _ BD| ,r
LU—

OAL

Dcxm DC APMX CICT® LU LH OAL DCONMS Shank® BD RMPX°® MDN® MDX® Fig. MIID® Q0 @
0.9

MF EWX D16-2-040-W20-04 R0/ RcXo VR F:0] 2 400 47.0 99.00  20.00 1490 38 256,00 31.00 HB00 WXCU 040310T 0.16
MF EWX D20-3-050-C20-04 Rl mmEXvRmEs] 50.0 52.7 134.00  20.00 1890 24 33.00  39.00 HB00 WXCU 040310T 0.9 0.24
' A) @ LR EITRPL BT Y 20.00 13.00 1.50 500 52.7 104.00  20.00 1890 24 33.00 39.00 HB00 WXCU 040310T 0.9 0.18
' [ ') @ PLE RO RTPLEEY 2500 1550 2.00 60.0 63.0 120.00  25.00 2360 3.0 40.50  49.00 H600 WXCU 06T312T 2.0 0.33
[ A) Qo kPR RTEPEVER 32,00 2250 2.00 80.0 83.0 145.00  32.00 3060 1.9 5450  63.00 HB00 WXCU 06T312T 2.0 0.70
VA QR PR R Bex PRy @ 3200 19.70 270 80.0 83.0 165.00 32.00 30.70 3.0 51.70  63.00 HB00 WXCU 070515T 4.8  0.80
[ ) QP BB IR KPRy e 3200 19.70 2.70 80.0 83.0 145.00  32.00 3070 3.0 51.70  63.00 H600 WXCU 070515T 4.8 0.70
MF EWX D40-4-090-C32-07 [l PN IrN() 90.0 92.0 190.00 32.00 36.80 20 67.70  79.00 HB00 WXCU 070515T 4.8 1.16

e For machining recommendations and radius for programming, see table on page 522 e To generate a straight surface without cusps, the width of cut must not exceed DC

* For user guide, see pages 542-547

() Cutting diameter maximum

) Number of inserts

@) C-Cylindrical, W-Weldon

4 Maximum ramping angle

) For interpolation

() For interpolation

) Master insert identification

8 Recommended tightening torque (N*m) for insert screw

For inserts, see pages: H600 WXCU (522)

Sl w bW w
O=0===0=
O I O OO ORI

Spare Parts

& / / z

MF EWX D16-2-040-W20-04 SR M2.5X6-T7-60 T-7/51
MF EWX D20-3-050-C20-04 SR M2.5X6-T7-60 T-7/51
MF EWX D20-3-050-W20-04 SR M2.5X6-T7-60 T-7/51
MF EWX D25-3-060-W25-05 SR 10508600 T-9/51
MF EWX D32-4-080-W32-05 SR 10508600 T-9/51
MF EWX D32-3-080-C32-07 SR 34-535-SN BLD T15/87 SW6-T-SH
MF EWX D32-3-080-W32-07 SR 34-535-SN BLD T15/57 SW6-T-SH
MF EWX D40-4-090-C32-07 SR 34-535-SN BLD T15/57 SW6-T-SH

Member IMC Group
o=
L 4 11 ]




HEs JOFEEDFLEXFT

UPFEED LINE

MF EWX-M

Moderate Feed Endmills with
FLEXFIT Threaded Connection
Carrying Double-Sided Inserts
with 6 Cutting Edges

)
SIS
F

&

i/

O
DCX" DC APMX CICT® LF OAL THSZMS DRVS® RMPX®“ MDN® MDX® MIID® Q9 TQ 39
0.9 29

AN QrPLE B R ELEY 2000 1300  1.50 3 28.00 48.00 M10 14.0 2.4 33.00 39.00  HBOOWXCU 040310T 0.05
MF EWX D25-4-M12-04 Jrxo R X0 R K] 4 32.00 54.00 M12 17.0 1.7 4300  49.00  HGB0OWXCU 040310T 0.9 33 0.09
MF EWX D25-3-M12-05 [0/ R IsXs X 0] 3 30.00 52.00 M12 17.0 3.0 4050  49.00  HB00 WXCU 05T312T 2.0 33 0.07
A QPR E TR ELY 3200 2250 200 4 35.00 60.00 M16 24.0 1.9 5450  63.00  HBOOWXCU05T312T 2.0 40 0.16
|l D Qo EPE< B CErd 3200 1970 2.70 3 35.00 60.00 M16 24.0 3.0 51.70  63.00 HBOO WXCU 070515HP 4.8 40 0.15

e For machining recommendations and radius for programming, see table on page 522 e To generate a straight surface without cusps, the width of cut must not exceed DC
e For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

@) Clamping wrench size

@ Maximum ramping angle

(6 For interpolation

() For interpolation

M) Master insert identification

8 Recommended tightening torque (N*m) for insert screw

) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: H600 WXCU (522)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312)  DIN69871-ODP (315) ® ER-ODP (315)
e HSK A-ODP (FLEXFIT) (316) ® SM (312) ¢ S M-C-H (312) « S M-CF (313)

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Spare Parts

& s / g

MF EWX D20-3-M10-04 SR M2.5X6-T7-60 T-7/51
MF EWX D25-4-M12-04 SR M2.5X6-T7-60 T-7/51
MF EWX D25-3-M12-05 SR 10508600 T-9/51
MF EWX D32-4-M16-05 SR 10508600 T-9/51
MF EWX D32-3-M16-07 SR 34-535-SN BLD T15/87 SW6-T-SH

miniFEED

OAL
FFQ4 D-W-09 0 ' Q Qﬂ

=7
Fast Feed Endmills Carrying R
Single-Sided Inserts with T ® @ 7

4 Cutting Edges RO Df DCONMS =
T LAPMX
O
DCX(" APMX AE@ CICT® LU LH DCONMS OAL RMPX°® MDN® MDX® MIID® TQ® ko]
FFQ4 D022-2-044-W20-09 22.00 1.20 741 2 - 44.0 20.00 94.00 8.2 2970  43.00 FFQ4 SOMT090412T 2.0 0.19
FFQ4 D025-3-050-W25-09 25.00 1.20 741 3 ° 50.0 25.00 110.00 55 3570  49.00 FFQ4 SOMT 090412T 2.0 0.25
FFQ4 D032-4-064-W25-09 32.00 1.20 741 4 - 64.0 25.00 120.00 32 4970  63.00 FFQ4 SOMT090412T 2.0 0.50
FFQ4 D035-5-070-W32-09 35.00 1.20 71 5 68.50 70.0 32.00 130.00 2.7 5570  69.00 FFQ4 SOMT 090412T 2.0 0.70

¢ To generate a straight surface without cusps, the width of cut must not exceed DC e Radius for programming: for insert SOMT 2.5 mm, for insert SOMW 3 mm
* When mounting insert SOMW, APMX=1.0 mm e For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 50%
e For user guide, see pages 542-547

() Cutting diameter maximum

(2 Maximum plunging width

@) Number of inserts

(4 Maximum ramping angle

8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

(M) Master insert identification

(8) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFQ4 SOMT/W 0904 (517)

Spare Parts

& b

FFQ4 9 SR M3X0.5-L7.4 IP9@ IP-9/151

() Recommended tightening torque:2.0 N*m

ISCAR




wiidJFEED ‘ oA
(SR | ~S—

FFQ4 D-M-09

Fast Feed Endmills with

FLEXFIT Threaded Adaptation DCX DG

T
m THéZMS DCONMS ® @ /1
Carrying Single-Sided Inserts i J|_|u-|| '

with 4 Cutting Edges l \@ @? ,r
| LAPMX DRVS

O
DC DCX(" APMX AE® CICT® LF OAL DCONMS THSZMS RMPX*¥ MDN® MDX® DRVS®  MID®  TQ9 Tq 3t A=

e Z I PP R PR R E0] 7.70 2200 120 7.1 2 2500 45.00 18.00 M10 8.2 2070 4300 150 FFQ4 SOMT 090412T 2.0 29 0.04

FFQ4 D025-02-M12-09 Rl RPN Al 2 30.00 52.00  21.00 M12 5.5 3570 49.00 17.0 FFQ4 SOMT 090412T 2.0 33 0.05
e LR IPLEORE R PRLER 1070 25.00 120 7.1 3 30.00 52.00  21.00 M12 55 3570 49.00 17.0 FFQ4 SOMT 090412T 2.0 33 007
(LMo R PROEE IRROE] 17.70 3200 120 7.1 3 356.00 60.00 29.00 M16 32 4970 6300 250 FFQ4 SOMT090412T 2.0 40 014
e Z R LEPRER R RO] 17.70 3200 120 7.1 4 3600 60.00 29.00 M16 32 4970 6300 250 FFQ4 SOMT 090412T 2.0 40 014
FFQ4 D035-05-M16-09 PR JUmm PRl 5 356.00 60.00 29.00 M16 2.7 5570 69.00 250 FFQ4 SOMT 090412T 2.0 40 016
S Se LR L E RO IR B RN 25,70 40.00 120 7.1 5 3500 60.00 29.00 M16 2.0 65.70 79.00 250 FFQ4 SOMT 090412T 2.0 40 018

¢ To generate a straight surface without cusps, the width of cut must not exceed DC ¢ Radius for programming: for insert SOMT 2.5 mm, for insert SOMW 3 mm
* When mounting insert SOMW, APMX=1.0 mm e For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 50%
* For user guide, see pages 542-547

() Cutting diameter maximum

2 Maximum plunging width

() Number of inserts

@ Maximum ramping angle

(8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

(™ Torque key size

(8 Master insert identification

©) Recommended tightening torque (N*m) for insert screw

(10) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: FFQ4 SOMT/W 0904 (517)

For holders, see pages: BT-ODP (FLEXFIT) (314) e C#-ODP (FLEXFIT) (314) ¢ CAB M-M (FLEXFIT) (312) ¢ DIN69871-ODP (315) ® ER-ODP (315)

o HSK A-ODP (FLEXFIT) (316)  SM (312) S M-C-H (312) » S M-CF (313)

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

Spare Parts

S /

FFQ4 D-M-09 SR M3X0.5-L7.4 IP9@ IP-9/151

@ Recommended tightening torque:2.0 N*m

wiiLidfFEED

FFQ4 D-09

Fast Feed Face Mills
Carrying Single-Sided Inserts
with 4 Cutting Edges

Rd1
VIEING
Sily

O
Designation DC DCX() APMX AE@ CICT® OAL DCONMS DHUB RMPX°® MDN® MDX® Arbor MIID® TQ® @

eV 2 LEOEES (Rl 2570  40.00 1.20 74 5 35.00 16.00 38.00 20 65.70  79.00 A FFQ4 SOMT 0904121 20 017
FFQ4 D50-07-22-09 [RiN(R-X) 1.20 74 7 40.00 22.00 48.00 1.5 856.70  99.00 A FFQ4 SOMT 090412T 20 036
FFQ4 D52-07-22-09 [IA(N:7X1) 1.20 74 7 40.00 22.00 48.00 14 89.70  103.00 A FFQ4 SOMT 0904121 20 034
FFQ4 D63-08-22-09 [EIN (RN 1.20 71 8 45.00 22.00 48.00 11 11170 125.00 A FFQ4 SOMT 0904127 20 049

¢ To generate a straight surface without cusps, the width of cut must not exceed DC ¢ Radius for programming: for insert SOMT 2.5 mm, for insert SOMW 3 mm

* When mounting insert SOMW, APMX=1.0 mm e For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 50%

e For user guide, see pages 542-547

() Cutting diameter maximum

) Maximum plunging width

3 Number of inserts

@) Maximum ramping angle

(8) Machinable diameter minimum for interpolation

(6) Machinable diameter maximum for interpolation

) Master insert identification

8 Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFQ4 SOMT/W 0904 (517)

Spare Parts

P o 7

e Z T RO TR RO SR M3X0.5-L7.4 P98 IP-9/151 SR M8X25DIN912

FFQ4 D50-07-22-09 SR M3X0.5-L7.4 IP9@  IP-9/151 SR M10X25 DIN912

FFQ4 D52-07-22-09 SR M3X0.5-L7.4 IP9@  |P-9/151 SR M10X25 DIN912

e LR R E R PN SR M3X0.5-L7.4 1P9@  |P-9/1561 SR M10X30 DIN912
(@ Recommended tightening torque:2.0 N*m

Member IMC Group
o=
L 4 11 ]




wiLidlFEED

FFQ4 D-12

Fast Feed Face Mills
Carrying Single-Sided Inserts
with 4 Cutting Edges

+—DHUB —
DCONMS

®
Y

S

%
&
r

e
®

O
DC DCX" APMX AE® CICT® OAL DHUB DCONMS Arbor RMPX°® MDNE® MDX® MIID? oo =1
FFQ4 D040-3-16-12 18.00  40.00 1.50 10.0 3 4500 38.00 16.00 A 43 5800  79.00 FFQ4 SOMT 120516HP 4.8 0.23
FFQ4 D040-4-16-12 18.00  40.00 1.50 10.0 4 4500 38.00 16.00 A 43 5800  79.00 FFQ4 SOMT 120516HP 4.8 0.22
FFQ4 D050-4-22-12 2800 50.00 1.50 10.0 4 50.00 48.00 22.00 A 2.7 7800 99.00 FFQ4 SOMT 120516HP 4.8 0.38
FFQ4 D050-5-22-12 28.00  50.00 1.50 10.0 ) 50.00 48.00 22.00 A 2.7 7800  99.00 FFQ4 SOMT 120516HP 4.8 0.37
FFQ4 D052-5-22-12 2900  52.00 1.50 10.0 5 50.00  48.00 22.00 A 25 81.00 103.00 FFQ4 SOMT 120516HP 4.8  0.39
FFQ4 D063-6-22-12 4100 63.00 1.50 10.0 6 50.00 48.00 22.00 A 1.8 104.00 125.00 FFQ4 SOMT 120516HP 4.8  0.50
FFQ4 D066-6-27-12 43.00  66.00 1.50 10.0 6 50.00 60.00 27.00 A 1.6 109.00 131.00 FFQ4 SOMT 120516HP 4.8  0.65
FFQ4 D080-7-27-12 5800  80.00 1.50 10.0 7 50.00 60.00 27.00 A 12 138.00 159.00 FFQ4 SOMT 120516HP 4.8 0.84
FFQ4 D100-8-32-12 78.00 100.00 1.50 10.0 8 50.00 78.00 32.00 B 09 178.00 199.00 FFQ4 SOMT 120516HP 4.8  1.30
3ol R LIS RV To PSP 103.00 125.00 1.50 10.0 10 63.00 92.00 40.00 B 0.7 22800 249.00 FFQ4 SOMT 120516HP 48 217

¢ To generate a straight surface without cusps, the width of cut must not exceed DC e Radius for programming: for insert SOMT 3 mm, for insert SOMW 4 mm
¢ When mounting insert SOMW, APMX=1.2 mm e For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 50%
® For user guide, see pages 542-547

() Cutting diameter maximum

@) Maximum plunging width

@) Number of inserts

@) Maximum ramping angle

8) Machinable diameter minimum for interpolation

(8) Machinable diameter maximum for interpolation

(7 Master insert identification

(8 Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFQ4 SOMT/W 1205 (518)

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Spare Parts

£ s/ / s

FFQ4 D040-3-16-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/87 SR PS 118-0416
FFQ4 D040-4-16-12 SR M4X0.7-L9.6 IP15 SWe-T BLD IP15/87 SR PS 118-0416
FFQ4 D050-4-22-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/S7 SR M10X35 DIN912

FFQ4 D050-5-22-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/57 SR M10X35 DIN912

FFQ4 D052-5-22-12 SR M4X0.7-L9.6 IP15 SWe-T BLD IP15/87 SR M10X35 DIN912

FFQ4 D063-6-22-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/S7 SR M10X35 DIN912

FFQ4 D066-6-27-12 SR M4X0.7-L9.6 IP15 SWe6-T BLD IP15/57 SR M12X30DIN912

FFQ4 D080-7-27-12 SR M4X0.7-L9.6 IP15 SWe-T BLD IP15/87 SR M12X30DIN912

FFQ4 D100-8-32-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/87

FFQ4 D125-10-40-12 SR M4X0.7-L9.6 IP15 SW6-T BLD IP15/S7

ISCAR




wiLidlFEED

FFQ4 D-17

Fast Feed Face Mills
Carrying Single-Sided Inserts
with 4 Cutting Edges

®9Y

O
Dcxﬁ) DC APMX AE? CICT® OAL DCONMS Da DHUB RMPX°“ MDN® MDX® CSP? Arbor MIID® oo A5

e ZaLE SR AL bl 80.00 50.80 300 146 6 5000 27.00 27.00 60.00 1.2 130.80 159.00 1 A FFQ4 SOMT 170625T 9.0 0.78
R DRy E<PRA Pl 100.00 7080 300 14.6 7 5000 3200 3200 78.00 038 170.80 199.00 1 A FFQ4 SOMT 1706257 9.0 1.18
e DR PLEOEEE I Wl 12500 95.80 300 146 8 6300 40.00 4000 92.00 06 22080 249.00 1 B FFQ4 SOMT 170625T 9.0 248
RIS (VR Pl 160.00 130.80 3.00  14.6 10 6300 4000  40.00 95.00 02 29080 31900 O C  FFQ4 SOMT 170625T 9.0 290

¢ To generate a straight surface without cusps, the width of cut must not exceed DC ¢ Radius for programming: for insert SOMT 5.5 mm, for insert SOMW 6.4 mm
* When mounting insert SOMW, APMX=2.5 mm e For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 50%
* For user guide, see pages 542-547

() Cutting diameter maximum

2 Maximum plunging width

() Number of inserts

4 Maximum ramping angle

(5) Machinable diameter minimum for interpolation

6) Machinable diameter maximum for interpolation

(™ 0 - Without coolant supply, 1 - With coolant supply

8 Master insert identification

©) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FFQ4 SOMT/W 1706 (519)

Spare Parts

» a / /

FFQ4 D080-06-27-17 SR M5-14 IP20 SW6-T BLD IP20/S7 SR M12X30DIN912
FFQ4 D100-07-32-17 SR M5-14 1P20 SW6-T BLD IP20/S7 SR M16X30 DIN912
FFQ4 D125-08-40-17 SR M5-14 IP20 SW6-T BLD IP20/S7
FFQ4 D160-10-40-17 SR M5-14 IP20 SW6-T BLD IP20/S7

NEOFEED BTN
FFQ8-12 DCONMS &= @ ®
Fast Feed Face Mills Carrying T ‘ R
Double-Sided Inserts OAL APMX % @ %#
with 8 Cutting Edges
‘o 7)12.; @ ’r
o !

O
DC  DCX" APMX CICT® OAL DHUB DCONMS Arbor RMPX®® MDN® MDX® MIID® kol

FFQ8 D050-05-22-12 30.60 50.00 1.50 5 40.00 48.00 22.00 A 0.3 80.60 99.00  FFQ8 SZMU 120520 0.46
FFQ8 D063-06-22-12 43.60 63.00 1.50 6 40.00 48.00 22.00 A 02 106.60 125,00  FFQ8 SZMU 120520 0.94
FFQ8 D080-07-27-12 60.60 80.00 1.50 7 50.00 60.00 27.00 A 0.2 14060  159.00  FFQ8 SZMU 120520 1.98
FFQ8 D100-08-32-12 80.60 100.00 1.50 8 50.00 78.00 32.00 B 0.1 180.60  199.00  FFQ8 SZMU 120520 3.03

¢ Radius for programming 3.6 mm e For user guide, see pages 542-547 e To generate a straight surface without cusps, the width of cut must not exceed DC

* For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 30%.

() Cutting diameter maximum

) Number of inserts

3 Maximum ramping angle

@) Machinable diameter minimum for interpolation

8) Machinable diameter maximum for interpolation

(6) Master insert identification

For inserts, see pages: FFQ8 SZMU (520)

Spare Parts

& / a /

FFQ8 D050-05-22-12 SR M4X0.7-L11.5 IP15 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
FFQ8 D063-06-22-12 SR M4X0.7-L11.5 IP15 BLD IP15/87 SW6-T-SH SR M10X25 DIN912
FFQ8 D080-07-27-12 SR M4X0.7-L11.5 IP15 BLD IP15/87 SW6-T-SH SR M12X30DIN912
FFQ8 D100-08-32-12 SR M4X0.7-L11.5 IP15 BLD IP15/M7 SW6-T-SH

Member IMC Group
o=
L 4 11 ]

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T




NEOFEED ~ DB -

HIGH FEED LINE DCONMS
MFQ8-12 = &= % 4&‘
Moderate Feed Face Mills
Carrying Double-Sided Inserts OAL ‘ APMX
with 8 Cutting Edges 4 l?
Sl
DC —»! L
DCX
DC DCX( APMX cicTa OAL DHUB  DCONMS  Arbor MIID®) %
MFQ8 D050-05-22-12 31.60 50.00 3.00 5 40.00 48.00 22.00 A FFQ8 SZMU 120520 0.44
MFQ8 D063-06-22-12 44.60 63.00 3.00 6 40.00 48.00 22.00 A FFQ8 SZMU 120520 0.84
MFQ8 D080-07-27-12 61.60 80.00 3.00 7 50.00 60.00 27.00 A FFQ8 SZMU 120520 1.84
MFQ8 D100-08-32-12 81.60 100.00 3.00 8 50.00 78.00 32.00 B FFQ8 SZMU 120520 2.95

¢ Radius for programming 5.0 mm e For user guide, see pages 542-547 ¢ To generate a straight surface without cusps, the width of cut must not exceed DC
* For slot milling or machining with high tool overhang, the maximum depth of cut should be reduced by 30%.

() Cutting diameter maximum

@ Number of inserts

() Master insert identification

For inserts, see pages: FFQ8 SZMU (520)

Spare Parts

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

$ / a /

MFQ8 D050-05-22-12 SR M4X0.7-L11.5 P15 BLD IP15/S7 SW6-T-SH SR M10X40-1638
MFQ8 D063-06-22-12 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DINg12
MFQ8 D080-07-27-12 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T-SH SR M12X30DIN912
MFQ8 D100-08-32-12 SR M4X0.7-L11.5 IP15 BLD IP15/M7 SW6-T-SH
FEEDinii.i. 1
FF EW - ] I 1 &= S Q
Fast Feed Endmills with AR PN e Gk o B G G DCOJ““"S =
FF WOMT... Inserts B — & & S
|l apvx | Tor
. ,;F
OAL
DCX" DC APMX CICT® LH LU OAL DF DCONMS Shank® RMPX°® TQ®  MID® @]
FF EW D25-050-W25-06-C [0 Ik K0] 1.30 2 53.0 - 118.00 - 25.00 W 5.0 2.0 FF WOMT0602 0.37
FF EW D25-080-C25-06-C [P0 IRk R0 OR. Ko 2 83.0 - 180.00 - 25.00 © 5.0 20  FFWOMT0802  0.58
FF EW D25-080-W25-06-C [X0 /R b K00} 1.30 2 83.0 - 148.00 - 25.00 W 5.0 2.0 FF WOMT0602 0.46
FF EW D25-120-C24-06-C [P0 IR kRO Ko 2 1214 - 22000 - 24,00 c 5.0 20  FFWOMT0802  0.68
FF EW D32-060-W25-06-C [0l Y00} 1.30 3 63.0 - 128.00  30.40 25.00 W 4.0 2.0 FF WOMT0602 0.52
FF EW D32-100-C32-06-C 32.00 18.00 1.30 3 103.0 - 230.00 - 32.00 C 4.0 2.0 FF WOMT0602 1.28
FF EW D32-100-W25-06-C [P0 ORNNS X0/ N ] 3 1080 - 16800 3040  25.00 w 40 20  FFWOMT0802  0.73
FF EW D40-150-W32-09-C v IR X 3 1500 1470 21750 5000  32.00 W 5.0 50  FFWOMTO9T3 156
e For user guide, see pages 542-547
() Cutting diameter maximum
) Number of inserts
() C-Cylindrical, W-Weldon
) Maximum ramping angle
) |nsert tightening torque
(6) Master insert identification
For inserts, see pages: FF WOCT/WOMT/WOMW (521)
Cutting forces are directed axially m A cylinder at the bottom of
towards the spindle, enabling the insert provides very rigid
cutting at very high feeds with clamping, absorbing most
$APM><:2 mm Max high stability and no vibrations. of the forces usually exerted
~— for FF WO_T 09T320T on the clamping screw.
APMX=1.5 mm Max
for FF WOMT 060212T =i

Spare Parts

& 7 / 2

FF EW D25-050-W25-06-C SR 34-506/M T-9/51
FF EW D25-080-C25-06-C SR 34-506/M T-9/51
FF EW D25-080-W25-06-C SR 34-506/M T-9/51
FF EW D25-120-C24-06-C SR 34-506/M T-9/51
FF EW D32-060-W25-06-C SR 34-506/M T-9/51
FF EW D32-100-C32-06-C SR 34-506/M T-9/51
FF EW D32-100-W25-06-C SR 34-506/M T-9/51
FF EW D40-150-W32-09-C SR 34-5635 BLD T15/57 SWe-T

ISCAR




FEEDiniriCL (1]
FF EW-CF
Fast Feed Endmills with

CLICKFIT Shanks

¥
Shank DCONMS

)

®®

&z
=~

Rd|

S

F

DC cIcT@

APMX

LH LF OAL DCONMS

RMPX°0)

Shank

Q¥

MIID®)

O
ksl

FF EW D32-060-CF4-06-C [z}

- 18.00 3
FF EW D32-100-CF4-06-C [V

18.00 3

1.30
1.30

100.0

64.00 72.00
104.00  112.00

114.00 44,00
154.00 44.00

4.0 CF4
4.0 CF4

20  FFWOMT0602
2.0  FFWOMTO0602

0.54
0.74

e For user guide, see pages 542-547

() Cutting diameter maximum

(2 Number of inserts

(3 Maximum ramping angle

) |nsert tightening torque

5) Master insert identification

For inserts, see pages: FF WOCT/WOMT/WOMW (521)

Spare Parts

&

SR 34-506/M

T-9/51

FEEDwmiiniFLEXFiT
FF EW-M

Fast Feed Endmills with
FLEXFIT Threaded Adaptation

i
DCX DC P THSZMS
L v

—

OAL

%

&=
=~

bt

S

ot oo oora_wewe_misas s

OAL

RMPX°()

QW

MIID®)

TQ 30

[

FF EW D25-M12-06-C
FF EW D32-M16-06-C

25.00
32.00
40.00

11.00 2
18.00 3
26.00 4

FF EW D40-M16-06-C

1.30
1.30
1.30

M12
M16
M16

25.00
35.00
40.00

47.00 5.0
60.00 4.0
65.00 2.5

2.0 FF WOMT0602
2.0 FF WOMT0602
2.0 FF WOMT0602

33
40
40

0.06
0.16
0.23

e For user guide, see pages 542-547 ¢ \When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly
cleaned. Apply appropriate tightening torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter

() Cutting diameter maximum

) Number of inserts

) Maximum ramping angle

@) |nsert tightening torque

) Master insert identification

(6) Tool tightening torque Nxm (Ibfxin)

For inserts, see pages: FF WOCT/WOMT/WOMW (521)

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

For holders, see pages: BT-ODP (FLEXFIT) (314)  C#-ODP (FLEXFIT) (314)  CAB M-M (FLEXFIT) (312) » DIN69871-ODP (315) » ER-ODP (315)
 HSK A-ODP (FLEXFIT) (316) * S M (312) « SM-C-H (312) * S M-CF (313)

Spare Parts

&

SR 34-506/M

il

T-9/51

Member IMC Group
o=
L 4 11 ]




HELIOFEED

UPFEED LINE

FF FWX

Fast Feed Face Mills Carrying
Double-Sided Inserts

with 6 Cutting Edges

Y
9®
&

=7
®

O
DC DCX" APMX CICT® OAL DHUB DCONMS Arbor® RMPX°® MDN® MDX® CSP?) MIID® Q9
20

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

FF FWX D040-05-16-05 RlOATVERI] 1.00 5 35600 38.00 16.00 A 2.8 7010 79.00 1 HB00 WXCU 05T312T 0.20
FF FWX D050-06-22-05 [ZoR[0a:oly 1.00 6 40.00  48.00 22.00 A 2.0 90.10  99.00 1 HB00 WXCU 05T312T 2.0  0.36
FF FWX D052-06-22-05 VR[0RE:7Xil] 1.00 6 4000  48.00 22,00 A 1.9 9410  103.00 1 HBOO WXCU 05T312T 2.0  0.37
FF FWX D040-04-16-07 [z mmol) 1.50 4 35600 38.00 16.00 A 42 67.00  79.00 1 HBOO WXCU 070515HP 4.8 0.18
FF FWX D050-05-22-07 [ergoRsoXil] 1.50 5 40.00  48.00 22.00 A 2.9 87.00  99.00 1 HB00 WXCU 070516HP 4.8 0.33
FF FWX D052-05-22-07 [REXCRRYXV) 1.50 5 40.00  48.00 22,00 A 2.8 91.00  103.00 1 HBOO WXCU 070515HP 4.8 0.33
FF FWX D063-06-22-07 [eloosRaeeii] 1.50 6 4000 61.00 22,00 A 2.1 113.00  125.00 1 HBOO WXCU 070515HP 4.8  0.58
FF FWX D080-07-32-07 J0/du:y 1.50 7 55.00  76.00 32.00 A 1.6 147.00  159.00 1 HE00 WXCU 070516HP 48  1.38
3 Sl 3D @R [ ELEERFZOY M 87.00 10000  1.50 8 50.00 78.00 32.00 B 1.2 187.00  199.00 1 HBOO WXCU 070515HP 4.8 1.47
FF FWX D050-04-22-08 [RZXVORN X/ RX1I] 4 4500  48.00 22.00 A 48 84.00  99.00 1 HBOO WXCU 080612T 9.0  0.34
AP Qe DEPENE R R0 R 3600 5200  2.00 4 45.00  48.00 22.00 A 45 88.00  103.00 1 HB00 WXCU 080612T 9.0  0.37
L2 Qo DR BT RS 47.00 63.00  2.00 5 4500 61.00 22,00 A 3.3 110.00  125.00 1 HBOO WXCU 080612T 9.0  0.61
AP QDR ENEEFE0IR 4700 6300  2.00 5 50.00 61.00 27.00 A 33 110.00  125.00 1 HBOO WXCU 080612T 9.0  0.65
L2 Qe DR IR TR 5000 66.00  2.00 5 4500 61.00 22.00 A 3.1 116.00  131.00 1 HB0O WXCU 080612T 9.0  0.68
FF FWX D066-05-27-08 [:{0{¢/RcIeXo/RvX0i} 5 50.00 61.00 27.00 A 3.1 116.00  131.00 1 HBOO WXCU 080612T 9.0  0.72
Ul D QRO PR 6400 80.00  2.00 6 55.00  76.00 32.00 A 2.3 144.00  159.00 1 HE00 WXCU 080612T 9.0 124
a0k (R gxc 720 ) 8400 10000  2.00 7 50.00  78.00 32.00 B 1.7 184.00  199.00 1 HB00 WXCU 080612T 9.0  1.42
FF FWX D125-09-40-08 RlocvommbiXoo i} 9 56.00  90.00 40.00 B 1.3 234,00  249.00 1 HBOO WXCU 080612T 9.0  2.37
FF FWX D160-11-40-08 JEZX o [cloXo/o X} 11 55.00 95.00 40.00 C 1.0 304.00 319.00 0 HB00 WXCU 080612T 9.0  0.00

e For machining recommendations and radius for programming, see table on page 522 e To generate a straight surface without cusps, the width of cut must not exceed DC
e For user guide, see pages 542-547

() Cutting diameter maximum

) Number of inserts

@) For adaptation options, see page 548

@) Maximum ramping angle

) For interpolation

(6) For interpolation

(7 0 - Without coolant supply, 1 - With coolant supply

8 Master insert identification

9) Recommended tightening torque (N*m) for insert screw
For inserts, see pages: H600 WXCU (522)

Spare Parts

& / / a /

FF FWX D040-05-16-05 SR 10508600 T-9/51 SR M8X25DIN912

FF FWX D050-06-22-05 SR 10508600 T-9/51 SR M10X25 DIN912
FF FWX D052-06-22-05 SR 10508600 T-9/51 SR M10X25 DIN912
FF FWX D040-04-16-07 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M8X25-D11.5

FF FWX D050-05-22-07 SR 34-535-SN BLD T15/57 SW6-T-SH SR M10X25 DIN912
FF FWX D052-05-22-07 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M10X25 DIN912
FF FWX D063-06-22-07 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
FF FWX D080-07-32-07 SR 34-535-SN BLD T15/S7 SW6-T-SH SR M16X30 DIN912
FF FWX D100-08-32-07 SR 34-535-SN BLD T15/M7 SW6-T-SH

FF FWX D050-04-22-08 SR 14-591/H BLD T20/S7 SW6-T SR M10X25 DIN912
FF FWX D052-04-22-08 SR 14-591/H BLD T20/S7 SW6-T SR M10X25 DIN912
FF FWX D063-05-22-08 SR 14-591/H BLD T20/S7 SW6-T SR M10X25 DIN912
FF FWX D063-05-27-08 SR 14-591/H BLD T20/57 SW6-T SR M12X30DIN912
FF FWX D066-05-22-08 SR 14-591H BLD T20/S7 SW6-T SR M10X25 DIN912
FF FWX D066-05-27-08 SR 14-591/H BLD T20/57 SW6-T SR M12X30DIN912
FF FWX D080-06-32-08 SR 14-591/H BLD T20/S7 SW6-T SR M16X30 DIN912
FF FWX D100-07-32-08 SR 14-591H BLD T20/M7 SW6-T

FF FWX D125-09-40-08 SR 14-591/H BLD T20/L7 SW6-T

FF FWX D160-11-40-08 SR 14-591/H BLD T20/L7 SW6-T

ISCAR




#=2iGrEED R

MF FWX T &=y Qﬂ N

Moderate Feed Face Mills ShL o

Carrying Double-Sided Inserts Q @ @5‘

with 6 Cutting Edges /l o =
h‘?&i\ APMX @

DC DCX" APMX CICT® OAL DHUB DCONMS Arbor® RMPX*“ MDN® MDX® CSP? MIID® Q9 &
2.0

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

MF FWX D040-05-16-05 JReitlc/ R v R0 5 356,00 38.00 16.00 A 14 70.60  79.00 1 HB00 WXCU 05T312T 0.17
MF FWX D050-06-22-05 [RIekso s X0 VR X0) 6 40.00 48.00 22.00 A 1.0 90.50  99.00 1 HB00 WXCU 05T312T 20 030
MF FWX D052-06-22-05 JrAS U7X/ RrN0) 6 40.00 48.00 22.00 A 1.0 94.50  103.00 1 HB00 WXCU 05T312T 20 032
[ A) @ LRENEE-PROEY 5350 6300 200 8 40.00 48.00 22.00 A 0.8 116.50  125.00 1 HB00 WXCU 05T312T 20 041
MF FWX D040-04-16-07 R R X0/ RN (1] 4 35.00 38.00 16.00 A 2.0 67.70  79.00 1 HB00 WXCU 070515HP 48 017
WA QL BN EE- P20 37.70 5000 270 5 40.00 48.00 22.00 A 1.4 87.70  99.00 1 HB00 WXCU 070515HP 48 031
MF FWX D052-05-22-07 JiR/{VRE:7X0/ (RN 0] 5 40.00 48.00 22.00 A 13 91.70  103.00 1 HB00 WXCU 070515HP 48 032
WA QDR DR Ry 5070 6300 270 6 40.00 48.00 22.00 A 1.0 11370  125.00 1 HB00 WXCU 070515HP 48 042
MF FWX D080-07-32-07 JIA( R: N0/ RN (] 7 56,00 76.00 32.00 A 0.8 147.70  159.00 1 HB00 WXCU 070515HP 48 121
LIS ) QR LR R Rrd 8770 100.00 2.70 8 50.00 78.00 32.00 B 0.6 187.70  199.00 1 HB00 WXCU 070515HP 48 146
MF FWX D050-04-22-08 RNV X(/ RS ) 4 4500 48.00 22.00 A 25 8470  99.00 1 HB00 WXCU 080612T 9.0 032
WA Qe DERENDEEF SO 47.70 6300 350 5 50.00 61.00 27.00 A 1.7 110.70  125.00 1 HB00 WXCU 080612T 9.0 063
MF FWX D066-05-27-08 Js0N{VRN¢/oI0/ RS ) 5 50.00 61.00 27.00 A 1.7 116.70  131.00 1 HB00 WXCU 080612T 90 064
MF FWX D080-06-32-08 [N {0 o VIRl 6 55.00 76.00 32.00 A 1.2 14470  159.00 1 HB00 WXCU 080612T 90 1.13
MF FWX D100-07-32-08 [N (VR [0/o{0/ RN \) 7 50.00 78.00 32.00 B 0.9 184.70  199.00 1 HB00 WXCU 080612T 9.0 137
WIS ) @k PLFEEEDEGEY 109.70 125.00  3.50 9 55.00 90.00 40.00 B 0.7 234.70  249.00 1 HB00 WXCU 080612T 90 236
MF FWX D160-11-40-08 [EZN/([c0N0/ sl 11 5500 95.00 40.00 C 0.5 304.70  319.00 0 HB00 WXCU 080612T 9.0 363

e For machining recommendations and radius for programming, see table on page 522 e To generate a straight surface without cusps, the width of cut must not exceed DC
* For user guide, see pages 542-547

() Cutting diameter maximum

) Number of inserts

@) For adaptation options, see page 548

@ Maximum ramping angle

(6 For interpolation

(6) For interpolation

(™ 0 - Without coolant supply, 1 - With coolant supply

(8 Master insert identification

9 Recommended tightening torque (N*m) for insert screw
For inserts, see pages: H600 WXCU (522)

Spare Parts

& s / Z /

MF FWX D040-05-16-05 SR 10508600 T-9/51 SR M8X25DIN912
MF FWX D050-06-22-05 SR 10508600 T-9/51 SR M10X25 DIN912
MF FWX D052-06-22-05 SR 10508600 T-9/51 SR M10X25 DIN912
MF FWX D063-08-22-05 SR 10508600 T-9/51 SR M10X25 DIN912
MF FWX D040-04-16-07 SR 34-535-SN BLD T15/87 SW6-T-SH SR M8X25-D11.5
MF FWX D050-05-22-07 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
MF FWX D052-05-22-07 SR 34-535-SN BLD T15/57 SW6-T-SH SR M10X25 DIN912
MF FWX D063-06-22-07 SR 34-535-SN BLD T15/87 SW6-T-SH SR M10X25 DIN912
MF FWX D080-07-32-07 SR 34-535-SN BLD T15/87 SW6-T-SH SR M16X30 DIN912
MF FWX D100-08-32-07 SR 34-535-SN BLD T156/M7 SW6-T-SH

MF FWX D050-04-22-08 SR 14-591/H BLD T20/87 SW6-T SR M10X25 DIN912
MF FWX D063-05-27-08 SR 14-591/H BLD T20/S7 SWe-T SR M12X30DIN912
MF FWX D066-05-27-08 SR 14-591/H BLD T20/S7 SW6-T SR M12X30DIN912
MF FWX D080-06-32-08 SR 14-591/H BLD T20/87 SWe-T SR M16X30 DIN912
MF FWX D100-07-32-08 SR 14-591/H BLD T20/M7 SW6-T

MF FWX D125-09-40-08 SR 14-591/H BLD T20/L7 SWe6-T

MF FWX D160-11-40-08 SR 14-591/H BLD T20/L7 SW6-T

Member IMC Group
o=
L 4 11 ]




CD UPFEED:hNE’ﬂEED «—DHUB —»
DCONMS
BN VF FHX-R06 1 N ALY
O 34° Face Mills Carrying Hexagonal
Inserts with 12 Cutting Edges orL
O o)
I_ DC—I | $APMX
DCX ——
©) —
i (@]
— DCX!  BD DC CICT® APMX OAL DHUB DCONMS Arbor® CSPY MIID® Tqe A3
:I MF FHX D063-06-22-R06 eI 65.40 53.40 6 3.00 40.00 48.00 22.00 A 1 H1200 HXCU 0606-HPR 9.0 0.46
MF FHX D080-07-27-R06 [:{oXo] 82.40 70.40 7 3.00 50.00 60.00 27.00 A 1 H1200 HXCU 0606-HPR 9.0 0.98
2 MF FHX D080-07-32-R06 )0} 82.40 70.40 7 3.00 50.00 66.00 32.00 A 1 H1200 HXCU 0606-HPR 9.0 0.86
MF FHX D100-09-32-R06 [ [0/oXo RN (0714 90.40 9 3.00 50.00 78.00 32.00 B 1 H1200 HXCU 0606-HPR 9.0 1.57
D MF FHX D125-11-40-R06 [RRPIYo /(RS VYo RN RI-V:10) 1 3.00 50.00 92.00 40.00 B 1 H1200 HXCU 0606-HPR 9.0 244
LI_] MF FHX D160-13-40-R06 |IcoXo/o I s 2o R EsT0R: o) 13 3.00 55.00 95.00 40.00 C 0 H1200 HXCU 0606-HPR 9.0 3.48
I_lJ * Radius for programming according to D1 diameter is 5.4 mm ¢ When machining next to shoulders, maximum width of cut should be 0.3xD
Ll_ e To generate a straight surface without cusps, the width of cut must not exceed DC e For cutting speed recommendations, see pages 542-547
() Cutting diameter maximum
I— 2 Number of inserts
U) @) For adaptation options, see page 548
4) 0 - Without coolant supply, 1 - With coolant supply
< ) Master insert identification
LL (6) Recommended tightening torque (N*m) for insert screw
For inserts, see pages: H1200 HXCU 0606 (524)
Spare Parts
Designation & / y f
MF FHX D063-06-22-R06 SR 14-591/H BLD T20/S7 SWe-T SR M10X25 DIN912
MF FHX D080-07-27-R06 SR 14-591/H BLD T20/S7 SW6-T SR M12X30DIN912
MF FHX D080-07-32-R06 SR 14-591/H BLD T20/S7 SW6-T SR M16X30 DIN912
MF FHX D100-09-32-R06 SR 14-591/H BLD T20/M7 SW6-T
MF FHX D125-11-40-R06 SR 14-591/H BLD T20/M7 SWe-T
MF FHX D160-13-40-R06 SR 14-591/H BLD T20/M7 SW6-T

*®

Ié%ﬁ;* EED FFV D040-03-16-R-VNO7 o
FFV-D-R-VNO7 E ﬁL

&=
®

Fast Feed Shell Mill Carrying -
Tangentially Clamped Inserts OAL @ %‘
with 4 Cutting Edges )
1y 16 S
“tapvx f @ r

TQ(9) &

MIID®

HATA DGR R R BT oy AUl 4000 2500 1.50 75 3 60.00  16.00 25.00 3.0 6500 79.00 Special  FFVNMT 0706ZN-ER 0.36
FFV D050-05-22-R-VNO7 5000 3500 1.50 75 5 50.00  22.00 48.00 32 8500  99.00 A FF VNMT 0706ZN-ER 4.8 047
FFV D063-06-22-R-VNO7 63.00 48.00 1.50 75 6 40.00  22.00 48.00 2.2 111.00 125.00 A FF VNMT 0706ZN-ER 48 000
FFV D080-07-27-R-VNO7 80.00 65.00 1.50 75 7 50.00  27.00 60.00 1.5 145.00 159.00 B FF VNMT 0706ZN-ER 48 081
FFV D100-08-32-R-VNO7 100.00 85.00 1.50 75 8 50.00  32.00 78.00 12 185.00 199.00 B FF VNMT 0706ZN-ER 48 161

¢ Radius for programming 2.8 mm e To generate a straight surface without cusps, the width of cut must not exceed DC

) Use with the supplied retention screw this screw was designed to be used instead of the standard cutter's frontal screw

(2) Cutting diameter maximum

) Maximum plunging width

@ Number of inserts

5) Maximum ramping angle

(6) Machinable diameter minimum for interpolation

(M) Machinable diameter maximum for interpolation

(8) Master insert identification

®) Recommended tightening torque (N*m) for insert screw

For inserts, see pages: FF VNMT 0706 (525)
Spare Parts

& / 7 / r
FFV D040-03-16-R-VNO7 SR M4X0.7-L11.5 P15 BLD IP15/S7 SW6-T-SH SR M8X17-13685 HW 4.0
FFV D050-05-22-R-VNO7 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T-SH SR PS 118-0271C
FFV D063-06-22-R-VNO7 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T-SH SR M10X25 DIN912
FFV D080-07-27-R-VNO7 SR M4X0.7-L11.5 IP15 BLD IP15/S7 SW6-T-SH
FFV D100-08-32-R-VNO7 SR M4X0.7-L11.5 P15 BLD IP15/S7 SW6-T-SH

ISCAR



FEEDniii
FF FW
Fast Feed Face Mills

&z
®9Y

DCX(" DC APMX  CICT®  OAL  DHUB DCONMS RMPX°®  Arbor MIID6! &

FF FW D40-16-06-C 40.00 26.00 1.30 4 35.00 38.00 16.00 25 A FF WOMTO0602 017
FF FW D50-22-06-C 50.00 36.00 1.30 5 40.00 48.00 22.00 20 A FF WOMT0602 0.31
FF FW D52-22-06-C 52.00 38.00 1.30 5 40.00 48.00 22,00 1.9 A FF WOMTO0602 0.34
FF FW D50-22-09-C 50.00 29.20 2.00 4 50.00 47.00 22.00 4.0 A FF WOMTO9T3 0.34
FF FW D52-22-09-C 52.00 31.20 2.00 4 40.00 47.00 22.00 40 A FF WOMTO9T3 0.27
FF FW D63-22-09-C 63.00 42.20 2.00 5 40.00 58.00 22,00 3.0 A FF WOMTO9T3 0.47
FF FW D63-27-09-C 63.00 42.20 2.00 5 50.00 61.00 27.00 3.0 A FF WOMTO09T3 0.57
FF FW D66-22-09-C 66.00 45.20 2.00 5 40.00 61.00 22.00 28 A FF WOMTO9T3 0.56
FF FW D66-27-09-C 66.00 45.20 2.00 5 50.00 61.00 27.00 28 A FF WOMTO09T3 0.64
FF FW D80-32-09-C 80.00 59.20 2.00 5 50.00 75.00 32.00 20 A FF WOMTO9T3 0.97
FF FW D100-32-09-C 100.00 79.20 2.00 6 50.00 78.00 32.00 1.5 B FF WOMTO09T3 1.32

() Cutting diameter maximum

) Number of inserts

() Maximum ramping angle

4 For adaptation options, see page 548

) Master insert identification

For inserts, see pages: FF WOCT/WOMT/WOMW (521)

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

Spare Parts

& / z 7 7

FF FW D40-16-06-C SR 34-506/M T-9/51 SR M8X25DIN912
FF FW D50-22-06-C SR 34-506/M T-9/51 SR M10X25 DIN912
FF FW D52-22-06-C SR 34-506/M T-9/51 SR M10X25 DIN912
FF FW D50-22-09-C SR 34-535 BLD T15/S7 SW6-T SR PS 118-0273
FF FW D52-22-09-C SR 34-535 BLD T15/87 SWe6-T SR M10X25 DIN912
FF FW D63-22-09-C SR 34-535 BLD T15/87 SWe-T SR M10X25 DIN912
FF FW D63-27-09-C SR 34-5635 BLD T15/87 SW6-T SR M12X30DIN912
FF FW D66-22-09-C SR 34-535 BLD T15/87 SWe-T SR M10X25 DIN912
FF FW D66-27-09-C SR 34-535 BLD T15/87 SWe-T SR M12X30DIN912
FF FW D80-32-09-C SR 34-535 BLD T15/57 SWe6-T SR M16X30 DIN912
FF FW D100-32-09-C SR 34-535 BLD T15/M7 SW6-T

16FEEDiviii. i DCONMS
I |

FF NM

Fast Feed Face Mills Carrying
Octagonal ONHU/MU 08086...
Inserts with 16 Cutting Edges

DCX() DC  CICT® APMX OAL Rg® DCONMS Arbor  MIID®) ] & i

FF NM D080-06-27-R08 80.00 6450 6 200 5000 8.0 27.00 A ONHU 080608-TN 084 SR14-501/H BLDT20/S7  SW6-T

() Cutting diameter maximum

2 Number of inserts

() Radius for programming

4 For adaptation options, see page 548

) Master insert identification

For inserts, see pages: ONHU/ONMU-08-TN-MM (515) « ONHU/ONMU-08-TN/HL (515)

Recommended Application Range

Cutting Data Recommendation

Ap[mm] 7

25 Ve [m/min]
120-150

20 170

15

Width of Cut (ae) = 56 mm
1.0
0.5
° T T
0 05 10 15 20 25 f[mm/tooth]

Member IMC Group
o=
L 4 11 ]




HE? DO DHUB—=
sooTinE [ FEEDAGILL r - DCONVS [} FEEDMIELL ' [c 2

%
r

UB
i

FF SOF Wi 1 — N
Multifunction Fast Feed OAL OAL_2 OAL_3
Milling Cutter for Octagonal LA — B! Prar Qﬂ
= 15° 1y 16° L1
| 1

and Square Insert Contours 4
. . DC DC 2 DC_3
with Various Entry Angles ‘ 5
ry Ang ggx | 1APMX DCX 2 | |APMX_2 ggxgs APMX_3

DC DCX" BD APMX OAL DC2 DCX2 APMX2 OAL2 DC3 DCX3 BD3 APMX3 OAL3

FF SOF 8/16-D063-06-22R [7A:l) 63.00 68.40 1.20 40.00 49.50 69.20 2.20 40.40 56.60 66.80 70.40 2.70 40.90
FF SOF 8/16 D080-07-27R [y 80.00 85.40 1.20 40.00 66.50 86.20 2.20 40.40 73.60 83.80 87.40 2.70 40.90
FF SOF 8/16 D100-08-32R [:icXcU N [0/ Xo/ R (0] 1.20 50.00 86.50  106.20 2.20 50.40 9360  103.80  107.40 2.70 50.90

0
e ows_ocowss abor s & /S ¢ 7

FF SOF 8/16-D063-06-22R 6 65.60 22.00 B ONHU 050500-N-HP  0.48 SR 11800745 BLD IP16/S7 ~ SW6-T-SH SR M10X25 DIN912
FF SOF 8/16 D080-07-27R 7 82.60 27.00 B ONHU 050500-N-HP  1.04 SR 11800745 BLDIP16/S7 ~ SW6-T-SH SR M12X30DIN912
FF SOF 8/16 D100-08-32R 8 102.60 32.00 B ONHU 050500-N-HP 147 SR 11800745 BLDIP15/S7  SW6-T-SH

e A- with ONMU 0505... insert e B- with S845 SNMU 1305... insert ¢ C- with OXMT 0507R08-FF insert e Use only Torx Plus keys
* For user guide, see pages 542-547

() Cutting diameter maximum

2 Number of inserts

©) For adaptation options, see page 548

4 Master insert identification

For inserts, see pages: ONHU/ONMU-05 (504) ¢ OXMT 0507 (505) ¢ S845 SNMU/SNHU-13 (500)

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Application Range According to Insert Type
2.5

Material: SAE 4340
ae: 0.7xD
Ve: 150-170 m/min

N

1.5 5845 SNMU 13...

ONMU 05...

0 t

ISCAR




USER GUIDE

FLEXFiT
Milling Heads
M12
@
'\\ Wy
D20/.75
M12
@
'\\\ |V,
D25/1.00

ERCM D32-...

M16

—

i

ERCM D40-...

-y

Extensions

M12...CF4

M16...CF4

CLICKFiT

Adapter

Y ]
s |

¥
£

Member IMC Group
L 4 11 ]

p)
—
3
=
O
—
=
=
)
LLI
LLI
LL
—
@)
T




P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

Straight Shank
FLEXFiT

SM
Shanks for Tools with FLEXFIT
Threaded Connection

Al/0.005]A|

Designation

S M06-L60 C10
S M06-L105-C12
S M06-L125-C16
S M08-L73 C16
S M08-L128-C16
S M08-L170-C20
S M10-L80 C20
S M10-L130-C20
S M10-L200-C25
S M12-L86-C25
S M12-L200-C32
S M16-L95-C32
S M16-L230-C32

FLEXFiT
Straight Shank

S M-C-H

Carbide Shanks with Coolant
Channels for Tools with FLEXFIT
Threaded Connection

S M08-L150-C16-C-H
S M08-L200-C16-C-H
S M08-L250-C16-C-H
S M10-L150-C20-C-H
S M10-L200-C20-C-H
S M10-L250-C20-C-H
S M12-L200-C25-C-H
S M12-L250-C25-C-H
S M12-L300-C25-C-H
S M16-L200-C32-C-H
S M16-L250-C32-C-H
S M16-L300-C32-C-H

* For adaptation options, see page 311

FLEXFiT

CAB M-M (FLEXFIT)
Reducers and Extensions
with Coolant Holes for the
Modular FLEXFIT System

CAB MO6M08
CAB M08MO08-C
CAB M0O8M10
CAB M10M10-C
CAB M10M12

CAB M12M12-C
CAB M12M16
CAB M16M16-C

() Clamping wrench size

ISCAR

58-60 HRc
||
) ¥ BHTA y ] ﬁ; 1
poows % mdws B‘D H ’r
l«— LDRED—»
®
Q
OAL LDRED DCONMS Shank BD BHTA THSZWS Type )
60.00 20.0 10.00 C 9.70 - M06 A 0.03
105.00 60.0 12.00 C 9.70 1.2 M06 B 0.06
125.00 60.0 16.00 C 9.70 3.3 Mo6 B 0.13
73.00 25.0 16.00 C 13.00 - M08 A 0.09
128.00 80.0 16.00 C 13.00 0.9 M08 B 0.15
170.00 66.8 20.00 C 13.00 3.3 M08 B 0.33
80.00 30.0 20.00 C 18.00 - M10 A 0.16
130.00 80.0 20.00 C 18.00 0.6 M10 B 0.25
200.00 57.2 25.00 C 19.00 3.3 M10 B 0.65
86.00 30.0 25.00 C 21.00 (&3] M12 A 0.27
200.00 78.0 32.00 C 21.00 44 M12 B 1.02
95.00 35.0 32.00 C 29.00 1.7 M16 A 0.50
230.00 50.0 32.00 C 29.00 18 M16 B 1.27
| OAL | ’f
W — |
Borm‘r:7 s H DC(;NMS
I 8
1 I\ |
BD2| |THSZWS
THSZWS OAL LU BD BD_2 @
16.00 M08 150.00 80.0 16.30 15.30 0.39
16.00 M08 200.00 140.0 16.30 15.30 0.59
16.00 M08 250.00 180.0 16.30 15.30 0.84
20.00 M10 150.00 80.0 18.50 18.50 0.73
20.00 M10 200.00 140.0 18.00 17.50 0.91
20.00 M10 250.00 180.0 18.00 17.50 1.04
25.00 M12 200.00 100.0 21.00 20.50 1.41
25.00 M12 250.00 180.0 24.00 24.00 1.78
25.00 M12 300.00 180.0 21.00 20.50 2.04
32.00 M16 200.00 100.0 29.00 29.00 211
32.00 M16 250.00 180.0 29.00 29.00 2.36
32.00 M16 300.00 180.0 29.00 29.00 2.81
®
! CONMS THSZMS
T THSZws BD  DCONM
. v\
DRVS
s SW
CAB M-M-C CAB M-M
Q
BD LPR LU DCONMS  LSCMS DRVS( Fig. BHTA k]
MO6 M08 9.70 30.00 24.80 13.00 17.50 95 1. 5.7 0.02
M08 M08 13.00 30.00 - - 17.50 9.6 2. - 0.02
MO8 M10 13.00 40.00 33.40 18.00 20.20 15.0 1. 5.2 0.07
M10 M10 18.00 356.00 - - 20.00 15.0 2. - 0.06
M10 M12 18.00 45.00 36.40 21.00 22.00 17.0 1. 25 0.09
M12 M12 21.00 40.00 - - 22.00 17.0 2. - 0.08
M12 M16 21.00 50.00 42.50 29.00 25.00 25.0 1. 6.3 0.18
M16 M16 29.00 40.00 25.00 25.0 2. 0.16
SHANK HCM-M

=Y




FLEXF'.'- ‘Al/0.003[Al} 58-60 HRC | U)
LSCMS OHN — = S
CDP ER-M — =9 4&‘ —
DIN 6499 ER Collet Chucks with P - @)
Threaded FLEXFIT Adaptations DCONNWS
DCONXWS{f’*’* 3 O
e =
©)
csl THSZMS ~ DCONNWS(")  DCONXWS®  OHN®  LSCMS BD DRVS®  TQ_3® @ —
CDP ER11 M1O M ER11 M10 05 7.0 27.0 20.00 16.00 16.0 29 0.03 :I
CDP ER11 M12 M ER11 M12 05 7.0 27.0 22.00 16.00 17.0 33 0.04
CDP ER16 M10 M ER16 M10 05 10.0 38.1 20.00 22.00 17.0 29 0.05 2
CDP ER16 M12 M ER16 M12 05 10.0 37.1 22.00 22.00 17.0 33 0.06
CDP ER16 M16 ER16 M16 0.5 10.0 36.6 25.00 28.00 25,0 40 0.10 D
CDP ER20 M16 ER20 M16 1.0 13.0 45.5 25.00 34.00 25.0 40 0.19 I_IJ
CDP ER25 M16 ER25 M16 1.0 16.0 44.5 25.00 42.00 28.0 40 0.15 L|J
* When mounting items with FLEXFIT threaded adaptation to their holders, the mating surfaces and threaded areas must be thoroughly cleaned. Apply appropriate tightening L|_
torque to eliminate a gap between the mating faces. Estimated torque values are specified in the TQ_3 parameter
™) Minimum diameter |—
@ Maximum diameter U)
) Minimum overhang
@) Torque key size <
) Tool tightening torque Nxm (Ibfxin) I_l_

SHANK SM...CF4 CDP.
e
] e a0
ull
CLICKri7 FLEXFii LSO o o
S M-CF T ‘F BHtA -0 =i H@
CLICKFIT to FLEXFIT Adapters T }
T DCONMS - — F e ED

THSZWS BD LBX L DF LSCMS BHTA DCONMS 3]

S M12-L85/3.30-CF4 M12 21.00 85.0 81.30 44.00 42.00 44 25.00 023
S M12-L140/5.50-CF4 M12 21.00 140.0 139.10 44.00 42.00 44 25.00 0.98
S M16-L130/5.11-CF4 M16 29.00 130.0 126.80 44.00 42.00 26 25.00 0.28
S M16-L170/6.70-CF4 M16 29.00 170.0 168.60 44.00 42.00 2.0 25.00 1.30

SHANK SM...CF4 CDP...

Member IMC Group

(T [Tl 313



BT MASFLEXFi7

58-60 HRC|
§

S

BT-ODP (FLEXFIT)

FLEXFIT Threaded Adaptation
with Integral BT MAS-403

G25
BT 40=20,000RPM
] U<1.0 gmm
——— G63
BD BT 50-12,000RPM]

X

Tapered Shanks (ADB type)

A
THSZWS

ss THSZWS BD BD_2 LPR LBX LB CRKS CDIf) &

P
i
3
|_
O
-
=
=
)
T
L]
T
|_
)
T

BT40 ODP 6X 66 40 Mo6 9.80 13.00 66.00 39.0 30.00 M16 0 0.98
BT40 ODP 6X106 40 MO6 9.80 23.00 106.00 79.0 70.00 M16 0 0.14
BT40 ODP 8X 66 40 M08 13.00 16.00 66.00 30.0 30.00 M16 0 0.99
BT40 ODP10X 66 40 M10 18.00 20.00 66.00 30.0 30.00 M16 0 1.03
BT40 ODP10X106 40 M10 18.00 28.00 106.00 79.0 70.00 M16 0 124
BT40 ODP12X 66 40 M12 21.00 24.00 66.00 39.0 30.00 M16 0 1.06
BT40 ODP12X106 40 M12 21.00 31.00 106.00 79.0 70.00 M16 0 1.23
BT40 ODP16X 66 40 M16 29.00 28.60 66.00 39.0 35.00 M16 0 1.06
BT40 ODP16X106 40 M16 29.00 34.00 106.00 79.0 70.00 M16 0 1.32
BT50 ODP 12X 94 50 M12 23.00 30.00 94.00 56.0 50.00 M24 0 3.85
BT50 ODP 12X144 50 M12 23.00 40.00 144.00 106.0 100.00 M24 0 428
BT50 ODP 12X194 50 M12 23.00 40.00 194.00 156.0 150.00 M24 0 4,57
BT50 ODP 16X 94 50 M16 29.00 34.00 94.00 56.0 50.00 M24 0 3.75
BT50 ODP 16X144 50 M16 29.00 40.00 144.00 106.0 100.00 M24 0 419
BT50 ODP 16X194 50 M16 29.00 55.00 194.00 156.0 150.00 M24 0 5.24
BT50 ODP 16X244 50 M16 29.00 60.00 244.00 206.0 200.00 M24 0 5.60

* The coolant passages in the B-type flange are blocked with screws which can be removed when required.

) 1 - Hole for data chip, O - Without hole for data chip

FLEXFiTCAMFIX . e

C#-ODP (FLEXFIT) mm@ﬂ =i z 41%5

FLEXFIT Threaded Connection DCONMS & BD

Shanks with CAMFIX (ISO .y —

26623-1) Adaptation l @ 5

L e 1BX——
LPR
O

DCONMS  THSZWS BD BD_2 LPR LBX LB cpI kol
C3 ODP 12X53 32.00 M12 21.00 26.00 53.00 38.0 23.00 0 0.32
C4 ODP 10X53 40.00 M10 18.00 23.00 53.00 33.0 23.00 1 0.33
C4 ODP 12X53 40.00 M12 21.00 26.00 53.00 33.0 23.00 1 0.33
C4 ODP 16X53 40.00 M16 29.00 34.00 53.00 33.0 23.00 1 0.40
C5 ODP 10X103 50.00 M10 18.00 28.00 103.00 83.0 75.00 1 0.10
C5 ODP 10X53 50.00 M10 18.00 19.50 53.00 33.0 25.00 1 0.49
C5 ODP 12X103 50.00 Mi12 21.00 31.00 103.00 83.0 75.00 1 0.72
C5 ODP 12X53 50.00 M12 21.00 23.50 53.00 33.0 25.00 1 0.50
C5 ODP 16X103 50.00 M16 29.00 36.00 103.00 83.0 75.00 1 0.85
C5 ODP 16X53 50.00 M16 29.00 34.00 53.00 33.0 25.00 1 0.65
C6 ODP 10X105 63.00 M10 18.00 28.00 105.00 83.0 75.00 1 1.00
C6 ODP 10X130 63.00 M10 18.00 32.00 130.00 108.0 100.00 1 0.00
C6 ODP 10X55 63.00 M10 18.00 19.50 55.00 33.0 25.00 1 0.82
C6 ODP 12X105 63.00 M12 21.00 31.00 105.00 83.0 75.00 1 1.07
C6 ODP 12X130 63.00 M12 21.00 36.00 130.00 108.0 100.00 1 1.26
C6 ODP 12X55 63.00 M12 21.00 23.50 556.00 33.0 25.00 1 0.84
C6 ODP 16X105 63.00 M16 29.00 34.00 105.00 83.0 75.00 1 1.20
C6 ODP 16X130 63.00 M16 29.00 41.00 130.00 108.0 100.00 1 1.49
C6 ODP 16X55 63.00 M16 29.00 34.00 556.00 33.0 25.00 1 0.89

() 1 - Hole for data chip, O - Without hole for data chip

ISCAR




DIN69871FLEXFi T?He: ;

G25
SK40=20,000 PV
U<1.0 gmm @
Go.3

SK 50=12,000 RPM|

o
4
&
3
I

[€: ‘ﬂ

DIN69871-ODP

FLEXFIT Threaded Connection
Shanks with Integral DIN 69871
Form ADB Taper Adaptation

ss THSZWS BD BD_2 LPR LBX LB CRKS CDIf) %

N
i
3
|_
O
-
=
=
)
L]
L]
T
|_
)
T

DIN69871 40 ODP 6X58 40 M06 9.80 13.00 58.00 38.9 30.00 M16 0 082
DIN69871 40 ODP 6X98 40 MO06 9.80 23.00 98.00 78.9 70.00 M16 0 0.91
DIN69871 40 ODP 8X58 40 M08 13.10 16.00 58.00 389 30.00 M16 0 082
DIN69871 40 ODP 8X98 40 M08 13.10 23.00 98.00 789 70.00 M16 0 092
DIN69871 40 ODP10X58 40 M10 18.00 20.00 58.00 38.9 30.00 M16 0 0.84
DIN69871 40 ODP10X98 40 M10 18.00 28.00 98.00 789 70.00 M16 0 1.00
DIN69871 40 ODP12X58 40 M12 21.00 24.00 58.00 38.9 30.00 M16 0 0.88
DIN69871 40 ODP12X98 40 M12 21.00 31.00 98.00 789 70.00 M16 0 1.07
DIN69871 40 ODP16X58 40 M16 29.00 28.60 58.00 38.9 35.00 M16 0 0.91
DIN69871 40 ODP16X98 40 M16 29.00 34,00 98.00 789 70.00 M16 0 115
DIN69871 50 ODP12X 78 50 M12 23.00 30.00 78.00 58.9 50.00 M24 0 2.74
DIN69871 50 ODP12X128 50 M12 23.00 40.00 128.00 108.9 100.00 M24 0 3.14
DIN69871 50 ODP12X178 50 M12 23.00 40.00 178.00 158.9 150.00 M24 0 3.38
DIN69871 50 ODP12X228 50 M12 23.00 46.00 228.00 208.9 200.00 M24 0 414
DIN69871 50 ODP16X 78 50 M16 29.00 34.00 78.00 58.9 50.00 M24 0 2.95
DIN69871 50 ODP16X128 50 M16 29.00 40.00 128.00 108.9 100.00 M24 0 3.20
DIN69871 50 ODP16X1 78 50 M16 29.00 55.00 178.00 158.9 150.00 M24 0 4.08
50 M16 29.00 55.00 228.00 208.9 200.00 M24 0 464

() 1 - Hole for data chip, 0 - Without hole for data chip

ERCOLLETFLEXFi7 « Fol L Fig. 2 R ey

ER-ODP | E 8 24 ﬁm E

FLEXFIT Threaded Adaptation | 10|+ -

with Integral ER Collet | BD BD

for ER Collet Chucks \[ — L

THSZWS — | [}
BD_2 THSZWS | | LBX
0

ss THSZWS LB LBX BD BD_2 Fig. kol
ER16 ODP M08X02 ER16 M08 2.50 2.50 12.00 12,00 2 0.04
ER16 ODP M08X10 ER16 MO8 10.50 10.50 12.00 12.00 2 0.04
ER20 ODP M08X02 ER20 M08 2.00 2.00 13.00 13.00 2 0.05
ER20 ODP M08X10 ER20 M08 10.00 10.00 13.00 12.60 2 0.05
ER25 ODP M08X02 ER25 MO8 2.00 2.00 13.00 13.00 2 0.05
ER25 ODP M08X10 ER25 Mo8 10.00 10.00 13.00 12.60 2 0.09
ER25 ODP M10X02 ER25 M10 2.00 2.00 18.00 18.00 2 0.05
ER25 ODP M10X25 ER25 M10 23.00 25.00 18.00 17.60 1 0.11
ER25 ODP M12X02 ER25 M12 2.70 2.70 20.60 19.20 2 0.08
ER25 ODP M12X10 ER25 M12 10.00 10.00 20.00 20.00 2 0.10
ER32 ODP M 8X25 ER32 MO8 22.00 25.00 13.10 15.00 1 0.15
ER32 ODP M 8X50 ER32 M08 49.00 50.00 13.10 23.00 1 0.21
ER32 ODP M 8X75 ER32 MO8 74.00 75.00 13.10 23.00 1 0.26
ER32 ODP M08X02 ER32 M08 2.00 2.00 13.00 13.00 2 0.15
ER32 ODP M08X10 ER32 Mo8 10.00 10.00 13.00 12.60 2 0.14
ER32 ODP M10X02 ER32 M10 2.00 2.00 18.00 18.00 2 0.15
ER32 ODP M10X10 ER32 M10 10.00 10.00 18.00 17.60 2 0.15
ER32 ODP M10X25 ER32 M10 23.00 25.00 18.00 20.00 1 017
ER32 ODP M10X50 ER32 M10 49.00 50.00 18.00 24.00 1 0.24
ER32 ODP M12X02 ER32 M12 2.00 2.00 21.00 21.00 2 0.15
ER32 ODP M12X10 ER32 M12 10.00 10.00 21.00 20.60 2 017
ER32 ODP M12X25 ER32 M12 24.00 25.00 21.00 24,00 1 0.18
ER32 ODP M12X50 ER32 M12 49.00 50.00 21.00 24.00 1 0.26
ER32 ODP M16X02 ER32 M16 2.50 2.50 27.00 27.00 2 0.15
ER32 ODP M16X10 ER32 M16 10.50 10.50 27.00 27.00 2 0.18
ER32 ODP M16X25 ER32 M16 25.50 25.50 27.00 27.00 1 0.20

Member IMC Group

[Tl 315




CD FLHF"'_HSK Al£]0.003]A | 58-60 HRc!|
BB HSK A-ODP (FLEXFIT) LB = E,I:
O FLEXFIT Threaded Adaptation e ol - =
with HSK DIN 69893/A el R Pl r
O Tapered Shanks = | BD
|_ THSZWS
)
— Designation DCONMS ~ THSZWS BD BD_2 LPR LBX LB CcDIn |
=| HSK A32 ODP12X42 32.00 M12 21.00 20.60 42.00 22.0 - 1 0.17
E HSK A40 ODP12X30* 40.00 M12 21.00 20,60 30.00 100 - 1 0.21
HSK A50 ODP12X48 50.00 M12 21.00 20,60 48.00 220 - 1 0.46
HSK A63 ODP6X109 63.00 M06 9.80 23.00 109.00 83.0 75.00 1 0.74
O HSK A63 ODP6X59 63.00 M6 9.80 11,50 59.00 330 25.00 1 0.66
LL] HSK A63 ODP8X109 63.00 Mos 1310 23.00 109.00 83.0 75.00 1 077
LL] HSK A63 ODP8X59 63.00 M08 18.10 15,00 59.00 330 25.00 1 0.68
L HSK A63 ODP10X109 63.00 M10 18.00 28,00 109.00 83.0 75.00 1 0.87
HSK A63 ODP10X59 63.00 M10 18.00 20,00 59.00 330 25.00 1 0.70
— HSK A63 ODP12X109 63.00 M12 21.00 31.00 109.00 83.0 75.00 1 0.93
@) HSK A63 ODP12X59 63.00 M12 21.00 23.50 59.00 330 25.00 1 (ol
<E HSK A63 ODP16X109 63.00 M16 29.00 34,00 109.00 83.0 75.00 1 1,05
L HSK A63 ODP16X59 63.00 M16 29.00 34,60 59.00 330 25.00 1 0.79
HSK A100 ODP12X137 100.00 M12 23.00 30,00 137.00 1080 100.00 1 258
HSK A100 ODP12X187 100.00 M2 23.00 40,00 187.00 168.0 160.00 1 2.86
HSK A100 ODP12X237 100.00 M12 23.00 46,00 237.00 208.0 200.00 1 3.40
HSK A100 ODP12X87 100.00 M12 23.00 30,00 87.00 58.0 50.00 1 2.23
HSK A100 ODP16X137 100.00 M16 29.00 4150 137.00 108.0 100.00 1 268
HSK A100 ODP16X187 100.00 M16 29.00 55.00 187.00 158.0 150.00 1 3.58
HSK A100 ODP16X237 100.00 M16 29.00 55.00 237.00 208.0 200.00 1 4,07
100.00 M16 29.00 31.50 87.00 58.0 50.00 1 2.20

¢ A cooling tube must be used with all coolant through HSK spindles (should be ordered separately).
() 1 - Hole for data chip, O - Without hole for data chip

ISCAR






